I A S s— N S S AN
- J . | J _______/






= A D e N e S e e ML ML AP e £3 e 1 LA TTT LIS ST N | T L e Al N e T I Rt I N P

NI 4 o F1 99 e LN W I e 1 L A K1 = S A L 41 e UL e 1 e o a8 d i AL e 1 L0 e ke £ el e IS I e e LL

A\ £ mENAL e L — e ae. — = e — . ¢ % N — tmEms T — e, e s — e el

A B L\ B el Al Lk e | A S0 LE e b A A LE £A N £ A e ke A— e 4% — el L0 JN R JAN LN LL A ke dal e A NN Al e A A





















HIZTIN

ci&c%ﬁs BT 5 FE 5

-2 EZ%¥  REFERENCE DETAILS

DIN 69893A

1%

s/

]

CE

2 %l a2 d3 d4 ) b1 b2 b3

% H10 H11 . . +0.04 H10 H10
HSK32A 32 | 24.007 | 17 | 20.5| 19 26 37 4 16 3.2 35 20 16 7.05 9 7
HSK40A 40 | 30.007 | 21 | 25.5| 23 34 45 4 20 4 35 20 16 8.05 [ 11| 9
HSK50A 50 | 38.009 | 26 32 29 42 59.3 7 25 5 42 26 18 | 10.54 | 14 | 12
HSK63A 63 | 48.010 | 34 40 37 53 72.3 7 32 6.3 42 26 18 | 12.54 | 18 | 16
HSK80A 80 | 60.012 | 42 50 46 67 88.8 7 40 8 42 26 18 | 16.04 | 20 | 18
HSK100A 100 | 75.013 | 53 63 58 85 | 109.75 | 7 50 10 45 29 20 | 20.02 | 22 | 20

ST

i

OfEIEE: < AT3

OEAHME: 20CrMnTi/15CrMo

OFEE: HRC56° BHFEE > 0.8mm

OERE: < 0.8um

OFXRMAMMEE: Ra < 0.5um

OJINETIRINETN T G6.3, TTRIMEERBHTE G2.5
OZA{AM5E: DIN 69893-1

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.

© Roundness < 0.8um.

© Surface roughness:Ra < 0.5pm.

© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-1.



B TIR

48

BETHES e

-Z2EZ%#  REFERENCE DETAILS

DIN 69893E

d2

P

WIS =
S31¥43S YIATOH 1001 LI INRIHS

5l
HSK25E 25 19 14 16.4 15 20 28.5 2 13 2.5 20 10 4.5
HSK32E 32 24 17 21 19 26 37 3 16 3.2 35 20 16
HSK40E 40 30 21 25.5 23 34 45 4 20 4 35 20 16
HSK50E 50 38 26 32 29 42 59.3 7 25 5 42 26 18
HSK63E 63 48 34 40 37 53 72.3 7 32 6.3 42 26 18
R

E:

OEIEE: < AT3

OEAHME: 20CrMnTi/15CrMo

OFEE: HRC56° BHFEE > 0.8mm

OHEREE: < 0.8um

OFMEMEKEE: Ra < 0.5pm

O TN ETIRARERN T4 G6.3, TRIMEERBRHNTE G2.5
OZA{AM5E: DIN 69893-5

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5pum.
© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-5.




HIZTIN

cﬁtﬁﬁs BT 5 FE 5

-BEEH REFERENCE DETAILS

DIN 69893F

d2

S

s 7]

]

CE

2 5l
HSK50F 50 30.007 21 25.5 23 42 59.3 7 20 4 42 26 18
HSK63F 63 | 38009 | 26 | 32 | 20 | 53 | 723 | 7 25 5 42 | 26 | 18
HSK80F 80 48 34 40 37 67 88.8 7 32 6.3 42 26 18

e

i

OHERE: < AT3

OEAHFR: 20CrMnTi/15CrMo

O E: HRC56° BHRE > 0.8mm

OHEEE: < 0.8um

OFMEMME: Ra < 0.5pm

O NI BTIAREMN T G6.3, TIBIMEEREENTE G2.5
OA&AKMSE: DIN 69893-6

Features:

© Taper tolerance < AT3.

© Basic Material:20CrMnTi/15CrMo.

© Hardness > HRC56° Carbon depth > 0.8mm.
© Roundness < 0.8um.

© Surface roughness:Ra < 0.5um.
© The shank has pre-balance at G6.3, and can provide percision balance at G2.5, made by request.
© Shank body standard:DIN69893-6.



B TIR

RETT RS ciﬁc%is

-HSK40E-SLK A4 B it #% HSK40E-SLK SEMI-FINISHED SHRINK FIT CHUCK

# # Model ﬁ;
HSK40E-SLK12-85 105 85 65 20 43 38 40 38 34 34 0.6 7 é

i

AAG 3088 l:

? $Ll KE Length (L1)
£ A/)\ Connection size
Ih8

BEfLS Holder type
SEFRFZ T Taper size

-HSK50E-SLK #A 48 EL fit % HSK50E-SLK SEMI-FINISHED SHRINK FIT CHUCK

m
— — -o
L4
L2
# & Model L L1 L2 L3 L4 D D1 d EE KGS
HSK50E-SLK12- 75 100 75 49 26 31.5 50 41 38 0.8
-120 145 120 94 26 31.5 50 41 38 1.3

M EER:

T FLl £ Length (L1)
£ [0KX/)\ Connection size
58

BEfLS Holder type
HFRAZ I Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬂ%ﬂ

-HSK40A-SLK A 45 & Gl ik HSK40A-SLK SEMI-FINISHED SHRINK FIT CHUCK

il

Q|

L4
L3 L2
L1
L
#M 4% Model L L1 L2 L3 L4 D D1 D2 d E= KGS
HSK40A-SLK12- 90 110 90 70 20 45 40 38 34 34

4
7]
Uiz]
#
5l

MR EER:

-B N
? L1 ¥E Length (L1)
#£[OK/)\ Connection size

IHEERS Holder type
SEARALE Taper size

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

-HSK50A-SLK # 45 & Gl ik HSK50A-SLK SEMI-FINISHED SHRINK FIT CHUCK

L1
L
# # Model L L1 L2 L3 L4 D D1 d &= KGS
HSK50A-SLK12- 75 100 75 49 26 31.5 50 41 38 0.8
-120 145 120 94 26 31.5 50 41 38 1.3

MR EER:

T ?Ll +E Length (L1)
#£[K/)\ Connection size
f)

IngEfLS Holder type
[ K/)\ Connection size



B TIR

48

BETHES e

-HSK63A-SLK #A4EE M  Hske3A-SLK SEMI-FINISHED SHRINK FIT CHUCK

FIG. 2 D

2
.
A
% 2
FIG. 3 D
_ [N
©
(=)
L3
# 1% Model L L1 L2 L3 L4 L5 D D1 D2 d FIG ZE= KGS
HSK63A-SLK12- 75 107 75 49 26 - - 63 42.5 - 38 1 1.2
=135 167 135 109 26 86 - 63 47 - 38 2 2

-165 197 165 139 26 86 - 63 47 - 38 2 2.4

-200 232 200 174 26 145 86 63 47 52 38 3 2.9

=225 257 225 199 26 145 86 63 47 52 38 3 3.2

-255 287 255 229 26 175 86 63 47 52 38 3 3.8

-285 317 285 259 26 205 86 63 47 52 38 3 4.5

-315 347 315 289 26 235 86 63 47 52 38 3 4.5

A% RE:
FLl KE Length (L1)
#2[K/)\ Collect model
IHEECS Holder type
AR Shank size




HIZTIN

ci&c%ﬁs BT 5 FE 5

-HSKT100A-SLK A4 E Gl 1R HSK100A-SLK SEMI-FINISHED SHRINK FIT CHUCK

B

WIS

s
=

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

#M 4% Model L L1 L2 L3 L4 D D1 D2 D3 d FIG E=KGS

HSK100A-SLK12-105 155 105 | 76 29 33 100 | 42 65 78 38 |1 3.8
-135 185 135 | 106 29 33 100 | 45 65 78 38 |1 4.2
-165 215 165 | 136 29 33 100 | 48 65 78 38 | 2
-225 275 225 | 196 29 33 100 55 65 78 38 | 2 5.4
-265 315 265 | 236 29 33 100 59 65 78 38 | 2 6.5
-315 365 315 | 286 29 33 100 | 65 65 78 38 | 2

A% RA:

T E L1 #EE Length (L1)
A\ Collect model
Ih

BE{L 2 Holder type
$EIRAZ R, Shank size



‘CR ARGEERH (FRHER)

RETT RS

B TIR

48

CNCTOOLS

CR HEAT SHRINKABLE EXTENSION ROD (STANDARD)

FIG. 1 3°
M10%1.5 |
FI1G. 2
M10%1.5 |
£
%3
il &
L &
Z4idESafety sign EEG
W 7Thickness
A
L ) of
Z 72 RETHKE
L5 Minimum clamping length
TIARKIEAKE
L6 Maximum insertion depth
# # Model L L1 L2 L3 L4 L5 L6 L7 D D1 d t FIG &= KGS
CR12- 3- 35 80 35 22 35 | 95 12 - - 7.5 9.9 3 2.25 1 0.2
- 55 100 | 55 42 35 | 95 12 - - 7.5 12 3 2.25 1 0.2
- 80 125 | 80 67 35 | 95 12 - - 75 | 14.6 3 2.25 1 0.2
- 4- 35 80 35 22 3.5 | 9.5 16 - - 10 | 12.4 4 3 1 0.2
- 55 100 | 55 42 35 | 95 16 - - 10 | 14.5 4 3 1 0.2
- 80 125 | 80 67 35 | 95 16 - - 10 | 171 4 3 1 0.2
-110 155 | 110 | 97 35 | 95 16 - - 10 | 20.2 4 3 1 0.25
- 5- 35 80 35 22 35 | 95 18 - - 11 | 13.3 5 3 1 0.2
- 55 100 | 55 42 35 | 95 18 - - 11 | 15.4 5 3 1 0.2
- 80 125 | 80 67 35 | 95 18 - - 11 18.1 5 3 1 0.2
-110 155 | 110 | 97 35 | 95 18 - - 1 | 21.2 5 3 1 0.25
- 6- 35 80 35 22 35 | 95 23 - - 12 | 14.4 6 3 1 0.2
- 55 100 | 55 42 35 | 9.5 23 - - 12 | 16.5 6 3 1 0.2
- 80 125 | 80 67 35 | 95 23 - - 12 | 19. 6 3 1 0.2
-110 155 | 110 | 97 35 | 95 23 - - 12 | 22.2 6 3 1 0.25
- 8- 35 80 35 22 35 | 95 27 - - 14 | 16.4 8 3 1 0.2
- 55 100 | 55 42 3.5 | 9.5 27 - - 14 | 18.5 8 3 1 0.2
- 80 125 | 80 67 35 | 95 27 - - 14 | 211 8 3 1 0.3
-110 155 | 110 | 97 35 | 95 27 - - 14 | 24.2 8 3 1 0.35
-10- 35 80 35 22 35 | 95 32 42 - 16 | 18.4 | 10 3 1 0.2
- 55 100 | 55 42 3.5 | 9.5 32 42 - 16 | 20.5 | 10 3 1 0.2
- 80 125 | 80 67 35 | 95 32 42 - 16 | 23. 10 3 1 0.3
-110 155 | 110 | 97 35 | 95 32 42 86 16 | 25. 10 3 2 0.35
-12- 35 80 35 22 35 | 95 37 48 - 20 | 22.4 | 12 4 1 0.2
- 55 100 | 55 42 3.5 | 9.5 37 48 - 20 | 245 | 12 4 1 0.2
- 80 125 | 80 67 35 | 95 37 48 48 20 | 25.5 | 12 4 2 0.3
-110 155 | 110 | 97 35 | 95 37 48 48 20 | 251 12 4 2 0.35

> 09



HIZTIN

c?%(%%s BT 5 FE 5

-CS IAYEFEIHF (FBEZESN)  HEAT SHRINKABLE EXTENSION ROD (THIN WALL STYLE)

FIG. 1 ) 3°

M10%1.5 |

FIG. 2
L , M10%1.5
Lz£igSSafety sign EEO
Thickness
" C )<
3 if% Z 7a RERFKE
g‘ jj L5 Minimum clamping length
. TIRBABNKE
rgn ,g\ Lé Maximum insertion depth L
2 %1
a D d
CS12- 3- 35 80 35 22 3.5 9.5 12 = = 6 8.4 3 1.5 1 0.2
- 55 100 55 42 3.5 9.5 12 = = 6 10.5 3 1.5 1 0.2
- 80 125 80 67 3.5 9.5 12 = = 6 13.1 3 1.5 1 0.2
-110 155 110 97 3.5 9.5 12 = = 6 16.2 3 1.5 1 0.25
- 4- 35 80 35 22 3.5 9.5 16 = = 7 9.4 4 1.5 1 0.2
- 55 100 55 42 3.5 9.5 16 = = 7 11.5 4 1.5 1 0.2
- 80 125 80 67 3.5 9.5 16 = = 7 14.1 4 1.5 1 0.2
-110 155 110 97 3.5 9.5 16 = = 7 17.2 4 1.5 1 0.25
- 5- 35 80 35 22 3.5 9.5 18 = = 8 10.4 5 1.5 1 0.2
- 55 100 55 42 3.5 9.5 18 = = 8 12.5 5 1.5 1 0.2
- 80 125 80 67 3.5 9.5 18 = = 8 15.1 5 1.5 1 0.2
-110 155 110 97 3.5 9.5 18 = = 8 18.2 5 1.5 1 0.25
- 6- 35 80 35 22 3.5 9.5 23 = = 9 11.4 6 1.5 1 0.2
- 55 100 55 42 3.5 9.5 23 = = 9 13.5 6 1.5 1 0.2
- 80 125 80 67 3.5 9.5 23 = = 9 16.1 6 1.5 1 0.2
-110 155 110 97 3.5 9.5 23 = = 9 19.2 6 1.5 1 0.25
- 7- 35 80 35 22 3.5 9.5 25 = = 10 12.4 7 1.5 1 0.2
- 55 100 55 42 3.5 9.5 25 = = 10 14.5 7 1.5 1 0.2
- 80 125 80 67 3.5 9.5 25 = = 10 171 7 1.5 1 0.2
-110 155 110 97 3.5 9.5 25 = = 10 20.2 7 1.5 1 0.25
- 8- 35 80 35 22 3.5 9.5 27 = = 11 13.4 8 1.5 1 0.2
- 55 100 55 42 3.5 9.5 27 = = 11 15.5 8 1.5 1 0.2
- 80 125 80 67 3.5 9.5 27 = = 11 18.1 8 1.5 1 0.2
-110 155 110 97 3.5 9.5 27 = = 11 21.2 8 1.5 1 0.25
- 9- 35 80 35 22 3.5 9.5 29 42 = 12 14.4 9 1.5 1 0.2
- 55 100 55 42 3.5 9.5 29 42 = 12 16.5 9 1.5 1 0.2
- 80 125 80 67 3.5 9.5 29 42 - 12 19.1 9 1.5 1 0.2
-110 155 110 97 3.5 9.5 29 42 = 12 22.2 9 1.5 1 0.25
-10- 35 80 35 22 3.5 9.5 32 42 = 13 15.4 10 1.5 1 0.2
- 55 100 55 42 3.5 9.5 32 42 = 13 17.5 10 1.5 1 0.2
- 80 125 80 67 3.5 9.5 32 42 = 13 20.1 10 1.5 1 0.2
-110 155 110 97 3.5 9.5 32 42 = 13 23.2 10 1.5 1 0.25
-11- 35 80 35 22 3.5 9.5 34 44 = 14 16.4 11 1.5 1 0.2
- 55 100 55 42 3.5 9.5 34 44 = 14 18.5 11 1.5 1 0.2
- 80 125 80 67 3.5 9.5 34 44 = 14 21.1 11 1.5 1 0.2
=110 155 110 97 3.5 9.5 34 44 = 14 24.2 11 1.5 1 0.25
-12- 35 80 35 22 3.5 9.5 37 48 = 15 17.4 12 1.5 1 0.2
- 55 100 55 42 3.5 9.5 37 48 = 15 19.5 12 1.5 1 0.2
- 80 125 80 67 3.5 9.5 37 48 = 15 221 12 1.5 1 0.2
-110 155 110 97 3.5 9.5 37 48 95 15 25 12 1.5 2 0.25




B TIR

48

BETHES e

-HSK32A-SF A48 714 (4.5 FEARMERY )  Hoksaa-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

FIG. 2 D L5

A
45
7
iz]
E
5

%)
o
=
=
=
o
=1
=
o
o
2
T
o
=
o
m
ol
wv
m
e
m
wn

# 1% Model d FIG EZ KGS
HSK32A-SF03-65 81 65 45 20 12 - 32 15 20 3 - - 1 0.2
-SF04-65 81 65 45 20 16 - 32 15 20 4 - - 1 0.2
-SF05-65 81 65 45 20 18 - 32 15 20 5 - - 1 0.2
-SF06-75 91 75 55 20 26 36 32 21 26 6 M5*0.8P M6*1.0P 2 0.3
-SF08-75 91 75 55 20 26 36 32 21 26 8 M6*1.0P M6*1.0P 2 0.3
-SF10-75 91 75 55 20 32 42 32 24 29 10 M8*1.0P M6*1.0P 2 0.4
-SF12-80 96 80 60 20 37 47 32 24 29 12 M10*1.0P M6*1.0P 2 0.4
MAEER:
@Ll K Length(L1)
JIFFE 4R Diameter

THEE{LE Holder type
$EIRAZR, Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

-HSK40A-SF A48 J14H (4.5 FEARMEBY)  Hokaoa-5F SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

L4

N - M

o 48
S 7] L2
é g 1 L1
|
M # Model L L1 L2 L3 L4 D D1 D2 d R FIG E&2KGS
HSK40A-SF03- 60 80 60 40 20 12 40 12 17 3 5 1 0.3
-120 140 120 100 20 12 40 12 20 3 5 2 0.4
-160 180 160 140 20 12 40 12 20 3 5 2 0.5
-SF04- 60 80 60 40 20 16 40 12 17 4 5 1 0.3
-120 140 120 100 20 16 40 15 22 4 5 2 0.4
-160 180 160 140 20 16 40 15 22 4 5 2 0.5
-SF05- 60 80 60 40 20 18 40 12 17 5 5 1 0.3
-120 140 120 100 20 18 40 15 22 5 5 2 0.4
-160 180 160 140 20 18 40 15 22 5 5 2 0.5
FA& 5 ER:

@Ll KE Length (L1)
JIFFE 1R Diameter

IEEFL S Holder type
SEFRAZT Taper size



-HSK40A-SF A48 7]HR (4.5 EiRER)

RETT RS

B TIR

48

CNCTOOLS

HSK40A-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

D2

=
T % g
L2 72
L1 fHe
L A3
58
# 1% Model L L1 L2 L3 L4 L5 D D1 D2 d T T1 FIG &= KGS
HSK40A-SF06- 80 100 | 80 | 60 | 20 | 26 | 36 | 40 | 21 27 6 M5*0.8P M6*1.0P 1 0.4
-120 140 | 120 | 100 | 20 | 26 | 36 | 40 | 21 27 6 M5*0.8P M6*1.0P 2 0.6
-160 180 | 160 | 140 | 20 | 26 | 36 | 40 | 21 27 6 M5*0.8P M6*1.0P 2 0.7
-SF08- 80 100 | 80 | 60 | 20 | 26 | 36 | 40 | 21 27 8 M6*1.0P M6*1.0P 1 0.4
-120 140 | 120 | 100 | 20 | 26 | 36 | 40 | 21 27 8 M6*1.0P M6*1.0P 2 0.6
-160 180 | 160 | 140 | 20 | 26 | 36 | 40 | 21 27 8 M6*1.0P M6*1.0P 2 0.7
-SF10- 80 100 | 80 | 60 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 1 0.5
-120 140 | 120 | 100 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.7
-160 180 | 160 | 140 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.8
-SF12- 90 110 | 90 | 70 | 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 1 0.5
-120 140 | 120 | 100 | 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 2 0.7
-160 180 | 160 | 140 | 20 | 37 | 47 | 40 | 24 | 32 | 12 M10*1.0P M6*1.0P 2 0.8
-SF14- 90 110 | 90 | 70 | 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 0.6
-120 140 | 120 | 100 | 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.8
-160 180 | 160 | 140 | 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.9
-SF16- 90 110 90 | 70 | 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 1 0.5
-120 140 | 120 | 100 | 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 2 0.7
-160 180 | 160 | 140 | 20 | 40 | 50 | 40 | 27 | 34 | 16 M12*1.0P M6*1.0P 2 0.8
AR IR

I IjJﬁ'éﬁ-zg Holdertype
HATAZZC Taper size

@_1 £ Length (L1)

Z Diameter




HIZTIN

48

CNCTOOLS

HETIHFE S

‘HSK50A-SF #A4857]HR (4.5 EiRER)

4
7]
Uiz]
#
5l

wv
=
=
=
~
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

HSK50A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

. L4
T [eia|a
<
L2
L1
L4
e
e S

L2
L1
# # Model L L1 L2 L3 L4 D D1 D2 d R FIG EE KGS

HSK50A-SF03- 80 105 80 54 26 12 50 12 17 3 5 1 0.4
-120 145 | 120 | 94 26 12 50 12 20 3 5 2 0.5

-160 185 | 160 | 134 | 26 12 50 12 20 3 5 2 0.6

-SF04- 80 105 80 54 26 16 50 12 17 4 5 1 0.5

-120 145 | 120 | 94 26 16 50 15 22 4 5 2 0.6

-160 185 | 160 | 134 | 26 16 50 15 22 4 5 2 0.7

-SF05- 80 105 80 54 26 18 50 12 17 5 5 1 0.5

-120 145 | 120 | 94 26 18 50 15 22 5 5 2 0.6

-160 185 | 160 | 134 | 26 18 50 15 22 5 5 2 0.7

AR5 RE:

@Ll K[ Length(L1)
JI#FE 1 Diameter
IHBEFL S Holder type
HEFRAZ I Taper size




B TIR

48

BETHES e

‘HSK50A-SF A48 JI4R (4.5 EAREERY)  sks0a-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

Flg.1 p M 5
L4
"N W <58
<
L2
L
T1 L5
[T
l/ ‘

Tmil 'ﬁ[% [ i

~ A3

o L2 % g

L3 T s

R e

L =7

Hl g

#1& Model L L1 L2 L3 14 5 D D1 D2 d T T1 FIG ZEE= KGS

HSK50A-SF06- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 1 0.7
-120 145 | 120 | 94 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P | 2 0.9
-SF08- 80 105 | 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 1 0.6
-120 145 | 120 | 94 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P | 2 0.9
-SF10- 85 110 | 85 | 59 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 1 0.7
-120 145|120 | 94 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P | 2 0.9
-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 1 0.7
-120 145 | 120 | 94 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 2 0.8
-160 185 | 160 | 134 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 2 0.9
-SF14- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 1 0.7
-120 145 | 120 | 94 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 2 0.8
-160 185|160 | 134 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 2 0.9
-SF16- 95 120 | 95 | 69 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 1 0.7
-120 145|120 | 94 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.8
-160 185 | 160 | 134 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.9
-200 185|160 | 134 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 2 0.9
-SF18- 95 120| 95 | 69 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 1 0.9
-120 145|120 | 94 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 1
-160 185 | 160 | 134 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 1.1
-200 185|160 | 134 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 2 1.1
-SF20-100 125|100 | 74 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 0.9
-120 145|120 | 94 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 2 1
-160 185|160 | 134 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 2 1.1

FA& W ER:
@Ll K E Length (L1)

JI#FE 1% Diameter
IhEEfXS Holder type
$FRAZT, Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬁ%ﬂ

‘HSK63A-SF A48 JIH (4.5 FEAREERY)  Hokeaa-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

c 45
27
é g ol 5 S
§§IJ
L
# # Model L L1 L2 L3 L4 D D1 D2 d R FIG E=KGS
HSK63A-SF03- 80 112 80 54 26 12 63 12 17 3 5 1 0.7
-120 152 | 120 94 26 12 63 12 20 3 5 2 1.1
-160 192 | 160 134 26 12 63 12 20 3 5 2 1.3
-SF04- 80 112 80 54 26 16 63 12 17 4 5 1 0.7
-120 152 | 120 94 26 16 63 15 22 4 5 2 1.1
-160 192 | 160 134 26 16 63 15 22 4 5 2 1.3
-SF05- 80 112 80 54 26 18 63 12 17 5 5 1 0.7
-120 152 | 120 94 26 18 63 15 22 5 5 2 1.1
-160 192 | 160 134 26 18 63 15 22 5 5 2 1.3

MR

@Ll {E Length (L1)
JI#FE 1R Diameter
Ihg

BEfL S Holder type
S$HFRFZ T, Taper size



B TIR

48

BETHES e

‘HSK63A-SF A4 JI4HA (4.5 FEAREERY)  Hokeaa-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

£

%3

5%
=

L3 L2
L1
L
#; & Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG ZE= KGS

HSK63A-SF06- 80 112|180 |54 |26 (26|36 | - | 63|21 |27 - 6 M5*0.8P M6*1.0P 1 0.8
=120 1521120194 | 26 |26 |36 | - | 63|21 |27 | - 6 M5*0.8P M6*1.0P 2 1.1
=160 192|160(134| 26 |26 |36 |78 |63 |21 |27 |41 | 6 M5*0.8P M6*1.0P 3 1.4
-200 232(200({174| 26 | 26 | 36 |118| 63 | 21 |27 |41 | 6 M5*0.8P M6*1.0P 3 1.8
-250 282(250(224| 26 | 26 | 36 |168| 63 | 21 |27 (41| 6 M5*0.8P M6*1.0P 3 2.2
-SF08- 80 112|180 |54 |26 (26|36 | - | 63|21 |27 | - 8 M6*1.0P M6*1.0P 1 0.8
=120 1521120194 | 26 |26 |36 | - | 63|21 |27 | - 8 M6*1.0P M6*1.0P 2 1.1
-160 192|160|134| 26 |26 | 36 | 78 |63 |21 |27 |41 | 8 M6*1.0P M6*1.0P 3 1.4
-200 232(200(174| 26 | 26 | 36 |118| 63 | 21 |27 (41| 8 M6*1.0P M6*1.0P 3 1.8
=250 282(250(224| 26 | 26 | 36 |168| 63 | 21 |27 |41 | 8 M6*1.0P M6*1.0P 3 2.2
-SF10- 85 11718559126 (3242 | - |63|24 32| - |10 M8*1.0P M6*1.0P 1 0.9
-120 1521120194 | 26 |32 |42 | - | 63|24 32| - |10 M8*1.0P M6*1.0P 2 1.2
=160 192|160(134| 26 |32 |42 |78 |63 |24 |32 |40 |10 M8*1.0P M6*1.0P 3 1.5
=200 232(200({174| 26 | 32 |42 |118(63 |24 (32|40 |10 M8*1.0P M6*1.0P 3 1.9
-250 282(250(224| 26 | 32 |42 |168| 63 |24 32|40 |10 M8*1.0P M6*1.0P 3 2.3
-SF12- 90 122|190 | 64|26 |37 |47 | - | 6324 (32| - | 12| M10*1.0P M6*1.0P 1 0.9
=120 152|120| 94 |26 |37 |47 | - | 63|24 (32| - | 12| M10*1.0P M6*1.0P 2 1.2
=160 192|160|134| 26 |37 |47 |78 | 63 | 24 |32 |40 | 12| M10*1.0P M6*1.0P 3 1.5
-200 232(200|174| 26 | 37 | 47 |118| 63 | 24 | 32| 40| 12| M10*1.0P M6*1.0P 3 1.9
-250 282(250|224| 26 | 37 | 47 |168| 63 | 24 | 32| 40| 12 | M10*1.0P M6*1.0P 3 2.3
-SF14- 90 122|190 | 64|26 |37 |47 | - | 63|27 |34 | - | 14| M10*1.0P M6*1.0P 1 0.9
=120 152|120| 94 |26 |37 |47 | - | 63|27 |34 | - | 14| M10*1.0P M6*1.0P 2 1.2
-160 192|160|134| 26 | 37 |47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P 3 1.5
-200 232(200|174| 26 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P 3 1.9
-250 282(250|224| 26 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P 3 2.3

MR

T @Ll K Length (L1)
JJ#FE 1% Diameter
e S Holder type

HARAZT Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

‘HSK63A-SF A4 1R (4.5 FEAREERY)  Hske3a-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

1%
g 7]
z 1%
)
~iala
#A% Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG E= KGS
HSK63A-SF16- 95 127/ 9569 |26 |40 |50 | - |[63|27|34| - | 16| M12*1.0P M6*1.0P 1 0.9
-120 152(120{ 94 |26 {40 |50 | - |63 |27 |34 | - |16 | M12*1.0P M6*1.0P 2 1.2
-160 192|160({134| 26 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P M6*1.0P 3 1.5
-200 232|200(174| 26 | 40 | 50 |118| 63 | 27 | 34 | 42| 16 | M12*1.0P M6*1.0P 3 1.9
-250 282|250(224| 26 | 40 | 50 |168| 63 | 27 | 34 | 42| 16 | M12*1.0P M6*1.0P 3 2.3
-SF18- 95 127/ 95|69 2640 |50 | - |63 [33|42| - |18 | M12*1.0P M6*1.0P 1 1.1
=120 152|120{ 94 |26 |40 |50 | - |63 33|42 | - | 18| M12*1.0P M6*1.0P 2 1.3
-160 192|160(134| 26 |40 |50 | - |63 |33 |42 | - | 18| M12*1.0P M6*1.0P 2 1.6
-200 232|200(174| 26 |40 |50 | - | 63|33 |42| - |18 | M12*1.0P M6*1.0P 2 2.1
-250 282|250(224| 26 |40 |50 | - | 63|33 |42 - |18 | M12*1.0P M6*1.0P 2 2.6
-SF20-100 132|100{ 74 |26 |42 |52 | - |63 [33[42| - | 20| M16*1.0P M6*1.0P 1 11
=120 152]|120{ 94 |26 |42 |52 | - |63[33|42| - | 20| M16*1.0P M6*1.0P 2 1.3
-160 192|160(134| 26 |42 | 52| - |63 |33|42| - | 20| M16*1.0P M6*1.0P 2 1.6
-200 232|200(174| 26 |42 |52 | - | 63|33 |42 - | 20 | M16*1.0P M6*1.0P 2 2.1
-250 282|250|224| 26 |42 | 52| - | 63|33 |42| - |20 | M16*1.0P M6*1.0P 2 2.6
-SF25-115 147|115/ 89 | 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P M6*1.0P 1 1.9
-130 162|130(104| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P M6*1.0P 2 2.1
-160 192|160(134| 26 |48 |58 | - | 63|44 |53 | - | 25| M16*1.0P M6*1.0P 2 2.2
-200 232|200|174| 26 | 48 |58 | - |63 |44 |53 | - | 25| M16*1.0P M6*1.0P 2 2.6
-250 282|250(224| 26 |48 |58 | - |63 |44 |53 | - | 25| M16*1.0P M6*1.0P 2 3
-SF32-120 152]120{ 94 |26 |52 | 62| - |63 |44 |53 | - | 32| M16*1.0P M6*1.0P 1 1.9
-130 162|130(104| 26 | 52 |62 | - | 63|44 |53 | - | 32| M16*1.0P M6*1.0P 2 2.2
-160 192|160|134| 26 |52 |62 | - | 63|44 |53| - | 32| M16*1.0P M6*1.0P 2 2.3
-200 232|200(174| 26 |52 | 62| - |63 |44 |53 | - | 32| M16*1.0P M6*1.0P 2 2.7
=250 282|250(224| 26 |52 | 62| - |63 |44 |53 | - | 32| M16*1.0P M6*1.0P 2 3.1

MR ER:

$L1 K Length (L1)
JIFFE & Diameter
Ih8

BE1L S Holder type
SEIRAZT, Taper size



-HSK8O0A-SF A48 7]HR (4.5 EiRER)

HSK8OA-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

RETT RS

FIG.3

L5

B TIR

48

CNCTOOLS

1=

L4

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

ol 5

[—=

L6

L2

L1

# #% Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 FIG E|E KGS

HSK80A-SF06- 85 |125| 85| 59 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 6 M5*0.8P M6*1.0P | 1 1.4
=120 160|120 94 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 6 M5*0.8P M6*1.0P | 2 1.5

-160 200 (160|134 | 26 | 26 | 36 | 78 | 80 | 21 | 27 | 41 | 6 M5*0.8P M6*1.0P | 3 21

-200 240|200(174| 26 | 26 | 36 |118| 80 | 21 | 27 | 41 | 6 M5*0.8P M6*1.0P | 3 2.2
-SF08- 85 125|185 | 59 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 1 1.4
-120 160|120 95 | 26 | 26 | 36 | - | 80 | 21 | 27 | - 8 M6*1.0P M6*1.0P | 2 1.5

-160 200 (160|134 | 26 | 26 | 36 | 78 | 80 | 21 | 27 | 41 | 8 M6*1.0P M6*1.0P | 3 21

-200 240(200(174| 26 | 26 | 36 |118| 80 | 21 | 27 | 41 | 8 M6*1.0P M6*1.0P | 3 2.2
-SF10- 90 130 90 | 64 | 26 | 32 |42 | - [ 80|24 |32 | - |10 | M8*1.0P M6*1.0P | 1 1.5
=120 160|120 94 | 26 | 32 |42 | - |80 |24 |32| - (10| M8*1.0P M6*1.0P | 2 1.6

-160 200 (160|134 | 26 | 32 | 42 | 78 | 80 | 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P | 3 21

-200 240(200|174| 26 | 32 | 42 [118| 80 | 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P | 3 2.3
-SF12- 95 135|195 | 69 | 26 | 37 |47 | - |80 (24| 32| - | 12| MI0*1.OP | M6*1.0P | 1 1.5
=120 160|120| 94 | 26 | 37 | 47 | - |80 (24 | 32| - [ 12| MI0*1.OP | M6*1.0P | 2 1.6

-160 200 (160|134 | 26 | 37 | 47 | 78 | 80 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 21

-200 240|200|174| 26 | 37 | 47 [118| 80 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 2.3
-SF14- 95 135|195 | 69 | 26 | 37 | 47 | - |80 |27 | 34| - | 14| MIO*1.OP | M6*1.0P | 1 1.5
-120 160|120| 94 | 26 | 37 | 47 | - | 80 |27 | 34| - | 14 | MI0*1.OP | M6*1.0P | 2 1.7

-160 200|160|134| 26 | 37 | 47 | 78 | 80 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 2.1

-200 240|200|174| 26 | 37 | 47 |118| 80 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 2.2




HIZTIN

c?%(%%s BT 5 FE 5

-HSK80A-SF A48 I (4.5 FEARMERY)  Hoks0a-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

FIG.3 D

#M & Model T1 FIG ZE KGS

HSK80A-SF16-100 140 |100| 74 | 26 | 40 | 50 - 80 | 27 | 34 - 16 | M12*1.0P | M6*1.0P 1 1.5
=120 160|120| 94 | 26 | 40 | 50 - 80 | 27 | 34 - 16 | M12*1.0P | M6*1.0P 2 1.8

=160 200|160(134| 26 | 40 | 50 | 78 | 80 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 2.1

=200 240(200|174| 26 | 40 | 50 [118| 80 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 2.2
-SF18-100 140 |100| 74 | 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 1 1.6
=120 160|120| 94 | 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 2 1.9

=160 200|160 (134| 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 3 2.2

=200 240(200|174| 26 | 40 | 50 - 80 | 33 | 42 - 18 | M12*1.0P | M6*1.0P 3 2.6
-SF20-105 145|105| 79 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 1 1.6
=120 160|120| 94 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 2 2.1

=160 200 (160|134 | 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 3 2.3

=200 240(200|174| 26 | 42 | 52 - 80 | 33 | 42 - 20 | M16*1.0P | M6*1.0P 3 2.7
-SF25-115 155|115| 89 | 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 1 2.5
=160 200(160|134| 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 3 2.8

=200 240(200|174| 26 | 48 | 58 - 80 | 44 | 53 - 25 | M16*1.0P | M6*1.0P 3 3.6
-SF32-120 160|120| 94 | 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 1 2.5
=160 200(160|134| 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 3 3.2

-200 240(200|174| 26 | 52 | 62 - 80 | 44 | 53 - 32 | M16*1.0P | M6*1.0P 3 3.5




-HSK100A-SF #&48J14#% (4.5 EtrER)

FIG.1

RETT RS

B TIR

48

CNCTOOLS

HSK100A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

L4

L T7777A
5= |78
z
FIG.2 z
jj b
L4 I
me
S - k| gl 5l &
L2
L1
M & Model L L1 L2 L3 L4 D D1 D2 d FIG == KGS
HSK100A-SF03- 85 135 85 56 29 12 100 12 17 3 10 1 2.2
=120 170 120 91 29 12 100 12 20 3 10 2 2.5
=160 210 160 131 29 12 100 12 20 3 10 2 2.8
-SF04- 85 135 85 56 29 16 100 12 17 4 10 1 2.2
=120 170 120 91 29 16 100 15 22 4 10 2 2.5
=160 210 160 131 29 16 100 15 22 4 10 2 2.8
-SF05- 85 135 85 56 29 18 100 12 17 5 10 1 2.2
=120 170 120 91 29 18 100 15 22 5 10 2 2.5
=160 210 160 131 29 18 100 15 22 5 10 2 2.8
S BE:

? %_l ¥E Length (L1)
JIFFE 1R Diameter
e =S Holdertype
SEARAZIC Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-HSK100A-SF #4811 (4.5 EtrER)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

-3

D2

HSK100A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

P
D1

D2

L2

L1

M 1% Model L L1 L2 L3 L4 L5 L6 D DI D2 D3 d T T1 FIG E& KGS

HSK100A-SF06- 85 135|185 |56 |29 |26 |36 | - |100]| 21 | 27 | - 6 M5*0.8P | M6*1.0P | 1 2.2
-120 1701120 91 | 29 | 26 | 36 | - |100| 21 | 27 | - 6 M5*0.8P | M6*1.0P | 2 2.5
=160 |210(160(131| 29 | 26 | 36 | 78 |100| 21 | 27 | 41 | 6 M5*0.8P | M6*1.0P | 3 2.8
=200 | 250(200(171| 29 | 26 | 36 |118|100| 271 | 27 |41 | 6 M5*0.8P | M6*1.0P | 3 3.2
-250 |300(250(221| 29 | 26 | 36 |168|100| 21 | 27 | 41 | 6 M5*0.8P | M6*1.0P | 3 3.6
-SF08- 85 135|185 |56 |29 |26 |36 | - |100]| 21 | 27 | - 8 M6*1.0P | M6*1.0P | 1 2.2
-120 1701120 91 | 29 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P | M6*1.0P | 2 2.5
-160 |210(160(131| 29 | 26 | 36 | 78 |100| 271 | 27 | 41 | 8 M6*1.0P | M6*1.0P | 3 2.8
=200 |250(200(171| 29 | 26 | 36 |118|100| 271 | 27 | 41 | 8 M6*1.0P | M6*1.0P | 3 3.2
=250 |300(250(221| 29 | 26 | 36 |168|100| 21 | 24 |41 | 5 M6*1.0P | M6*1.0P | 3 3.6
-SF10- 90 140 90 | 61 | 29 | 32 | 42| - |100| 24 | 32| - | 10 | M8*1.0P | M6*1.0P | 1 2.3
-120 170|120| 91 | 29 | 32 |42 | - |100| 24|32 | - | 10 | M8*1.0P | M6*1.0P | 2 2.6
-160 [210|160(131| 29 | 32 | 42 | 78 |100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 2.9
-200 (250(200(171| 29 | 32 | 42 |118|100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 3.3
-250 [300(250(221| 29 | 32 | 41 |168|100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 3 3.7
-SF12- 95 14595 | 66 | 29 | 37 | 47 | - |[100| 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 1 2.3
=120 170(120| 91 | 29 | 37 | 47 | - |[100| 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 2 2.6
-160 |210|160(131| 29 | 37 | 47 | 78 |100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 2.9
=200 [250(200(171| 29 | 37 | 47 |118|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 3.3
=250 [300(250(221| 29 | 37 | 47 |168|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 3 3.7
-SF14- 95 145| 95 | 66 | 29 | 37 | 47 | - [100| 27 | 34 | - | 14 | M10*1.0P | M6*1.0P | 1 2.3
=120 170(120| 91 | 29 | 37 | 47 | - [100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P | 2 2.6
-160 [210|160|131| 29 | 37 | 47 | 78 |100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 2.9
-200 |250|200(171| 29 | 37 | 47 [118|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 3.3
=250 [300[250(221| 29 | 37 | 47 |168|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 3.7




-HSK100A-SF #R48J14% (4.5 EtrER)

RETT RS

B TIR

48

CNCTOOLS

HSK100A-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

-l 5

D2

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

# # Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 FIG EE KGS

HSK100A-SF16-100 150|100| 71 | 29 | 40 | 50 | - [100| 27 | 34 | - | 16 | M12*1.0P | M6*1.0P | 1 2.3
-120 170|120 91 | 29 | 40 | 50 | - [100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 2 2.6
-160 210[160(131| 29 | 40 | 50 | 78 |100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 2.9
-200 250(200(171| 29 | 40 | 50 | 118|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 3.3
-250 300(250(221| 29 | 40 | 50 [168|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 3.7
-SF18-100 150|100| 71 | 29| 40 | 50 | - |[100| 33 | 42 | - | 18 | M12*1.0P | M6*1.0P | 1 2.4
-120 170|120 91 | 29 | 40 | 50 | - [100| 33 | 42 | - | 18 | M12*1.0P | M6*1.0P | 2 2.7
-160 210[160|131| 29 | 40 | 50 | 78 |100| 33 | 42 18 | M12*1.0P | M6*1.0P | 3 3.1
-200 250(200|171| 29 | 40 | 50 | 118|100 33 | 42 18 | M12*1.0P | M6*1.0P | 3 3.4
-250 300(250(221| 29 | 40 | 50 [168|100| 33 | 42 18 | M12*1.0P | M6*1.0P | 3 3.8
-SF20-105 155|105| 76 | 29 | 42 | 52 | - |[100| 33 | 42 | - | 20 | M16*1.0P | M6*1.0P | 1 2.4
-120 170120 91 | 29 | 42 | 52| - |100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P | 2 2.7
-160 210|160|131| 29 | 42 | 52 | 78 |100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 3.1
-200 250(200(171| 29 | 42 | 52 |118|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 3.4
-250 300(250(221| 29 | 42 | 52 [168|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 3.8
-SF25-115 165[115| 86 | 29 | 48 | 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 1 3.2
-130 180|130(101| 29 | 48 | 58 | - |[100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 2 3.4
-160 210[160|131| 29 | 48 | 58 | 78 |100| 44 | 53 25 | M16*1.0P | M6*1.0P | 3 3.6
-200 250(200(171| 29 | 48 | 58 | 118|100 44 | 53 25 | M16*1.0P | M6*1.0P | 3 4.1
-250 300(250(221| 29 | 48 | 58 [168|100| 44 | 53 25 | M16*1.0P | M6*1.0P | 3 4.6
-SF32-120 170120 91 | 29 |52 | 62| - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 1 3.2
-140 190|140(111| 29 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 2 3.4
-160 210[160(131| 29 | 52 | 62 | 78 |100| 44 | 53 32 | M16*1.0P | M6*1.0P | 3 3.6
-200 250(200(171| 29 | 52 | 62 | 118|100 44 | 53 32 | M16*1.0P | M6*1.0P | 3 4.1
-250 300(250(221| 29 | 52 | 62 |168|100| 44 | 53 32 | M16*1.0P | M6*1.0P | 3 4.6




HIZTIN

ciﬁc%ﬁs BT 5 FE 5

-HSK25E-SF A 4E 71 (4.5 BARMEEY)  Hokose-sF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

FIG. 2 D

4
7]
Uiz]
#
5l

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

#M 4% Model d FIG EE KGS
HSK25E-SF03-50 63 | 50|40 |10 | 12| - | 25| 15| 20| 3 = = 1 0.1
-SF04-50 63 | 50 |40 |10 |16 | - | 25| 15| 20 | 4 = = 1 0.1
-SF05-50 63 | 50 |40 | 10 | 18 | - | 25| 15| 20 | 5 = = 1 0.1
-SF06-50 63 | 50 | 40 | 10 | 23 | 37 | 25 | 21 | 26 | 6 M5*0.8P M6*1.0P 2 0.1
AR RA:

? $Ll £ Length (L1)
JJ#FE 1 Diameter
Ihg

BE1L S Holder type
$EFRAZT, Taper size



B TIR

48

BETHES e

-HSK32E-SF 45T (4.5 EHRMEEY)  Hoksar-sr SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

FIG. 2 D

P

45
7
iz]
£

N
=

S31¥43S YIATOH 1001 LI INRIHS

# & Model d FIG E|= KGS
HSK32E-SF03-60 76 | 60 | 40 | 20 | 12 - 32 | 15 | 20 3 - - 1 0.2
-SF04-60 76 | 60 | 40 | 20 | 16 - 32 | 15 | 20 4 - - 1 0.2
-SF05-60 76 | 60 | 40 | 20 | 18 - 32 | 15 | 20 5 - - 1 0.2
-SF06-70 86 | 70 | 70 | 20 | 26 | 36 | 32 | 21 26 6 M5*0.8P M6*1.0P 2 0.3
-SF08-70 86 | 70 | 70 | 20 | 26 | 36 | 32 | 21 | 26 8 M6*1.0P M6*1.0P 2 0.3
-SF10-70 86 | 70 | 70 | 20 | 32 | 42 | 32 | 24 | 29 | 10 M8*1.0P M6*1.0P 2 0.4
-SF12-70 86 | 70 | 70 | 20 | 37 | 47 | 32 | 24 | 29 | 12 M10*1.0P M6*1.0P 2 0.4
g RE:

@Ll KE Length(L1)
TI#FE 1R Diameter
If

BE1X S Holder type
HEFRAZ I Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

-HSKA40E-SF #4571 (4.5 EHRMEEY)  Hoka0e-SF SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

FIG. 2 D

% #L L4
7 f RS s
z i | 15
o %l
& L2
L
# #% Model L L1 L2 L3 L4 D D1 D2 d R FIG EEKGS
HSK40E-SF03- 60 80 60 40 20 12 40 12 17 3 5 1 0.3
-120 140 120 100 20 12 40 12 20 3 5 2 0.4
-160 180 160 140 20 12 40 12 20 3 5 2 0.5
-SF04- 60 80 60 40 20 16 40 12 17 4 5 1 0.3
-120 140 120 100 20 16 40 15 22 4 5 2 0.4
-160 180 160 140 20 16 40 15 22 4 5 2 0.5
-SF05- 60 80 60 40 20 18 40 12 17 5 5 1 0.3
=120 140 120 100 20 18 40 15 22 5 5 2 0.4
-160 180 160 140 20 18 40 15 22 5 5 2 0.5
ML EA:

%1 K[ Length (L1)
JIF¥FE 1 Diameter

IhEE{X S Holder type
AL, Taper size



-HSK40E-SF #A4E 71 (4.5 EtRER)

HSK4OE-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

RETT RS

FIG. 2

B TIR

48

CNCTOOLS

D2

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

M % Model L LT L2 L3 14 L5 D D1 D2 d T T1 FIG EEKGS

HSK40E-SF06- 80 100| 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 | 6 M5*0.8P M6*1.0P 1 0.4
-120 140|120 |100| 20 | 26 | 36 | 40 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.6

-160 180|160 |140| 20 | 26 | 36 | 40 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.7

-SF08- 80 100| 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 | 8 M6*1.0P M6*1.0P 1 0.4

-120 140|120 |100| 20 | 26 | 36 | 40 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.6

-160 180|160 |140| 20 | 26 | 36 | 40 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.7

-SF10- 80 100| 80 | 60 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 1 0.5

-120 140|120 |100| 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.7

-160 180|160 |140| 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.8

-SF12- 90 110| 90 | 70 | 20 | 37 | 47 | 40 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 0.5

=120 140|120 |100| 20 | 37 | 47 | 40 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.7

-160 180|160 |140| 20 | 37 | 47 | 40 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.8

-SF14- 90 110| 90 | 70 | 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 0.6

-120 140|120 |100| 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.8

-160 180|160 |140| 20 | 37 | 47 | 40 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.9

-SF16- 90 110| 90 | 70 | 20 | 40 | 50 | 40 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 0.5

-120 140|120 |100| 20 | 40 | 50 | 40 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.7

-160 180|160 |140| 20 | 40 | 50 | 40 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.8

MR ERA:

I HEFRAZ I Taper size

@Ll E Length (L1)

IhE bﬁ-‘g Holder type

£ Diameter




HIZTIN

ci%c%ﬁs BT 5 FE 5

-HSK50E-SF #4571 (4.5 BEARMEEY)  HoKsor-Sr SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D
L4
7
5 178F
L3 L2
L1
L
FIG. 2 D
:2'_; ﬂ L4
g%ﬁ /77777_. rela
2 — — »x- -I<f3|8
CE
|
- L2
L1
L
# #% Model L L1 L2 L3 L4 ] D1 D2 d R FIG E= KGS
HSK50E-SF03- 80 105 80 54 26 12 50 12 17 3 5 1 0.4
-120 145 120 94 26 12 50 12 20 3 5 2 0.5
-160 185 160 134 26 12 50 12 20 3 5 2 0.6
-SF04- 80 105 80 54 26 16 50 12 17 4 5 1 0.5
-120 145 120 94 26 16 50 15 22 4 5 2 0.6
-160 185 160 134 26 16 50 15 22 4 5 2 0.7
-SF05- 80 105 80 54 26 18 50 12 17 5 5 1 0.5
-120 145 120 94 26 18 50 15 22 5 5 2 0.6
-160 185 160 134 26 18 50 15 22 5 5 2 0.7
AL 5EER:

$Ll E Length (L1)
JIFFE 1R Diameter
IHAE{X S Holder type
SEFRFZT Taper size



HSK50E-SF #4571#R (4.5 BinER)

FIG.1

HSK50E-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

RETT RS

FIG. 2

B TIR

48

CNCTOOLS

=

=t 5| 45 é

%3

Hl g

L
# # Model L L1 L2 L3 14 L5 D DI D2 d T T1 FIG ZEEZ KGS

HSK50E-SF06- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P 1 0.7
-120 145|120 94 | 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.8
-160 185|160|134| 26 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P M6*1.0P 2 0.9
-SF08- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 1 0.6
-120 145|120| 94 | 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.8
-160 185|160 |134| 26 | 26 | 36 | 50 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.9
-SF10- 85 110| 85 | 59 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 0.7
-120 145|120 | 94 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 2 0.8
-160 185|160 134 | 26 | 32 | 42 | 50 | 24 | 32 | 10 | M8*1.0P M6*1.0P 2 0.9
-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 0.7
-120 145[120| 94 | 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.8
-160 185|160 |134| 26 | 37 | 47 | 50 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.9
-SF14- 90 115| 90 | 64 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 0.7
-120 145[120| 94 | 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.8
-160 185|160 |134| 26 | 37 | 47 | 50 | 27 | 34 | 14 | M10*1.0P M6*1.0P 2 0.9
-SF16- 95 120 95 | 69 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 0.7
-120 145|120| 94 | 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.8
-200 185|160|134| 26 | 40 | 50 | 50 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.9
-SF18- 95 120 95 | 69 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 0.9
-120 145[120| 94 | 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 2 1
-200 185|160|134| 26 | 40 | 50 | 50 | 33 | 42 | 18 | M12*1.0P M6*1.0P 2 1.1
-SF20-100 125|100 | 74 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 0.9
-120 145|120 94 | 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 2 1
-160 185|160 |134| 26 | 42 | 52 | 50 | 33 | 42 | 20 | M16*1.0P M6*1.0P 2 1.1

A& BR:

JIFFE 1 Diameter

T @Ll £ Length (L1)

IHEER S Holder type
$EIRAZT, Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

‘HSK63E-SF 457140 (4.5 EARMEEEY)  oKe3e-Sr SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D
L4
7777~j
= L2
L1
L
FIG. 2 D
L4
7]
1] o

4
7]
Uiz]
#
5l

wv
=
=
=
~
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

L2

L1

# % Model L L1 L2 L3 L4 D D1 D2 d R FIG &= KGS

HSK63E-SF03- 80 112 80 54 26 12 63 12 17 3 5 1 0.7
-120 152 | 120 94 26 12 63 12 20 3 5 2 0.8

-160 192 | 160 | 134 26 12 63 12 20 3 5 2 0.9

-SF04- 80 112 80 54 26 16 63 12 17 4 5 1 0.7

-120 152 | 120 94 26 16 63 15 22 4 5 2 0.8

-160 192 | 160 | 134 26 16 63 15 22 4 5 2 0.9

-SF05- 80 112 80 54 26 18 63 12 17 5 5 1 0.7

-120 152 | 120 94 26 18 63 15 22 5 5 2 0.8

-160 192 | 160 | 134 26 18 63 15 22 5 5 2 0.9

AL RE:

? @Ll K Length (L1)
7]

FFE1Z Diameter
IHREfLS Holder type
$EFRAZ T Taper size



-HSK63E-SF A4EJI#R (4.5 EtrER)

FIG.1

HSK63E-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

RETT RS

L5

B TIR

48

CNCTOOLS

L4
S =t
a
L
FIG. 2
LS

L4 g

- - T=fs|a 45 3

) jjg

Hl g

L
# ¥ Model L LT L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG ZEEZ KGS
HSK63E-SF06- 80 112/ 80|54 |26|26|36| - |63]21|27| - | 6 | M5*0.8P M6*1.0P 1 0.8
-120 152|120/ 94 |26 |26 |36 | - |63|21|27| - | 6 | M5*0.8P M6*1.0P 2 0.9
-160 192|160|134| 26 | 26 |36 | - |63 (21|27 | - | 6 | M5*0.8P M6*1.0P 2 1.1
-SF08- 80 112/ 80 |54 |26(26|36| - [63|21[27| - | 8 | M6*1.0P M6*1.0P 1 0.8
-120 152|120/ 94 |26 |26 |36 | - |63|21|27| - | 8 | M6*1.0P M6*1.0P 2 0.9
-160 192|160|134| 26 |26 |36 | - |63 (21|27 | - | 8 | M6*1.0P M6*1.0P 2 1.1
-SF10- 85 117| 85|59 |26(32|42| - |63|24(32| - | 10| M8*1.0P M6*1.0P 1 0.9
-120 152(120| 94 |26 |32 | 42| - |63 |24|32| - | 10| M8*1.0P M6*1.0P 2 1.1
-160 192|160(134| 26 |32 |42 | - | 63|24 |32| - | 10| M8*1.0P M6*1.0P 2 1.1
-SF12- 90 122/ 90 | 64 |26 |37 |47 | - |63|24|32| - | 12| MI0*1.0P | M6*1.0P 1 0.9
-120 152|120/ 94 | 26 |37 |47 | - | 63|24 (32| - | 12| M10*1.0P | M6*1.0P 2 1.1
-160 192(160(|134| 26 |37 |47 | - |63 |24|32| - | 12| M10*1.0P | M6*1.0P 2 1.1
-SF14- 90 122/ 90| 64 | 26|37 |47 | - | 63|27 |34| - | 14| M10*1.0P | M6*1.0P 1 1.1
-120 152|120/ 94 | 26 |37 |47 | - | 63|27 |34| - | 14| M10*1.0P | M6*1.0P 2 1.1
-160 192|160|134| 26 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 2 1.2
-SF16- 95 127/95|69 [ 26|40 |50 | - | 63|27 |34| - |16 | M12*1.0P | M6*1.0P 1 1.1
-120 152(120| 94 [ 26 |40 |50 | - | 63|27 |34| - |16 | M12*1.0P | M6*1.0P 2 1.2
-160 192|160|134| 26 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 2 1.4
-SF18- 95 127/ 95|69 |26 |40|50| - |63(33|42| - | 18| M12*1.0P | M6*1.0P 1 1.1
-120 152|120/ 94 | 26 | 40 |50 | - | 63|33 |42| - | 18| M12*1.0P | M6*1.0P 2 1.3
-160 192|160(134| 26 | 40 |50 | - |63 (33|42 | - | 18| M12*1.0P | M6*1.0P 2 1.5
-SF20-100 132|100| 74 | 26 | 42| 52| - |63(33|42| - | 20| M16*1.0P | M6*1.0P 1 1.1
-120 152|120/ 94 | 26 | 42| 52| - |63(33|42| - | 20| M16*1.0P | M6*1.0P 2 1.3
-160 192|160|134| 26 | 42| 52| - | 63|33 |42| - | 20| M16*1.0P | M6*1.0P 2 1.5
-SF25-115 147|115/ 89 | 26 | 48 |58 | - | 63|44 |53 | - | 25| M16*1.0P | M6*1.0P 1 1.6
-130 162|130|104| 26 | 48 |58 | - | 63|44 |53 | - | 25| M16*1.0P | M6*1.0P 2 1.7
-160 192|160|134| 26 | 48 | 58| - | 63|44 |53 | - | 25| M16*1.0P | M6*1.0P 2 1.8
-SF32-120 152|120/ 94 | 26 | 52| 62| - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 1 1.6
-160 192(160|134| 26 |52 | 62| - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 1.7
AL RE:

? @Ll K Length(L1)
7]

HEFRAZ I Taper size

+FEH 1 Diameter
THEEL S Holder type




HIZTIN

R

CNCTOOLS

-HSKAO0F-SF #4871 (4.5 EiRER)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

L3

D

HSKA4O0F-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

L2

L1

<l 5

D2

L
#M # Model d FIG ZE=KGS
HSK40F-SF03-60 80 | 60 | 40 | 20 | 12 - 40 | 15 | 20 3 - - 1 0.5
-SF04-60 80 | 60 | 40 | 20 | 16 - 40 | 15 | 20 4 - - 1 0.5
-SF05-60 80|60 |40 | 20 | 18| - |40 | 15| 20 | 5 - - 1 0.5
-SF06-65 85 | 65 | 45 | 20 | 26 | 36 | 40 | 21 | 27 6 M5*0.8P M6*1.0P 2 0.5
-SF06-80 100 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 6 M5*0.8P M6*1.0P 2 0.8
-SF08-65 85 | 65 | 45 | 20 | 26 | 36 | 40 | 21 | 27 8 M6*1.0P M6*1.0P 2 0.5
-SF08-80 100| 80 | 60 | 20 | 26 | 36 | 40 | 21 | 27 | 8 M6*1.0P M6*1.0P 2 0.8
=-SF10-65 85 | 65 |45 | 20 | 32 | 42 | 40 | 24 | 31 10 M8*1.0P M6*1.0P 2 0.6
-SF10-80 100 80 | 60 | 20 | 32 | 42 | 40 | 24 | 32 | 10 M8*1.0P M6*1.0P 2 0.9
-SF12-65 85 | 65 | 45 | 20 | 37 | 47 | 40 | 24 | 31 12 | M10*1.0P M6*1.0P 2 0.6
=-SF12-90 110| 90 | 70 | 20 | 37 | 47 | 40 | 24 | 32 | 12 | M10*1.0P M6*1.0P 2 0.9
-SF14-90 110 90 | 70 | 20 | 37 | 47 | 40 | 27 | 34 | 14 M10*1.0P M6*1.0P 2 0.9
-SF16-90 110 90 | 70 | 20 | 40 | 50 | 40 | 27 | 34 | 16 | M12*1.0P M6*1.0P 2 0.9
AL A
@Ll K Length (L1)
JIFFE 1R Diameter
IHREFLS Holder type

ARSI, Taper size




B TIR

RETT RS ci%c%f‘s

‘HSK63F-SF A48 714A (4.5 EHREEEY)  Hokear-F SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

D2

FIG. 2 D

P

JMNFS =
S31¥43S YIATOH 1001 LI INRIHS

# # Model
HSK63F-SF03- 80 105 80 54 26 12 63 10 15 3 5 1 0.7
-120 145 120 94 26 12 63 10 20 3 5 2 0.8
-160 185 160 134 26 12 63 10 20 Bl 5 2 0.9
-SF04- 80 105 80 54 26 16 63 15 22 4 5 1 0.7
-120 145 120 94 26 16 63 15 22 4 5 2 0.8
-160 185 160 134 26 16 63 15 22 4 5 2 0.9
-SF05-80 105 80 54 26 18 63 15 22 5 5 1 0.8
-120 145 120 94 26 18 63 15 22 5 5 2 0.8
-160 185 160 134 26 18 63 15 22 5 5 2 0.9

AR LRR:

$Ll ¥ Length (L1)
JI#FE 1 Diameter
I

haefXS Holder type
$ARAZ T, Taper size




HIZTIN

c?%(%%s BT 5 FE 5

-HSK63F-SF #4571 (4.5 ERER)

D2

'UT =

HSK63F-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 2 D
T1
§ T‘ > L4
=4
= o g v
OJ] IS Q
i | [ &
g & < 4/
|
= 2
L1
L
#M #& Model L L1 L2 L3 4 L5 D DI D2 d T R FIG &£ KGS
HSK63F-SF06- 80 105| 80 | 54 | 26 | 26 | 36 | 63 | 21 | 27 | 6 | M5*0.8P 10 1 0.8
-120 145|120 94 | 26 | 26 | 36 [ 63 | 21 | 27 | 6 | M5*0.8P 10 2 0.9
-160 185[160(134| 26 | 26 | 36 | 63 | 21 | 27 | 6 | M5*0.8P 10 2 1
-SF08- 80 105| 80 | 54 | 26 | 26 | 36 | 63 | 21 | 27 | 8 | M6*1.0P 10 1 0.8
-120 145120 94 | 26 | 26 | 36 | 63 | 21 | 27 | 8 | M6*1.0P 10 2 0.9
-160 185|160 (134 | 26 | 26 | 36 | 63 | 21 | 27 | 8 | M6*1.0P 10 2 1
-SF10- 85 110| 85 | 59 | 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 1 0.8
-120 145120 94 | 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 2 0.9
-160 185[160(134| 26 | 32 | 42 | 63 | 24 | 32 | 10 | M8*1.0P 10 2 1
-SF12- 90 115| 90 | 64 | 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 1 0.8
-120 145|120 94 | 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 2 1
-160 185[160|134| 26 | 37 | 47 | 63 | 24 | 32 | 12 | M10*1.0P 10 2 1.2
-SF14- 90 15| 90 | 64 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | M10*1.0P 10 1 0.8
-120 145[120| 94 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | mM10*1.0P 10 2 1
-160 185|160 (134 | 26 | 37 | 47 | 63 | 27 | 34 | 14 | M10*1.0P 10 2 1.2
-SF16- 95 120 95 | 69 | 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 1 0.9
-120 145[120| 94 | 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 2 1
-160 185[160(134| 26 | 40 | 50 | 63 | 27 | 34 | 16 | M12*1.0P 10 2 1.3
-SF18- 95 120 95 | 69 | 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 1 0.9
-120 145[120| 94 | 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 2 1
-160 185[160|134| 26 | 40 | 50 | 63 | 33 | 42 | 18 | M12*1.0P 10 2 1.4
-SF20-100 125[100| 74 | 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 1 1
-120 145|120 94 | 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 2 1.1
-160 185[160|134| 26 | 42 | 52 | 63 | 33 | 42 | 20 | M16*1.0P 10 2 1.5
-SF25-115 140[115| 89 | 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 1 1.6
-120 145[120| 94 | 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 2 1.7
-160 185[160|134| 26 | 48 | 58 | 63 | 44 | 53 | 25 | M16*1.0P 10 2 2
-SF32-120 145|120 94 | 26 | 52 | 62 | 63 | 44 | 53 | 32 | M16*1.0P 10 1 1.6
FLAE 5E8A:

? @Ll K Length (L1)
JIFFE 1R Diameter
I

BE{X S Holder type
$EFRAZT, Taper size




B TIR

48

BETHES e

-HSK32A-SFS #4571 (3 BI<E!)  Hsks2a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG.1 D
L4
B EEE
L
e
FIG. 2 D 2
T L5 2
L4 iﬁé
g%
1 Hl g
_ _@_ [ B |:UT a S a
P J/
® \I
L3 L2
L1
L

# % Model | RAEIN FIG =EKGS

HSK32A-SFS03-40 56 40 20 20 12 - 32 9 13 3 - 10 1 0.15
=70 86 70 50 20 12 - 32 9 16 3 - 10 1 0.2

-SFS04-40 56 40 20 20 16 - 32 10 14 4 - 10 1 0.15

=70 86 70 50 20 16 - 32 10 17 4 - 10 1 0.2

-SFS05-40 56 40 20 20 18 - 32 11 15 5 - 10 1 0.15

=70 86 70 50 20 18 - 32 11 18 5 - 10 1 0.2

=-SFS06-50 66 50 30 20 26 36 32 12 17 6 M5*0.8P 10 2 0.2

-80 96 80 60 20 26 36 32 12 20 6 M5*0.8P 10 2 0.3

-SFS08-50 66 50 30 20 26 36 32 14 19 8 M6*1.0P 10 2 0.2

-80 96 80 60 20 26 36 32 14 22 8 M6*1.0P 10 2 0.3

-SFS10-55 71 55 35 20 32 42 32 16 21 10 M8*1.0P 10 2 0.2

-80 96 80 60 20 32 42 32 16 22 10 M8*1.0P 10 2 0.3

MR RA:

? L1 4 E Length(L1)
TI#FE 1R Diameter
IhAE{X S Holder type
HEFRAZ I Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-HSK40A-SFS #4571 (3 EMI<E!)  Hska0a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

1E
g 7]
z 1%
)
5 #M % Model L L1 L2 L3 L4 D D1 D2 d PNEE) FIG EE KGS

HSK40A-SFS03- 60 80 60 40 20 12 40 9 13 3 10 1 0.3

- 70 90 70 50 20 12 40 9 14 B 10 1 0.3

- 80 | 100 80 60 20 12 40 9 15 3 10 1 0.3

-120 | 140 | 120 | 100 20 12 40 9 18 3 10 2 0.4

-140 | 160 | 140 | 120 20 12 40 9 21 3 10 2 0.6

-SFS04- 60 80 60 40 20 16 40 10 14 4 10 1 0.3

- 70 90 70 50 20 16 40 10 15 4 10 1 0.3

-80 | 100 80 60 20 16 40 10 16 4 10 1 0.3

=120 | 140 | 120 | 100 20 16 40 10 19 4 10 2 0.4

-140 | 160 | 140 | 120 20 16 40 10 22 4 10 2 0.6

-SFS05- 60 80 60 40 20 18 40 11 15 5 10 1 0.3

- 70 90 70 50 20 18 40 11 16 5 10 1 0.3

- 80 | 100 80 60 20 18 40 11 17 5 10 1 0.3

-120 | 140 | 120 | 100 20 18 40 11 20 5 10 2 0.6

=140 | 160 | 140 | 120 20 18 40 11 23 5 10 2 0.8

A& ER:

@Ll KE Length (L1)
JIFFE 1R Diameter
IHEEFL S Holder type

SEFRFZ T Taper size



B TIR

48

BETHES e

-HSK40A-SFS #4571 (3 BHIKE!)  HskaoA-SFS SHRINK CHUCK (3° C SLENDER TYPE)

B

£
%3
5l 3
M & Model d RAKEIR FIG =E=KGS
HSK40A-SFS06- 60 80 60 40 20 26 36 40 12 16 6 M5*0.8P 10 1 0.3
- 70 | 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 1 0.3
- 80 | 100 | 80 60 20 26 36 40 12 18 6 M5*0.8P 10 1 0.3
=120 | 140 | 120 | 100 | 20 26 36 40 12 21 6 M5*0.8P 10 2 0.8
=140 | 160 | 140 | 120 | 20 26 36 40 12 24 6 M5*0.8P 10 2 1
-SFS08- 60 | 80 60 40 20 26 36 40 14 18 8 M6*1.0P 10 1 0.3
- 70 | 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 1 0.3
- 80 | 100 | 80 60 20 26 36 40 14 20 8 M6*1.0P 10 1 0.3
=120 | 140 | 120 | 100 | 20 26 36 40 14 23 8 M6*1.0P 10 2 0.8
-140 | 160 | 140 | 120 | 20 26 36 40 14 26 8 M6*1.0P 10 2 1
-SFS10- 60 | 80 60 40 20 32 42 40 16 20 10 M8*1.0P 10 1 0.3
- 70 | 90 70 50 20 32 42 40 16 21 10 M8*1.0P 10 1 0.3
- 80 | 100 | 80 60 20 32 42 40 16 22 10 M8*1.0P 10 1 0.3
=120 | 140 | 120 | 100 | 20 32 42 40 16 25 10 M8*1.0P 10 2 0.8
-140 | 160 | 140 | 120 | 20 32 42 40 16 28 10 M8*1.0P 10 2 1
-SFS12- 60 | 80 60 40 20 37 47 40 18 22 12 M10*1.0P 10 1 0.3
=70 | 90 70 50 20 37 47 40 18 23 12 M10*1.0P 10 1 0.3
- 80 | 100 | 80 60 20 37 47 40 18 24 12 M10*1.0P 10 1 0.4
=120 | 140 | 120 | 100 | 20 37 47 40 18 27 12 M10*1.0P 10 2 0.8
-140 | 160 | 140 | 120 | 20 37 47 40 18 30 12 M10*1.0P 10 2 1
=-SFS14- 60 | 80 60 40 20 37 47 40 20 24 14 M10*1.0P 10 1 0.4
=70 90 70 50 20 37 47 40 20 25 14 M10*1.0P 10 1 0.4
- 80 | 100 | 80 60 20 37 47 40 20 26 14 M10*1.0P 10 1 0.4
-SFS16- 60 | 80 60 40 20 40 50 40 22 26 16 M12*1.0P 10 1 0.4
=70 | 90 70 50 20 40 50 40 22 27 16 M12*1.0P 10 1 0.4
- 80 | 100 | 80 60 20 40 50 40 22 28 16 M12*1.0P 10 1 0.5

WM& BR:

T @Ll KE Length(L1)
JJ#FE 1% Diameter
IHREfLS Holder type
AR T Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

-HSK50A-SFS #4571 (3 EMI<E?)  Hsks0a-5FS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 . D
L4
 E— Q :;) —— [N —— --UTE
73
L2
L3 L1

L

FIG. 2 , D

o 48
s 7]
ER ]
% 2l
#M # Model d RAEIN FIG & KGS
HSK50A-SFS03- 90 115 90 64 26 12 50 9 15 3 10 1 0.4
=120 145 120 94 26 12 50 9 16 3 10 2 0.5
=160 185 160 134 26 12 50 9 19 3 10 2 0.6
-SFS04- 90 115 90 64 26 16 50 10 16 4 10 1 0.5
-120 145 120 94 26 16 50 10 17 4 10 2 0.6
=160 185 160 134 26 16 50 10 20 4 10 2 0.7
=SFS05- 90 115 90 64 26 18 50 11 17 5 10 1 0.5
=120 145 120 94 26 18 50 11 18 5 10 2 0.6
=160 185 160 134 26 18 50 11 21 5 10 2 0.7
A& ER:
¥L1 E Length (L1)
JIFFE 1 Diameter

IHEER S Holder type
$EFRAZT, Taper size



-HSK50A-SFS #48711R (3 EH{<E)

FIG. 1

RETT RS

B TIR

48

CNCTOOLS

HSK50A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

ol 5

S

E

=3

5l 8

#M & Mode L L1 L2 L3 L4 L5 D D1 D2 d T R KER FIG =& KGS

HSK50A-SFS06- 90 115 90 64 26 26 36 50 12 18 6 M5*0.8P 10 1 0.7
-120 145 | 120 94 26 26 36 50 12 21 6 M5*0.8P 10 2 0.8
=160 | 185 | 160 | 134 26 26 36 50 12 24 6 M5*0.8P 10 2 0.9
=-SFS08-90 115 90 64 26 26 36 50 14 20 8 M6*1.0P 10 1 0.6
=120 145 | 120 94 26 26 36 50 14 23 8 M6*1.0P 10 2 0.8
-160 185 | 160 | 134 26 26 36 50 14 26 8 M6*1.0P 10 2 0.9
=-SFS10-90 115 90 64 26 32 42 50 16 22 10 M8*1.0P 10 1 0.7
=120 145 120 94 26 32 42 50 16 25 10 M8*1.0P 10 2 0.8
=160 185 | 160 | 134 26 32 42 50 16 28 10 M8*1.0P 10 2 0.9
-SFS12-90 115 90 64 26 37 47 50 18 24 12 M10*1.0P 10 1 0.7
=120 145 | 120 94 26 37 47 50 18 27 12 M10*1.0P 10 2 0.8
=160 | 185 | 160 | 134 26 37 47 50 18 30 12 M10*1.0P 10 2 0.9
=-SFS14-90 115 90 64 26 37 47 50 20 26 14 M10*1.0P 10 1 0.7
=120 145 | 120 94 26 37 47 50 20 29 14 M10*1.0P 10 2 0.8
-160 185 | 160 | 134 26 37 47 50 20 32 14 M10*1.0P 10 2 0.9
-SFS16-90 115 90 64 26 40 50 50 22 28 16 M12*1.0P 10 1 0.7
=120 145 | 120 94 26 40 50 50 22 31 16 M12*1.0P 10 2 0.8
=160 185 | 160 | 134 26 40 50 50 22 34 16 M12*1.0P 10 2 0.9

MRS ER:

@Ll K Length (L1)
JIFFE & Diameter
Ih

BE1X S Holder type
$EIRAZT, Taper size




HIZTIN

c?%c%%s BT 5 FE 5

‘HSK63A-SFS #457]H (3 EMI<E?)  Hske3a-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 , D
/ L4
! r Q-O p— P <=t E
! ™
@ @
¢
L3 L2
L1
L
FIG. 2 D
§
=
i L4
3% . =
s 7] . -
z 18 I HE N =
5 5l 2
L2
L1
L
# # Model d RKXEIN FIG =S KGS
HSK63A-SFS03- 90 122 90 64 26 12 63 9 15 3 10 1 0.7
-120 | 152 120 94 26 12 63 9 16 3 10 2 0.8
=160 192 160 134 26 12 63 9 19 3 10 2 0.8
-200 | 232 200 174 26 12 63 9 22 3 10 2 0.9
-SFS04- 90 | 122 90 64 26 16 63 10 16 4 10 1 0.7
-120 | 152 120 94 26 16 63 10 17 4 10 2 0.8
=160 192 160 134 26 16 63 10 20 4 10 2 0.9
-200 | 232 200 174 26 16 63 10 23 4 10 2 1
-SFS05- 90 | 122 90 64 26 18 63 11 17 5 10 1 0.7
-120 | 152 120 94 26 18 63 11 18 5 10 2 0.8
-160 | 192 160 134 26 18 63 11 21 5 10 2 0.9
-200 | 232 200 174 26 18 63 11 24 5 10 2 1
FA& 5 ER:

% @Ll K E Length(L1)
TI#FE 1 Diameter
IH8E S Holder type

$HFRAZ I Taper size



‘HSK63A-SFS #4571 (3 EMKE)

RETT RS

B TIR

48

CNCTOOLS

HSK63A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

ot

L3 L2
L1
L
FIG. 2 D
D
L5
L4
% T ©'a i
© i
o
13 L2 g%
L1 I
L &
#t& Model L L1 L2 L3 L4 L5 D D1 D2 d T R KEIN FIG =EE KGS
HSK63A-SFS06- 90 | 122 | 90 | 64 | 26 | 26 | 36 | 63 | 12 | 18 6 M5*0.8P 10 1 0.7
=120 | 152 | 120 | 94 | 26 | 26 | 36 | 63 | 12 | 21 6 M5*0.8P 10 2 0.8
-160 | 192 | 160 | 134 | 26 | 26 | 36 | 63 | 12 | 24 6 M5*0.8P 10 2 0.9
-200 | 232|200 | 174 | 26 | 26 | 36 | 63 | 12 | 27 6 M5*0.8P 10 2 1
-250 | 282 | 250 | 224 | 26 | 26 | 36 | 63 | 12 6 M5*0.8P 10 2 1.1
-SFS08- 90 | 122 | 90 | 64 | 26 | 26 | 36 | 63 | 14 | 20 8 M6*1.0P 10 1 0.7
-120 | 152 | 120 | 94 | 26 | 26 | 36 | 63 | 14 | 23 8 M6*1.0P 10 2 0.8
-160 | 192 | 160 | 134 | 26 | 26 | 36 | 63 | 14 | 26 8 M6*1.0P 10 2 1
-200 | 232|200 | 174 | 26 | 26 | 36 | 63 | 14 | 29 8 M6*1.0P 10 2 1.1
-250 | 282 | 250 | 224 | 26 | 26 | 36 | 63 | 14 8 M6*1.0P 10 2 1.2
-SFS10- 90 | 122 | 90 | 64 | 26 | 32 | 42 | 63 | 16 | 22 | 10 | M8*1.0P 10 1 0.8
-120 | 152 | 120 | 94 | 26 | 32 | 42 | 63 | 16 | 25 | 10 | M8*1.0P 10 2 0.9
-160 | 192 | 160 | 134 | 26 | 32 | 42 | 63 | 16 | 28 | 10 | M8*1.0P 10 2 1
-200 | 232|200 | 174 | 26 | 32 | 42 | 63 | 16 | 31 10 | M8*1.0P 10 2 1.2
-250 | 282 | 250 | 224 | 26 | 32 | 42 | 63 | 16 10 | M8*1.0P 10 2 1.4
-SFS12- 90 | 122 | 90 | 64 | 26 | 37 | 47 | 63 | 18 | 24 | 12 | M10*1.0P 10 1 0.8
=120 | 152 | 120 | 94 | 26 | 37 | 47 | 63 | 18 | 27 | 12 | M10*1.0P 10 2 0.9
-160 | 192 | 160 | 134 | 26 | 37 | 47 | 63 | 18 | 30 | 12 | M10*1.0P 10 2 1.1
-200 | 232|200 | 174 | 26 | 37 | 47 | 63 | 18 | 33 | 12 | M10*1.0P 10 2 1.3
-250 | 282 | 250 | 224 | 26 | 37 | 47 | 63 | 18 12 | M10*1.0P 10 2 1.5
-SFS14- 90 | 122 | 90 | 64 | 26 | 37 | 47 | 63 | 20 | 26 | 14 | M10*1.0P 10 1 0.8
-120 | 152 | 120 | 94 | 26 | 37 | 47 | 63 | 20 | 29 | 14 | M10*1.0P 10 2 1
-160 | 192 | 160 | 134 | 26 | 37 | 47 | 63 | 20 | 32 | 14 | M10*1.0P 10 2 1.2
-200 | 232 | 200 | 174 | 26 | 37 | 47 | 63 | 20 | 35 | 14 | M10*1.0P 10 2 1.4
-250 | 282 | 250 | 224 | 26 | 37 | 47 | 63 | 20 14 | M10*1.0P 10 2 1.6
-SFS16- 90 | 122 | 90 | 64 | 26 | 40 | 50 | 63 | 22 | 28 | 16 | M12*1.0P 10 1 0.8
-120 | 152 | 120 | 94 | 26 | 40 | 50 | 63 | 22 | 31 16 | M12*1.0P 10 2 1
-160 | 192 | 160 | 134 | 26 | 40 | 50 | 63 | 22 | 34 | 16 | M12*1.0P 10 2 1.2
-200 | 232|200 | 174 | 26 | 40 | 50 | 63 | 22 | 37 | 16 | M12*1.0P 10 2 1.5
-250 | 282 | 250 | 224 | 26 | 40 | 50 | 63 | 22 16 | M12*1.0P 10 2 1.8
-SFS18- 90 | 122 | 90 | 64 | 26 | 40 | 50 | 63 | 24 | 30 | 18 | M12*1.0P 10 1 0.9
=120 [ 152 | 120 | 94 | 26 | 40 | 50 | 63 | 24 | 33 | 18 | M12*1.0P 10 2 1
-160 | 192 | 160 | 134 | 26 | 40 | 50 | 63 | 24 | 36 | 18 | M12*1.0P 10 2 1.3
-200 | 232 | 200 | 174 | 26 | 40 | 50 | 63 | 24 | 39 | 18 | M12*1.0P 10 2 1.6
-250 | 282 | 250 | 224 | 26 | 40 | 50 | 63 | 24 18 | M12*1.0P 10 2 1.9
-SFS20- 90 | 122 | 90 | 64 | 26 | 42 | 52 | 63 | 26 | 32 | 20 | M16*1.0P 10 1 0.9
-120 | 152 | 120 | 94 | 26 | 42 | 52 | 63 | 26 | 35 | 20 | M16*1.0P 10 2 1.1
-160 | 192 | 160 | 134 | 26 | 42 | 52 | 63 | 26 | 38 | 20 | M16*1.0P 10 2 1.4
-200 | 232 | 200 | 174 | 26 | 42 | 52 | 63 | 26 | 41 | 20 | M16*1.0P 10 2 1.7
-250 | 282 | 250 | 224 | 26 | 42 | 52 | 63 | 26 20 | M16*1.0P 10 2 2




wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

#*
4
7]
Uiz]
#
5l

HIZTIN

R

CNCTOOLS

-HSK100A-SFS # 487148 (3 EMIE)

HETIHFE S

HSK100A-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1
L5
L4
_o -UTE
™
A1
L3 L2
L1
L
FIG. 2 D
D
L5
L4
| gy
~d B« 0 |®
< ¢
L3 L2
L1
L
#t& Model L LT L2 L3 14 15 D D1 D2 d T RAKEIN FIG ZEE KGS
HSK100A-SFS06-100 | 150 | 100 | 71 | 29 | 26 | 36 [ 100 | 12 | 17 | 6 M5*0.8P 10 1 2.1
=120 [ 170120 91 | 29 | 26 | 36 [100| 12 | 20 | 6 M5*0.8P 10 2 2.2
-160 [ 210|160 131 | 29 | 26 | 36 [100| 12 | 23 | 6 M5*0.8P 10 2 2.3
-200 [ 250 (200|171 | 29 | 26 | 36 [100| 12 | 27 | 6 M5*0.8P 10 2 2.5
-250 | 300|250 |221| 29 | 26 | 36 | 100 | 12 6 M5*0.8P 10 2 2.7
-SFS08-100 | 150 | 100 | 71 | 29 | 26 | 36 [100| 14 | 19 | 8 M6*1.0P 10 1 2.1
-120 [ 170 (120 91 | 29 | 26 | 36 [ 100 | 14 | 22 | 8 M6*1.0P 10 2 2.2
-160 | 210|160 | 131| 29 | 26 | 36 |[100| 14 | 25 | 8 M6*1.0P 10 2 2.3
-200 | 250|200 |171| 29 | 26 | 36 |100| 14 | 27 | 8 M6*1.0P 10 2 2.5
-250 | 300|250 |221| 29 | 26 | 36 | 100 | 14 8 M6*1.0P 10 2 2.7
-SFS10-100 | 150 | 100 | 71 | 29 | 32 | 42 |100| 16 | 21 | 10 M8*1.0P 10 1 2.1
=120 | 170 | 120| 91 | 29 | 32 | 42 |100| 16 | 24 | 10 M8*1.0P 10 2 2.2
-160 | 210|160 | 131 | 29 | 32 | 42 |100| 16 | 27 | 10 M8*1.0P 10 2 2.4
-200 | 250|200 |171| 29 | 32 | 42 |100| 16 | 31 | 10 M8*1.0P 10 2 2.5
-250 | 300|250 |221| 29 | 32 | 42 | 100 | 16 10 M8*1.0P 10 2 2.6
-SFS$12-100 | 150 | 100 | 71 | 29 | 37 | 47 |100| 18 | 24 | 12 | M10*1.0P 10 1 2.1
-120 | 170 |120| 91 | 29 | 37 | 47 |100| 18 | 26 | 12 | M10*1.0P 10 2 2.3
-160 | 210|160 | 131| 29 | 37 | 47 |100| 18 | 29 | 12 | M10*1.0P 10 2 2.5
-200 | 250 |200|171| 29 | 37 | 47 |100| 18 | 32 | 12 | M10*1.0P 10 2 2.6
-250 [ 300|250 (221| 29 | 37 | 47 [100| 18 12 | M10*1.0P 10 2 2.7
-SFS14-100 | 150 | 100 | 71 | 29 | 37 | 47 |100| 20 | 26 | 14 | M10*1.0P 10 1 2.2
-120 [ 170 [120| 91 | 29 | 37 | 47 [ 100 | 20 | 28 | 14 | M10*1.0P 10 2 2.3
-160 [ 210|160 | 131 | 29 | 37 | 47 [100| 20 | 30 | 14 | M10*1.0P 10 2 2.5
-200 [ 250 (200|171 | 29 | 37 | 47 [ 100| 20 | 34 | 14 | M10*1.0P 10 2 2.7
-250 | 300|250 |221| 29 | 37 | 47 [100| 20 14 | M10*1.0P 10 2 2.9
-SFS16-100 | 150 | 100 | 71 | 29 | 40 | 50 | 100 | 22 | 28 | 16 | M12*1.0P 10 1 2.2
-120 | 170 |120| 91 | 29 | 40 | 50 | 100 | 22 | 30 | 16 | M12*1.0P 10 2 2.3
-160 | 210|160 | 131| 29 | 40 | 50 | 100 | 22 | 32 | 16 | M12*1.0P 10 2 2.6
-200 | 250|200 |171| 29 | 40 | 50 | 100 | 22 | 34 | 16 | M12*1.0P 10 2 2.8
-250 | 300|250 |221| 29 | 40 | 50 | 100 | 22 16 | M12*1.0P 10 2 3
-SFS$18-100 | 150 | 100 | 71 | 29 | 40 | 50 | 100 | 24 | 30 | 18 | M12*1.0P 10 1 2.3
-120 | 170 | 120| 91 | 29 | 40 | 50 | 100 | 24 | 32 | 18 | M12*1.0P 10 2 2.4
-160 | 210|160 | 131| 29 | 40 | 50 | 100 | 24 | 36 | 18 | M12*1.0P 10 2 2.7
-200 | 250|200 |171| 29 | 40 | 50 | 100 | 24 | 40 | 18 | M12*1.0P 10 2 3
-250 | 300|250 |221| 29 | 40 | 50 | 100 | 24 18 | M12*1.0P 10 2 3.3
-SFS$20-100 | 150 | 100 | 71 | 29 | 42 | 52 | 100 | 27 | 34 | 20 | M16*1.0P 10 1 2.3
=120 [ 170 [120| 91 | 29 | 42 | 52 [ 100 | 27 | 35 | 20 | M16*1.0P 10 2 2.4
-160 [ 210|160 [ 131 | 29 | 42 | 52 [ 100 | 27 | 42 | 20 | M16*1.0P 10 2 2.8
-200 [ 250 (200|171 | 29 | 42 | 52 [ 100 | 27 | 49 | 20 | M16*1.0P 10 2 3.2
-250 | 300|250 |221| 29 | 42 | 52 | 100 | 27 20 | M16*1.0P 10 2 3.6




B TIR

48

BETHES e

-HSK25E-SFS #AZEJIHR (3 EHIKE))  Hskase-SES SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D
L L4
- TR & — 15 g8
®
@
L3 L2
L1
L
=
FIG. 2 D L i’fé
[ 5 % 3
o
L4 =
me
548
IR |:0T N
®
L3 L2

# & Model d RAEI FIG FE=EKGS

HSK25E-SFS03-45 58 45 35 10 12 = 25 9 12.5 3 = 10 1 0.1
=55 68 55 45 10 12 - 25 9 [(13.5]| 3 - 10 1 0.15

-70 83 70 60 10 12 - 25 9 15 3 - 10 1 0.2

-SFS04-45 58 45 35 10 16 - 25 10 |13.5| 4 - 10 1 0.1

=55 68 55 45 10 16 - 25 10 |14.5| 4 - 10 1 0.15

=70 83 70 60 10 16 - 25 10 16 4 - 10 1 0.2

-SFS05-45 58 45 35 10 18 - 25 11 | 145 5 - 10 1 0.1

=55 68 55 45 10 18 - 25 11 |15.5| 5 - 10 1 0.15

-70 83 70 60 10 18 - 25 11 17 5 - 10 1 0.2

-SFS06-45 58 45 35 10 26 36 25 12 |15.5| 6 M5*0.8P 10 2 0.15

-70 83 70 60 10 26 36 25 12 18 6 M5*0.8P 10 2 0.2

-SFS08-50 63 50 40 10 26 36 25 14 18 8 M6*1.0P 10 2 0.15

-70 83 70 60 10 26 36 25 14 18 8 M6*1.0P 10 2 0.2

-SFS10-50 63 50 40 10 32 42 25 16 19 10 M8*1.0P 10 2 0.15

=70 83 70 60 10 32 42 25 16 19 10 M8*1.0P 10 2 0.2

A EER:

? @Ll K E Length(L1)
JIFFE 1R Diameter
IHEEfLS Holder type

$HEFRAZT Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

-HSK32E-SFS 4TI (3 EMKE)

FIG. 1 D
[ L4
T “gas
o
@
3 L2
L1
L
E FIG. 2 D
=R I L5
c 45
5 7] L4
e ]
SR
=5
o P |:°TE N
kY

#M 1% Model d RAEIM FIG ZF=KGS

HSK32E-SFS03-40 56 | 40 | 20 | 20 | 12 = 32 9 13 3 = 10 1 015
=70 86 | 70 | 50 | 20 | 12 = 32 9 16 3 = 10 1 0.2

-SFS04-40 56 | 40 | 20 | 20 | 16 = 32 | 10 | 14 4 = 10 1 015

=70 86 | 70 | 50 | 20 | 16 = 32 | 10 | 17 4 = 10 1 0.2

-SFS05-40 56 | 40 | 20 | 20 | 18 = 32 | 11 15 5 = 10 1 015

=70 86 | 70 | 50 | 20 | 18 = 32 | 1 18 5 = 10 1 0.2

-SFS06-50 66 | 50 | 30 | 20 | 26 | 36 | 32 | 12 | 17 6 M5*0.8P 10 2 0.2

-80 96 | 80 | 60 | 20 | 26 | 36 | 32 | 12 | 20 6 M5*0.8P 10 2 0.3

-SFS08-50 66 | 50 | 30 | 20 | 26 | 36 | 32 | 14 | 19 8 M6*1.0P 10 2 0.2

-80 96 | 80 | 60 | 20 | 26 | 36 | 32 | 14 | 22 8 M6*1.0P 10 2 0.3

-SFS10-55 71 55 | 35 | 20 | 32 | 42 | 32 | 16 | 21 10 M8*1.0P 10 2 0.2

-80 96 | 80 | 60 | 20 | 32 | 42 | 32 | 16 | 22 | 10 M8*1.0P 10 2 0.3

A& BA:

@Ll B Length (L1)
JIFFE1Z Diameter
IhEE{X S Holder type

AR Taper size



B TIR

48

BETHES e

-HSK40E-SFS #A4EJIHR (3 EMI<E))  Hska0e-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D
L4

L3 L2

FI1G.2 D
[ La

2
L3 45 é‘
L 7] E
e
# ¥ Model L L1 L2 L3 L4 D D1 D2 o] R XEK FIG = KGS il §
HSK40E-SFS03- 60 80 60 40 20 12 40 9 13 3 10 1 0.3 &
- 70 90 70 50 20 12 40 9 14 3 10 1 0.3
- 80 100 80 60 20 12 40 9 15 3 10 1 0.3
-120 140 | 120 | 100 20 12 40 9 18 3 10 2 0.4
-140 160 | 140 | 120 20 12 40 9 21 3 10 2 0.6
-SFS04- 60 80 60 40 20 16 40 10 14 4 10 1 0.3
- 70 90 70 50 20 16 40 10 15 4 10 1 0.3
- 80 100 80 60 20 16 40 10 16 4 10 1 0.3
-120 140 | 120 | 100 20 16 40 10 19 4 10 2 0.4
-140 160 | 140 | 120 20 16 40 10 22 4 10 2 0.6
-SFS05- 60 80 60 40 20 18 40 11 15 5 10 1 0.3
- 70 90 70 50 20 18 40 11 16 5 10 1 0.3
- 80 100 80 60 20 18 40 11 17 5 10 1 0.3
-120 140 | 120 | 100 20 18 40 11 20 5 10 2 0.6
=140 160 | 140 | 120 20 18 40 11 23 5 10 2 0.8
A% RE:

? @Ll KE Length (L1)
7]

+FEH 1 Diameter
IhAE{X S Holder type
HEFRAZ I Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

-HSK40E-SFS #A4EJIHR (3 EMI<E))  Hska0e-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FlG. 1 D s
L4
[ pep——
s
- @ \1r
13 L2
L1
L
FIG.2 D

R ]
S 45 2l
,8 7 L3
5 ’%ﬁ L
2 2l
5 # #% Model d RAEI FIG HE KGS
HSK40E-SFS06- 60 80 60 40 20 26 36 40 12 16 6 M5*0.8P 10 1 0.3
=70 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 1 0.3
- 80 100 | 80 60 20 26 36 40 12 18 6 M5*0.8P 10 1 0.3
=120 140 | 120 | 100 | 20 26 36 40 12 21 6 M5*0.8P 10 2 0.8
=140 160 | 140 | 120 | 20 26 36 40 12 24 6 M5*0.8P 10 2 1
=-SFS08- 60 80 60 40 20 26 36 40 14 18 8 M6*1.0P 10 1 0.3
=70 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 1 0.3
- 80 100 | 80 60 20 26 36 40 14 20 8 M6*1.0P 10 1 0.3
=120 140 | 120 | 100 | 20 26 36 40 14 23 8 M6*1.0P 10 2 0.8
=140 160 | 140 | 120 | 20 26 36 40 14 26 8 M6*1.0P 10 2 1
=-SFS10- 60 80 60 40 20 32 42 40 16 20 10 M8*1.0P 10 1 0.3
- 70 90 70 50 20 32 42 40 16 21 10 M8*1.0P 10 1 0.3
- 80 100 | 80 60 20 32 42 40 16 22 10 M8*1.0P 10 1 0.3
=120 140 | 120 | 100 | 20 32 42 40 16 25 10 M8*1.0P 10 2 0.8
=140 160 | 140 | 120 | 20 32 42 40 16 28 10 M8*1.0P 10 2 1
-SFS12- 60 80 60 40 20 37 47 40 18 22 12 M10*1.0P 10 1 0.3
- 70 90 70 50 20 37 47 40 18 23 12 M10*1.0P 10 1 0.3
- 80 100 | 80 60 20 37 47 40 18 24 12 M10*1.0P 10 1 0.4
=120 140 | 120 | 100 | 20 37 47 40 18 27 12 M10*1.0P 10 2 0.8
-140 160 | 140 | 120 | 20 37 47 40 18 30 12 M10*1.0P 10 2 1
-SFS14- 60 80 60 40 20 37 47 40 20 24 14 M10*1.0P 10 1 0.4
- 70 90 70 50 20 37 47 40 20 25 14 M10*1.0P 10 1 0.4
- 80 100 | 80 60 20 37 47 40 20 26 14 M10*1.0P 10 1 0.4
=-SFS16- 60 80 60 40 20 40 50 40 22 26 16 M12*1.0P 10 1 0.4
- 70 90 70 50 20 40 50 40 22 27 16 M12*1.0P 10 1 0.4
- 80 100 | 80 60 20 40 50 40 22 28 16 M12*1.0P 10 1 0.5

A& IEER:

T @Ll K E Length (L1)
JIFFE 1R Diameter
heEX S Holdertype

$EFRFZT, Taper size



B TIR

48

BETHES e

-HSK50E-SFS #AZEJIHA (3 EHIKE!)  Hsks0e-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG.2 D

;_—g
L e
L3 L1 A3
L Hl g
# # Model L L1 L2 L3 L4 D D1 D2 d RN FIG E= KGS
HSK50E-SFS03- 70 95 70 44 26 12 50 9 14 3 10 1 0.5
- 80 105 80 54 26 12 50 9 15 3 10 1 0.6
-100 125 100 74 26 12 50 9 17 3 10 2 0.8
-120 145 120 94 26 12 50 9 18 3 10 2 1
-150 175 150 124 26 12 50 9 21 3 10 2 1.2
-SFS04- 70 95 70 44 26 16 50 10 15 4 10 1 0.5
- 80 105 80 54 26 16 50 10 16 4 10 1 0.6
-100 125 100 74 26 16 50 10 18 4 10 2 0.8
-120 145 120 94 26 16 50 10 19 4 10 2 1
-150 175 150 124 26 16 50 10 22 4 10 2 1.2
-SFS05- 70 95 70 44 26 18 50 11 16 5 10 1 0.5
- 80 105 80 54 26 18 50 11 17 5 10 1 0.6
=100 125 100 74 26 18 50 11 19 5 10 2 0.8
-120 145 120 94 26 18 50 11 20 5 10 2 1
-150 175 150 124 26 18 50 11 23 5 10 2 1.2

ARG RA:

@Ll K[E Length (L1)
JIFFE & Diameter
I

BE1L S Holder type
SEFRFZ T, Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

-HSK50E-SFS #A4EJIHA (3 EHIKE!)  Hsks0e-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FI1G.1 D
L5

L4

<l 5

L1

L2

L1

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

#M #% Model L L1 L2 L3 L4 L5 D DI D2 d T RXESR FIG F& KGS

HSK50E-SFS06- 70 95 | 70 | 44 | 26 | 26 | 36 | 50 | 12 | 17 | 6 M5*0.8P 10 1 0.5
- 80 105| 80 | 54 | 26 | 26 | 36 | 50 | 12 | 18 | 6 M5*0.8P 10 1 0.6
-100 125|100 | 74 | 26 | 26 | 36 | 50 | 12 | 20 | 6 M5*0.8P 10 2 0.8

-120 145|120 | 94 | 26 | 26 | 36 | 50 | 12 | 21 6 M5*0.8P 10 2 1
-150 1751150 | 124 | 26 | 26 | 36 | 50 | 12 | 24 | 6 M5*0.8P 10 2 1.2
-SFS08- 70 95 | 70 | 44 | 26 | 26 | 36 | 50 | 14 | 19 | 8 M6*1.0P 10 1 0.5
-80 105| 80 | 54 | 26 | 26 | 36 | 50 | 14 | 20 | 8 M6*1.0P 10 1 0.6
-100 125|100 | 74 | 26 | 26 | 36 | 50 | 14 | 22 | 8 M6*1.0P 10 2 0.8

=120 1451120 94 | 26 | 26 | 36 | 50 | 14 | 23 8 M6*1.0P 10 2 1
-150 175|150 | 124 | 26 | 26 | 36 | 50 | 14 | 26 | 8 M6*1.0P 10 2 1.2
-SFS10- 70 95 | 70 | 44 | 26 | 32 | 42 | 50 | 16 | 21 | 10 M8*1.0P 10 1 0.5
- 80 105| 80 | 54 | 26 | 32 | 42 | 50 | 16 | 22 | 10 M8*1.0P 10 1 0.6
-100 125|100 | 74 | 26 | 32 | 42 | 50 | 16 | 24 | 10 M8*1.0P 10 2 0.8

-120 1451120 | 94 | 26 | 32 | 42 | 50 | 16 | 25 | 10 M8*1.0P 10 2 1
-150 175|150 | 124 | 26 | 32 | 42 | 50 | 16 | 28 | 10 M8*1.0P 10 2 1.2
-SFS12- 70 95 | 70 | 44 | 26 | 37 | 47 | 50 | 18 | 23 | 12 | M10*1.0P 10 1 0.5
- 80 105| 80 | 54 | 26 | 37 | 47 | 50 | 18 | 24 | 12 | M10*1.0P 10 1 0.6
-100 125|100 | 74 | 26 | 37 | 47 | 50 | 18 | 26 | 12 | M10*1.0P 10 2 0.8

-120 145|120 | 94 | 26 | 37 | 47 | 50 | 18 | 27 | 12 | M10*1.0P 10 2 1
-150 175|150 | 124 | 26 | 37 | 47 | 50 | 18 | 30 | 12 | M10*1.0P 10 2 1.2

A& LR

@Ll K Length (L1)
JIFFE1Z Diameter
1)

IhEE S Holder type
$ARAZ, Taper size



B TIR

48

BETHES e

‘HSK63E-SFS #A4E IR (3 EHIKE!)  Hskoe3e-SES SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

L5
L4

D2

= ~ E——

L1

P

JMNFS =
S31¥43S YIATOH 1001 LI INRIHS

RAEIN FIG =EF&EKGS

# 4% Model d
HSK63E-SFS06- 80 112 80 | 54 | 26 | 26 | 36 | 63 12 | 18 6 M5*0.8P 10 1 0.8
6
8

-120 1521120 94 | 26 | 26 | 36 | 63 | 12 | 22 M5*0.8P 10 2 0.9
-SFS08- 80 112 | 80 | 54 | 26 | 26 | 36 | 63 | 14 | 20 M6*1.0P 10 1 0.8
-120 152 120 94 | 26 | 26 | 36 | 63 | 14 | 24 | 8 M6*1.0P 10 2 0.9
-SFS10- 80 112 | 80 | 54 | 26 | 32 | 42 | 63 | 16 | 22 | 10 M8*1.0P 10 1 0.8
-120 1521120 94 | 26 | 32 | 42 | 63 | 16 | 26 | 10 M8*1.0P 10 2 0.9
-SFS12- 80 112 | 80 | 54 | 26 | 37 | 47 | 63 | 18 | 24 | 12 | M10*1.0P 10 1 0.9
-120 152|120 | 94 | 26 | 37 | 47 | 63 | 18 | 28 | 12 | M10*1.0P 10 2 1

M LER:

$L1 K Length (L1)
JIFFE 1 Diameter
IHEER S Holder type

$EIRAZT, Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬁ%ﬂ

-HSK40F-SFS A48T (3 EMISE)  Hskaor-SFS SHRINK CHUCK (3° C SLENDER TYPE)

4
7]
Uiz]
#
5l

wv
=
=
=
~
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

# #% Model d RAXEI FIG =& KGS
HSK40F-SFS03-70 90 70 50 20 12 - 40 9 14 3 - 10 1 0.4
=-SFS04-70 90 | 70 50 | 20 16 = 40 10 15 4 - 10 1 0.4
=-SFS05-70 90 | 70 50 | 20 18 - 40 11 16 5 - 10 1 0.4
-SFS06-70 90 70 50 20 26 36 40 12 17 6 M5*0.8P 10 2 0.4
-SFS08-70 90 70 50 20 26 36 40 14 19 8 M6*1.0P 10 2 0.4
=-SFS10-70 90 70 50 20 32 42 40 16 22 10 M8*1.0P 10 2 0.5
-SFS12-70 90 70 50 20 37 47 40 18 24 12 M10*1.0P 10 2 0.5

MRS RA:

@Ll K Length (L1)

JIFFE 1 Diameter
IHEER S Holder type
SEFRAZ T, Taper size



B TIR

48

BETHES e

-HSK63F-SFS #4811 (3 EMIKE)  Hskesr-sES SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 2 D

P

JMNFS =
S31¥43S YIATOH 1001 LI INRIHS

# 1% Model d R KEK FIG &8 KGS

HSK63F-SFS03- 80 105 80 54 26 12 63 9 14 3 10 1 0.7
=120 145 120 94 26 12 63 9 16 3 10 2 0.8

-160 185 160 134 26 12 63 9 19 3 10 2 0.9

-SFS04- 80 105 80 54 26 16 63 10 15 4 10 1 0.7

=120 145 120 94 26 16 63 10 17 4 10 2 0.8

-160 185 160 134 26 16 63 10 20 4 10 2 0.9

-SFS05- 80 105 80 54 26 18 63 11 16 5 10 1 0.8

=120 145 120 94 26 18 63 11 18 5 10 2 0.8

=160 185 160 134 26 18 63 11 21 5 10 2 0.9

A& BR:

? @Ll K Length (L1)
JIFFE & Diameter
Lf)

IHEE S Holder type
SEFRAZ T, Taper size




HIZTIN

ﬁﬁi BT 5 FE 5

-HSK63F-SFS #4811 (3 EMIKE)  Hskoesr-sES SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1 D

1%
I
=
2
o
S 45
87
8
T
3
5%
el
§§|J
a

# & Model d RAEI FIG ZFE KGS
HSK63F-SFS06- 80 105 | 80 54 26 26 36 63 12 17 6 M5*0.8P 10 1 0.8
=120 145 | 120 | 94 26 26 36 63 12 21 6 M5*0.8P 10 2 0.9
-160 185 | 160 | 134 | 26 26 36 63 12 24 6 M5*0.8P 10 2 1
-SFS08- 80 105 | 80 54 26 26 36 63 14 19 8 M6*1.0P 10 1 0.8
=120 145 | 120 | 94 26 26 36 63 14 23 8 M6*1.0P 10 2 0.9
=160 185 | 160 | 134 | 26 26 36 63 14 24 8 M6*1.0P 10 2 1
-SFS10- 85 110 | 85 59 26 32 42 63 16 22 10 M8*1.0P 10 1 0.8
=120 145 | 120 | 94 26 32 42 63 16 25 10 M8*1.0P 10 2 0.9
=160 185 | 160 | 134 | 26 32 42 63 16 28 10 M8*1.0P 10 2 1
=SFS12- 90 115 | 90 64 26 37 47 63 18 24 12 M10*1.0P 10 1 0.8
=120 145 | 120 | 94 26 37 47 63 18 27 12 M10*1.0P 10 2 1
-160 185 | 160 | 134 | 26 37 47 63 18 30 12 M10*1.0P 10 2 1.2
=-SFS14- 90 115 | 90 64 26 37 47 63 20 26 14 M10*1.0P 10 1 0.8
=120 145 | 120 | 94 26 37 47 63 20 29 14 M10*1.0P 10 2 1
-160 185 | 160 | 134 | 26 37 47 63 20 32 14 M10*1.0P 10 2 1.2
-SFS16- 95 120 | 95 69 26 40 50 63 22 29 16 M12*1.0P 10 1 0.9
-120 145 | 120 | 94 26 40 50 63 22 31 16 M12*1.0P 10 2 1
=160 185 | 160 | 134 | 26 40 50 63 22 34 16 M12*1.0P 10 2 1.3
-SFS18- 95 120 | 95 69 26 40 50 63 24 31 18 M12*1.0P 10 1 0.9
=120 145 | 120 | 94 26 40 50 63 24 33 18 M12*1.0P 10 2 1
-160 185 | 160 | 134 | 26 40 50 63 24 36 18 M12*1.0P 10 2 1.4
=-SFS20-100 125 | 100 | 74 26 42 52 63 27 34 20 M16*1.0P 10 1 1
=120 145 | 120 | 94 26 42 52 63 27 36 20 M16*1.0P 10 2 1.1
-160 185 | 160 | 134 | 26 42 52 63 27 38 20 M16*1.0P 10 2 1.5

MR IEEA:

? @Ll K Length (L1)
JIFFE & Diameter
Ih

BE1X S Holder type
SEFRFZ T, Taper size



B TIR

48

BETHES e

‘HSK63A-SFK #A4ETIHE (4.5 EEIEB7KEY )  Hokeaa-Sr SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

2-M3*0. 5P

2-M3*0. 5P

z
L4 2
m éﬁé
P %3
5 g
L2 ¢
L3 X
L
# % Model L L1 ) L3 L4 D D1 D2 d R FIG ==KGS
HSK63A-SF03- 80K 112 80 54 26 12 63 14 20 3 5 1 0.7
-120K 152 | 120 94 26 12 63 14 20 3 5 2 1.1
-160K 192 | 160 | 134 26 12 63 14 20 3 5 2 1.3
-SF04- 80K 112 80 54 26 16 63 14 20 4 5 1 0.7
-120K 152 | 120 94 26 16 63 14 20 4 5 2 1.1
-160K 192 | 160 | 134 26 16 63 14 20 4 5 2 13
-SF05- 80K 112 80 54 26 18 63 14 20 5 5 1 0.7
-120K 152 | 120 94 26 18 63 14 20 5 5 2 1.1
-160K 192 | 160 | 134 26 18 63 14 20 5 5 2 13
FMAZ I EA:
E?Eu £ E Length (L1)
JI#FE 1R Diameter
IhgeXS Holder type

$EIRAZT, Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

‘HSK63A-SFK #A4ETIHE (4.5 EEIEB7KEY )  Hokeaa-Sr SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 ‘ D
2-M3*0. 5P
1=tz g
FIG. 2 D
‘ T1
L5 vk
g AMs*0.5P
(7]
- 1 toig
5 :
23 ? 1
% L2
8 7]
<} L1
5 1% L
S
5 51 Fla.3 D
5 j T1
o L5 .
g 2MEX0. 5P
| ¥ 7 7]
= 2 +—-—_1=1 5|8
(=) = <t
@ Léiﬁ
L2
L1
L
#M # Model L L1 L2 L3 L4 L5 L6 D DI D2 D3 d T T R FIG Z& KGS
HSK63A-SF06- 80K [112| 80 | 54 |26 |26 | 36 | - 63 | 21 | 27 - 6 M5*0.8P | M6*1.0P | 5 1 0.8
-120K | 152|120/ 94 |26 |26 |36 | - | 63 | 21 | 27 | - | 6 | M5*0.8P |M6*1.0P| 10 | 2 11
-160K | 192|160 [134|26 |26 |36 |78 | 63 | 21 | 27 | 41 | 6 | M5*0.8P |M6*1.0P| 5 | 3 1.4
-200K |232(200(174|26 |26 | 36 [118| 63 | 21 | 27 | 41 | 6 | M5*0.8P |M6*1.0P| 5 | 3 1.7
-SF08- 80K |112| 80 | 54 |26 26| 36| - | 63 | 21 | 27 | - | 8 | M6*1.0P |M6*1.0P| 5 | 1 0.8
-120K [ 152(120| 94 [ 26 |26 |36 | - | 63| 21 | 27 | - | 8 | M6*1.0P |M6*1.0P| 10 | 2 11
-160K | 192|160 [134|26 |26 |36 |78 | 63 | 21 | 27 | 41 | 8 | M6*1.0p |M6*1.0P| 5 | 3 1.4
-200K |232(200|174|26 | 26| 36 [118| 63 | 21 | 27 | 41 | 8 | M6*1.0P |M6*1.0P| 5 | 3 1.7
=SF10- 85K [117| 85 | 59 |26 (32| 42| - 63 | 24 | 32 - [10| MS8*1.0P |M6*1.0P| 2 1 0.9
-120K |152|120| 94 |26 32|42 | - | 63 | 24 | 32 | - |10| M8*1.0P |M6*1.0P| 10 | 2 1.2
-160K | 192|160 [134|26 |32 |42 |78 | 63 | 24 | 32 | 40 | 10| MB8*1.0P |M6*1.0P| 5 | 3 1.5
-200K | 232|200 (174|26 |32 |42 (118| 63 | 24 | 32 | 40 | 10| MB8*1.0P |M6*1.0P| 5 | 3 1.8
-SF12- 90K |122| 90 | 64 | 26 |37 | 47| - | 63 | 24 | 32 | - [12| M10*1.0P | M6*1.0P| 2 | 1 0.9
-120K | 152|120 94 |26 |37 |47 | - | 63 | 24 | 32 | - |12| M10*1.0P | M6*1.0P | 10 | 2 1.2
-160K | 192|160 [134| 26 |37 |47 |78 | 63 | 24 | 32 | 40 |12 | M10*1.0P |M6*1.0P| 5 | 3 1.5
-200K |232|200(174| 26 | 37 | 47 [118| 63 | 24 | 32 | 40 | 12| M10*1.0P |M6*1.0P| 5 | 3 1.8
-SF14- 90K |122| 90 | 64 |26 |37 |47 | - | 63 | 27 | 34 | - |14 | M10*1.0P | M6*1.0P | 4 | 1 0.9
-120K |152|120| 94 |26 |37 |47 | - | 63 | 27 | 34 | - |14| M10*1.0P | M6*1.0P | 10 | 2 1.2
-160K | 192|160 [134|26 |37 | 47 |78 | 63 | 27 | 34 | 42 | 14| M10*1.0P | M6*1.0P| 3 | 3 1.5
-200K | 232|200 (174|26 |37 | 47 [118| 63 | 27 | 34 | 42 | 14| M10*1.0P | M6*1.0P| 3 | 3 1.8

MR

T E L1 Length(L1)
Ih

JIFFE1Z Diameter
BEfL S Holder type
S$FRFZ T, Taper size



RETT RS

B TIR

48

CNCTOOLS

‘HSK63A-SFK #A4E TR (4.5 FEIE7KEY )  oke3a-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D
i L5 2-M3*Q. 5P
L4 :
II * T Lot — — — »-‘c E g
1 I, "
e SA Iy
L2
L3 ]
L
FIG.2 D
T
L5 Mk
” 2-M3*0. 5P
771
I| g g : 17 == -UTE §
1 I !
U 1S A3
. 4 T gﬁg
L2 <}
L Eg
Hl g
FI1G.3 D 2
1
L5
2-M3*0. 5P
) 3%0. 5
i 0 5 Lat--_I=t5)8
U = = =
- 73 L6
L2
L3 X
L
# ¥ Model L 12 L3 L4 L5 L6 D D1 D2 D3 d T T1 R FIG E= KGS
HSK63A-SF16- 95K | 127 | 95 | 69 |26 |40 |50 | - | 63 | 27 | 34 | - |16| M12*1.0P | M6*1.0P| 3 | 1 0.9
-120K (152 (120| 94 |26 |40 |50 | - | 63 | 27 | 34 | - |16 | M12*1.0P | M6*1.0P| 10 | 2 1.2
-160K | 192|160 |134| 26 |40 |50 | 78 | 63 | 27 | 34 | 42 |16 | M12*1.0P |M6*1.0P| 3 | 3 1.5
-200K | 232|200 (174|26 |40 | 50 [118| 63 | 27 | 34 | 42 |16 | M12*1.0P |M6*1.0P| 3 | 3 1.8
-SF18- 95K | 127 | 95 | 69 |26 |40 |50 | - | 63 | 33 | 42 | - |18| M12*1.0P |M6*1.0P| 2 | 1 1.1
-120K (152 (120| 94 |26 |40 |50 | - | 63 | 33 | 42 | - |18| M12*1.0P |M6*1.0P| 5 | 2 1.3
-160K | 192|160 [134|26 |40 |50 | - | 63 | 33 | 42 | - |18| M12*1.0P |M6*1.0P| 5 | 2 1.6
-200K | 232|200 [174| 26 | 40 | 50 63 | 33 | 42 18| M12*1.0P | M6*1.0P| 5 | 2 1.9
-SF20-100K (132|100 | 74 |26 |42 |52 | - [ 63 | 33 | 42 | - |20| M16*1.0P |M6*1.0P| 2 | 1 11
-120K (152 (120| 94 |26 |42 |52 | - | 63 | 33 | 42 | - |20| M16*1.0P | M6*1.0P| 5 | 2 1.3
-160K | 192|160 [134|26 |42 |52 | - | 63 | 33 | 42 | - |20| M16*1.0P | M6*1.0P| 5 | 2 1.6
-200K | 232|200 [174| 26 | 42 | 52 63 | 33 | 42 20 | M16*1.0P | M6*1.0P| 5 | 2 1.9
-SF25-115K [ 147 |115|89 |26 |48 |58 | - | 63 | 44 | 53 | - |25| M16*1.0P |M6*1.0P| 2 | 1 1.9
-130K [ 162|130 |104|26 |48 |58 | - | 63 | 44 | 53 | - |25| M16*1.0P | M6*1.0P| 2 | 2 2.1
-160K [ 192|160 [134|26 |48 |58 | - | 63 | 44 | 53 | - |25| M16*1.0P | M6*1.0P| 2 | 2 2.2
-200K | 232|200 [174| 26 | 48 | 58 63 | 44 | 53 25| M16*1.0P | M6*1.0P| 2 | 2 2.5
-SF32-120K (152|120 | 94 |26 |52 |62 | - | 63 | 44 | 53 | - [32| M16*1.0P |M6*1.0P| 2 | 1 1.9
-130K (162|130 (104|26 |52 |62 | - | 63 | 44 | 53 | - |32| M16*1.0P | M6*1.0P| 2 | 2 2.2
-160K [ 192|160 [134|26 |52 |62 | - | 63 | 44 | 53 | - |32| M16*1.0P | M6*1.0P| 2 | 2 2.3
-200K | 232|200 [174| 26 | 52 | 62 63 | 44 | 53 32| M16*1.0P | M6*1.0P| 2 | 2 2.6
AL RE:

II
lejﬁgﬁ% Holder type

? L1 4 Length (L1)

JI#FE 1R Diameter

$EFRAZT, Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬁ%ﬂ

*HSKT100A-SFK FA4ETIHE (4.5 BEIEZKEY)  HsK100A-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D
2

L4 2-M3*0. 5P

I e

3 12
L1
L
F16.2 FD
2 T L5
a L4 ] 2wv0.sp
A
0 - H ) = . o U P =)
=
L
8 7]
z 1R N - 12
5 = L1
231 :
a FIG.3 D
| U [ o ews
/ i
: el
B (LN
L6
3 L2
L1
L
# 4% Model L L1 L2 L3 14 L5 L6 D D1 D2 D3 d T T1 R FIG %GE;
HSK100A- SF06- 85K [135/ 85 | 56 | 29 | 26 | 36 | - [100| 21 | 27 | - 6 M5*0.8P | M6*1.0P 5 1 2.2
-120K [170/120| 91 | 29 | 26 | 36 | - |100| 21 | 27 | - 6 M5*0.8P | M6*1.0P | 10 | 2 2.5
-160K [210|160|131| 29 | 26 | 36 | 78 |100| 21 | 27 |41 | 6 M5*0.8P | M6*1.0P 5 3 2.8
-200K [250/200|171| 29 | 26 | 36 (118|100| 21 | 27 |41 | 6 M5*0.8P | M6*1.0P 5 3 3.1
-SF08- 85K |135| 85 | 56 | 29 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P | M6*1.0P 5 1 2.2
-120K (170|120 91 | 29 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P | M6*1.0P | 10 | 2 2.5
-160K [210|160|131| 29 | 26 | 36 | 78 |100| 21 | 27 |41 | 8 M6*1.0P | M6*1.0P 5 3 2.8
-200K [250/200|171| 29 | 26 | 36 (118{100| 21 | 27 |41 | 8 M6*1.0P | M6*1.0P 5 3 3.1
-SF10- 90K (140| 90 | 61 | 29 | 32 | 42 | - |100| 24 | 32 | - | 10 | M8*1.0P | M6*1.0P 5 1 2.3
=120K [170{120| 91 | 29 | 32 | 42 | - |100| 24 | 32 | - | 10 | M8*1.0P | M6*1.0P | 10 | 2 2.6
=160K [210(160|131| 29 | 32 | 42 |78 |100| 24 | 32 |40 | 10 | M8*1.0P | M6*1.0P 5 3 29
=200K [250(200|171| 29 | 32 | 42 |118/100| 24 | 32 |40 | 10 | M8*1.0P | M6*1.0P 5 3 3.2
-SF12- 95K |145| 95 | 66 | 29 | 37 | 47 | - |100| 24 | 32 | - | 12 | M10*1.0P | M6*1.0P 5 1 2.3
=120K [170{120| 91 | 29 | 37 | 47 | - |100| 24 | 32 | - | 12 | M10*1.0P | M6*1.0P | 10 | 2 2.6
-160K (210|160 |131| 29 | 37 | 47 |78 |100| 24 | 32 | 40| 12 | M10*1.0P | M6*1.0P 5 3 29
=200K [250(200|171| 29 | 37 | 47 |118/100| 24 | 32 | 40| 12 | M10*1.0P | M6*1.0P 5 3 3.2
-SF14- 95K (145| 95 | 66 | 29 | 37 | 47 | - |100| 27 | 34 | - | 14 | M10*1.0P | M6*1.0P 5 1 2.3
-120K [170(120| 91 | 29 | 37 | 47 | - |100| 27 | 34 | - | 14 | M10*1.0P | M6*1.0P | 10 | 2 2.6
-160K (210|160 |131| 29 | 37 | 47 | 78 |100| 27 | 34 | 42| 14 | M10*1.0P | M6*1.0P 5 3 29
=200K [250(|200|171| 29 | 37 | 47 |118/100| 27 | 34 | 42| 14 | M10*1.0P | M6*1.0P 5 3 3.2

MR

T % L1 ¥ Length(L1)
I

JIFFE 1R Diameter
BEfLS Holder type
SEFRAZ T Taper size



HSK100A-SFK FA4ETIHR (4.5 EiEKE)

RETT RS

B TIR

48

CNCTOOLS

HSK100A-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FlG. 1

D
C

L5

T

L4 2-M3%0. 5P

L2

L

Fl1G.2

L3

L5
L4 2-M3*0. 5P

CN =

= S o =1

L2

L

FIG. 3

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

T L5 Tl 2w sp
.
S v S . —ol5|S)
2 [t
L6
5 12
L1
L

# # Model L L1 L2 L3 L4 L5 Le D D1 D2 D3 d T T1 R FIG KGE;
HSK100A-SF16-100K [150(100| 71 | 29 | 40 | 50 | - |100| 27 | 34 | - [16| M12*1.0P | M6*1.0P 5 1 2.3
-120K (170{120| 91 | 29 | 40 | 50 | - [100| 27 | 34 | - [16| M12*1.0P | M6*1.0P | 10 | 2 2.6

-160K |210/160|131| 29 | 40 | 50 | 78 |100| 27 | 34 | 42 |16| M12*1.0P | M6*1.0P 5 3 29

-200K |250/200|171| 29 | 40 | 50 (118|100 | 27 | 34 | 42 |16| M12*1.0P | M6*1.0P 5 3 3.2
-SF18-100K [150{100| 71 | 29 | 40 | 50 | - |100| 33 | 42 | - [18| M12*1.0P | M6*1.0P 5 1 2.4
-120K (170{120| 91 | 29 | 40 | 50 | - [100| 33 | 42 | - |[18| M12*1.0P | M6*1.0P | 10 | 2 2.7

-160K |(210(160|131| 29 | 40 | 50 | 78 |100| 33 | 42 18| M12*1.0P | M6*1.0P 5 3 3.1

-200K (250(200({171| 29 | 40 | 50 |118/100| 33 | 42 18| M12*1.0P | M6*1.0P 5 3 3.5
-SF20-105K [155|105| 76 | 29 | 42 | 52 | - |100| 33 | 42 | - [20| M16*1.0P | M6*1.0P 5 1 2.4
-120K (170{120| 91 | 29 | 42 | 52 | - [100| 33 | 42 | - |20| M16*1.0P | M6*1.0P | 10 | 2 2.7

-160K (210(160|131| 29 | 42 | 52 |78 |100| 33 | 42 20| M16*1.0P | M6*1.0P 5 3 3.1

-200K (250(200(171| 29 | 42 | 52 |118/100| 33 | 42 20| M16*1.0P | M6*1.0P 5 3 3.5
-SF25-115K [165|115| 86 | 29 | 48 | 58 | - |100| 44 | 53 | - [25| M16*1.0P | M6*1.0P 5 1 3.2
-130K (180| 130|101 |29 | 48 | 58 | - |100| 44 | 53 | - |25| M16*1.0P | M6*1.0P | 10 | 2 3.4

-160K |210(160|131| 29 | 48 | 58 | 78 |100| 44 | 53 25| M16*1.0P | M6*1.0P 5 3 3.6

-200K (250(200({171| 29 | 48 | 58 |118/100| 44 | 53 25| M16*1.0P | M6*1.0P 5 3 3.8
-SF32-120K (170{120| 91 | 29 | 52 | 62 | - |100| 44 | 53 | - [32| M16*1.0P | M6*1.0P 5 1 3.2
-140K (190/140|111| 29 | 52 | 62 | - [100| 44 | 53 | - |32| M16*1.0P | M6*1.0P | 10 | 2 3.4

-160K |210(160|131| 29 | 52 | 62 |78 |100| 44 | 53 32| M16*1.0P | M6*1.0P 5 3 3.6

-200K |250(200(171| 29 | 52 | 62 |118|/100| 44 | 53 32| M16*1.0P | M6*1.0P 5 3 3.8

RS 15t A

T JIHFE 1 Diameter
IHEEfL S Holder type

SEFRAZ T Taper size

E L14€EE Length (L1)




HIZTIN

c?%c%%s BT 5 FE 5

-HSK40A-SL #45 714" (3°—{5H!) HSK40A-SL SHRINK FIT HOLDER(3° MONO)

- | ‘-_*;’, I afo S S
<04
A =t
MIBHKE
L1 M Working length
L
%?E? (T:%k!\;zs)
% ( Safety mark ) . Eg!lﬁ
- = —— NRBE HATIAN, W5
1 T, LRk IREALE SRS,
'C_) H Minimum éen Ier‘\g(h ofﬁe tool )
31 TABKBNKE
5 = h ( Maximum insert length of the tool )
2 3l
S Model D C t L M L1 C1 c2 H h E=KGS S
HSK40A-SLSA3- 60 3 6 1.5 60 22 18 8.3 20 9 44 0.2 4.8
- 65-M 22 3 6 1.5 65 22 23 8.3 25 9 44 0.3 4.5
- 85-M 42 3 6 1.5 85 42 23 10.4 25 9 64 0.3 9.1
-100-M 42 3 6 1.5 100 42 38 10.4 25 9 78 0.3 9.3
-SLRA3- 65-M 22 3 7.5 2.25 65 22 23 9.8 25 9 44 0.3 2.7
- 85-M 42 3 7.5 2.25 85 42 23 11.9 25 9 64 0.3 5.3
=-SLFB3- 65-M 22 3 9.5 3.25 65 22 23 11.8 25 9 44 0.3 1.2
- 85-M 42 3 9.5 3.25 85 42 23 13.9 25 9 64 0.3 3.2
-SLSA4- 60 4 7 1.5 60 22 18 9.3 20 12 44 0.2 3.8
- 65-M 22 4 7 1.5 65 22 23 9.3 25 12 44 0.3 3.5
- 80 4 7 1.5 80 42 18 11.4 20 12 64 0.2 7.5
- 85-M 42 4 7 1.5 85 42 23 11.4 25 12 64 0.3 7.1
-100-M 42 4 7 1.5 100 42 38 11.4 25 12 78 0.3 7.4
-SLRA4- 65-M 22 4 10 3 65 22 23 12.3 25 12 44 0.3 1.7
- 85-M 42 4 10 3 85 42 23 14.4 25 12 64 0.3 3.1
-SLFB4- 65-M 22 4 12 4 65 22 23 14.3 25 12 44 0.3 1.3
- 85-M 42 4 12 4 85 42 23 16.4 25 12 64 0.3 2.2
-SLSA6- 65-M 22 6 9 1.5 65 22 23 11.3 25 18 44 0.3 2.3
-80 6 9 1.5 80 42 18 13.4 20 18 54 0.2 5.1
- 85-M 42 6 9 1.5 85 42 23 13.4 25 18 64 0.3 4.8
-100-M 42 6 9 1.5 100 42 38 13.4 25 18 78 0.3 5.1
=-SLRA6- 60 6 12 3 60 22 18 14.3 26 18 39 0.3 1.3
- 65-M 22 6 12 3 65 22 23 14.3 25 18 44 0.3 1.3
- 85-M 42 6 12 3 85 42 23 16.4 25 18 64 0.3 2.4
-SLFB6- 70-M 22 6 14 4 70 22 28 16.3 32 18 48 0.4 1
- 90-M 42 6 14 4 90 42 28 18.4 32 18 68 0.4 1.6

st (3=

AR ER:

T T DHIES&Z{(J’E Working length
L & Length (
JIFFE 1R Diameter
IfEEXS Holder type
AR

3, Taper size



B TIR

48

BETHES e

-HSK40A-SL #4145 7148 (3°—{AH!) HSK40A-SL SHRINK FIT HOLDER(3° MONO)

[l fafolsly

20+
A =t
MIBHKE
L1 M Working length
L

ﬁéia% (T%E;) ?
{ safety mark ) cknes . i£§¥1ﬁ . g
l 1, —— NREE HATIAR, #5Y% e
I I 7 e
H (Minimum insertlength of the tool ) ﬁ §
TNRBABAKE =2
h ( Maximum insert length of the tool ) ﬁu o

A5 Model D
HSK40A-SLSA8- 65-M 22 8 11 1.5 65 22 23 13.3 25 24 44 0.3 1.6
- 85-M 42 8 11 1.5 85 42 23 15.4 25 24 64 0.3 3.4
-100-M 42 8 11 1.5 100 42 38 15.4 25 24 78 0.3 3.8
-SLRA8- 65-M 22 8 14 3 65 22 23 16.3 25 24 44 0.3 1.1
- 85-M 42 8 14 3 85 42 23 18.4 25 24 64 0.3 2
-SLFB8- 70-M 22 8 18 5 70 22 28 20.3 32 24 48 0.4 0.7
- 90-M 42 8 18 5 90 42 28 22.4 32 24 68 0.4 1.1
-SLSA10- 65-M 22 10| 13 1.5 65 22 23 15.3 25 30 44 0.3 1.2
- 85-M 42 10| 13 1.5 85 42 23 174 25 30 64 0.3 2.6
- 90 10 | 13 1.5 90 42 28 17.4 26 30 64 0.3 2.6
-100-M 42 10| 13 1.5 100 42 38 17.4 25 30 78 0.3 3
-SLRA10- 65 10| 16 3 65 22 23 18.3 26 25 44 0.3 0.9
- 65-M 22 10 | 16 3 65 22 23 18.3 25 30 44 0.3 1
- 90-M 42 10| 16 3 90 42 28 20.4 32 30 69 0.4 1.5
=-SLFB10- 70-M 22 10 | 22 6 70 22 28 24.3 32 30 48 0.4 0.6
- 90-M 42 10 | 22 6 90 42 28 26.4 32 30 68 0.5 0.9
-SLSA12- 65-M 22 12 15 1.5 65 22 23 17.3 25 30 44 0.3 1.1
- 90-M 42 12 15 1.5 90 42 28 19.4 32 30 68 0.4 1.9
-SLRA12- 65-M 22 12 | 20 4 65 22 23 22.3 25 30 44 0.3 0.8
=-SLFB12- 70-M 22 12 | 26 7 70 22 28 28.3 32 30 48 0.4 0.6
-SLRA16- 65-M 22 16 | 26 5 65 22 23 28.3 33.5| 32 43 0.4 0.5
-SLRA20- 70-M 50 20 | 32 6 70 50 * 33.5 * 38 48 0.4 0.6

strg O]

ARG RA:

T NI EEE Working length
L 4&E Length (L)
JI#FE 12 Diameter
IhgefX=S Holder type
SEFRAZ T, Taper size




HIZTIN

c?%(%%s BT 5 FE 5

-HSK50A-SL #45 7148 (3°—{5E!) HSK50A-SL SHRINK FIT HOLDER(3° MONO)

MIBBHKE
Working length
L
___ R
1.
. l ﬁﬁ* 0 TNNRRE WA JIEN, 150
% m W (M‘mﬁnﬁ’:gziﬁﬁ'%wo” }{%HE:%)\ttﬁ‘éia%E(%HQ'fjﬁo
3 % NABKBAKE
s 7] h {Maximum insert length of the tool
z 1 g
s &
o 5l B2 Model D C t L M L1 1 C2 H h S8KG S
5 HSK50A-SLSA3- 95-M 42 3 6 1.5 95 42 27 10.4 25 9 71 0.5 9.1
-125-M 42 3 6 1.5 125 42 57 10.4 25 9 101 0.6 9.8
-SLRA3- 75-M 22 3 7.5 2.25 75 22 27 9.8 25 9 51 0.5 2.8
- 95-M 42 3 7.5 2.25 95 42 27 11.9 25 9 71 0.5 5.3
=125-M 42 3 7.5 2.25 125 42 57 11.9 25 9 101 0.6 6
-SLSA4- 95-M 42 4 7 1.5 95 42 27 11.4 25 12 71 0.5 7.2
-125-M 42 4 7 1.5 125 42 57 11.4 25 12 101 0.6 7.9
=SLRA4- 75-M 22 4 10 3 75 22 27 12.3 25 12 51 0.5 1.7
- 95-M 42 4 10 3 95 42 27 14.4 25 12 71 0.5 3.1
-125-M 42 4 10 3 125 42 57 14.4 25 12 101 0.6 3.8
-SLSA6- 95-M 42 6 9 1.5 95 42 27 13.4 25 18 71 0.5 4.8
=125-M 42 6 9 1.5 15 42 57 13.4 25 18 101 0.6 5.6
=SLRB6- 75-M 22 6 14 4 75 22 27 16.3 32 18 50 0.5 1
- 95-M 42 6 14 4 95 42 27 18.4 32 18 70 0.6 1.6
-125-M 42 6 14 4 125 42 57 18.4 32 18 100 0.7 1.9
-SLSA8- 95-M 42 8 11 1.5 95 42 27 15.4 25 24 71 0.5 3.4
=125-M 42 8 11 1.5 125 42 57 15.4 25 24 101 0.6 4.4
-SLRB8- 75-M 22 8 18 5 75 22 27 20.3 32 24 50 0.6 0.7
- 95-M 42 8 18 5 95 42 27 22.4 32 24 70 0.6 1.1
-125-M 42 8 18 5 125 42 57 22.4 32 24 100 0.8 1.5
=SLSA10- 95-M 42 10 13 1.5 95 42 27 17.4 25 30 71 0.5 2.6
=-125-M 42 10 13 1.5 125 42 57 17.4 25 30 101 0.6 3.7
-SLRB10 - 75-M 22 10 22 6 75 22 27 24.3 32 30 50 0.6 0.6
- 95-M 42 10 22 6 95 42 27 26.4 32 30 70 0.6 0.9
=125-M 42 10 22 6 125 42 57 26.4 32 30 100 0.8 1.3
=SLRB12- 75-M 22 12 26 7 75 22 27 28.3 42 30 52 0.7 0.4
- 95-M 42 12 26 7 95 42 27 30.4 42 30 72 0.8 0.6
-125-M 42 12 26 7 125 42 57 30.4 42 30 98 1 0.8
=SLRB16- 75-M 22 16 32 8 75 22 27 34.3 42 32 52 0.7 0.4
=105-M 22 16 32 8 105 22 57 34.3 42 32 78 1 0.5
-SLRB20- 75-M 22* 20 38 9 75 22 27 40.3 49 40 51 0.8 0.3
-105-M 22* 20 38 9 105 22 57 40.3 49 40 76 1.2 0.4
28 ¥ HUAS
iﬂﬁiﬁﬂﬁ * Sg ;E,EEE SO_OOS;JI],\.\E'EXT SI\_RB20 HD:.“’EET, FR{EFE N
AESERE, BFEAMALEE NO.4 FHITIMNHA,

{ I B AE Working length
L E Length (L)
JIFFE 1R Diameter
hl

BEfXS Holder type
$HIRAZ T, Taper size

__ 60 &



-HSK63A-SL A48 J14R (3°—h8Y)

B TIR

48

BETHES e

HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MILEMKE

Working length

af o] &

mIAMKE

Working length

LIS

( Safety mark )

B2
( Thickness )

W ERER
o TNRRE HANTIHN, H50

*
45
7
]
£
5

D_t

S31¥43S YIATOH 1001 LI INRIHS

smemky  VREALEAICS EROAE.

( Minimum insert length of the tool )

TIERARINKE

{ Maximum insert length of the tool

S Model FIG D C t L M LT L2 1 c2 G h ZEEKG S

H

HSK63A-SLSA3- 95-M 42 | 1 3 6 1.5 95 42 27 * 10.4 25 * 9 70 0.7 9.1
-120-M 67 | 1 3 6 1.5 120 67 27 * 13 25 * 9 95 0.8 14.7
-125-M 42 | 1 3 6 1.5 125 42 57 * 10.4 25 * 9 100 0.8 9.8
-150-M 67 | 1 3 6 1.5 150 67 57 * 13 25 * 9 125 0.8 15.8
-M 97 | 1 3 6 1.5 150 97 27 * 16.2 25 * 9 125 0.8 20.5

-155-M 42 | 2 | 3 6 1.5 155 42 33 | 54 10.4 26 | 40 9 130 1.2 9.9
-180-M 67 | 2 | 3 6 1.5 180 67 33 | 54 13 25 | 39 9 155 1.1 15.7
-Mm97 |1 3 6 1.5 | 180 97 | 57 | * 16.2 | 25 * 9 155 0.9 22.2

=210-M 97 | 2 | 3 6 1.5 210 97 33 | 54 16.2 25 | 39 9 185 1.2 221
-SLRA3- 75-M 22 1 3 | 751225 75 22 27 * 9.8 25 * 9 50 0.7 2.8
- 95-M 42 1 3 | 751225 95 42 27 * 11.9 25 * 9 70 0.7 5.3
-105-M 22 | 1 3 | 725|225 | 105 22 57 * 9.8 25 * 9 80 0.8 3.2
-120-M 67 | 1 3 |75]225| 120 67 27 * 14.5 25 * 9 95 0.8 8.8

-125-M 42 | 1 3 |75]225]| 125 42 57 * 11.9 25 * 9 100 0.8 6
=135-M 22 | 2 | 3 | 75| 2.25| 135 22 33 | 54 9.8 25 | 39 9 110 1.1 3.2
=150-M 67 | 1 3 |75]225| 150 67 57 * 14.5 25 * 9 125 0.9 9.9
-M 97 | 1 3 |75]225| 150 97 27 * 17.7 25 * 9 125 0.8 12.9

-155-M 42 | 2 | 3 | 75| 2.25| 155 42 33 | 54 11.9 25 | 39 9 130 1.1 6
-180-M 67 | 2 | 3 | 75| 2.25| 180 67 | 33 | 54 | 145 | 26 | 40 9 155 1.2 9.8
=M 97 | 1 3 |75]225| 180 97 57 * 17.7 25 * 9 155 0.9 14.6
-M127 | 1 3 |75]225| 180 127 | 27 * 20.8 36 * 9 155 0.9 15.7
=210-M 97 | 2 | 3 | 75| 2.25 | 210 97 33 | 54 17.7 25 | 39 9 185 1.2 14.4
=-M127 1 3 |75]225| 210 127 | 57 * 20.8 32 * 9 184 1.1 16.6
-240-M127 | 2 | 3 | 7.5 | 2.25 | 240 127 | 30 | 54 20.8 32 | 46 9 214 1.5 16.5

RIS RA:
T %IE?&KE Working length
L <Z Length (L)
JIFFE 1R Diameter
IHEEXS Holder type
SR, Taper size




HIZTIN

c?%c%%s BT 5 FE 5

‘HSK63A-SL #45J148 (3°—{K8Y) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MITEMKE

Working length

FIG.2

ol o] &

MLEYKE

Working length

5
o
3 1R E2ins s -
% %= 17 o W EESER
g 5l %T TIRRE AN, %0
o [Jﬁ EmkE 4 71 B e A e BRI
h R
#= Model FIG D C t L M L1 L2 Cc1 c2 c3 H h BE=KGS S
HSK63A-SLFB3- 75-M 22 1 3 19.5(3.25 75 22 27 * 11.8 | 25 * 9 50 0.7 1.9
/ - 95-M 42 1 3195 3.25 95 42 27 * 13.9 | 25 * 9 70 0.8 3.2
@ -105-M 22 1 319.5(3.25| 105 22 57 * 11.8 | 26 * 9 80 0.9 2.3
=-120-M 67 1 3195|325 | 120 67 27 * 16.5 | 25 * 9 95 0.8 5.3
=125-M 42 1 3195|325 125 42 57 * 13.9 | 26 * 9 100 0.9 3.8
=-135-M 22 2 3195|325 135 22 33 | 54 | 11.8 | 25 39 9 110 1.1 2.3
-150-M 67 1 3 19.5(|3.25| 150 67 57 * 16.5 | 25 * 9 125 0.9 6.4
=155-M 42 2 3 19.5(3.25| 155 42 33 | 54 | 139 | 25 39 9 130 1.1 3.9
-180-M 67 2 3 19.5(|3.25| 180 67 33 | 54 | 16,5 | 25 39 9 155 1.2 6.4
=SLSA4- 95-M 42 1 4 7 1.5 95 42 27 * 11.4 | 25 * 12 70 0.7 7.2
=120-M 67 1 4 7 1.5 120 67 27 * 14 25 * 12 95 0.8 11.7
-125-M 42 1 4 7 1.5 125 42 57 * 11.4 | 25 * 12 100 0.8 79
-150-M 67 1 4 7 1.5 150 67 57 * 14 25 * 12 125 0.9 12.8
=M 97 1 4 7 1.5 150 97 27 * 17.2 | 25 * 12 125 0.8 16.6
=155-M 42 2 4 7 1.5 155 42 33 54 | 11.4 | 25 39 12 130 1.1 79
-180-M 67 2 | 4 7 1.5 180 67 33 | 54 14 25 39 12 155 1.1 12.8
-M 97 1 4 7 1.5 180 97 57 * 17.2 | 25 * 12 155 0.9 18.4
-210-M 97 2 4 7 1.5 210 97 33 54 17.2 | 25 39 12 185 1.2 18.2
-SLRA 4- 75-M 22 1 4 |10 3 75 22 27 * 12.3 | 25 * 12 50 0.7 1.7
- 95-M 42 1 4 |10 3 95 42 27 * 14.4 | 25 * 12 70 0.8 3.1
=105-M 22 1 4 |10 3 105 22 57 * 12.3 | 25 * 12 80 0.8 2.2
-120-M 67 1 4 |10 3 120 67 27 * 17 25 * 12 95 0.8 5.1
=-125-M 42 1 4 |10 3 125 42 57 * 14.4 | 25 * 12 100 0.8 3.8
-135-M 22 2 14110 3 135 22 33 | 54 | 123 | 25 39 12 110 1.1 2.2
=150-M 67 1 4 110 3 150 67 57 * 17 25 * 12 125 0.9 6.3
-M 97 1 4 |10 3 150 97 27 * 20.2 | 25 * 12 124 0.8 77
AL AR
%ﬂlﬁ?&ﬁ}% Working length
L £ Length (L)
JIFFE{Z Diameter
INEEXS holder type
S$EFRFZ T, Taper size




B TIR

48

BETHES e

‘HSK63A-SL #45 714" (3°—{5HY) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MILEMKE

Working length

af o] &

mIAMKE

Working length

=
et S - i
sy ) HERER ; 2
| — — =7 TNARE HAJIAN, #5505 &
|, ?ﬁﬁﬂ% . R BN 210 S EIRIA B .
h ?Ja%u% Zi‘sejr’tﬁler\)g\ﬁ:tﬁ Etod )
S Model FIG D C t L M L1 L2 C1 c2 C3 H h ZEEKGS S
HSK63A-SLRA4-155-M 42 | 2 | 4 | 10 3 155 42 33 | 54 14.4 25 | 39 12 130 1.1 3.8
-180-M 67 | 2 | 4 | 10 3 180 67 33 | 54 17 25 | 39 12 155 1.2 6.2
-M 97 | 1 4 (10 3 180 97 57 * 20.2 25 * 12 154 09 9.5
=M127 | 1 4 (10 3 180 127 | 27 * 23.3 32 * 12 154 1 9.4
=210-M 97 | 2 | 4 | 10 3 210 97 33 | 54 20.2 25 | 39 12 184 1.2 9.4
-M127 | 1 4 (10 3 210 127 | 57 * 23.3 32 * 12 184 1.1 10.4
=240-M127 | 2 | 4 | 10 3 240 127 | 30 | 57 23.3 32 | 46 12 | 214 1.5 10.3
-SLFB4- 75-M 22 1 4 |12 4 75 22 27 * 14.3 25 * 12 50 0.7 1.3
/ = 95-M42 1 4 |12 4 95 42 27 * 16.4 25 * 12 70 0.8 2.2
@ -105-M22 1 4 | 12 4 105 22 57 * 14.3 25 * 12 80 0.8 1.8
-120-M67 1 4 |12 4 120 67 27 * 19 25 * 12 95 0.8 3.6
=125-M42 1 4 |12 4 125 42 57 * 16.4 25 * 12 100 09 2.9
-135-M22 2 14|12 4 135 22 33 | 54 14.3 25 | 39 12 110 1.1 1.8
=150-M67 1 4 |12 4 150 67 57 * 19 25 * 12 125 09 4.7
-155-M42 2 14|12 4 155 42 33 | 54 16.4 25 | 39 12 130 1.1 2.9
-180-M67 2 4|12 4 180 67 33 | 54 19 25 | 39 12 155 1.2 4.6
-SLSA6- 95-M42 1 6 9 1.5 95 42 27 * 13.4 25 * 18 70 0.7 4.8
-120-M67 1 6 9 1.5 120 67 27 * 16 25 * 18 95 0.8 8
=125-M42 1 6 9 1.5 125 42 57 * 13.4 25 * 18 100 0.8 5.6
-150-M67 1 6 9 1.5 150 67 57 * 16 25 * 18 125 0.9 9.3
-M97 1 6 9 1.5 150 97 27 * 19.2 32 * 18 124 09 11
-155-M42 2 | 6 9 1.5 155 42 33 | 54 13.4 25 | 39 18 130 1.1 5.6
-180-M67 2 |6 9 1.5 180 67 33 | 54 16 25 | 39 18 155 1.1 9.2
-M97 1 6 9 1.5 180 97 57 * 19.2 32 * 18 154 1 11.7
-210-M97 2 6 9 1.5 210 97 30 | 57 19.2 32 46 18 184 1.4 11.7
RIS RA:
%Iﬁ?ﬁlﬁfg working length
L <& Length (L)
JJ#FE 1R Diameter
IHEEfLS Holder type
$ERAZ TN Taper size




HIZTIN

R

CNCTOOLS

‘HSK63A-SL A4 (3°—h8)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

HSK63A-SL SHRINK FIT HOLDER(3° MONO)

Bl
4
C1
c2

LA

Working length

of o] 5

mITHBAKE

Working length

ZELS

( Safety mark )

I
( Thickness )

D_Dl

T

W ERER
NRRE WATIEN, HFHL
BRI Z 2L S ERNAE .

e e
h Ila%uﬂf @ﬁﬂ)g\ﬂﬁ the tool )

S Model FIG D @ t L M L1 L2 C1 c2 3 H EEKGS S
HSK63A-SLSB6- 95-M 42 1 6 10 2 95 42 27 * 14.4 25 * 18 70 0.7 3.7
-120-M 67 1 6 10 2 120 67 27 * 17 25 * 18 95 0.8 6.2
-125-M 42 1 6 10 2 125 42 57 * 14.4 25 * 18 100 0.8 4.5
-150-M 67 1 6 10 2 150 67 57 * 17 25 * 18 125 0.9 7.4

-M 97 |1 6 10 2 150 97 27 * 20.2 32 * 18 124 0.9 8.5

-155-M 42 2| 6 10 2 155 42 33 | 54 14.4 25 39 18 130 11 4.4
-180-M 67 2| 6 10 2 180 67 33 | 54 17 25 39 18 155 1.1 7.3

-M 97 |1 6 10 2 180 97 57 * 20.2 32 * 18 154 1 9.2

-M127 | 1 6 10 2 180 127 | 27 * 23.3 32 * 18 154 0.9 11

-210-M97 2| 6 10 2 210 97 30 | 57 20.2 32 | 46 18 184 1.4 9.2

-M127 | 1 6 10 2 210 127 | 57 * 23.3 32 * 18 184 1.1 12
-M157 | 1 6 10 2 210 157 | 27 * 26.5 32 * 18 184 1.1 13.2

-240-M127 | 2 | 6 10 2 240 127 | 30 | 57 23.3 32 | 46 18 214 1.5 12
-M157 | 1 6 10 2 240 157 | 57 * 26.5 32 * 18 214 1.2 14.6
-270-M157 | 2 | 6 10 2 270 157 | 30 | 57 26.5 32 | 46 18 244 1.6 14.6

-SLRB6- 75-M 22 1 6 14 4 75 22 27 * 16.3 32 * 18 49 0.8 1
- 95-M 42 1 6 14 4 95 42 27 * 18.4 32 * 18 69 0.8 1.6
-105-M 22 1 6 14 4 105 22 57 * 16.3 32 * 18 79 0.9 1.2
-120-M 67 1 6 14 4 120 67 27 * 21 32 * 18 94 0.9 2.6
-125-M 42 1 6 14 4 125 42 57 * 18.4 32 * 18 99 1 1.9
-135-M 22 2| 6 14 4 135 22 30 | 57 16.3 32 | 46 18 109 1.3 1.2

-150-M 67 1 6 14 4 150 67 57 * 21 32 * 18 124 1 3
-155-M 42 2| 6 14 4 155 42 30 | 57 18.4 32 | 46 18 129 1.4 1.9
-180-M 67 2| 6 14 4 180 67 30 | 57 21 32 | 46 18 154 1.4 3.1

SN

L 4€Z Length (L)
JI#FE1Z Diameter

E T HEREE Working length

I IhEEfLS Holder type
H$EFRFZ T Taper size



-HSK63A-SL A48 J11R (3°—h8Y)

HSK63A-SL SHRINK FIT HOLDER(3° MONO)

RETT RS

[l
c
c1
c2

MLEMKE

Working length

B TIR

48

CNCTOOLS

af o] &

mIAMKE

Working length

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

ZLiLS 2R
ey marc) e HERER
l 5 T’ TNRRE WANJIHN, %50
il ﬁ};ﬁtﬁﬁﬂ% . F IR R A S EIRMALE .
h ﬂffgmi Ziseiﬁlen)g\lh{(ﬁ Ezool )
A= Model FIG D C t L M L1 L2 c1 c2 c3 H h BE=EKGS S
HSK63A-SLFB6- 75-M 22 11614 4 75 22 27 * 16.3 32 * 18 49 0.8
/ = 95-M 42 11614 4 95 42 27 * 18.4 32 * 18 69 0.8 1.6
E =105-M 22 11614 4 105 22 57 * 16.3 32 * 18 79 0.9 1.2
-120-M 67 116114 4 120 67 27 * 21 32 * 18 94 0.9 2.6
-125-M 42 116114 4 125 42 57 * 18.4 32 * 18 99 1 19
=135-M 22 2 (61|14 4 135 22 30 | 57 16.3 32 46 18 109 1.3 1.2
=150-M 67 11614 4 150 67 57 * 21 32 * 18 124 1 3
=155-M 42 216114 4 155 42 30 | 57 18.4 32 46 18 129 1.4 1.9
-180-M 67 216114 4 180 67 30 | 57 21 32 46 18 154 1.4 3.1
-SLSA8- 95-M 42 11811 1.5 95 42 27 * 15.4 25 * 24 70 0.7 3.4
=120-M 67 1181 11 1.5 120 67 27 * 18 32 * 24 94 0.8 5.4
-125-M 42 11811 1.5 125 42 57 * 15.4 25 * 24 100 0.8 4.3
-150-M 67 11811 1.5 150 67 57 * 18 32 * 24 124 1 5.9
=M 97 11811 1.5 150 97 27 * 21.2 32 * 24 124 0.9 79
=155-M 42 2 18] 11 1.5 155 42 33 | 54 15.4 25 39 24 130 1.1 4.3
-180-M 67 2 (18] 11 1.5 180 67 30 | 57 18 32 46 24 154 1.4 5.9
-M 97 11811 1.5 180 97 57 * 21.2 32 * 24 154 1 8.7
-210-M 97 21811 1.5 210 97 30 | 57 21.2 32 46 24 184 1.4 8.7
-SLSB8- 95-M 42 11813 | 25 95 42 27 * 17.4 32 * 24 69 0.8 2.1
-120-M 67 11813 2.5 120 67 27 * 20 32 * 24 94 0.9 3.5
-125-M 42 11813 2.5 125 42 57 * 17.4 32 * 24 99 1 2.4
-150-M 67 11813 25 150 67 57 * 20 32 * 24 124 1 4
=M 97 11813 | 25 150 97 27 * 23.2 32 * 24 124 0.9 5.2
=-155-M 42 2 (8|13 | 25 155 42 30 57 17.4 32 46 24 129 1.4 2.4
-180-M 67 2(18]13| 25 180 67 30 | 57 20 32 46 24 154 1.4 4
-M 97 11813 ]| 25 180 97 57 * 23.2 32 * 24 154 1.1 6
=-M127 11813 2.5 180 127 | 27 * 26.3 32 * 24 154 1 7
FA& I ER:
WEUIE?&KE working length
L 4€Z Length (L)
JIFFE 4R Diameter
INREXS Holder type
HEARAZ T\, Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-HSK63A-SL #45 7148 (3°—{5H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MLEMKE

Working length

af o] &

mIAMKE

Working length

i; Era
5 — .
X E2in8 2 -
5% E— [+ W ERER
g% ek TIRBE AT, 5L
o | Ak F T BB 2 4T B RO E
75 Model h &= KGS
HSK63A-SLSB8-210-M 97 | 2 | 8 | 13| 2.5 | 210 | 97 | 30 | 57 | 23.2 | 32 | 46 | 24 | 184 1.5 6
-M127 | 1|8 [13] 25| 210 | 127 |57 | * | 263 | 32| * | 24 | 184 1.2 8.1
-M157 [ 1|8 |13] 25| 210 | 157 | 27 | * | 295 | 42| * | 24 | 185 1.2 8
-240-M127 | 2 | 8 | 13| 25 | 240 | 127 | 30 | 57 | 263 | 32| 46 | 24 | 214 1.6 8.1
-M157 | 1|8 |13| 25| 240 | 157 | 57 | * | 295 | 42| * | 24 | 214 15 8.6
-270-M157 | 2 | 8 | 13| 2.5 | 270 | 157 | 28 | 59 | 29.5 | 42 | 53 | 24 | 242 2 8.7
-SLRB8- 75-M 22 | 1|8 |18 | 5 75 | 22 |27 | * | 203 | 32| * | 24 | 49 0.8 0.7
-95-M42 |1 |8|18]| 5 95 | 42 |27 | * | 224 | 32| * | 24 | 69 0.9 11
-105-M 22 | 1|8 18| 5 | 105 | 22 |57 | * | 203 |32 | * | 24 | 79 1 0.9
-120-Mm 67 | 1|8 |18| 5 | 120 | 67 | 27 | * 25 [ 32| * | 24 | 94 0.9 17
-125-M 42 | 1|8 (18| 5 | 125 | 42 |57 | * | 224 | 32| * | 24 | 99 1 1.4
-135-M 22 | 2 |8 |18| 5 | 135 | 22 |30 |57 | 203 | 32| 46 | 24 | 109 1.4 1
-150-M 67 | 1 |8 |18| 5 | 150 | 67 | 57 | * 25 |32 * | 24 | 124 1.1 2.2
-155-M 42 | 2 |8 |18 | 5 | 155 | 42 |30 | 57 | 22.4 | 32| 46 | 24 | 129 1.4 1.4
-180-M 67 | 2 |8 |18| 5 | 180 | 67 |30 |57 | 25 | 32| 46 | 24 | 155 1.5 2.2
-SLFB8- 75-M 22 [ 1 (8|18 | 5 75 | 22 |27 | * | 203 | 32| * | 24 | 49 0.8 0.7
A -95-Mm4a2 |1]|8[18] 5 95 | 42 |27 | * | 224 | 32| * | 24 | 69 0.9 11
—E -105-M 22 | 1|8 |18 5 | 105 | 22 | 57| * | 203 [ 32| * | 24 | 79 1 0.9
-120-Mm 67 | 1|8 |18| 5 | 120 | 67 | 27 | * 25 [ 32| * |24 | o4 0.9 17
-125-M 42 | 1|8 (18| 5 | 125 | 42 |57 | * | 224 | 32| * | 24 | 99 1 1.4
-135-M 22 | 2 |8 |18| 5 | 135 | 22 | 30 |57 | 203 | 32| 46 | 24 | 109 1.4 1
-150-M 67 | 1 |8 |18| 5 | 150 | 67 | 57 | * 25 |32 * | 24 | 124 1.1 2.2
-155-M 42 | 2 |8 |18 | 5 | 155 | 42 |30 | 57 | 22.4 | 32| 46 | 24 | 129 1.4 1.4
-180-M 67 | 2 |8 |18| 5 | 180 | 67 |30 |57 | 25 |36 | 46 | 24 | 154 1.5 2.2
AL A
ﬁIﬁ?ﬁlﬁfE working length
L <& Length (L)
JIFFE 1R Diameter
IhEELS Holder type
AR I, Taper size

__ 66 &



B TIR

48

BETHES e

-HSK63A-SL #45 7148 (3°—{5H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MLEMKE

Working length

af o] &

mIAMKE

Working length

z

Sy k) ) W ERER ; 2

@% ——— TNREE FATIHN, %Y 2
; SR 4TI B H 2 4T B ERAR B

(Minimum insert length of the tool )
h ﬂffgmi Ziseiﬁlen)g\lh{ﬁ Ezool )
S Model

HSK63A-SLSA10- 95-M 42 1110|113 1.5 95 42 27 * 17.4 25 * 30 70 0.8 2.6
-120-M 67| 1 |10 13 1.5 120 67 27 * 20 32 * 30 94 0.8 4
=125-M 42| 1 |10 13 1.5 125 42 57 * 17.4 25 * 30 100 0.8 3.6
=150-M 67 | 1 |10 13 1.5 150 67 57 * 20 32 * 30 124 1 4.6
=M 97| 1 |10| 13 1.5 150 97 27 * 23.2 32 * 30 124 0.9 6
=155-M 42| 2 |10 13 1.5 155 42 33 54 17.4 25 39 30 130 11 3.5
=180-M 67 | 2 | 10| 13 1.5 180 67 30 | 57 20 32 46 30 154 1.4 4.6
=M 97| 1 |10| 13 1.5 180 97 57 * 23.2 32 * 30 154 11 6.9
=210-M 97 | 2 |10 13 1.5 210 97 30 | 57 23.2 32 46 30 184 1.5 6.9
=SLSB10- 95-M 42 1 110| 16 3 95 42 27 * 20.4 32 * 30 69 0.8 1.4
=120-M 67 | 1 | 10| 16 3 120 67 27 * 23 32 * 30 94 09 2.4
=125-M 42| 1 |10 ]| 16 3 125 42 57 * 20.4 32 * 30 99 1 1.8
-150-M 67| 1 |10 16 3 150 67 57 * 23 32 * 30 124 1 3
=M 97 ] 1 |10 16 3 150 97 27 * 26.2 32 * 30 124 1 3.6
=155-M 42 | 2 (10| 16 3 155 42 30 | 57 20.4 32 46 30 129 1.4 1.8
-180-M 67 | 2 (10| 16 3 180 67 30 | 57 23 32 46 30 154 1.4 3
=M 97 ] 1 |10 16 3 180 97 57 * 26.2 32 * 30 154 11 4.5
=-M127]| 1 | 10| 16 3 180 127 | 27 * 29.3 42 * 30 155 1.2 4.5
=210-M 97 | 2 (10| 16 3 210 97 30 | 57 26.2 32 46 30 184 1.5 4.5
=-M127] 1 | 10| 16 3 210 127 | 57 * 29.3 42 * 30 182 1.4 49
=-M157 ]| 1 | 10| 16 3 210 157 | 27 * 32.5 42 * 30 185 1.3 5.6
=240-M127 | 2 (10| 16 3 240 127 | 28 | 59 29.3 42 53 30 212 1.9 5.0
-M157 ]| 1 |10 ]| 16 3 240 157 | 57 * 32.5 42 * 30 215 1.8 5.8
=270-M157 | 2 | 10| 16 3 270 157 | 28 | 59 32.5 42 53 30 242 2.1 6.2

MRS RR:

T E IIT BRI E working length
L K[E Length (L)
JIFE 1R Diameter

* RERS Holder type
AR Taper size




HIZTIN

cﬁiﬁi BT 5 FE 5

‘HSK63A-SL # 457148 (3°—{8H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

FIG.I  psk.no

c1
c2

MIBEBAKE

WWorking length

NERRE @mATIEN, EFL

FIG.2
HSK. NO
- ( === R — —— —— ool &
o > S
1l :

9 H
Z L2 L1 M mIASKE
=4
TR L
S
e o =
T = .
rgn % { Safety mark ) ( Thickness ) . 5£ﬁ$m
a5
b
)

O
—
L D_bi
SJT*—*J B

H (Minimum insert length of the tool )

TIERAANKE

h ( Maximum insert length of the tool )

H IR Z Al SR E

.5 Model FIG D C t L M L1 L2 c1 c2 c3 H h H=KGS S
HSK63A-SLRB10- 75-M 22 1 10 | 22 6 75 22 27 * 24.3 32 * 30 49 0.8 0.6
-95-M 42| 1 |10 22 6 95 42 | 27 * 26.4 | 32 * 30 68 0.9 0.8
=105-M 22 1 10 | 22 6 105 22 57 * 24.3 32 * 30 79 1 0.8

-120-M 67 1 10 | 22 6 120 67 27 * 29 42 * 30 94 1.1 1.1

-125-M 42 1 10 | 22 6 125 42 57 * 26.4 32 * 30 99 1.1 1.2

=135-M 22 2 |10 22 6 135 22 30 | 57 24.3 32 46 30 109 1.4 0.9

=-150-M 67 1 10 | 22 6 150 67 57 * 29 42 * 30 124 1.3 1.3

=155-M 42 2 |10 22 6 155 42 30 | 57 26.4 32 46 30 129 1.5 1.2

-180-M 67 2 |10 22 6 180 67 28 | 59 29 42 53 30 154 1.8 1.3
=-SLFB10- 75-M 22 1 10 | 22 6 75 22 27 * 24.3 32 * 30 49 0.8 0.6
-95-M 42| 1 [10] 22 6 95 42 | 27 * 26.4 | 32 * 30 69 0.9 0.8
-105-M 22 1 10 | 22 6 105 22 57 * 24.3 32 * 30 79 1 0.8

-120-M 67 1 10 | 22 6 120 67 27 * 29 42 * 30 94 1.1 1.1

=125-M 42 1 10 | 22 6 125 42 57 * 26.4 32 * 30 99 1.1 1.2

=135-M 22 2 10| 22 6 135 22 30 | 57 24.3 32 46 30 109 1.4 0.9

-150-M 67 1 10 | 22 6 150 67 57 * 29 42 * 30 124 1.3 1.3

=155-M 42 2 |10 22 6 155 42 30 | 57 26.4 32 46 30 129 1.5 1.2

-180-M 67 2 |10 22 6 180 67 28 | 59 29 42 53 30 154 1.8 1.3
=-SLSA12- 95-M 42 1 12 | 15 1.5 95 42 27 * 19.4 32 * 30 69 0.8 1.8
=-120-M 67 1 12| 15 1.5 120 67 27 * 22 32 * 30 94 0.8 3.3

=125-M 42 1 12| 15 1.5 125 42 57 * 19.4 32 * 30 99 1 2.3

-150-M 67 1 12| 15 1.5 150 67 57 * 22 32 * 30 124 1 3.9

=M 97 1 12 | 15 1.5 150 97 27 * 25.2 32 * 30 124 09 4.9

=155-M 42 2 12 | 15 1.5 155 42 30 57 19.4 32 46 30 129 1.4 2.3

-180-M 67 2 | 12115 1.5 180 67 30 | 57 22 32 46 30 154 1.4 3.9

-M 97 1 12| 15 1.5 180 97 57 * 25.2 32 * 30 154 1.1 5.8

-210-M 97 2 12| 15 1.5 210 97 30 57 25.2 32 46 30 184 1.5 5.8

FA& I ER:
T %IEW‘KE working length
L <E Length (L)
JIMFE 1R Diameter
IhEEfXS Holder type
S$EFRFZ T, Taper size

__ 68 &



B TIR

48

BETHES e

-HSK63A-SL #45 7148 (3°—{5H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MLEMKE

Working length

af o] &

mIAMKE

Working length

=
s
R2iS ELY me
Re ‘© WuEEm i
@% ——— TNREE FATIHN, %Y 2
" (M‘mﬁfjﬁ’;e%ﬁﬁfyim” KT B e S EIRIA E .
h ﬂffgmi Ziseiﬁlen)g\lh{ﬁ Ezool )
S Model
HSK63A-SLSB12- 95-M 42 | 1 |12| 19 | 3.5 95 42 27 * 23.4 32 * 30 69 0.8 1.1
-120-M 67 | 1 [12| 19 | 3.5 120 67 27 * 26 32 * 30 94 0.9 1.8
-125-M 42 | 1 [12| 19 | 3.5 125 42 57 * 23.4 32 * 30 99 1 1.5
=150-M 67 | 1 [12| 19 | 3.5 150 67 57 * 26 32 * 30 124 1.1 2.5
-M97 |1 (12|19 ]| 3.5 150 97 27 * 29.2 42 * 30 125 1.1 2.4
-155-M 42 | 2 (12| 19 | 3.5 155 42 30 | 57 23.4 32 | 46 30 129 1.4 1.6
-180-M 67 | 2 [12| 19 | 3.5 180 67 30 | 57 26 32 | 46 30 154 1.5 2.5
-M97 |1 (12|19 ]| 3.5 180 97 57 * 29.2 42 * 30 152 1.4 2.8
=-M127 [ 1 (12| 19 | 3.5 180 127 | 27 * 32.3 42 * 30 155 1.3 3.3
=210-M 97 | 1 |12| 19 | 3.5 210 97 87 * 29.2 50 * 30 180 1.9 2.8
-M127 | 1 |12] 19| 3.5 210 127 | 57 * 32.3 50 * 30 180 1.7 3.5
-M157 | 1 |12] 19 | 3.5 210 157 | 27 * 35.5 42 * 30 185 1.4 41
-240-M127 | 1 (12| 19 | 3.5 240 127 | 87 * 32.3 50 * 30 | 215 2.1 3.8
=M157 | 1 |12]| 19 | 3.5 240 157 | 57 * 35.5 42 * 30 212 1.7 4.7
=-270-M157 | 2 [12| 19 | 3.5 270 157 | 28 | 59 35.5 42 53 30 | 242 2.2 4.8
-SLRB12- 75-M 22 1 112] 26 7 75 22 27 * 28.3 42 * 30 50 0.9 0.4
- 95-M 42 1112 26 7 95 42 27 * 30.4 42 * 30 70 1 0.6
-105-M 22 | 1 [12| 26 7 105 22 57 * 28.3 42 * 30 77 1.2 0.5
-120-M 67 | 1 [12| 26 7 120 67 27 * 33 42 * 30 95 1.2 0.8
-125-M 42 | 1 [12| 26 7 125 42 57 * 30.4 42 * 30 97 1.3 0.7
=135-M 22 | 2 [12| 26 7 135 22 28 | 59 28.3 42 53 30 107 1.7 0.6
=150-M 67 | 1 [12| 26 7 150 67 57 * 33 42 * 30 122 1.4 1.1
=155-M 42 | 2 [ 12| 26 7 155 42 28 | 59 30.4 42 53 30 127 1.8 0.8
-180-M 67 | 2 |12 | 26 7 180 67 28 | 59 33 42 53 30 152 1.9 1.1
RIS RA:
T Wiﬂlﬁ’?ﬁlﬁfg working length
T L & Length (L)
JJ#FE 1% Diameter
IHEEfLS Holder type
$EFRAZ T Taper size

> 69



HIZTIN

cﬁigis BT 5 FE 5

-HSK63A-SL #45 7148 (3°—{5H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MLEMKE

Working length

af o] &

mIAMKE

Working length

—
S z2ies EE
'5" /% ( Safety mark | N o . 5£ﬁ$m
5% @% ——— TREE AT, W%
o " (M‘mi%%e%ﬁﬁ!% . KT B e S EIRIA E .
) TIRSAIBNKE
h ( Maximum insert length of the tool )

S Model t
HSK63A-SLFB12- 75-M 22 1 112] 26 7 75 22 27 * 28.3 42 * 30 50 0.9 0.4
/ - 95-M 42 1 112] 26 7 95 42 27 * 30.4 42 * 30 70 1 0.6
g =105-M 22 | 1 |12]| 26 7 105 22 57 * 28.3 42 * 30 77 1.2 0.5
-120-M 67 1 112] 26 7 120 67 27 * 33 42 * 30 95 1.2 0.8
=125-M 42 | 1 |12]| 26 7 125 42 57 * 30.4 42 * 30 97 1.3 0.7
=135-M 22 | 2 |12]| 26 7 135 22 28 | 59 28.3 42 | 53 30 107 1.7 0.6
-150-M 67 1 112] 26 7 150 67 57 * 33 42 * 30 122 1.4 1.1
=155-M 42 | 1 |12]| 26 7 155 42 28 | 59 30.4 42 | 53 30 127 1.8 0.8
-180-M 67 | 2 (12| 26 7 180 67 28 | 59 33 42 | 53 30 152 1.9 1.1
-SLSB16- 95-M 42 1 116]| 24 4 95 42 27 * 28.4 42 * 32 70 1 0.7
=-120-M 67 1 116]| 24 4 120 67 27 * 31 42 * 32 95 1.1 1.1
=125-M 42 | 1 |16| 24 4 125 42 57 * 28.4 42 * 32 97 1.2 0.9
-150-M 67 1 116]| 24 4 150 67 57 * 31 42 * 32 122 1.3 1.4
=M 97 1 116]| 24 4 150 97 27 * 34.2 42 * 32 125 1.2 1.7
=155-M 42 | 1 |16| 24 4 155 42 87 * 28.4 50 * 32 130 1.7 0.9
-180-M 67 | 2 |16| 24 4 180 67 28 | 59 31 42 | 53 32 152 1.8 1.5
=M 97 1 116]| 24 4 180 97 57 * 34.2 42 * 32 152 1.4 2.1
=M127 | 1 [16| 24 4 180 127 | 27 * 37.3 53 * 32 155 1.5 2.1
-2710-M 97 | 2 |16 24 4 210 97 28 | 59 34.2 42 | 53 32 182 2 2.1
=M127 | 1 (16| 24 4 210 127 | 57 * 37.3 53 * 32 181 1.9 2.3
=M157 | 1 [16| 24 4 210 157 | 27 * 40.5 53 * 32 185 1.7 2.7
-240-M127 | 1 |16| 24 4 240 127 | 87 * 37.3 53 * 32 | 211 2.3 2.6
=-M157 | 1 [16| 24 4 240 157 | 57 * 40.5 53 * 32 215 2.1 2.9
=270-M157 | 1 |16| 24 4 270 157 | 87 * 40.5 53 * 32 | 241 2.5 3.2

RIS RA:
T T %Iﬁ?ﬁlﬁfg working length
L E Length (L)
JIHFE 1R Diameter
IhgEfXS Holder type
S$EFRFZ T, Taper size



B TIR

48

BETHES e

-HSK63A-SL #45 7148 (3°—{5H!) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MLEMKE

Working length

af o] &

mIAMKE

Working length

2
st etk HERER ; 5
l ﬁT’ NERE WA, W50 2
" IR KT BGA L2 il SRR E.
( Minimum insert length of the tool )
) TIRSAIBNKE
h ( Maximum insert length of the tool )
S Model t
HSK63A-SLRB16- 75-M 22 | 1 |16 | 32 8 75 22 27 * 34.3 42 * 32 50 1 0.3
=95-M 42 | 1 |16 32 8 95 42 27 * 36.4 42 * 32 70 1.1 0.5
=105-M 22 | 1 |16 | 32 8 105 22 57 * 34.3 42 * 32 77 1.2 0.5
=120-M 67 | 1 |16 | 32 8 120 67 27 * 39 42 * 32 95 1.3 0.7
-125-M 42 | 1 |16 | 32 8 125 42 57 * 36.4 42 * 32 97 1.3 0.7
=135-M 22 | 2 |16 32 8 135 22 28 | 59 34.3 42 53 32 107 1.7 0.5
-150-M 67 | 1 | 16| 32 8 150 67 | 57 * 39 42 * 32 | 122 1.5 0.9
=155-M 42 | 2 |16 | 32 8 155 42 28 | 59 36.4 42 53 32 127 1.9 0.7
-180-M 67 | 2 |16 | 32 8 180 67 28 | 59 39 42 53 32 152 2 1
=SLFB16- 75-M 22 1116 32 8 75 22 27 * 34.3 42 * 32 50 1 0.3
=95-M 42 | 1 |16 32 8 95 42 27 * 36.4 42 * 32 70 1.1 0.5
=105-M 22 | 1 |16 | 32 8 105 22 57 * 34.3 42 * 32 77 1.2 0.5
=120-M 67 | 1 |16 | 32 8 120 67 27 * 39 42 * 32 95 1.3 0.7
=125-M 42 | 1 |16 | 32 8 125 42 57 * 36.4 42 * 32 97 1.3 0.7
=135-M 22 | 2 |16 32 8 135 22 28 | 59 34.3 42 53 32 107 1.7 0.5
=150-M 67 | 1 |16 | 32 8 150 67 57 * 39 50 * 32 120 1.7 0.7
=155-M 42 | 2 |16 | 32 8 155 42 28 | 59 36.4 42 53 32 127 1.9 0.7
-180-M 67 | 2 |16 | 32 8 180 67 28 | 59 39 42 53 32 152 2 1
-SLSB20- 95-M 42 1120( 29 | 4.5 95 42 27 * 33.4 42 * 40 70 1 0.5
=120-M 67 | 1 |20 | 29 | 4.5 120 67 27 * 36 42 * 40 95 1.1 0.9
=125-M 42 | 1 |20 | 29 | 4.5 125 42 57 * 334 42 * 40 97 1.2 0.8
-150-M 67 | 1 |20 | 29 | 4.5 150 67 57 * 36 42 * 40 122 1.4 1.2
=-M97 | 1 20|29 | 4.5 150 97 27 * 39.2 53 * 40 125 1.4 1.1
=155-M 42 | 1 |20 | 29 | 4.5 155 42 87 * 33.4 50 * 40 130 1.8 0.8
-180-M 67 | 2 |20 | 29 | 4.5 180 67 28 | 59 36 42 53 40 152 1.9 1.2
-M 97| 1 (20| 29 | 4.5 180 97 57 * 39.2 53 * 40 151 1.8 1.3
=-M127 | 1 |20| 29 | 4.5 180 127 | 27 * 42.3 53 * 40 155 1.6 1.5
B ER:
T B E working length
L 4<E Length (L)

JIFFE1Z Diameter
INEEXS Holder type
AL Taper size

> 71



wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

#
4
7]
Uiz]
#
5l

HIZTIN

R

oncoors B Z P EX

‘HSK63A-SL #45 714" (3°—{5HY) HSK63A-SL SHRINK FIT HOLDER(3° MONO)

MIBENKE

Working length

RELS

( Safety mark ) ( Thickness )

W EEER
TNRRE WANTIHN, H5n

' t
JI—I[/HQ N m%%%%ﬁ% . KT Z It SR E
n |JRBAEAKE.

B=S Model D C t L M L1 Cl () H h BE KGS S
HSK63A-SLSB20-210-M 97 20 29 4.5 210 97 87 39.2 53 40 181 2.2 1.6
-M127 20 29 4.5 210 127 57 42.3 53 40 181 2 1.8

-M157 20 29 4.5 210 157 27 45.5 53 40 185 19 1.9

-240-M127 20 29 4.5 240 127 87 42.3 53 40 211 2.3 2.1
-M157 20 29 4.5 240 157 57 45.5 53 40 211 2.4 2.2
-270-M157 20 29 4.5 270 157 87 45.5 53 40 241 2.7 2.6
-SLRB20- 95-M 42 20 38 9 95 42 27 42.4 53 40 70 1.3 0.3
-120-M 67 20 38 9 120 67 27 45 53 40 95 1.5 0.5
-125-M 42 20 38 9 125 42 57 42.4 53 40 96 1.7 0.4
-150-M 67 20 38 9 150 67 57 45 53 40 121 19 0.6
-155-M 42 20 38 9 155 42 87 42.4 53 40 126 2.1 0.6
-180-M 67 20 38 9 180 67 87 45 53 40 151 2.3 0.8
-SLFB20- 95-M 42 20 38 9 95 42 27 42.4 53 40 70 1.3 0.3
/ -120-M 67 20 38 9 120 67 27 45 53 40 95 1.5 0.5
m -125-M 42 20 38 9 125 42 57 42.4 53 40 96 1.7 0.4
-150-M 67 20 38 9 150 67 57 45 50 40 120 1.9 0.7
-155-M 42 20 38 9 155 42 87 42.4 50 40 125 2 0.6
-180-M 67 20 38 9 180 67 87 45 53 40 151 2.3 0.8
-SLRB25- 95-M 42 25 45 10 95 42 27 49.4 53 45 70 1.4 0.3
-125-M 42 25 45 10 125 42 57 49.4 53 45 96 1.8 0.4
-155-M 42 25 45 10 155 42 87 49.4 53 45 126 2.2 0.6
=SLFB25- 95-M 42 25 45 10 95 42 27 49.4 53 45 70 1.4 0.3
/ -125-M 42 25 45 10 125 42 57 49.4 53 45 96 1.8 0.4
Dﬂ -155-M 42 25 45 10 155 42 87 49.4 53 45 126 2.2 0.6
-SLRB32-110-M 42 32 54 11 110 42 42 58.4 63 50 84 1.8 0.3

MRS RR:

E I THERLE working length
L KE Length (L)
JI#FE 1] Diameter

* IhHEEX S Holdertype
$EIRTZ T Taper size



RETT RS

B TIR

48

CNCTOOLS

-HSK63A-SL#YETIH (CV HIZBY ) Hske3A-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 e
KNG s
: = i P
N7
(=)
" MTABAKE
Working length
L
FIG.2 e
HSK_NQ S
L, :
5
) 2
e
(=) 3
M AL i
L 1% 8
%= 2
%?Eﬁ ( Thickness ) b
( Safety marl . Eg,lﬁ
= —t TIREE EATIAN, H%50
JT,J EEE%E*?#J&E 4%ﬂﬁ?fﬁktt;?%iﬂ%%ﬁﬁ"ﬂﬁ§o
H Minimum insert length of the tool )
ﬂiﬁk?ﬁ)\k!‘*‘
h ( Maximum insert length of the tool )
J
S Model FIG D @ t L M C1 H EFE KGS S
HSK63A-SLSA4- 90CV 1 4 7 1.5 90 64 53 12 65 1 1.8
-120CV 1 4 7 1.5 120 94 53 12 95 1.1 2.7
-150CV 1 4 7 1.5 150 124 53 12 125 1.3 4
-180CV 1 4 7 1.5 180 154 53 12 154 1.4 6.6
=-210CV 1 4 7 1.5 210 184 53 12 185 1.4 11.6
-240CV 1 4 7 1.5 240 214 53 12 214 1.6 14
-270CV 1 4 7 1.5 270 244 53 12 245 2 11.9
-300CV 1 4 7 1.5 300 274 53 12 275 2.1 15.9
-SLRA4-120CV 2 4 10 3 120 94 53 12 95 1 1.9
-150CV 2 4 10 3 150 124 53 12 125 1.1 2.9
-180CV 2 4 10 3 180 154 53 12 155 1.4 3.3
-210CV 2 4 10 3 210 184 53 12 185 1.4 5.6
-SLSA6- 90CV 1 6 9 1.5 90 64 53 18 65 1 1.6
-120CV 1 6 9 1.5 120 94 53 18 95 1.1 2.3
-150CV 1 6 9 1.5 150 124 53 18 125 1.3 3.6
-180CV 1 6 9 1.5 180 154 53 18 154 1.4 5.7
-210CV 1 6 9 1.5 210 184 53 18 184 1.6 7.3
-240CV 1 6 9 1.5 240 214 53 18 214 1.6 12
-270CV 1 6 9 1.5 270 244 53 18 245 2.1 8.5
-300CV 1 6 9 1.5 300 274 53 18 275 2.3 11.7
-SLRA6- 90CV 2 6 13 3.5 90 64 53 18 65 1 0.8
-120CV 2 6 13 3.5 120 94 53 18 95 1.1 1.2
-150CV 2 6 13 3.5 150 124 53 18 125 1.3 1.9
-180CV 2 6 13 3.5 180 154 53 18 155 1.4 2.8
-210CV 2 6 13 3.5 210 184 53 18 185 1.4 4.8
AR RA:

1

K E Length (L)

TI#FE 12 Diameter

$Ei£§; U Curve

I IhEEfX S Holder type
$EFRAZ I Taper size




HIZTIN

i&gﬁs BT 5 FE 5

-HSK63A-SL #4571 (CV HIZEY )  Hske3A-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 o
HSK. NO il
- — — - Far ol s
Il
(e)
" MITERKE
Working length
L
FIG.2
N
HSK. NO =tz
S ],
$ e
I
=
=4
TR =
= ffﬁ MITAYKE
3 3 M VWorking length
s 7]
z % L
[}
e x -
o s =] (=
% 1l %ﬁvﬁﬁ {T%(!vis) -

b
T E—y

[44fT~”J BRI

H (Minimum insert length of the tool )

TNRRE WATIAN, #5k

T BSmA L el S EIRHIALE.

h DABAENKE

A5 Model FIG D C t L M C1 H h = KGS S
HSK63A-SLFA6- 90CV 2 6 13 3.5 90 64 53 18 65 1 0.8
-120CV 2 6 13 3.5 120 94 53 18 95 1.1 1.2

-150CV 2 6 13 3.5 150 124 53 18 125 1.3 1.9
-180CV 2 6 13 3.5 180 154 53 18 155 1.4 2.8
-210CV 2 6 13 3.5 210 184 53 18 185 1.4 4.8

-SLSA8- 90CV 1 8 11 1.5 90 64 53 24 65 1 1.4
-120CV 1 8 11 1.5 120 94 53 24 94 1.1 2

-150CV 1 8 11 1.5 150 124 53 24 124 1.3 2.7

-180CV 1 8 11 1.5 180 154 53 24 155 1.4 5
-210CV 1 8 11 1.5 210 184 53 24 184 1.6 6.6
-240CV 1 8 11 1.5 240 214 53 24 214 1.8 8.3
-270CV 1 8 11 1.5 270 244 53 24 244 2.2 6.9
-300CV 1 8 11 1.5 300 274 53 24 274 2.4 8.9

-SLRA8- 90CV 2 8 16 4 90 64 53 24 65 1 0.7
-120CV 2 8 16 4 120 94 53 24 95 1.2 1
-150CV 2 8 16 4 150 124 53 24 125 1.4 1.4
-180CV 2 8 16 4 180 154 53 24 155 1.5 2
-210CV 2 8 16 4 210 184 53 24 185 1.6 3.5
-SLFA8- 90CV 2 8 16 4 90 64 53 24 65 1 0.7
-120CV 2 8 16 4 120 94 53 24 95 1.2 1
-150CV 2 8 16 4 150 124 53 24 125 1.4 1.4
-180CV 2 8 16 4 180 154 53 24 155 1.5 2
-210CV 2 8 16 4 210 184 53 24 185 1.6 3.5
FAZ 5 BE:
$Eé£§! Curve
L 4<E Length (L)
JIHFE1E Diameter
IhgEfXS Holder type
SR Taper size




RETT RS

B TIR

48

CNCTOOLS

-HSK63A-SL#YETIH (CV HIZBY ) Hske3A-SL SHRINK FIT HOLDER(CV CURVE)

*
45
7
U
£
5

S31¥43S YIATOH 1001 LI INRIHS

FIG.1
HSK. NO ]
: T s
S
(e)
" oAk i
L
F62 o i
TRt
Q
(e)
M ”&%ﬁ%&ﬁh&
L
o N\
Zeige £
{ Safety mark) ( Thickness ) . Eﬁﬁlﬁ
O — o NRRE WATIEN, HHn
“Jjﬂjﬂﬂmﬁﬁﬁﬁﬁ%M) EVAE=E PN g TUR= s RN L VA
h R N
J
S Model FIG D C t L M C1 H h E= KGS S
HSK63A-SLSA10- 90CV 1 10 13 1.5 90 64 53 30 65 1 1.3
=120CV 1 10 13 1.5 120 94 53 30 94 1.3 1.3
=-150CV 1 10 13 1.5 150 124 53 30 125 1.4 2.2
-180CV 1 10 13 1.5 180 154 53 30 154 1.6 3.4
=210CV 1 10 13 1.5 210 184 53 30 184 1.6 6
=240CV 1 10 13 1.5 240 214 53 30 212 2.1 5.8
=-270CV 1 10 13 1.5 270 244 53 30 244 2.1 6.6
-300CV 1 10 13 1.5 300 274 53 30 274 2.3 8.6
=SLRA10- 90CV 2 10 19 4.5 90 64 53 30 65 1 0.6
=120CV 2 10 19 4.5 120 94 53 30 95 1.2 09
=150CV 2 10 19 4.5 150 124 53 30 125 1.3 1.4
=-180CV 2 10 19 4.5 180 154 53 30 155 1.5 2
=210CV 2 10 19 4.5 210 184 53 30 185 1.6 3.1
=SLFA10- 90CV 2 10 19 4.5 90 64 53 30 65 1 0.6
/ =120CV 2 10 19 4.5 120 94 53 30 95 1.2 0.9
E =-150CV 2 10 19 4.5 150 124 53 30 125 1.3 1.4
=-180CV 2 10 19 4.5 180 154 53 30 155 1.5 2
=210CV 2 10 19 4.5 210 184 53 30 185 1.6 3.1
=-SLSA12- 90CV 1 12 15 1.5 90 64 53 30 64 1.1 0.9
=120CV 1 12 15 1.5 120 94 53 30 94 1.3 1.2
=150CV 1 12 15 1.5 150 124 53 30 124 1.4 2.4
=-180CV 1 12 15 1.5 180 154 53 30 154 1.6 3.3
=210CV 1 12 15 1.5 210 184 53 30 184 1.8 4.6
=-240CV 1 12 15 1.5 240 214 53 30 214 2.1 5.5
-270CV 1 12 15 1.5 270 244 53 30 244 2.3 5.4

MRS RR:

I

JIFER
INRER S Holder type
$EARTZ K Taper size

ﬁéﬁ%ﬁ! Curve

L &E Length (L)
H1& Diameter




HIZTIN

R

CNCTOOLS

HETIHFE S

-HSK63A-SL #4571 (CV HIZEEY )  Hske3A-SL SHRINK FIT HOLDER(CV CURVE)

HSK. NO :Z%EE?\}/Z—%
- | — [ dols
Q
()
" Atk
L
fand Vg HEESER
17 p:
ﬁ S TNNRRE BATIAN, H5Y
é W {Mm‘ﬁfgﬁﬁﬁf{%m” 4%ﬁ£<%ﬂﬁ)\ttﬁélﬂ?%/ﬂ‘ﬂ@{i§o

s 7]
I
s &

%l S Model D C t L M C1 H h FE KGS S

z HSK63A-SLRA12- 90CV 12 22 5 90 64 53 30 64 1 0.6

-120CV 12 22 5 120 94 53 30 94 1.3 0.7

-150CV 12 22 5 150 124 53 30 124 1.5 11

-180CV 12 22 5 180 154 53 30 154 1.5 1.8

-210CV 12 22 5 210 184 53 30 184 1.6 2.8

-SLFA12- 90CV 12 22 5 90 64 53 30 64 1 0.6

A -120cv 12 22 5 120 94 53 30 94 1.3 0.7

== -150cCV 12 22 5 150 124 53 30 124 1.5 11

—— _180cv 12 22 5 180 154 53 30 154 1.5 1.8

-210CV 12 22 5 210 184 53 30 184 1.6 2.8

-SLSB16- 90CV 16 21 2.5 90 64 53 32 62 11 0.6

-120CV 16 21 2.5 120 94 53 32 92 1.5 0.8

-150CV 16 21 2.5 150 124 53 32 122 1.6 1.5

-180CV 16 21 2.5 180 154 53 32 152 1.9 1.9

-210CV 16 21 2.5 210 184 53 32 182 21 3

-240CV 16 21 2.5 240 214 53 32 212 2.4 3.7

-270CV 16 21 2.5 270 244 53 32 242 2.7 4.6

-SLSB20- 90CV 20 26 3 90 64 51 40 62 1.2 0.5

-120CV 20 26 3 120 94 53 40 92 1.5 0.8

-150CV 20 26 3 150 124 53 40 122 1.7 1.3

-180CV 20 26 3 180 154 53 40 152 2 1.8

-210CV 20 26 3 210 184 53 40 182 2.4 2.3

-240CV 20 26 3 240 214 53 40 212 2.7 3

-270CV 20 26 3 270 244 53 40 242 3.1 3.4

A% RE:

F Diameter

$Eé£§2 Curve

TIFER
INRECS Holder type
S$ARAZ T, Taper size

L € Length (L)
1:



B TIR

48

BETHES e

‘HSK100A-SL 3457148 (3°—{ABY) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1  Hsk.NO

LB

Working length

FIG.2

HSK. NO
777770
@) 7
£
Ak e o)
L2 L1 w | MEENKE ;=
s L% 3
L % g‘
Az
RLiLS 2= e
o ickness )
{ Safety mark ) B EEER A3
Hl g
i

e
% ——— NRERE AT, i

Lo, ] sk | FIHBALGEIS TR,

H (Minimum insert length of the tool )

h ﬂa%uf-mi Ziﬁ{u\mﬁ Etool )

S Model FIG D C t L M L1 L2 C1 2 € H EEKGS S
HSK100A-SLSA3-110-M 42 113|6]| 15 110 42 39 * 10.4 26 * 9 80 2.2 9.4
-135-M 67 | 1 |3 | 6| 15 135 67 39 * 13 26 * 9 105 2.3 15.1

-140-M 42 | 1 |3 | 6| 1.5 140 42 69 * 10.4 26 * 9 110 2.3 10.1

=165-M 67 | 1 |3 | 6 1.5 165 67 69 * 13 25 * 9 136 2.2 16

-M97 |1 (36| 15 165 97 39 * 16.2 26 * 9 135 2.3 21

=170-M 42 | 2 | 3| 6| 1.5 170 42 33 | 66 10.4 26 | 40 9 140 2.6 10
=195-M 67 | 2 |3 | 6| 15 195 67 33 | 66 13 26 | 40 9 165 2.6 15.9
-M97 |1 (3|6 15 195 97 69 * 16.2 25 * 9 166 2.3 22.5
-225-M 97 | 2 |3 | 6| 15 225 97 33 | 66 16.2 26 | 40 9 195 2.7 22.2
=SLRA3- 90-M 22 | 1 | 3 [7Z5] 2.25| 90 22 [ 39| * 9.8 26 * 9 60 2.2 2.9
=110-M 42 | 1 | 3 |75]| 2.25| 110 42 39 * 11.9 26 * 9 80 2.2 5.5

=120-M 22 | 1 | 3 |75| 2.25| 120 22 69 * 9.8 25 * 9 91 2.2 3.3

=135-M 67 | 1 | 3 |75| 2.25| 135 67 39 * 14.5 26 * 9 105 2.3 9

-140-M 42 | 1 | 3 |75| 2.25 | 140 42 69 * 11.9 26 * 9 110 2.3 6.1

=150-M 22 | 2 | 3 |75| 2.25 | 150 22 33 | 66 9.8 26 | 40 9 120 2.6 3.2

-165-M 67 | 1 | 3 |7.5| 2.25 | 165 67 69 * 14.5 25 * 9 136 2.6 10.1

-M97 | 1|3 |75]225]| 165 97 39 * 17.7 25 * 9 136 2.2 13.1

=170-M 42 | 2 | 3 |75| 2.25 | 170 42 33 | 66 11.9 26 | 40 9 140 2.6 6

-195-M 67 | 2 | 3 |75| 2.25| 195 67 33 | 66 14.5 26 | 40 9 165 2.6 9.9
-M97 | 1 |3|75]225]| 195 97 69 * 17.7 26 * 9 165 2.4 14.7
-M127 | 1 | 3|75 225 | 195 | 127 | 39 | * 20.8 | 36 * 9 165 2.4 15.8
=225-M 97 | 2 | 3 |75| 2.25 | 225 97 33 | 66 17.7 26 | 40 9 195 2.7 14.4
=M127 | 1 | 3 |75| 225 | 225 127 | 69 * 20.8 36 * 9 195 2.6 16.4
-255-M127 | 2 | 3 |7.5] 2.25 | 255 127 | 30 | 69 20.8 32 | 46 9 226 3 16.6

A& I5tAR:
? %JIE%HKFF Working length
T KE Length (
JI#FE 1% Diameter
IgEXS Holder type
AT Taper size




HIZTIN

c?%(%%s BT 5 FE 5

‘HSK100A-SL #48 7118 (3°—K &)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HSK100A-SL SHRINK FIT HOLDER(3° MONO)

Working length

FIG.2

Jo 5[

MIEHKE

Working length

zeine SR
( Safety mark ) . Eﬁ;m
B —

NERE WATIER, FHL

H (Minimumn insert length of the tool )

C Dol
@ sk IBBALE SIS ERIGE,

h |ARBREAKE.

S Model FIG D C t L M LT L2 C1 2 G H h ZEEKGS S
HSK100A-SLFB3- 90-M 22 | 1 | 3 |9.5|3.25| 90 22 | 39 * 11.8 | 26 * 9 60 2.2 1.9
/ -110-M 42 | 1 | 3 ([9.5|3.25| 110 42 | 39 * 139 | 26 * 9 80 2.3 3.3
% -120-M 22 | 1 | 3 ([9.5|3.25| 120 22 | 69 * 11.8 | 26 * 9 90 2.3 2.3
=135-M 67 | 1 | 3 [9.5|3.25| 135 67 | 39 * 16.5 | 26 * 9 105 2.3 5.5

-140-M 42 | 1 | 3 [9.5| 3.25| 140 42 | 69 * 139 | 25 * 9 111 2.2 4.1

=150-M 22 | 2 | 3 [9.5| 3.25| 150 22 | 33 | 66 11.8 | 26 | 40 9 120 2.6 2.3

-165-M 67 | 1 | 3 [9.5| 3.25| 165 67 | 69 * 16.5 | 25 * 9 136 2.3 6.7

-170-M 42 | 2 | 3 ([9.5|3.25| 170 42 | 33 | 66 139 | 26 | 40 9 140 2.6 3.9

=195-M 67 | 2 | 3 [9.5| 3.25 | 195 67 | 33 | 66 16.5 | 26 | 40 9 165 2.6 6.3
-SLSA4-110-M 42 | 1 | 4| 7 1.5 110 42 | 39 * 11.4 | 25 * 12 81 2.1 7.2
=135-M 67 | 1 |4 | 7 1.5 135 67 | 39 * 14 25 * 12 | 106 2.2 11.8

=140-M 42 | 1 |4 | 7 1.5 140 42 | 69 * 11.4 | 25 * 12 | 111 2.2 8

=165-M 67 | 1 | 4| 7 1.5 165 67 | 69 * 14 25 * 12 | 136 2.3 13.1
-M97 |1 4| 7 1.5 165 97 | 39 * 17.2 | 26 * 12 | 135 2.3 16.9

=170-M 42 | 2 |4 | 7 1.5 170 42 | 33 | 66 114 | 26 | 40 | 12 | 140 2.6 8
=195-M 67 | 2 |4 | 7 1.5 195 67 | 33 | 66 14 25| 39 | 12 | 166 2.6 12.9
-M97 |1 |4)| 7 1.5 195 97 | 69 * 17.2 | 25 * 12 | 166 2.3 18.7
=225-M 97 | 2 |4 | 7 1.5 225 97 | 33 | 66 172 | 25| 39 | 12 | 196 2.6 18.3

-SLRA4- 90-M 22 | 1 | 4| 10 3 90 22 | 39 * 123 | 25 * 12 61 2.1 1.8
=110-M 42 | 1 | 4| 10 3 110 42 | 39 * 14.4 | 25 * 12 81 2.2 3.2

=120-M 22 | 1 | 4 | 10 3 120 22 | 69 * 123 | 25 * 12 91 2.2 2.3

=135-M 67 | 1 | 4 | 10 3 135 67 | 39 * 17 25 * 12 | 106 2.2 5.3

=140-M 42 | 1 | 4 | 10 3 140 42 | 69 * 14.4 | 25 * 12 | 111 2.2 4

=150-M 22 | 2 | 4 | 10 3 150 22 | 33 | 66 123 | 26 | 40 | 12 | 120 2.6 2.2

=165-M 67 | 1 | 4 | 10 3 165 67 | 69 * 17 26 * 12 | 135 2.4 6.3

-M 9711|410 3 165 97 | 39 * 20.2 | 25 * 12 | 136 2.2 8

MRAR L RA:

E NI EIEE Working length
L < Length (L)
JI#FE 1% Diameter
IHEEXS Holder type
HEARAZ I Taper size




-HSK100A-SL R 45718 (3°—6EY)

RETT RS

B TIR

48

HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1  Hsk.NO

LB

Working length

FIG.2

CNCTOOLS

HSK. NO
777770
i e e JPds
@) 7
L2 L1 w | MIENKE
L
222 L
{ Safe ) ickness )
Safety mark B EEER

D_l

H (Minimum insert length of he tool )

e
% —_— TIEBE A J) i, %05

mmemke  PVRBALERITS EROAE.

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

h (jl\}a%nugsz Z;ﬁn)g\m{g Etool )

S Model FIG D C t L M L1 L2 C1 c2 G H h ZEEKGS S
HSK100A-SLRA4-170-M 42 2 4|10 3 170 | 42 33 | 66 14.4 25 | 39 12 | 141 2.6 3.8
-195-M 67 2 4|10 3 195 | 67 33 | 66 17 25 | 39 12 | 166 2.6 6.3

-M 97 1T 141(10] 3 195 | 97 69 * 20.2 26 * 12 | 165 2.4 9.5

-M127 1 4 |10 3 195 | 127 | 39 * 23.3 32 * 12 166 2.4 9.6

-225-M 97 2 |4 (10| 3 225 | 97 33 | 66 20.2 26 | 40 12 | 195 2.7 9.2
-M127 1 141(10] 3 2251 127 | 69 * 23.3 32 * 12 | 196 2.6 10.7
-255-M127 2 |4 (10| 3 255|127 | 30 | 69 23.3 32 | 46 12 | 226 3 10.4
-SLFB4- 90-M 22 1 4 (12 4 90 22 39 * 14.3 25 * 12 61 2.1 1.4
-110-M 42 114112 4 110 | 42 39 * 16.4 26 * 12 80 2.3 2.3

-120-M 22 114112 4 120 | 22 69 * 14.3 25 * 12 91 2.2 1.9

-135-M 67 114112 4 135 | 67 39 * 19 26 * 12 | 105 2.3 3.7

-140-M 42 114112 4 140 | 42 69 * 16.4 25 * 12 | 111 2.3 31

-150-M 22 2 |4 (12| 4 150 | 22 33 | 66 14.3 25 | 39 12 | 121 2.6 1.8

-165-M 67 114112 4 165 | 67 69 * 19 26 * 12 | 135 2.4 4.7

-170-M 42 2 |4 (12| 4 170 | 42 33 | 66 16.4 25 | 39 12 | 141 2.6 2.9

-195-M 67 2 |4 (12| 4 195 | 67 33 | 66 19 25 | 39 12 | 166 2.6 4.7
-SLSA6-110-M 42 1169 15 [110]| 42 39 * 13.4 25 * 18 81 2.1 4.9
-135-M 67 1169 15 |135]| 67 39 * 16 25 * 18 | 106 2.2 8.2

-140-M 42 1169 1.5 140 | 42 69 * 13.4 25 * 18 | 111 2.2 5.8

-165-M 67 1169 15 |165| 67 69 * 16 25 * 18 | 136 2.3 9.5

-M 97 1169 15 |165| 97 39 * 19.2 32 * 18 | 136 2.3 111

-170-M 42 216 |9] 1.5 |170| 42 33 | 66 13.4 25 | 39 18 | 141 2.6 5.6

-195-M 67 2 |6]9| 15 |195| 67 | 33 | 66 16 25 | 39 18 | 166 2.6 9.3
-M 97 1169 15 |195| 97 | 69 * 19.2 | 32 * 18 | 166 2.4 11.9

-225-M 97 2 | 6|9 1.5 |225| 97 30 | 69 19.2 32 | 46 18 | 196 2.9 11.7

AR IER:

JIFFE 1 Diameter
IHEEXS Holder type
FRAZ T Taper size

E NI B E Working length

L &E Length (L)




HIZTIN

c?%c%%s BT 5 FE 5

-HSK100A-SL 3457147 (3°—{48) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO
]_ = oo SIS
O R
L1 w | MEEREE
L
FIG.2
HSK. NO
2227 :
o R
= L2 L1 W | MEEEKE
X L
=1
5
% m %?iﬁ% (T%Esi
'5" % Safety marl o . EE%Iﬁ
" ﬁ —— TIRRSE HAJI, i50
& — B TJE A0 B IR
W ., %%ﬂ%ﬁf{f’%| , KT BAEN L2 ee S IR E -
{ Minimum insert length o e tool

TNERXBEAKE

h { Maximum insert length of the tool )

HES Model D t

HSK100A-SLSB6-110-M 42 | 1 6 | 10 2 110 42 39 * 144 | 25 * 18 81 2.1 3.8
-135-M 67| 1 6 | 10 2 135 67 39 * 17 25 * 18 106 2.2 6.3

=140-M 42| 1 6 10 2 140 42 69 * 14.4 25 * 18 111 2.2 4.7

-165-M 67| 1 6 | 10 2 165 67 69 * 17 25 * 18 136 2.3 7.7

-M 97| 1 6 | 10 2 165 97 | 39 | * 20.2 | 32 * 18 | 136 2.3 8.6

-170-M 42| 2 6 | 10 2 170 42 33 | 66 144 | 26 | 40 18 140 2.6 4.6

-195-M 67| 2 6 | 10 2 195 67 33 | 66 17 25 | 39 18 166 2.6 7.4

-M 97| 1 6 | 10 2 195 97 69 * 20.2 36 * 18 165 2.6 9.5
-M127| 1 6 | 10 2 195 127 | 39 * 23.3 32 * 18 166 2.4 11.3

-225-M 97| 2 | 6 | 10 2 225 97 | 30 | 69 | 20.2 | 32| 46 | 18 | 196 2.9 9.2
-M127| 1 6 | 10 2 225 127 | 69 * 23.3 32 * 18 196 2.5 12.4
-M157| 1 6 | 10 2 225 157 | 39 * 26.5 32 * 18 196 2.5 13.6

-255-M127| 2 6 | 10 2 255 127 | 30 | 69 23.3 32 | 46 18 | 226 3 121

-M157| 1 6 | 10 2 255 157 | 69 * 26.5 32 * 18 | 226 2.6 151
-285-M157| 2 6 | 10 2 285 157 | 30 | 69 26.5 32 | 46 18 | 256 3.1 14.6

-SLRB6- 90-M 22| 1 6 | 14 4 90 22 39 * 16.3 32 * 18 61 2.2 1
-110-M 42| 1 6 | 14 4 110 42 39 * 18.4 32 * 18 81 2.3 1.6

=120-M 22| 1 6 | 14 4 120 22 69 * 16.3 32 * 18 91 2.4 1.2

-135-M 67| 1 6 | 14 4 135 67 39 * 21 32 * 18 106 2.3 2.7

=140-M 42| 1 6 14 4 140 42 69 * 18.4 32 * 18 111 2.4 2

-150-M 22| 2 6 | 14 4 150 22 30 | 69 16.3 32 | 46 18 121 2.8 1.2

-165-M 67| 1 6 | 14 4 165 67 69 * 21 32 * 18 136 2.5 3.2

=170-M 42| 2 6 14 4 170 42 30 | 69 18.4 32 46 18 141 2.9 1.9

-195-M 67| 2 6 | 14 4 195 67 30 | 69 21 32 | 46 18 166 2.9 3.1

FAS 5 RE:
T ? %IEWKE working length
K Length (L)
JIFFE 1 Diameter
IhEE{X S Holder type
$EARAZ TN Taper size

__ 80 &



B TIR

48

BETHES e

-HSK100A-SL 48 JJ4# (3°—{KEY) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

22
L am
|
L1 M LA
L
FIG.2
g a2
g
L | |MEEEKE ;n%
23S Ey GE
NETL T e HWEEER £
[ e TRRE IR, 5L g
[W | BERAKE B4 TR L2 A S SR
‘h (Jl\}a%n:uasrg Zssﬁn);n{r& Emon
S Model FIG D C t L M L1 L2 C1 c2 e3 H h =ZEEKG S
HSK100A-SLFB6- 90-M 22 | 1 | 6 | 14| 4 90 | 22 | 39| * | 163 | 32| * | 18 | 61 2.2 1
/ -110-M 42 | 1 | 6| 14| 4 110 | 42 | 39| * | 184 [ 32| * | 18 | 81 2.3 1.6
E:ﬂ -120-M 22 | 1 |6| 14| 4 120 | 22 | 69| * | 163 | 32| * | 18 | 91 2.4 1.2
T -135-M67 | 1 |6]|14]| 4 135 | 67 | 39 | * 21 36 | * | 18 | 105 24 |26
-140-M 42 | 1 | 6| 14| 4 140 | 42 | 69 | * | 184 [32| * | 18 | 111 2.4 2
-150-M 22 | 2 |6 | 14| 4 150 | 22 | 30| 69| 163 |32 46 | 18 | 121 2.8 1.2
-165-M 67 | 1 | 6| 14| 4 165 | 67 | 69 | * 21 32| * | 18 | 136 25 |32
-170-M 42 | 2 | 6| 14| 4 170 | 42 | 30 | 69 | 18.4 | 32| 46 | 18 | 141 2.9 1.9
-195-M 67 | 2 | 6| 14| 4 195 | 67 | 30 | 69 21 32| 46 | 18 | 166 2.9 31
-SLSA8-110-M 42 [ 1 |8 | 11| 1.5 | 110 | 42 [ 39| * | 154 [ 36| * | 24 | 80 23 |32
-135-M 67 | 1 [ 8| 11| 1.5 | 135 | 67 | 39 | * 18 [ 32| * | 24 | 106 23 |55
-140-Mm 42 | 1 |8 | 11| 1.5 | 140 | 42 |69 | * | 154 [ 36| * | 24 | 110 25 |35
-165-M 67 | 1 [ 8| 11| 1.5 | 165 | 67 | 69 | * 18 | 36| * | 24 | 135 25 |58
-Mm97 |1 |8 |11 |15 | 165 | 97 [39 | * | 212 [ 32| * | 24 | 136 2.3 8.1
-170-Mm 42 | 2 |8 | 11| 1.5 | 170 | 42 | 28 | 71 | 15.4 |36 | 50 | 24 | 140 3.1 3.4
-195-M 67 | 2 [ 8| 11| 1.5 | 195 | 67 | 30 | 69 18 | 32| 46 | 24 | 166 29 |59
-Mm97 |1 |8 |11 |15 | 195 | 97 [69 | * | 21.2 [ 32| * | 24 | 166 25 |89
-225-M 97 | 2 | 8| 11| 1.5 | 225 | 97 | 28 | 71| 21.2 |36 | 50 | 24 | 195 3.2 |83
-SLSB8-110-M 42 | 1 |8 |13 | 25 | 110 | 42 | 39 | * 174 | 32| * | 24 | 81 2.2 21
-135-M 67 | 1 [ 8| 13| 25| 135 | 67 | 39 | * 20 |32 * | 24 | 106 23 |36
-140-Mm 42 | 1 | 8| 13| 25 | 140 | 42 | 69 | * 174 | 32| * | 24 | 1M 24 |26
-165-M 67 | 1 | 8| 13| 25 | 165 | 67 | 69 | * 20 |32 * | 24 | 136 24 |42
-Mm97 |1 |8|13| 25| 165 | 97 [ 39| * | 232 [32]| * | 24 | 136 24 |54

MR EER:

E NI EMKE working length
L £ Length (L)
JIFFE1Z Diameter
IHAEXS Holder type
HEARAZ T Taper size




HIZTIN

g%éi BT 5 FE 5

-HSK100A-SL R 45 J1#% (3°—6&!)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1  Hsk.NO

MIESKE

Working length
FIG.2

.

@ o) S
MIERKE
M Working length
2L ]

( Safety mark )

( Thickness )

M ;
o EEER

Dﬁ T7 NNBRARE HAJJHE, 50
[——fTTTimﬁﬁﬁﬁﬁ%w) F TR 2 4T SR LR -

h ﬂf;}fsmi deﬁn)g\m{g Etool )
S Model FIG D C t L M L1 L2 C1 2 3 H h ZE=KGS S
HSK100A-SLSB8-170-M 42 | 2 | 8 [ 13| 2.5 | 170 | 42 | 28 | 71 | 174 | 36 | 50 | 24 | 140 3.1 2.4
-195-M 67| 2 | 8 | 13| 25 | 195 | 67 | 30 | 69 20 32 | 46 | 24 | 166 2.9 4
-M 97| 1| 8 | 13| 25| 195 | 97 | 69 | * | 23.2 | 32| * 24 | 166 2.5 6.3
-M127| 1 | 8 | 13| 25 | 195 | 127 |39 | * | 26.3 | 32| * 24 | 166 2.4 7.3
-225-M 97| 2 | 8 |13 | 25 | 225 | 97 | 30| 69 | 23.2 | 32| 46 | 24 | 196 3 6
-M127| 1 | 8 | 13| 25 | 225 | 127 | 69 | * | 26.3 | 32| * 24 | 196 2.6 8.5
-M157| 1 | 8 | 13| 25 | 225 | 157 | 39 | * | 295 | 42 | * 24 | 196 2.7 8.1
-255-M127| 2 | 8 | 13| 2.5 | 255 | 127 | 30 | 69 | 26.3 | 32 | 46 | 24 | 226 3.1 8.2
-M157| 1 | 8 | 13| 25 | 255 | 157 | 69 | * | 295 | 42 | * 24 | 226 2.9 8.7
-285-M157| 2 | 8 | 13| 2.5 | 285 | 157 | 28 | 71 | 29.5 | 42 | 56 | 24 | 256 3.6 8.6
-SLRB8- 90-M 22| 1 | 8 | 18| 5 90 22 [ 39| * | 203 | 32| * 24 | 61 2.2 0.7
-110-Mm 42 1 | 8 | 18| 5 110 | 42 [ 39| * | 224 | 32| * 24 | 81 2.3 11
-120-M 22 1 | 8 | 18| 5 120 | 22 | 69| * | 203 | 32| * 24 | 91 2.4 1
-135-M 67| 1 | 8 | 18| 5 135 | 67 | 39 | * 25 32| * 24 | 106 2.4 1.8
-140-M 42| 1 | 8 | 18| 5 140 | 42 | 69 | * | 224 | 32| * 24 | 111 2.4 1.6
-150-M 22 2 | 8 |18 | 5 150 | 22 |30 | 69 | 203 | 32| 46 | 24 | 121 2.9 1
-165-M 67| 1 | 8 | 18| 5 165 | 67 | 69 | * 25 32| * 24 | 136 2.5 2.4
-170-M 42| 2 | 8 | 18| 5 170 | 42 | 28 | 71 | 22.4 | 36 | 50 | 24 | 140 3.1 1.3
-195-M 67| 2 | 8 | 18| 5 195 | 67 | 30 | 69 25 32 | 46 | 24 | 166 3 2.2
-SLFB8- 90-M 22| 1 | 8 | 18| 5 90 22 [ 39| * | 203 |36 | * 24 | 60 2.3 0.7
A -1o-ma42|1[8 18] 5 110 | 42 [ 39| * | 224 | 32| * 24 | 81 2.3 11
E -120-M 22| 1 | 8 | 18| 5 120 | 22 | 69| * | 203 | 32| * 24 | 91 2.4 1
-135-M 67| 1 | 8 | 18| 5 135 | 67 | 39 | * 25 36 | * 24 | 105 2.4 1.7
-140-M 42 1 | 8 | 18| 5 140 | 42 | 69 | * | 224 | 36| * 24 | 110 2.6 1.3
-150-M 22 2 | 8 | 18| 5 150 | 22 |30 | 69 | 203 | 32| 46 | 24 | 121 2.9 1
-165-M 67| 1 | 8 | 18| 5 165 | 67 | 69 | * 25 32| * 24 | 136 2.5 2.4
-170-M 42| 2 | 8 | 18| 5 170 | 42 | 30 | 69 | 22.4 | 32| 46 | 24 | 141 2.9 1.5
-195-M 67| 2 | 8 | 18| 5 195 | 67 | 30 | 69 25 32 | 46 | 24 | 166 3 2.2

AR5 BR:

E I T B E working length
L 4€Z Length (L)
JIFFE1Z Diameter
IEE1LS Holder type

AT, Taper size




B TIR

48

BETHES e

-HSK100A-SL 48 JJ4# (3°—{KEY) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

7
o e
R3A
L1 M MIHSKE
L
FIG.2
g a2
<
L | |MEEEKE # %
R4S Eiy e
sty ) T HEEEH 73
[ e TRRE IR, 5L g
[W | BERAKE F4 TR 22 A0 S R B
‘h (Jl\}a%n:uasrg Zssﬁn);n{r& Emon
S Model
HSKT100A-SLSA10-110-M 42 1 10 | 13 1.5 110 42 39 * 17.4 25 * 30 81 2.2 2.7
=135-M 67 | 1 10 | 13 1.5 135 67 39 * 20 32 * 30 | 106 2.3 41
=140-M 42 | 1 10 | 13 1.5 140 42 69 * 17.4 25 * 30 [ 111 2.2 3.8
=165-M 67 | 1 10 | 13 1.5 165 67 69 * 20 36 * 30 | 135 2.5 4.4
=M 97 | 1 10 | 13 1.5 165 97 39 * 23.2 32 * 30 | 136 2.3 6.2
=170-M 42 | 2 | 10 | 13 1.5 170 42 28 | 71 17.4 36 | 50 30 | 140 3.1 2.5
=195-M 67 | 2 | 10 | 13 1.5 195 67 30 | 69 20 32 | 46| 30 | 166 2.9 4.6
=M 97 | 1 10 | 13 1.5 195 97 69 * 23.2 32 * 30 | 166 2.5 71
=225-M 97 | 2 | 10 | 13 1.5 225 97 30 | 69 23.2 32 | 46 30 | 196 3 6.9
=SLSB10-110-M 42 | 1 10 | 16 3 110 42 39 * 20.4 32 * 30 81 2.3 1.2
=135-M 67 | 1 10 | 16 3 135 67 39 * 23 32 * 30 | 106 2.3 2.5
=140-M 42 | 1 10 | 16 3 140 42 69 * 20.4 32 * 30 | 111 2.4 2
=165-M 67 | 1 10 | 16 3 165 67 69 * 23 32 * 30 | 136 2.5 3.2
=M 97 | 1 10 | 16 3 165 97 39 * 26.2 32 * 30 | 136 2.4 3.8
=170-M 42| 2 | 10 | 16 3 170 42 30 | 69 20.4 32 | 46 30 | 141 2.9 1.9
=195-M 67| 2 | 10 | 16 3 195 67 30 | 69 23 32 | 46 30 | 166 2.9 3
=M 97 | 1 10 | 16 3 195 97 69 * 26.2 32 * 30 | 166 2.6 4.8
=-M127 | 1 10 | 16 3 195 127 | 39 * 29.3 42 * 30 | 166 2.6 4.6
=225-M 97 | 2 | 10 | 16 3 225 97 30 | 69 26.2 32 | 46 30 | 196 3 4.5
-M127 | 1 10 | 16 3 225 127 | 69 * 29.3 42 * 30 | 196 2.9 5
=-M157 | 1 10 | 16 3 225 157 | 39 * 32.5 42 * 30 | 196 2.8 5.7
=255-M127 | 1 10 | 16 3 255 127 | 99 * 29.3 50 * 30 | 225 3.5 5
=-M157 | 1 10 | 16 3 255 157 | 69 * 32.5 42 * 30 | 226 3 6.2
-285-M157 | 2 | 10 | 16 3 285 157 | 28 | 71 32.5 42 | 56 30 | 256 3.7 6.1
A% ER:

? Y NI BRI E Working length
L £ Length (L)
JIFFE 1% Diameter
IhREfX S Holder type
$FRAZ T Taper size




HIZTIN

c?%(%%s BT 5 FE 5

‘HSK100A-SL 3457147 (3°—{48Y) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1  Hsk.NO

M LB

Working length

FIG.2
.
5 w | MEEHEE
IR
S
4 228 ER
& E— B RSN
5 5 ( ¢ T TIRRE AT, 50
& [W | RERAKE 1471 BHE N % Ae BRI B
h ﬂf;}fsmi Z;ﬁn)g\m{g Etool )
2= Model t h ZEE&KGS S
HSK100A-SLRB10- 90-M 22 1]10(122| 6 90 22 | 39 * 243 | 32| * 30 | 61 2.3 0.6
-110-M 42 1]110(122| 6 110 42 | 39 * 264 | 32 | * 30 | 81 2.3 0.9
-120-M 22 1[10(22] 6 120 22 | 69 * 243 | 32| * 30 | 91 2.4 0.9
-135-M 67 1[10(22] 6 135 67 | 39 * 29 42 | 30 | 106 2.5 1.1
-140-M 42 1]10(122| 6 140 42 | 69 * 264 | 32 | * 30 |11 2.5 1.4
-150-M 22 2 110]22| 6 150 22 | 28 | 71 243 | 36 | 50 | 30 | 120 3.1 0.7
-165-M 67 1]10(122| 6 165 67 | 69 * 29 42 | * 30 | 136 2.8 1.3
-170-M 42 2 |10]22] 6 170 42 | 28 | 71 26.4 | 36 | 50 | 30 | 140 3.2 1
-195-M 67 2 110]22| 6 195 67 | 28 | 71 29 42 | 50 | 30 | 166 3.5 1.3
-SLFB10- 90-M 22 1]10122| 6 90 22 | 39 * 243 | 32| * 30 | 61 2.3 0.6
-110-M 42 1]10(22| 6 110 42 | 39 * 264 | 32 | * 30 | 81 2.3 0.9
-120-M 22 1(10(22] 6 120 22 | 69 * 243 | 32| * 30 | 91 2.4 0.9
-135-M 67 1]10(122| 6 135 67 | 39 * 29 36 | * 30 | 105 2.5 1.2
-140-M 42 1]10(122| 6 140 42 | 69 * 264 | 36 | * 30 | 110 2.6 1.1
-150-M 22 2 110]22| 6 150 22 | 30 | 69 | 243 | 32 | 46 | 30 | 121 2.9 0.9
-165-M 67 1]110]22] 6 165 67 | 69 * 29 36 | * 30 | 135 2.7 1.6
=170-M 42 2 110]22| 6 170 42 | 30 | 69 | 264 | 32 |46 | 30 | 141 2.9 1.3
-195-M 67 2 110]22| 6 195 67 | 28 | 71 29 42 | 56 | 30 | 166 3.5 1.3
-SLSA12-110-M 42 1 ]12|15] 1.5 110 42 | 39 * 194 | 32| * 30 | 79 2.2 1.9
-135-M 67 1 ]112|15] 1.5 135 67 39 * 22 32| * 30 | 104 2.3 3.4
-140-M 42 1 ]112)15] 1.5 140 42 69 * 19.4 32 | * 30 | 109 2.4 2.4
-165-M 67 1T ]12|15] 1.5 165 67 | 69 * 22 32| * 30 | 134 2.4 4.1
-M 97 1 ]12|15] 1.5 165 97 | 39 * 252 | 32| * 30 | 134 2.3 5.1
-170-M 42 2 112|115 1.5 170 42 28 | 71 19.4 36 | 50 | 30 | 135 3.1 2.1
-195-M 67 | 2 |12 |15] 1.5 | 195 67 | 30 | 69 22 32 | 46 | 30 | 164 2.9 3.9
-M 97 1T ]12|15] 1.5 195 97 | 69 * 252 | 36 | * 30 | 160 2.7 5.5
-225-M 97 2 12115 1.5 225 97 | 30 | 69 | 25.2 | 32 | 46 | 30 | 194 3 5.8
MR EEA:

% NI B E Working length
L &FE Length (L)
JIFFE 1% Diameter
IHEELS Holder type
$EIRTZ T Taper size



B TIR

48

BETHES e

-HSK100A-SL #48J1#8 (3°—{sE!) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

MITEYKE

Working length

FIG.2 HSKNO
” [P

£

L) ow | MIEEKE #L%

L éﬁ é

Z4IES =N ;%é

S e MEERER %3

= TIREE HATIL, W% g
[W | BIERIKE ¥ T BAE N b2z 4 S IR

‘h er}a%?ny{ Zsjr:lﬁlen)g\ﬂ:tsf {r\%mon
IS Model
HSKT100A-SLSB12-110-M 42 | 1 12 1 19 | 3.5 110 42 39 * 23.4 32 * 30 79 2.3 1.2
=135-M 67 | 1 | 12 | 19 | 3.5 135 67 39 * 26 32 * 30 | 104 2.3 2
=140-M 42 | 1 12 | 19 | 3.5 140 42 69 * 23.4 32 * 30 | 109 2.4 1.7
=165-M 67 | 1 12 1 19 | 3.5 165 67 69 * 26 32 * 30 | 134 2.5 2.7
-M 97| 1 12 1 19 | 3.5 165 97 39 * 29.2 42 * 30 | 133 2.6 2.5
=170-M 42| 2 | 12 | 19 | 3.5 170 42 28 | 71 23.4 36 | 50 | 30 | 135 3.1 1.4
=195-M 67 | 2 | 12 | 19 | 3.5 195 67 30 | 69 26 32 | 46| 30 | 164 3 2.5
=M 97| 1 12 | 19 | 3.5 195 97 69 * 29.2 50 * 30 | 160 3.1 2.6
=M127 | 1 | 12|19 | 3.5 195 127 | 39 * 32.3 42 * 30 | 163 2.7 3.3
=225-M 97 | 1 12 | 19 | 3.5 225 97 99 * 29.2 50 * 30 | 190 3.4 2.8
-M127 | 1 12 | 19 | 3.5 225 127 | 69 * 32.3 42 * 30 | 192 3 3.8
-M157 | 1 12 | 19 | 3.5 225 157 | 39 * 35.5 42 * 30 | 193 2.9 4.2
=255-M127 | 2 | 12 | 19 | 3.5 255 127 | 28 | 71 32.3 42 | 56 | 30 | 222 3.6 3.7
=-M157 | 1 12 1 19 | 3.5 255 157 | 69 * 35.5 42 * 30 | 222 3.1 4.8
=285-M157 | 2 | 12 | 19 | 3.5 285 157 | 28 | 71 35.5 42 | 56 | 30 | 252 3.8 4.7
=SLRB12- 90-M 22 | 1 12 | 26 7 90 22 39 * 28.3 42 * 30 58 2.4 0.4
=110-M 42 | 1 12 | 26 7 110 42 39 * 30.4 42 * 30 78 2.5 0.6
-120-M 22| 1 12 | 26 7 120 22 69 * 28.3 42 * 30 87 2.6 0.5
=135-M 67 | 1 12 | 26 7 135 67 39 * 33 42 * 30 | 103 2.6 0.9
=140-M 42| 1 12 | 26 7 140 42 69 * 30.4 42 * 30 | 107 2.7 0.8
=150-M 22| 1 12 | 26 7 150 22 99 * 28.3 50 * 30 | 117 3.3 0.5
=165-M 67 | 1 12 | 26 7 165 67 69 * 33 42 * 30 | 132 2.9 1.1
=170-M 42 | 1 12 | 26 7 170 42 99 * 30.4 50 * 30 | 135 3.3 0.8
=195-M 67 | 2 | 12 | 26 7 195 67 28 | 71 33 42 | 56 | 30 | 162 3.5 1.1
AL AR:

i I B E Working length

L & E Length (L)
FFE R Diameter
IhAE{X S Holder type
HFRFZ T Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-HSK100A-SL #45J1#8 (3°—{xE!) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

D
W rasm ey
A
L1 w | AEEEKE
L
FIG.2
7
& = o5
£ L) ow | MIEEKE
=
25 —
z & Zeics )
rEn /% afety mart . Eg‘m
o
4 2l ( Eﬁ Ti JNRRE WAJIRRN, HHL
o _ Y& 7] B AR BRI E
[4—2 E%;E;Eﬁ‘tﬂg KT ESBA L ZEIE S BRI E
H (Minimum insert length of the tool )
TEREXBAKE
h ( Maximum insert length of the tool )

EIE Model t
HSK100A-SLFB12- 90-M 22 | 1 | 12 | 26 7 90 22 39 * 28.3 42 * 30 58 2.4 0.4
/ -110-M 42 | 1 | 12 | 26 7 110 42 39 * 30.4 42 * 30 78 2.5 0.6
r‘:fﬁ -120-M 22 | 1 | 12 | 26 7 120 22 69 * 38.3 42 * 30 87 2.6 0.5
— -135-m67 |1 |12|26| 7 | 135 | 67 [39] * [ 33 [42]| * ] 30 [103] 26 |09
=140-M 42 | 1 | 12 | 26 7 140 42 69 * 30.4 50 * 30 | 105 3 0.6
-150-M 22 | 2 | 12 | 26 7 150 22 28 | 71 28.3 42 | 56 | 30 | 117 3.3 0.5
-165-M 67 | 1 | 12 | 26 7 165 67 69 * 33 42 * 30 | 132 2.9 1.1
=170-M 42 | 1 | 12 | 26 7 170 42 99 * 30.4 50 * 30 | 135 3.3 0.8
-195-M 67 | 2 | 12 | 26 7 195 67 28 | 71 33 42 | 56 | 30 | 162 3.5 1.1
-SLSB16-110-M 42 | 1 | 16 | 24 4 110 42 39 * 28.4 42 * 32 78 2.4 0.7
=135-M 67 | 1 | 16 | 24 4 135 67 39 * 31 42 * 32 | 103 2.5 1.2
=140-M 42 | 1 | 16 | 24 4 140 42 69 * 28.4 42 * 32 | 107 2.7 0.9
-165-M 67 | 1 | 16 | 24 4 165 67 69 * 31 42 * 32 | 132 2.8 1.4
-M 97 | 1 |16 | 24 4 165 97 39 * 34.2 42 * 32 | 133 2.7 1.7
=170-M 42 | 1 | 16 | 24 4 170 42 99 * 28.4 50 * 32 | 135 3.2 0.9
-195-M 67 | 1 | 16 | 24 4 195 67 99 * 31 50 * 32 | 160 3.3 1.4
-M 97 | 1 |16 | 24 4 195 97 69 * 34.2 42 * 32 | 162 2.9 2.1
=M127 | 1 16 | 24 4 195 127 | 39 * 37.3 50 * 32 | 160 3 2.2
-225-M 97 | 1 | 16 | 24 4 225 97 99 * 34.2 50 * 32 [ 190 3.5 2.1
-M127 | 1 | 16 | 24 4 225 127 | 69 * 37.3 53 * 32 | 190 3.4 2.3
=-M157 | 1 16 | 24 4 225 157 | 39 * 40.5 53 * 32 | 193 3.3 2.6
=255-M127 | 2 | 16 | 24 4 255 127 | 28 | 71 37.3 53 | 67 | 32 | 220 4.3 2.3
-M157 | 1 | 16 | 24 4 255 157 | 69 * 40.5 53 * 32 | 220 3.7 2.9
-285-M157 | 2 | 16 | 24 4 285 157 | 28 | 71 40.5 53 | 67 | 32 | 250 4.6 2.9
A& 5 B
T @UIEWKE working length
L & Length (L)
FFE 1R Diameter
IHREXS Holder type
$EARAZ I, Taper size

__ 86 &



B TIR

48

BETHES e

-HSK100A-SL #48J1#8 (3°—{sE!) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

MITEYKE

Working length

G2
- [P
¢
L) ow | MIEEKE #L%
L gﬁé
Z4IES =N ;%é
stetymare) T W EEER %z
%% ——— TRBE FOUI, W% g
[W | BIERIKE ¥ T BAE N b2z 4 S IR
‘h er}a%?ny{ Zsjr:lﬁlen)g\ﬂ:tsf {r\%mon
S Model t
HSK100A-SLRB16- 90-M 22 | 1 |16 [32] 8 | 90 | 22 | 39| * | 343 [ 42| * [ 32 [ 58] 24 |o04
110-Mm42 |1 [16]32| 8 | 110 ] 42 [39] * | 364 |4a2] | 32|78| 25 |o5
120-Mm22 |1 ]16]32| 8 | 120 22 |69 | * | 343 |42 | * | 32|87 27 |os5
-135-M 67 | 1|16 |32| 8 | 135 | 67 | 39| * | 39 |42| * |32 [103] 27 |o7
-140-Mm42 | 1]16]32| 8 | 140 | 42 [ 69| * | 364 | 42| * | 32 [107] 28 |07
-150-M 22 | 2 [ 1632 8 | 150 | 22 [ 28] 71| 343 | 42|56 32 [117] 34 o5
-165-M 67 | 1 | 16| 32| 8 | 165 | 67 |69 | * | 39 |42 * |32 [132] 3 1
170-Mm 42 | 2 |16 32| 8 | 170 | 42 [ 28| 71| 36.4 |42 |56 | 32 [137] 35 | o7
-195-M 67 | 2 | 16]32| 8 | 195 | 67 |28 71| 39 |42|5s6| 32 [162] 36 |09
-SLFB16- 90-M 22 | 1 |16 [ 32| 8 | 90 | 22 [ 39| * [ 343 [42] * [ 32 s8] 24 [o04
XA nomaz|1]16[32] 8 11042 [39] |34 [42]*[32]78] 25 |os
=] -120m22 |1 [16]32| 8 | 120 | 22 [69| * | 343 [42]| * |32 87| 27 |05
——— -135-M67|1|16|32| 8 | 135 | 67 | 39| * 39 |42 * [ 32]103] 27 |o7
-140-Mm42 |1 ]16]32| 8 | 140 | 42 [ 69| * | 364 | 42| * | 32 [107] 28 |07
-150-M 22 | 2 [16]32| 8 | 150 | 22 [ 28| 71| 343 | 42|56 32 [117] 34 |05
-165-M 67 | 1| 16|32 8 | 165 | 67 | 69| * | 39 |a2| * | 32 [132] 3 1
-170-Mm42 | 2 |16 |32| 8 | 170 | 42 [ 28| 71| 36.4 | 42|56 32 [137] 35 |07
-195-M 67 | 2 |16|32| 8 | 195 | 67 | 28| 71| 39 |42|5s6| 32 [162] 36 |09
-SLSB20-110-M 42 | 1 [ 20 |29 [45] 110 | 42 [39] * | 334 [ 42| * [ 40 [ 78] 25 [o6
-135-M 67 | 1| 20|29 |45| 135 | 67 [ 39| * | 36 |42| * | 40 [103] 26 |09
-140-Mm42 | 1] 20] 29|45 140 | 42 [ 69| * | 334 [ 42| * | 40 [107] 27 |os
-165-M 67 | 1 | 20|29 45| 165 | 67 |69 | * | 36 |42] * | a0 [132] 28 |12
-Mm97 [ 1202045 165 | 97 | 39| * | 302 [ 53] * [ 40 [133] 29 [ 11
170-Mm 42 | 2 |20 29 |45| 170 | 42 [ 28| 71| 334 | 42|56 | 40 [137] 34 |os8
S EE:
? %IE?&{QE working length
T L 4 Length (L)
TI#FE 12 Diameter
IEE1LS Holder type

AL Taper size




HIZTIN

c?%(%%s BT 5 FE 5

‘HSK100A-SL 3457147 (3°—{48Y) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1  Hsk.NO

M LB

Working length

FIG.2
7z
I =S P

"%
2 ;fj% RARS 2E
rgn % ( Safety mark ) ' . Egsm
% 2l ( E’ﬁ ——r—+ JNRRE HNJIAN, 5%
3 [f EEE;_‘EL%%-&E }I%EE}E?)\%?%E%EFRE’J@EO

H (Minimum insert length of he tool )

TERKBNKE

h ( Maximum insert length of the tool )

£S5 Model h ZE=KGS S
HSK100A-SLSB20-195-M 67 | 2 | 20 | 29 | 4.5 195 67 28 | 71 36 42 | 56 | 40 | 162 3.5 1.2

-M 97| 1 |20 29| 45 195 97 | 69 * 39.2 | 53 | * 40 | 162 3.3 1.3
-M127 | 1| 20| 29 | 45 195 | 127 | 39 * 423 | 53| * 40 | 163 3.2 1.5
=225-M 97| 2 | 20 | 29 | 4.5 | 225 97 | 28 | 71 39.2 | 53 | 67| 40 | 190 4.3 1.3
-M127 | 1| 20| 29| 45 | 225 | 127 | 69 * 423 | 50| * 40 | 190 3.5 19
-M157 | 1 | 20| 29 | 45 | 225 | 157 | 39 * 455 | 53 | * 40 | 193 3.5 1.9
=255-M127 | 2 | 20 | 29 | 45 | 255 | 127 | 28 | 71 42.3 | 53 | 67 | 40 | 220 4.5 1.8
-M157 | 1 | 20| 29 | 45 | 255 | 157 | 69 * 455 | 53 | * 40 | 220 3.9 2.2
-285-M157 | 2 | 20 | 29 | 45 | 285 | 157 | 28 | 71 455 | 53 | 67 | 40 | 250 4.8 2.2

-SLRB20-110-M 42 | 1 | 20 | 38 110 42 | 39 * 424 | 53| * 40 | 78 2.8 0.3
-135-M 67 | 1 | 20 | 38 135 67 | 39 * 45 53 | * 40 | 103 3.1 0.5
-140-M 42| 1 | 20 | 38 140 42 | 69 * 424 | 53| * 40 | 105 3.2 0.4
-165-M 67 | 1 | 20 | 38 165 67 | 69 * 45 53 | * 40 | 130 3.5 0.6
=170-M 42| 2 | 20 | 38 170 42 | 28 * 424 | 53| * 40 | 135 4.1 0.4
-195-M 67 | 2 | 20 | 38 67 | 28 | 71 45 53 | 67 | 40 |160 4.4 0.6
-SLFB20-110-M 42| 1 | 20 | 38 110 42 | 39 * 424 | 53| * 40 | 78 2.8 0.3

135 67 | 39 * 45 53 | * 40 | 103 3. 0.5
140 42 | 69 * 424 | 53 | * 40 | 105 3.2 0.4
165 67 | 69 * 45 53 | * 40 | 130 3.5 0.6
170 42 | 28 * 424 | 53| * 40 | 135 4.1 0.4
195 67 | 28 | 71 45 53 | 67 | 40 |160 4.4 0.6

A smer| 1|20 38
35| -140-m 42| 1| 2038

-165-M 67 | 1 | 20 | 38
-170-M 42| 2 | 20 | 38
-195-M 67 | 2 | 20 | 38

O O | V|V |V V|V |WV |V | V|V |vV
—_
o)
(9]

MR EEA:

i TN B E Working length
L & FE Length (L)
JIFFE 1% Diameter
IHEEXS Holder type
$EIRTZ X Taper size



B TIR

48

BETHES e

-HSK100A-SL #48J1#8 (3°—{sE!) HSK100A-SL SHRINK FIT HOLDER(3° MONO)

FIG.1 HSK. NO

MITEYKE

Working length

FIG.2
é o - alo| S
L1 wo | MIENKE 2
| jorking length ;\& ;
=
N Jc
zeing e e
( Safety mark ) ( Thickness ) - =
roste mark ) Ml EESHR A3
5 N N 1| &
( E‘% Ti JIERE WHAJIHN, EHE© ﬂg
[f SR K Y6 7) B\ b e i B EIRAO (L
H (Minimum insert length of e 100l )
TIERKIBAKE
h ( Maximum insert length of the tool )

IS Model

HSK100A-SLRB25-110-M 42 | 1 | 25 | 45| 10 110 42 | 39 * 494 | 53| * 45 | 78 2.9 0.3

-140-M 42| 1 | 25| 45| 10 140 42 | 69 * 494 | 53| * 45 | 105 3.3 0.4

-170-M 42| 2 | 25 | 45| 10 170 42 | 28 | 71 49.4 | 53 | 67 | 45 | 135 4.2 0.4

-SLFB25-110-M 42| 1 | 25 | 45| 10 110 42 | 39 * 49.4 | 53| * 45 | 78 2.9 0.3

é -140-M 42| 1 | 25| 45| 10 140 42 | 69 * 494 | 50 | * 45 | 105 3.3 0.5

=170-M 42| 2 | 25 | 45| 10 170 42 | 28 | 71 49.4 | 53 | 67 | 45 | 135 4.2 0.4

-SLRB32-110-M 42 | 1 | 32 | 54 | 11 110 42 | 39 * 584 | 63 | * 50 | 77 3.2 0.2

=140-M 42| 1 | 32 | 54 | 11 140 42 | 69 * 584 | 63 | * 50 | 107 3.7 0.3

=170-M 42| 2 | 32 | 54 | 11 170 42 | 28 | 71 584 | 63 | 77 | 50 [132 4.9 0.3
MR GRA:

E NI ERKE working length
L & Length (L)
JI#F E 12 Diameter
Iné

BEfXS Holder type
SERFZ T Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-HSKT100A-SL #4518 (CV HIZEEY )  HsK100A-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1
HSK. NO . il
- TS
57
(e)
M LRk
L
162 e s
L e
g e
= S
S M IR KE
S 7] o
z 1 -
g R — A
2 5l 22128 Ly .
g o M EEER
O — TNRREK HAJIAN, H5D
T, ek UK.
{Minimum insert length of the tool )
TIEZXEAKE
h ( Maximum insert length of the tool )
J
A5 Model FIG D (@ t L M c1 H h = KGS S
HSKT100A-SLSA4-165CV 1 4 7 1.5 165 136 85 12 133 3.4 2.5
=195CV 1 4 7 1.5 195 166 85 12 163 3.7 3.3
=225CV 1 4 7 1.5 225 196 85 12 196 4.3 3.8
=255CV 1 4 7 1.5 255 226 85 12 226 4.4 5.6
=-285CV 1 4 7 1.5 285 256 85 12 256 4.6 7.6
-315CV 1 4 7 1.5 315 286 85 12 286 49 9.8
-345CV 1 4 7 1.5 345 316 85 12 316 5.2 12.4
-SLSA6-165CV 1 6 9 1.5 165 136 85 18 136 3.3 21
=195CV 1 6 9 1.5 195 166 85 18 166 4 2.3
=225CV 1 6 9 1.5 225 196 85 18 196 4] 3.6
=255CV 1 6 9 1.5 255 226 85 18 226 4.8 3.9
=-285CV 1 6 9 1.5 285 256 85 18 256 5 5.2
=315CV 1 6 9 1.5 315 286 85 18 286 5.3 6.8
=345CV 1 6 9 1.5 345 316 85 18 316 5.6 8.7
-SLSA8-165CV 1 8 11 1.5 165 136 85 24 136 3.7 1.4
=195CV 1 8 11 1.5 195 166 85 24 166 3.7 2.3
=225CV 1 8 11 1.5 225 196 85 24 196 4.6 2.3
=255CV 1 8 11 1.5 255 226 85 24 226 4.6 3.6
=-285CV 1 8 11 1.5 285 256 85 24 256 49 4.8
=315CV 1 8 11 1.5 315 286 85 24 286 5.7 5
=-345CV 1 8 11 1.5 345 316 85 24 311 6.1 6
=SLRA8-195CV 2 8 16 4 195 166 85 24 166 3.7 1.4
=225CV 2 8 16 4 225 196 85 24 196 4.4 1.6
=-255CV 2 8 16 4 255 226 85 24 226 4.6 2.2
-285CV 2 8 16 4 285 256 85 24 256 4.8 3
=SLFA8-195CV 2 8 16 4 195 166 85 24 166 3.7 1.4
/ =225CV 2 8 16 4 225 196 85 24 196 4.4 1.6
E =255CV 2 8 16 4 255 226 85 24 226 4.6 2.2
=-285CV 2 8 16 4 285 256 85 24 256 4.8 3
FA& 5 ER:

?ﬂéﬂ%ﬂ Curve
L <E Length (L)
JIFFE 4R Diameter
. INREAS Holder type



B TIR

48

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

lﬁ—#ﬂﬁgﬂ CNCTOOLS
‘-HSKT100A-SL #4571 (CVHI &R )
FIG.1 hsk.No —tint
— — —t {dds
é /
[e)
" mIERKE
L
FIG.2 HSK.NQ S
~ L ),
e}
()
M mIaRLE
L
N
%‘a%@f ( Tmck:ss )
B EFEEER
ﬁ —t TRRE AT, il
Jﬁ) {M-‘mﬁﬁgiﬁﬁfﬁwo” H%ﬁﬁiﬁ)\l:lﬁﬁéﬂ%ﬁ/ﬁ?ﬁ"ﬂiﬁo
h ﬂfﬁ? cheﬁn)g\th-tf& {gzool )
J
#E Model FIG D C t L M C1 H h E=2 KGS S
HSK100A-SLSA10-165CV | 1 | 10 | 13 1.5 165 136 85 30 136 3.5 1.4
-195¢v | 1 | 10 | 13 1.5 195 166 85 30 166 4.3 1.5
-225¢cv [ 1 | 10 | 13 1.5 225 196 85 30 196 4.2 2.4
-255¢cv | 1 | 10 | 13 15 255 226 85 30 226 4.5 3.5
-285¢cv | 1 | 10 | 13 15 285 256 85 30 251 5.1 3.6
-315cv | 1 | 10 | 13 15 315 286 85 30 286 5.1 4.3
-345cv | 1 | 10 | 13 15 345 316 85 30 311 5.9 5.5
-SLRA10-165CV | 2 | 10 | 19 4.5 165 136 85 30 136 3.5 1
-195¢cv [ 2 | 10 | 19 45 195 166 85 30 166 4 1.1
-225¢v | 2 | 10 | 19 45 225 196 85 30 196 41 1.6
-255¢cv [ 2 | 10 | 19 45 255 226 85 30 226 49 17
-285¢v | 2 | 10 | 19 45 285 256 85 30 256 5 2.4
-SLFA10-165CV | 2 | 10 | 19 4.5 165 136 85 30 136 3.5 1
-195¢cv [ 2 | 10 | 19 45 195 166 85 30 166 4 1.1
-225¢v [ 2 | 10 | 19 45 225 196 85 30 196 4] 1.6
-255¢v [ 2 | 10 | 19 4.5 255 226 85 30 226 4.9 1.7
-285¢v | 2 | 10 | 19 4.5 285 256 85 30 256 5 2.4
-SLSA12-165CV | 1 | 12 | 15 1.5 165 136 85 30 133 4.2 1.2
-195¢v [ 1 | 12 | 15 1.5 195 166 85 30 163 4.1 1.2
-225¢v [ 1 | 12 | 15 1.5 225 196 85 30 175 4.8 1.8
-255¢cv [ 1 | 12 | 15 15 255 226 85 30 190 4.8 2.6
-285¢v [ 1 | 12 | 15 15 285 256 85 30 251 5.5 3.5
-315¢v [ 1 | 12 | 15 15 315 286 85 30 281 5.9 4.3
-345cv [ 1 | 12 | 15 15 345 316 85 30 311 6.2 5.3
-SLRA12-165CV | 2 | 12 | 22 22 165 136 85 30 133 3.6 0.8
-195¢v | 2 | 12 | 22 22 195 166 85 30 163 4.4 0.8
-225¢v | 2 | 12 | 22 22 225 196 85 30 159 4.4 13
-255cv | 2 | 12 | 22 22 255 226 85 30 221 4.6 1.6
-285¢v | 2 | 12 | 22 22 285 256 85 30 251 5 2.1
U L8

T

HEFRAZ I Taper size

$ﬂéﬁ?_—ﬂ Curve

L i<Z Length (L)

#FE 1R Diameter
* THAE{XS Holder type




HIZTIN

R

oncoors B Z P EX

-HSKT100A-SL #4518 (CV HIZEEY )  HsK100A-SL SHRINK FIT HOLDER(CV CURVE)

HSK. NO :zﬁgcﬁ?%
- | —— — @a
@)
M he\%ﬁ-‘%ﬂ‘gﬁjﬁ
L
ﬁ?{%% e W EEER
p
ﬁ —— TIRRE HATIAN, 50
é JT/Q Mmﬁfgﬁﬁﬁf{%m‘ H%ﬂﬁ%ﬂﬁ)\tkﬁéle%%/ﬁkﬂ/ﬂ{iﬁo
8 7]
z
g 2 2 Model b) C t L M 1 H =& KGS S
- HSK100A-SLFA12-165CV 12 | 22 | 22 165 | 136 85 30 133 3.6 0.8
X -1950v 12 | 22| 22 195 | 166 85 30 163 4.4 0.8
=] -2250v 12 | 22 22 225 196 85 30 159 4.4 1.3
——  -255CV 12 | 2| 22 255 | 226 85 30 221 4.6 1.6
-285CV 12 | 22 | 22 285 | 256 85 30 251 5 2.1
-SLSB16-165CV 16 | 21 | 25 165 | 136 85 32 131 4.2 0.6
-195cV 16 | 21 | 25 195 | 166 85 32 161 4 11
-225CV 16 | 21 | 25 225 | 19 85 32 191 4.8 1.2
-255CV 16 | 21 | 25 255 | 226 85 32 221 4.7
-285CV 16 | 21 | 25 285 | 256 85 32 251 5.5
-315CV 16 | 21 | 25 315 | 286 85 32 281 5.9 2.6
-345cV 16 | 21 | 25 345 | 316 85 32 31 6.2 3.3
-SLSB20-165CV 20 | 26 3 165 | 136 85 40 132 4 0.6
-195¢CV 20 | 26 3 195 | 166 85 40 161 4.9 0.7
-225CV 20 | 26 3 225 | 196 85 40 191 4.6 1.2
-255CV 20 | 26 3 255 | 226 85 40 221 5.5 1.3
-285CV 20 | 26 3 285 | 256 85 40 251 5.2 2.1
-315CV 20 | 26 3 315 | 286 85 40 281 6.1 2.3
-345CV 20 | 26 3 345 | 316 85 40 31 6.4 2.9
g RE:

L £Z Length (L)

B {& Diameter

$ﬂi£§: U Curve

T B?
If gb'f‘t“g Holder type
$HEFRAZ T Taper size




-HSK25E-SL #A 457148 (3°—{K&E)

HSK. NO

B TIR

48

RETT RS

CNCTOOLS

HSK25E-SL SHRINK FIT HOLDER(3° MONO)

777
Ea=Erth
b *

8 M TR
L

Safetv mark )

ﬁ%la"? (T%E% )

W ERER
TNRRE WANTIHN, HEn

=

4/2 Y e A P ) HARN e it S TR E éﬁ é‘

(Minimum insert length of the tool ) o

TIERKENKE z 5

( Maximum insert length of the tool ﬁ g

23

7

EE Model D @ t L M a H FEKGS S .
HSK25E-SLSA3- 35 3 6 1.5 35 17 7.8 9 29 0.06 3.6
- 50 3 6 1.5 50 32 9.4 9 44 0.06 7
-SLRA3- 35 3 7.5 2.25 35 17 9.3 9 29 0.06 2.3
-SLSA3.175-35 3175 6.175 1.5 35 17 8 9 29 0.06 3.5
- 50 3175 6.175 1.5 50 32 9.6 9 44 0.06 6.6
-SLSA4- 35 4 7 1.5 35 17 8.8 12 29 0.06 2.8
- 50 4 7 1.5 50 32 10.4 12 44 0.06 5.3
-SLRA4- 35 4 10 3 35 17 11.8 12 29 0.06 1.4
-SLSA5- 35 5 8 1.5 35 17 9.8 15 26 0.06 2.2
-SLSA6- 35 6 9 1.5 35 17 10.8 18 26 0.05 1.8
- 50 6 9 1.5 50 32 12.4 18 39 0.07 3.6
-SLRA6- 35 6 12 3 35 17 13.8 18 26 0.07 1.1

AR RA:

[ $HEFRTZ T Taper size

L

L € Length (L)
JIFFE 1% Diameter
BEfLS Holder type




HIZTIN

R

CNCTOOLS

-HSK32E-SL #A4EJ14#8 (3°—{E)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

FIG.1
HSK. NO

HSK32E-SL SHRINK FIT HOLDER(3° MONO)

77777 7277777y
Ir E— I E— gfo[gg
e

mILBRKE

M Working length

ZLS BE

( safety mark ) (Thickness ) . ;’iﬁ$1ﬁ
ﬁ l)uz TIRRE FEATIAN, 5L
JT’HJ N f’?ﬁﬁﬁﬁ’% . B TJEARN L 22 A SR
IS Model FIG D @ t L M L1 c1 2 H h ZE=KGS S
HSK32E-SLSA3- 50-M 22 1 3 6 1.5 50 22 | 8 83 [ 20| 9 | 42 0.1 4.7
- 70-M 42 1 3 6 1.5 70 42 | 8 104 | 20| 9 | 62 0.2 9.5
- 85-M 42 1 3 6 1.5 85 42 | 23| 104 | 25| 9 | 77 0.2 9.4
-SLRA3- 50-M 22 1 3 7.5 2.25| 50 22 | 8 9.8 [ 20| 9 | 42 0.1 2.8
- 70-M 42 1 3 7.5 2.25| 70 42 | 8 1.9 | 20| 9 | 62 0.2 5.3
- 85-M 42 1 3 7.5 2.25| 85 42 | 23| 119 | 25| 9 | 77 0.2 5.5
-SLSA3.175- 50-M 22 1 3175 | 6175 | 1.5 50 22 | 8 85 [ 20| 9 | 42 0.1 4.4
-SLSA4- 50-M 22 1 4 7 1.5 50 22 | 8 93 [ 20| 12 | 42 0.1 3.6
- 70-M 42 1 4 7 1.5 70 42 | 8 1.4 | 20| 12 | 62 0.2 7.3
- 85-M 42 1 4 7 1.5 85 42 | 23| 11.4 | 25| 12 | 77 0.2 7.4
-SLRA4- 50-M 22 1 4 10 3 50 22 | 8 123 | 20| 12 | 42 0.2 1.7
- 70-M 42 1 4 10 3 70 42 | 8 144 | 20| 12 | 62 0.2 3.1
- 85-M 42 1 4 10 3 85 42 | 23| 14.4 | 25| 12 | 77 0.2 3.2
-SLSA6- 70-M 42 1 6 9 1.5 70 42 | 8 13.4 | 20| 18 | 62 0.2 4.8
-SLRA6- 50-M 22 1 6 12 3 50 22 | 8 143 | 26 | 18 | 39 0.2 1.2
- 70-M 42 1 6 12 3 70 42 | 8 16.4 | 26 | 18 | 62 0.2 2.4
- 85-M 42 1 6 12 3 85 42 | 23| 16.4 | 25| 18 | 77 0.2 2.5
-SLRA8- 50-M 22 1 8 14 3 50 22 | 8 163 | 26 | 24 | 39 0.2 1
- 85-M 42 1 8 14 3 85 42 | 23| 18.4 | 25| 24 | 48 0.2 2.1
-SLRA10- 55-M 22 1 10 16 3 55 22 | 13| 183 | 26 | 25 | 44 0.2 0.9
-SLRA12- 55-M 22 1 12 20 4 55 22 | 13| 223 | 26 | 30 | 44 0.2 0.7
-SLRA16- 55-M 35 2 16 26 5 55 35 * * * | 32 | 44 0.2 0.7

MRAR L RA:

T MIBEH

I HEFRAZ T Taper size

L & Length (L
JIFFE 4R Diameter
IhEERS Holder type

& working length
)




-HSK32E-SL #4571 (CVHI&ER)

B TIR

48

BETHES e

HSK32E-SL SHRINK FIT HOLDER(CV CURVE)

— 1 _ - - N QT [S) 5
LA
M Working length
L
ZEIES ( Tmck:ss )
( Safety mark ) . Eﬁsm g
ﬁ‘mf TIRARE HATIAN, B50 2
W BRI AR N g TR= g RN Y AL éﬁ é‘
(Minimum insert length of the tool | )J ;
TIRRAENKE we
h (Maximum insert length of the tool = E
51 %
S Model D C t L M C1 H h E= KGS S
HSK32E-SLSA4- 60CV 4 7 1.5 60 40 26 12 43 0.2 2.4
- 90CV 4 7 1.5 90 70 26 12 73 0.2 6.1
-SLSA6- 60CV 6 9 1.5 60 40 26 18 43 0.2 1.9
- 9ocv 6 9 1.5 20 70 26 18 73 0.2 4.9
-SLSA8- 60CV 8 11 1.5 60 40 26 24 38 0.2 1.6
- 90Ccv 8 11 1.5 90 70 26 24 38 0.2 4
-SLSA10- 60CV 10 13 1.5 60 40 26 30 48 0.2 1.4
- 90CV 10 13 1.5 90 70 26 30 60 0.2 3.5

M EER:

?Eéé%ﬁ! Curve

/I
IHEEXS Holder type
$EARFZ R Taper size

L € Length (L)
JIF¥FE 1 Diameter




wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

#
4
7]
Uiz]
#
5l

HIZTIN

R

CNCTOOLS

HETIHFE S

-HSK40E-SL #A4EJ14#R (3°—{KE)

HSK40E-SL SHRINK FIT HOLDER(3° MONO)

o)
C
c1
G2

mIBMKE

Working length

ZELS

( Safety mark )

B
( Thickness )

—— _———— T
DI

=

B ERER
NRRE WATIEN, FH

IR 2 2 S RN E .

H o IRERE
h HARBRBAKE .
J

S Model D C t L M L1 C1 2 H h ZEEKGS S
HSK40E-SLSA3- 50-M 22 3 6 1.5 50 22 8 8.3 20 9 42 0.2 4.6
- 70-M 42 3 6 1.5 70 42 8 104 | 20 | 9 62 0.2 9.4

- 85-M 42 3 6 1.5 85 42 | 23 | 104 | 25 9 69 0.3 9.3

-110-M 67 3 6 1.5 110 67 23 13 25 9 94 0.3 15

-SLRA3- 50-M 22 3 7.5 2.25 50 22 8 9.8 20 9 42 0.2 2.8

- 70-M 42 3 7.5 2.25 70 42 8 11.9 20 9 62 0.2 5.3

- 85-M 42 3 7.5 2.25 85 42 23 11.9 25 9 69 0.3 5.4

-110-M 67 3 7.5 2.25 110 67 23 14.5 25 9 94 0.3 9
-SLSA3.175- 50-M 22 3.175 6.175 1.5 50 22 8 8.5 20 9 42 0.2 4.4
=SLSA4- 50-M 22 4 7 1.5 50 22 8 9.3 20 | 12 | 42 0.2 3.6

- 70-M 42 4 7 1.5 70 42 8 11.4 20 | 12 62 0.2 7.2

- 85-M 42 4 7 1.5 85 42 23 11.4 25 12 74 0.3 7.3
=-110-M 67 4 7 1.5 110 67 23 14 25 12 99 0.3 11.9

-SLRA4- 50-M 22 4 10 3 50 22 8 12.3 20 | 12 | 42 0.2 1.6

- 70-M 42 4 10 3 70 42 8 14.4 20 | 12 62 0.3 3

- 85-M 42 4 10 3 85 42 23 14.4 25 12 69 0.3 3.1

-110-M 67 4 10 3 110 67 23 17 25 12 94 0.3 5.2

-SLSA6- 50-M 22 6 9 1.5 50 22 8 11.3 20 | 18 39 0.2 2.2

- 70-M 42 6 9 1.5 70 42 8 13.4 20 18 54 0.2 4.7

- 85-M 42 6 9 1.5 85 42 | 23| 134 | 25| 18 | 69 0.3 49

-110-M 67 6 9 1.5 110 67 23 16 25 18 94 0.3 8

-SLRA6- 50-M 22 6 12 3 50 22 8 14.3 26 18 39 0.2 1.2

- 70-M 42 6 12 3 70 42 8 16.4 26 18 54 0.3 2.3

- 85-M 42 6 12 3 85 42 23 16.4 25 18 69 0.3 2.5

-110-M 67 6 12 3 110 67 23 19 25 18 94 0.4 4.1

HIAR $E88:
%Iﬁﬂ&rg‘ Working length
L €E Length (L)
JIFFE 1R Diameter
IHEE1LS Holder type
SEARAZ I Taper size




-HSK40E-SL #4571 (3°—{hE)

RETT RS

HSK40E-SL SHRINK FIT HOLDER(3° MONO)

B TIR

48

CNCTOOLS

1
c2

MIBEKE

Warking length

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

M MR
L
ZEigS B
{Satoty ot} V'S W EEER
—r JNNRZE EAJIAER, EHEHD
y | Rk BT IR L2 A5 R I
S Model FIG D C t L M L1 C1 2 H h ZEEKGS S
HSK40E-SLSA8- 60-M 22 1 8 1 1.5 60 22 [ 18| 133 |26 | 24 | 49 0.3 1.5
- 80-M 42 1 8 1 1.5 80 42 | 18 | 154 | 26 | 24 | 64 0.3 3.3
-100-M 42 1 8 1 1.5 100 42 | 38| 154 | 25| 24 | 84 0.3 3.8
-SLRA8- 50-M 22 1 8 14 3 50 22 | 8 16.3 | 26 | 20 | 39 02 |09
- 85-M 42 1 8 14 3 85 42 | 23| 184 | 25| 24 | 69 0.3 21
-100-M 42 1 8 14 100 42 | 38| 184 | 25| 24 | 84 04 |24
-SLSA10- 60-M 22 1 10 13 1.5 60 22 |18 | 153 | 26| 30 | 49 0.3 1.2
- 80-M 42 1 10 13 1.5 80 42 | 18 | 174 | 26 | 30 | 64 0.3 2.4
-100-M 42 1 10 13 1.5 100 42 | 38| 174 | 25| 30 | 89 0.3 3.1
-SLRA10- 50-M 22 1 10 16 3 55 22 | 13| 183 | 26 | 25 | 44 0.3 0.8
- 85-M 42 1 10 16 3 85 42 | 23| 204 | 25| 30 | 64 0.3 1.7
-100-M 42 1 10 16 3 100 42 | 38 | 204 | 25| 30 | 64 04 |22
-SLRA12- 55-M 22 1 12 20 4 55 22 | 13| 223 | 26| 25 | 44 0.3 0.6
- 85-M 42 1 12 20 4 85 42 | 23| 244 | 32| 30 | 74 0.4 11
-SLRA16- 55-M 22 1 16 26 5 55 22 | 13| 283 |34 32 | 44 0.3 0.4
-SLRA20- 60-M 40 2 20 | 32 6 60 4 | * 34 * | 38 | 49 04 |04

MR HLRR:

E NI B E Working length
JIFFE 1R Diameter
IhEEX S Holder type
IR

I, Taper size

L £Z Length (L)




HIZTIN

c?%c%%s BT 5 FE 5

-HSK40E-SL #4985 7J4A8 (CV HIZEEY )  HsK40E-SL SHRINK FIT HOLDER(CV CURVE)

ZHEphsk

2D curve

mLERKE

M Working length

Z2is kLR ——
{ Safety mark | 7 ii m
P l — Ti NARE WEATIRN, BEL
2 T I e S
% 4= H (Minirmom insertlongth of 6 fool )
37 TIERRBAKE
- h (Maxirmum insert length of the tool )
]
CE
|
S Model ] C t L M C1 H h HE KGS S
HSK40E-SLSA4- 90CV 4 7 1.5 90 70 34 12 74 0.3 2.9
=-120CV 4 7 1.5 120 100 34 12 104 0.4 6.5
=150CV 4 7 1.5 150 130 34 12 134 0.5 8.6
=SLRA4- 90CV 4 10 90 70 34 12 74 0.4 2
=-120CV 4 10 120 100 34 12 104 0.4 4.2
=-SLSA6- 90CV 6 9 1.5 90 70 34 18 74 0.3 2.5
=120CV 6 9 1.5 120 100 34 18 104 0.4 5.6
=150CV 6 9 1.5 150 130 34 18 134 0.5 77
-SLRA6- 90CV 6 13 3.5 90 70 34 18 74 0.4 1.7
=-120CV 6 13 3.5 120 100 34 18 104 0.5 2.6
-SLSA8- 90CV 8 11 1.5 90 70 34 24 74 0.3 2.2
=120CV 8 11 1.5 120 100 34 24 104 0.4 3.4
-150CV 8 11 1.5 150 130 34 24 134 0.5 51
=SLRA8- 90CV 8 16 4 90 70 34 24 74 0.4 1.6
=-120CV 8 16 4 120 100 34 24 104 0.5 2.4
=-SLSA10- 90CV 10 13 1.5 90 70 34 30 74 0.3 2
=120CV 10 13 1.5 120 100 34 30 104 0.4 3.2
=150CV 10 13 1.5 150 130 34 30 134 0.5 5
=-SLRA10- 90CV 10 19 4.5 90 70 34 30 74 0.4 1.1
=120CV 10 19 4.5 120 100 34 30 104 0.5 2
AL RE:
1 FRZEE! Curve
L 4€Z Length (L)
JI#FE 1R Diameter
IHREfLS Holder type
$EFRAZ T Taper size



-HSK50E-SL #45 7118 (3°—{k8!)

HSK.

NO

RETT RS

HSK50E-SL SHRINK FIT HOLDER(3° MONO)

B TIR

48

CNCTOOLS

of o] 5|8

m LA

Working length

N
ZEIes B
T N EEER

ﬁw 1)01 TRRE fEATIAN, W50 s

W (Miﬁ'ﬁ‘%ﬁffrg . BT AR L A IR A ## §

We

A3

2 Model D C t L M L1 C 2 H SBKGS S 5§

HSK50E-SLSA3- 60-M 22 3 6 1.5 60 22 12 8.3 20 9 50 0.4 4.7 &
= 75-M 22 3 6 1.5 75 22 27 8.3 25 9 61 0.5 4.5
- 80-M 42 3 6 1.5 80 42 12 10.4 20 9 70 0.5 9.3
- 95-M 42 3 6 1.5 95 42 27 10.4 25 9 81 0.5 9.1
-SLRA3- 75-M 22 3 7.5 2.25 75 22 27 9.8 25 9 61 0.5 2.8
- 95-M 42 3 7.5 2.25 95 42 27 11.9 25 9 81 0.5 5.3
-120-M 67 3 7.5 2.25 120 67 27 14.5 25 9 106 0.5 8.9
-150-M 97 3 7.5 2.25 150 97 27 17.7 25 9 136 0.6 12.9
=SLFB3 - 75-M 22 3 9.5 3.25 75 22 27 11.8 25 9 61 0.5 1.9
=SLSA4- 75-M 22 4 7 1.5 75 22 27 9.3 25 12 61 0.5 3.6
- 95-M 42 4 7 1.5 95 42 27 11.4 25 12 81 0.5 7.2
-SLRA4- 75-M 22 4 10 3 75 22 27 12.3 25 12 61 0.5 1.7
- 95-M 42 4 10 3 95 42 27 14.4 25 12 81 0.5 3.1
-120-M 67 4 10 3 120 67 27 17 25 12 | 106 0.6 5.2
-150-M 97 4 10 3 150 97 27 20.2 25 12 | 135 0.7 7.8
-SLFB4- 75-M 22 4 12 4 75 22 27 14.3 25 12 61 0.5 1.4
=SLSA6- 75-M 22 6 9 1.5 75 22 27 11.3 25 18 61 0.5 2.3
- 95-M 42 6 9 1.5 95 42 27 13.4 25 18 81 0.5 4.8
-120-M 67 6 9 1.5 120 67 27 16 25 18 | 106 0.5 8.1
=150-M 97 6 9 1.5 150 97 27 19.2 32 18 | 135 0.6 11
-SLSB6- 95-M 42 6 10 2 95 42 27 14.4 25 18 81 0.5 3.7
-120-M 67 6 10 2 120 67 27 17 25 18 | 106 0.6 6.2
=150-M 97 6 10 2 150 97 27 20.2 32 18 | 135 0.7 8.5
=SLRA6- 75-M 22 6 12 3 75 22 27 14.3 25 18 61 0.5 1.3
- 95-M 42 6 12 3 95 42 27 16.4 25 18 81 0.5 2.5
-120-M 67 6 12 3 120 67 27 19 25 18 | 106 0.6 41
=-SLRB6- 95-M 42 6 14 4 95 42 27 18.4 32 18 80 0.6 1.6
-SLFB6 - 75-M 22 6 14 4 75 22 27 16.3 32 18 60 0.6 1

MR LER:

JI#FE1Z Diameter
ITHEELS Holder type
$EIRTZ T Taper size

SLFB

E DDIEH-}:F Working length

L € Length (

> 99



HIZTIN

c?%(%%s BT 5 FE 5

-HSK50E-SL 45 J]#8 (3°—{kE!) HSK50E-SL SHRINK FIT HOLDER(3° MONO)

ST o s[s

MITEHKE

Working length

~
ﬁ%ﬁl b3 W EEER
p
ﬁ)m o TRRE HATIAN, 5L
s W RIS L Y
: " W <M.n.i%?s$ﬁﬁ,}%mn B TR B 22 Al S SR A
o
5
g ; #E Model D h BEKGS S
2 HSK50E-SLSA8- 65-M 22 8 11 1.5 65 22 17 13.3 26 | 24 49 0.5 1.5
_ = 75-M 22 8 11 1.5 75 22 27 15.4 25 24 61 0.5 1.6
- 85-M 42 8 11 1.5 85 42 17 15.4 26 | 24 67 0.5 3.2
- 95-M4 2 8 11 1.5 95 42 27 15.4 25 | 24 81 0.5 3.5
-120-M 67 8 11 1.5 120 67 27 18 32 24 | 105 0.6 5.4
=150-M 97 8 11 1.5 150 97 27 21.2 32 24 1132 0.7 8.1
-SLSB8- 95-M 42 8 13 2.5 95 42 27 17.4 32 | 24 80 0.6 2.1
-120-M 67 8 13 2.5 120 67 27 20 32 | 24 | 105 0.6 3.5
-150-M 97 8 13 2.5 150 97 27 23.2 32 | 24 | 135 0.7 5.3
-SLRA8- 60-M 22 8 14 3 60 22 12 16.3 26 | 24 44 0.5 0.9
- 75-M 22 8 14 3 75 22 27 16.3 25 | 24 61 0.5 1.1
- 95-M 42 8 14 3 95 42 27 18.4 25 | 24 81 0.5 2
-SLRB8- 95-M 42 8 18 5 95 42 27 22.4 32 | 24 80 0.6 1.1
-120-M 67 8 18 5 120 67 27 25 32 | 24 | 105 0.7 1.7
-SLFB8- 75-M 22 8 18 5 75 22 27 20.3 32 | 24 60 0.6 0.7
=-SLSA10- 65-M 22 10 13 1.5 65 22 17 15.3 26 30 49 0.5 1.1
= 75-M 22 10 13 1.5 75 22 27 15.3 25 30 61 0.5 1.3
- 85-M 42 10 13 1.5 85 42 17 17.4 26 30 64 0.5 2.4
- 95-M 42 10 13 1.5 95 42 27 17.4 25 30 81 0.5 2.6
=-120-M 67 10 13 1.5 120 67 27 20 32 30 | 105 0.6 4.1
-150-M 97 10 13 1.5 150 97 27 23.2 32 30 64 0.7 6.2
-SLSB10- 95-M 42 10 16 3 95 42 27 20.4 32 30 80 0.6 1.5
=-120-M 67 10 16 3 120 67 27 23 32 30 | 105 0.7 2.4
-150-M 97 10 16 3 150 97 27 26.2 32 30 [ 135 0.7 3.7
-SLRA10- 75-M 22 10 16 3 75 22 27 18.3 25 30 60 0.6 1
=-SLRB10- 95-M 42 10 22 6 95 42 27 26.4 32 | 30 | 80 0.7 0.9
=-120-M 67 10 22 6 120 67 27 29 42 30 | 107 0.8 1.1
-SLFB10- 75-M 22 10 22 6 75 22 27 24.3 32 30 60 0.6 0.6
AUAG5BA: S“B
T T %Iﬁ)&k? Working length
L < Length (L)
JJ#FE1Z Diameter
ITHEELS Holder type
EFRAZ T Taper size



B TIR

48

BETHES e

-HSK50E-SL 45 JJ#8 (3°—{kE!) HSK50E-SL SHRINK FIT HOLDER(3° MONO)

HSK. NO
209
L1 M n%v%:rﬁﬁgnﬁhg
L
Rejge [ BE
ﬁ‘ 0 WEEER

%T TIRRE FATIEN, 55 :

[W L RERBKE 4TI RARN L 22 4 ie v VR AL i §

£S5 Model ﬁU%
HSK50E-SLSA12- 65-M 22 12 15 1.5 65 22 17 17.3 26 25 49 0.5 0.9
= 75-M 22 12 15 1.5 75 22 27 17.3 25 30 60 0.5 1.1
- 95-M 42 12 15 1.5 95 42 27 19.4 32 30 80 0.5 19
-120-M 67 12 15 1.5 120 67 27 22 32 30 | 105 0.6 3.3
=SLSB12- 95-M 42 12 19 3.5 95 42 27 23.4 32 30 80 0.6 1.2
-120-M 67 12 19 3.5 120 67 27 26 32 30 | 105 0.7 1.9
=150-M 97 12 19 3.5 150 97 27 29.2 32 | 30 | 135 0.9 2.5
=SLRA12- 75-M 22 12 20 4 75 22 27 22.3 25 30 62 0.6 0.9
=SLRB12- 95-M 42 12 26 7 95 42 27 30.4 42 30 82 0.8 0.6
-120-M 67 12 26 7 120 67 27 33 42 30 | 107 0.9 0.9
-SLFB12- 75-M 22 12 26 7 75 22 27 28.3 42 30 62 0.7 0.4
-SLSB16- 95-M 42 16 24 4 95 42 27 28.4 42 32 82 0.7 0.7
-120-M 67 16 24 4 120 67 27 31 42 32 | 107 0.8 1.2
-SLRA16- 60-M 22 16 26 5 60 22 12 28.3 34 32 44 0.6 0.4
=SLRB16- 75-M 22 16 32 8 75 22 27 34.3 42 32 62 0.7 0.4
-SLFB16- 75-M 22 16 32 8 75 22 27 34.3 42 32 62 0.7 0.4
-SLSB20- 95-M 42 20 29 4.5 95 42 27 334 42 40 82 0.7 0.6
-SLRA20- 65-M 22 20 32 6 65 22 17 34.3 40 38 49 0.6 0.3

R

g RE:
E TN T B RILE working length
L &E Length (L)
JI#FH1Z Diameter
IEEXS Holder type
$IRAZ T, Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-HSK50E-SL #457]#8 (CV HI&E R )

HSK. NO

HSK50E-SL SHRINK FIT HOLDER(CV CURVE)

Zifehik

2D curve

LA

Working length

%ﬂ%lvirgﬁ ( Th\Cknjss ) .
W ERER
s = — TIRER AT, %
" Jﬁ B ﬁ*—ﬁ‘gﬁ%ﬁ’g o RTREAR RS ER .
z
s R

5 91 8BS Model D C ot L M c1 H EEKGS S

7 HSK50E-SLSA4- 90CV 4 | 7 ] 15 | 90 | e4 2 | 12| 74 0.6 1.8

-120cv a | 7 [ 15 | 120 | o4 a2 | 12| 104 0.6 4.2

-150CV a4 |7 [ 15 | 150 [ 124 | 42 [ 12 | 134 07 6

-180CV 4 7 1.5 180 154 42 12 164 0.8 12

-SLRA4-120CV 4 10 3 120 94 42 12 104 0.7 2.7

-150cV 4 [0 3 | 150 [12a | a2 2 | 134 0.8 41

-SLSAG- 90CV 6 | 9 | 15 | 90 | 64 42 | 18 | 74 0.6 1.6

-120cV 6 | 9 | 15 | 120 | oa 2 | 18 | 104 0.6 35

-150CV 6 9 1.5 150 124 42 18 134 0.7 5.4

-180CV 6 | o | 15 | 80 | 154 | a2 | 18 | 164 09 7.6

-SLRA6-120CV 6 | 13| 35 | 120 | o4 a2 | 18 | 104 0.8 1.8

-150CV 6 | 13| 35 | 150 | 124 | 42 | 18 | 132 09 27

-SLSA8- 90CV 8 | 11| 15 | 9 | o4 24 | 74 0.6 14

-120cv 8 | 1| 15 | 120 | 94 a2 | 24 | 104 07 2.2

-150CV 8 | 11| 15 | 150 | 124 | 42 | 24 | 134 07 4.9

-180CV 8 | 11| 15 | 180 | 154 | 42 | 24 | 164 0.8 71

-SLRA8-120CV 8 | 16 | 4 | 120 | o4 2 | 24 | 102 0.8 1.3

-150cV 8 | 16 | 4 | 150 | 124 | 4 | 24 | 132 09 27

-sLSA10-90CV | 10 | 13 | 15 | 90 | 64 a2 | 30 | 74 0.6 13

200y |10 [ 13| 15 | 120 | 94 a2 | 30 | 104 07 21

-isocv. | 10 | 13 | 15 | 150 | 124 | 42 | 30 | 134 0.8 3.4

socv. | 10 [ 13 | 15 | 180 | 154 | 42 | 30 | 1e2 0.8 6.9

-SLRA10-150CV.__ | 10 | 19 | 45 | 150 | 124 | 42 | 30 | 132 09 2.2

A& ER:
? $E4£§= U Curve

II}J £S5 Holdertype
$EFRAZ T Taper size

E Length (L)
JI#FE 1R Diameter



-HSK63F-SL #4571/ (3°—{F8!)

B TIR

48

BETHES e

HSK63F-SL SHRINK FIT HOLDER(3° MONO)

HSK. NO

2|
L| L1 MIBYKE
Working length
L
N
%a%win?;ﬁ ( Th\cknjs: ) .
17 B EEER

C — o TNRRE HATIAN, H5D 2

Bk AR 2

(Minimum insert length of the tool ) éﬁ ::

ﬂﬂaﬁkﬁ)\&fi 8

{Maximum msert length of the tool) ) 7] g

e

2 Model b) C t L M L1 c1 @ H JEKGS S ’yﬁg

HSK63F-SLSA 3- 95-M 42 3 6 1.5 95 42 | 27 104 [ 25] 9 | 78 0.7 9.1 &
-SLRA 3- 75-M 22 3 75 2.25 75 22 [ 27] 98 [25] 9 | 54 0.7 2.8
- 95-M 42 3 75 2.25 95 42 |27 ] 119 [25] 9 |78 0.7 53
-SLFB 3- 75-M 22 3 9.5 3.25 75 22 271 118 [25] 9 | 58 0.7 1.9
- 95-M 42 3 9.5 3.25 95 42 | 27] 139 [25] 9 [ 78| o8 3.2
-120-M 67 3 9.5 3.25 120 | 67 | 27| 165 | 25| 9 |103] 0.8 5.4
-SLSA 4- 95-M 42 4 7 1.5 95 42 127 ] 114 [25] 12 ] 78 0.7 7.2
-SLRA 4- 75-M 22 4 10 3 75 22 |27 ] 123 [ 25 ] 12 | 58 0.7 17
- 95-M 42 4 10 3 95 42 | 27 ] 144 |25 12 [ 78| o8 3.1
-SLFB 4- 75-M 22 4 12 4 75 22 |27 ] 143 [ 25 ] 12 | 58 0.7 1.3
- 95-M 42 4 12 4 95 42 [ 27 ] 1644 |25 12 ] 78] o8 2.2
-120-M 67 4 12 4 120 | 67 | 27| 19 | 25| 12 [103] 0.8 3.6
-SLSA 6- 95-M 42 6 9 1.5 95 42 | 27 | 134 | 25| 18 | 78 0.7 4.8
-SLSB 6- 95-M 42 6 10 2 95 42 | 27 | 144 [ 25] 18 | 78 0.7 3.7
-SLRA 6- 75-M 22 6 12 3 75 22 [ 27 ] 143 [ 25] 18 | 58 0.7 1.3
- 95-M 42 6 12 3 95 42 |27 ] 164 [ 25] 18 | 78| 0.8 2.4
-SLFB 6- 75-M 22 6 14 4 75 22 |27 ] 163 | 32] 18 58] 08 1
-SLSA 8- 95-M 42 8 11 1.5 95 42 | 27 | 15.4 | 25| 24 | 78 0.7 3.4
-SLSB 8- 95-M 42 8 13 2.5 95 42 [ 27 ] 174 [32]24a]78] o8 21
-SLRA 8- 75-M 22 8 14 3 75 22 [ 27 ] 163 | 25| 24 | 58 0.7 11
- 95-M 42 8 14 3 95 42 |27 ] 184 [25] 24 [ 78| o8 2
-SLFB 8- 75-M 22 8 18 5 75 22 |27 203 [32] 24 58] o8 0.7
-SLSA10- 95-M 42 10 13 1.5 95 42 [ 271 174 2530 [74] o8 2.6
-SLSB10- 95-M 42 10 16 3 95 42 [ 27 ] 204 323074 os 1.4
-SLRA10- 75-M 22 10 16 3 75 22 |27 183253054 o8 1
-SLFB10- 75-M 22 10 22 6 75 22 |27 243 323054 o8 0.6
-SLSA12- 95-M 42 12 15 1.5 95 42 [ 27 ] 194 [ 323074 os 1.8
-SLSB12- 95-M 42 12 19 3.5 95 42 [ 271 234 3213074 o8 11
-SLRA12- 75-M 22 12 20 4 75 22 [ 27 223 25 30 [ 54 0.9 0.8
-SLFB12- 75-M 22 12 26 7 75 22 |27 283 |42 30| 54 0.9 0.4
-SLFB16- 75-M 22 16 32 8 75 22 |27 333 |42 32 54 1 0.3
-SLFB20- 75-M 22 20 38 9 75 22 |27 403 |50 40 | 53 11 0.3
-SLFB25- 75-M 22 25 45 10 75 22 [ 27 ] 473 |50 a5 | 53 11 0.2

M EER:

I, Taper size

L £ Length (
JIFFE 1R Diameter

T DﬂIﬁ?ﬂ‘kaF working length

I IhEeX S Holder type
AR R [




HIZTIN

c?%(%%s BT 5 FE 5

-HSK63F-SL #4548 (CV B BEY)  Hske3F-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 Sty
HSK. NO

2D curve

II,,,,.A

MTEMKE

Working length

FIG.2 St

2D curve

MIBBKE

Working length

34
8 7] N
é g %a%yin?;ﬁ (Th\ckEs) . Egslﬁ
2 3 [ o o o
3 C o NNERE EANTIAR, HEL
- W | EERKE TR L 2240 2 R AV
TIESXEAKE
h ( Maximum insert length of the tool ) )
S Model FIG D C t L M C1 H h E5 KGS S
HSK63F-SLSA4- 90CV 1 4 7 1.5 90 64 53 12 65 0.9 1.8
=120CV 1 4 7 1.5 120 94 53 12 95 1 2.7
=150CV 1 4 7 1.5 150 124 53 12 125 1.2 4
-180CV 1 4 7 1.5 180 154 53 12 154 1.3 6.6
-210CV 1 4 7 1.5 210 184 53 12 185 1.3 11.6
=240CV 1 4 7 1.5 240 214 53 12 214 1.6 14
=-270CV 1 4 7 1.5 270 244 53 12 245 1.9 11.9
-300CV 1 4 7 1.5 300 274 53 12 275 2 15.9
-SLRA4-120CV 2 4 10 3 120 94 53 12 95 1 19
=150CV 2 4 10 3 150 124 53 12 125 1.1 2.9
-180CV 2 4 10 3 180 154 53 12 155 1.4 3.3
-210CV 2 4 10 3 210 184 53 12 185 1.5 5.6
=SLSA6- 90CV 1 6 9 1.5 90 64 53 18 65 0.9 1.6
=120CV 1 6 9 1.5 120 94 53 18 95 1 2.3
=150CV 1 6 9 1.5 150 124 53 18 125 1.2 3.6
-180CV 1 6 9 1.5 180 154 53 18 154 1.3 5.7
-210CV 1 6 9 1.5 210 184 53 18 184 1.5 73
=240CV 1 6 9 1.5 240 214 53 18 214 1.6 12
=270CV 1 6 9 1.5 270 244 53 18 245 2 8.5
=-300CV 1 6 9 1.5 300 274 53 18 275 2.2 11.7
-SLRA6- 90CV 2 6 13 3.5 90 64 53 18 65 1 0.8
=120CV 2 6 13 3.5 120 94 53 18 95 1.2 1.2
-150CV 2 6 13 3.5 150 124 53 18 125 1.3 1.9
-180CV 2 6 13 3.5 180 154 53 18 155 1.4 2.8
-210CV 2 6 13 3.5 210 184 53 18 185 1.5 4.8
=SLFA6- 90CV 2 6 13 3.5 90 64 53 18 65 1 0.8
/ =120CV 2 6 13 3.5 120 94 53 18 95 1.2 1.2
E =150CV 2 6 13 3.5 150 124 53 18 125 1.3 1.9
-180CV 2 6 13 3.5 180 154 53 18 155 1.4 2.8
=210CV 2 6 13 3.5 210 184 53 18 185 1.5 4.8
FA& 5 BA:

$Eé£§2 Curve
L & E Length (L)
JIFFE 1 Diameter
_ IHEEfLS Holder type

104 $EARFZ T, Taper size



B TIR

48

BETHES e

-HSK63F-SL# 45748 (CV BHZBY)  Hske3r-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 St
HSK. NO

2D curve

MITEMKE

Working length

FIG.2 St
HSK. NO
£
n i 3 %
L 45 é
— N R
zeie S i
{ Safety mark ) o BEEER ?ﬁ ;
% J = TIRRSE EATIEN, 50 G
[W SRR Y6 7 SUN L e et 5 SR L
(Minimum insert length of the tool |
h R
/
A5 Model FIG D C t L M C1 H h E= KGS S
HSK63F-SLSA8- 90CV 1 8 11 1.5 90 64 53 24 65 0.9 1.4
=-120CV 1 8 11 1.5 120 94 53 24 94 1.1 2
=-150CV 1 8 11 1.5 150 124 53 24 124 1.3 2.7
-180CV 1 8 11 1.5 180 154 53 24 155 1.3 5
-210CV 1 8 1M 1.5 210 184 53 24 184 1.5 6.6
=-240CV 1 8 11 1.5 240 214 53 24 214 1.8 8.3
=-270CV 1 8 11 1.5 270 244 53 24 244 2.1 6.9
-300CV 1 8 11 1.5 300 274 53 24 274 2.3 8.9
-SLRA8- 90CV 2 8 16 4 90 64 53 24 65 1 0.7
-120CV 2 8 16 4 120 94 53 24 95 1.2 1
=150CV 2 8 16 4 150 124 53 24 125 1.4 1.4
-180CV 2 8 16 4 180 154 53 24 155 1.6 2
=210CV 2 8 16 4 210 184 53 24 185 1.6 3.5
-SLFA8- 90CV 2 8 16 4 90 64 53 24 65 1 0.7
/ =-120CV 2 8 16 4 120 94 53 24 95 1.2 1
E =-150CV 2 8 16 4 150 124 53 24 125 1.4 1.4
-180CV 2 8 16 4 180 154 53 24 155 1.6 2
=210CV 2 8 16 4 210 184 53 24 185 1.6 3.5
-SLSA10- 90CV 1 10 13 1.5 90 64 53 30 65 0.9 1.3
=-120CV 1 10 13 1.5 120 94 53 30 95 1.2 1.3
=150CV 1 10 13 1.5 150 124 53 30 125 1.3 2.2
=-180CV 1 10 13 1.5 180 154 53 30 154 1.5 3.4
-210CV 1 10 13 1.5 210 184 53 30 184 1.6 6
=-240CV 1 10 13 1.5 240 214 53 30 212 2 5.8
-270CV 1 10 13 1.5 270 244 53 30 244 2.1 6.6
-300CV 1 10 13 1.5 300 274 53 30 274 2.3 8.5
AL RE:
T $ﬁ%§= Y Curve
E Length (L)
JIFFE1Z Diameter
IhEE{XS Holder type
SR Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-HSK63F-SL#457J48 (CV HIZEEY )  Hske3F-SL SHRINK FIT HOLDER(CV CURVE)

| Sor JNNARE WATIHRN, W50
JTT (M‘m,ﬂlﬁ;gﬁﬁﬁffi . ’Igjjﬂ}fﬁ)\ ttﬁ‘%lﬂ%%{%%‘ﬁﬁo

FIG.1
o o 5
MIBEYKE
Working length
4Rk
FIG.2 R
Tofols
: MIBMKE
= Working length
2
2R
S
¥ e
’Q m (%a%;ln%;ﬁ ( Thickness ) .
E B EEER
]l
3
a

h IEBIENEE
J
#E5 Model FIG D C t L M Cc1 H h &FE KGS )
HSK63F-SLRA10- 90CV 2 10 19 4.5 90 64 53 30 65 1 0.7
=120CV 2 10 19 4.5 120 94 53 30 95 1.2 1
=150CV 2 10 19 4.5 150 124 53 30 125 1.4 1.4
-180CV 2 10 19 4.5 180 154 53 30 155 1.6 2
-210CV 2 10 19 4.5 210 184 53 30 185 1.6 3.5
=SLFA10- 90CV 2 10 19 4.5 90 64 53 30 65 1 0.7
=120CV 2 10 19 4.5 120 94 53 30 95 1.2 1
=150CV 2 10 19 4.5 150 124 53 30 125 1.4 1.4
-180CV 2 10 19 4.5 180 154 53 30 155 1.6 2
=-210CV 2 10 19 4.5 210 184 53 30 185 1.6 3.5
=-SLSA12- 90CV 1 12 15 1.5 90 64 53 30 64 1 0.9
=-120CV 1 12 15 1.5 120 94 53 30 94 1.2 1.2
=150CV 1 12 15 1.5 150 124 53 30 124 1.3 2.4
-180CV 1 12 15 1.5 180 154 53 30 154 1.5 3.3
=-210CV 1 12 15 1.5 210 184 53 30 184 1.7 4.6
-240CV 1 12 15 1.5 240 214 53 30 212 2 5.5
-270CV 1 12 15 1.5 270 244 53 30 244 2.2 5.4
=SLRA12- 90CV 2 12 22 5 90 64 53 30 64 1 0.6
=120CV 2 12 22 5 120 94 53 30 94 1.3 0.7
=150CV 2 12 22 5 150 124 53 30 124 1.5 1.1
-180CV 2 12 22 5 180 154 53 30 154 1.6 1.8
=210CV 2 12 22 5 210 184 53 30 184 1.7 2.8
=-SLFA12- 90CV 2 12 22 5 90 64 53 30 64 1 0.6
=120CV 2 12 22 5 120 94 53 30 94 1.3 0.7
=150CV 2 12 22 5 150 124 53 30 124 1.5 1.1
-180CV 2 12 22 5 180 154 53 30 154 1.6 1.8
=210CV 2 12 22 5 210 184 53 30 184 1.7 2.8
A& ER:
T T $Eé£§2 Curve
L &£ Length (L)
JIFFE1Z Diameter
IhEE{X S Holder type
$EFRTAZ T Taper size



B TIR

48

BETHES e

“HSK63F-SL#YE I (CV HIZEE) )  Hske3F-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 s
HS|

. m//l//ll//////////////////////////m””m

MITAERKE

M Working length

FIG.2

T ABAKE

Working length

P

7

2
2
— ~N =
ﬁﬁiag (T%Es} ﬁ g
( Safety mark ) Io . Eﬁiﬁ ?gﬁ 5
E,\l W7 JIERE WAJIHN, HE% E
N 5 Na =} Natiteliva
" N %;Egﬁﬁ#‘% , ’{ﬂ‘jj/E:}ﬁ)\ttﬁéTa?E@KE/ﬂiﬁe
inimum insert length of the tool
TIERKEAKE
h ( Maximum insert length of the tool )
J
ES Model FIG ] C t L M (@ H h HE KGS S
HSK63F-SLSB16-90CV 2 16 21 2.5 90 64 53 32 62 1.1 0.6
-120CV 2 16 21 2.5 120 94 53 32 92 1.4 0.8
-150CV 2 16 21 2.5 150 124 53 32 122 1.5 1.5
-180CV 2 16 21 2.5 180 154 53 32 152 1.9 1.9
-210CV 2 16 21 2.5 210 184 53 32 182 2 3
=-240CV 2 16 21 2.5 240 214 53 32 212 2.3 3.7
-270CV 2 16 21 2.5 270 244 53 32 242 2.7 4.6
-SLSB20-90CV 2 20 26 3 90 64 53 40 62 1.1 0.5
=120CV 2 20 26 3 120 94 53 40 92 1.4 0.8
=150CV 2 20 26 3 150 124 53 40 122 1.6 1.3
-180CV 2 20 26 3 180 154 53 40 152 2 1.8
-210CV 2 20 26 3 210 184 53 40 182 2.3 2.3
-240CV 2 20 26 3 240 214 53 40 212 2.6 3
-270CV 2 20 26 3 270 244 53 40 242 3.1 3.4
A% RE:
Qﬁﬁﬁg Curve
L & E Length (L)
JIFFE 1R Diameter
INEEfXS Holder type
SEIRAZ T, Taper size




HIZTIN

R

oncoors B Z P EX

-15TR-SL RA4ETIHR (3°—H)

15TR-SL SHRINK FIT HOLDER(3° MONO)

‘al o] 5|

c2

MIBEHMKE

Working length

ﬁﬁﬂ% i [ FE3 e300
. ﬁ)m DRRE I8/, 5
73_; " W N ﬁ*ﬁiﬁ*ﬁ%’% . BT AR L A R
X
SR
% 5l S Model D C t L M L1 C1 c2 H h E&EKGS S
’ 15TR3-5LSA3-40 3 6 1.5 40 | 22 | 55 | 83 18 9 | 46 0.1 4.7
-60 3 6 1.5 60 | 42 | 55 | 104 | 18 9 | 66 0.1 9.3
=-SLSA3.175-40 3.175 6.175 1.5 40 22 5.5 8.5 18 9 46 0.1 4.4
-60 3175 | 6175 | 15 60 | 42 | 55 | 106 | 18 9 | 66 0.1 8.8
-SLSA4-40 4 7 1.5 40 | 22 | 55 | 9.3 18 12 | 46 0.1 3.6
-60 4 7 1.5 60 | 42 | 55 | 114 | 18 12 | 66 01 7.3
-SLSA5-40 5 8 1.5 40 | 22 | 55 [ 103 | 18 15 | 46 0.1 2.9
-60 5 8 1.5 60 | 42 | 55 | 124 | 18 15 | 66 0.1 5.9
-SLSA6-60 6 9 1.5 60 | 42 | 55 | 134 | 18 18 | 66 01 4.9
-SLRA6-35 6 12 3 35 [ 19.6 | 29 | 141 * 18 | 46 0.1 1.2
-SLRA8-35 8 14 3 35 [ 19.6 | 29 | 161 * 20 | 51 0.1 0.9
-SLRA10-35 10 16 3 35 [ 19.6 | 29 | 181 * 20 | 51 0.1 0.8

MR

JIFFE 1R Diameter
IHEEAX S Holder type
SR Taper size

L € Length (L)




:S20TR-SL #4871 (3°—{FH)

B TIR

48

RETT RS

CNCTO!

S20TR-SL SHRINK FIT HOLDER(3° MONO)

e

C1

mILARKE

Working length

OLS

P

45
7
iz]
£

N
=

S31¥43S YIATOH 1001 LI INRIHS

2eing =
e e HEEER
E}ﬁ Ti JIRERE WAJIHN, EHEU
[W | BIERISKE T RRE A 22 A0 S R ALE .
S Model D C t L M L1 C1 c2 H h &= KGS )
S20TR2-SLSA3-40 3 6 1.5 40 22 5.5 8.3 20 9 46 0.1 4.6
-60 3 6 1.5 60 42 5.5 10.4 20 9 66 0.1 9.2
=SLSA3.175-40 3175 | 6175 1.5 40 22 5.5 8.5 20 9 46 0.1 4.4
=60 3175 | 6175 1.5 60 42 5.5 10.6 20 9 66 0.1 8.8
-SLSA4-40 4 7 1.5 40 22 5.5 9.3 20 12 46 0.1 3.6
=60 4 7 1.5 60 42 5.5 11.4 20 12 66 0.1 7.2
-SLSA5-40 5 8 1.5 40 22 5.5 10.3 20 15 46 0.1 2.8
-60 5 8 1.5 60 42 5.5 12.4 20 15 66 0.1 5.8
-SLSA6-60 6 9 1.5 60 42 5.5 13.4 20 18 66 0.1 4.7
=SLRA6-35 6 12 3 35 19.6 2.9 141 * 18 46 0.1 1.1
-SLRA8-35 8 14 3 35 19.6 2.9 16.1 * 20 51 0.1 0.9
-SLRA10-35 10 16 3 35 19.6 2.9 18.1 * 20 51 0.1 0.8
=-SLRA12-45 12 20 4 45 32,5 * 23.4 * 30 51 0.2 0.8

MR EER:

L € Length (L)
JIFFE 1 Diameter
IhEEfXS Holder type
$EFRAZ T Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-MOD-SF =8

MOD-SF FLANGE PLATE

% #, MOD060-SF05-70 80|70 | 55|10 |27 | 60 | 30 |15|22| 5 | 6 | 9 | 44 = 0.7
g % -SF06-70 80 | 70 | 55 | 10 | 36 | 60 30 | 21|27 | 6 6 9 44 M5*0.8P 0.7
é g -SF08-70 80 | 70 | 55 | 10 | 36 | 60 30 | 21|27 | 8 6 9 44 M6*1.0P 0.7
2 /§|] -SF10-70 80 | 70 | 55 | 10 | 41 | 60 30 |24 32|10 6 9 44 M8*1.0P 0.7
a -SF12-70 80 | 70 | 55 | 10 | 46 | 60 30 |24 32|12 6 9 44 M10*1.0P 0.7

MODO070-SF05-75 85 | 75|60 | 10 | 36 | 70 35 |15 22| 5 7 |1 53 = 1

-SF06-75 85 | 75|60 | 10 | 36 | 70 35 | 21|27 | 6 7 |1 53 M5*0.8P 1

-SF08-75 85 | 75|60 | 10 | 36 | 70 35 | 21|27 | 8 7 | 1M 53 M6*1.0P 1

-SF10-75 85 | 75|60 | 10 | 41 | 70 35 124132110 7 |11 53 M8*1.0P 1

-SF12-75 85| 75|60 | 10 | 46 | 70 35 |24 132112 7 |11 53 M10*1.0P 1

-SF14-75 85| 75|60 | 10 | 46 | 70 35 |27 |34 14| 7 |11 53 M10*1.0P 1

-SF16-75 85 | 75| 60 | 10 | 49 | 70 35 |27 |34 16| 7 |11 53 M12*1.0P 1
MODO080-SF05-80 90 | 80 | 64 | 10 | 36 | 80 40 |15 22| 5 7 |1 63 = 1.4
-SF06-80 90 | 80 | 64 | 10 | 36 | 80 40 | 21 | 27 | 6 7 |1 63 M5*0.8P 1.4
-SF08-80 90 | 80 | 64 | 10 | 36 | 80 40 | 21 | 27 | 8 7 |1 63 M6*1.0P 1.4
-SF10-80 90 | 80 | 64 | 10 | 41 | 80 40 [ 24 32|10 | 7 |11 63 M8*1.0P 1.4
-SF12-80 90 | 80 | 64 | 10 | 46 | 80 40 |24 (32|12 7 |11 63 M10*1.0P 1.4
-SF14-80 90 | 80 | 64 | 10 | 46 | 80 40 | 27 (34|14 7 |1 63 M10*1.0P 1.4
-SF16-80 90 | 80 | 64 | 10 | 49 | 80 | 40 |27 |34 |16 | 7 |11 | 63 M12*1.0P 1.4
-SF18-80 90 | 80 | 64 | 10 | 49 | 80 | 40 |33 |42 |18 | 7 |11 | 63 M12*1.0P 1.4
-SF20-80 90 | 80 | 64 | 10 | 51 | 80 | 40 |33 |42 |20| 7 |11 | 63 M16*1.0P 1.4
MOD100-SF12-80 92 |80 | 62 | 10 | 46 |100| 50 |24 (32|12 9 (14| 79 M10*1.0P 2.3
-SF14-80 92 | 80 | 62| 10 | 46 | 100 | 50 |27 |34 |14 | 9 |14| 79 M10*1.0P 2.3
-SF16-80 92 | 80 | 62| 10|49 [ 100 | 50 |27 |34 |16 | 9 |14| 79 M12*1.0P 2.3
-SF18-80 92 | 80 | 62| 10|49 [ 100 | 50 | 33|42 18| 9 |14| 79 M12*1.0P 2.3
-SF20-80 92 | 80 | 62 | 10 | 51 [ 100 | 50 | 33|42 |20| 9 |14]| 79 M16*1.0P 2.3
-SF25-80 92 | 80 | 62 | 10|57 | 100| 50 |44 |53 |25| 9 |14]| 79 M16*1.0P 2.3
-SF32-80 92 | 80 | 62 | 10 | 61 [ 100 | 50 |44 |53 |32| 9 |14]| 79 M16*1.0P 2.3

A& ER:
@ L1 {¥E Length(L1)
JI¥FE 1 Diameter

IHEEXS Holder type

HEARAZ T, Taper size




BB TIFES

REEM RS

SBT B HE i THWER

SBT SPINDLE SYSTEM

® EEMURENEBMAL, %

I TS, 5 Y 7 I O i
MRS,

/

SBT JIWIEf L A:

® FEJIAGH
® SRt ESEYH!

\_

® REEMIRECEEMMIRIHEE

® iEE ATC BapiTINEERE
® SRMEFHY Z B mRTRE
o REEEMINEE

)

ANENTimEXERER! !

BINTMBNEEER, NI,

TIRERIIRN, 5FHmEAH/NER, @B
NERENA, THMESEREEY K, K
HREM S, B, BHIRGEEWGHAEIFEEE,

(&EE)
#40 800Kg 20um
#50 2000Kg 20pm

ERPIBERBSE, HABRTMPERREENETR. (&
AR ITAOHISEE)

SBT 774
| em
SBT 71/
SIS
T
v N
P @:@ 777777 )
‘ ? =

RIENFRE, EEERHANIMEME, @R BT
TN EAERRERNRHBER. MikEELA
SBT RAENEEERRIE=IMZ. FIt, SBT JIHR
MR T EE1858,

SBT50

BT30 §#4# | $31.75 46

1
$ 69. 85

BT40 $#47 | 044.45 $63

BT50 $#47 | $69.85 ¢100

“SBT 4 “5” SBT JJW “MIRIB4AS

SBT i BT i
+ +

TIRPRIGE B RS, HAaRTHLL MAS-BT MM iRk,

SBT THALETAS SBT 711K SBT £, TRAMREMERIER
HEEMIKIMEEE. SBT 7Rt aIfERRE M EMEHN BT 4, 85X
MR TEEREEMAIEE. AT RERBEUNLRIESE, BE
SBT 5 SBT 748, S4b, 5 SBT JJHRLLIMY G i E 11
JIiREY, AIBERIRGHR T, BIETR.

FEINAE SBT 34 SBT 74,

Y507 SBT FidhSEA SBT 714%A BT JJiR.

B TIR

48

CNCTOOLS

45
7
iz]
£

N
=

S31¥43S YIATOH 1001 LI INRIHS




HIZTIN

ci&c%ﬁs BT 5 FE 5

-BERH REFERENCE DETAILS
60°
L3 SN A
<€ > dé
L4 N 1 \v K
— 1 [ A
A
P——
N
sl 3l 1] IS
Y
|V v
a
A.
. L2 \'L‘ 5
% L1 D
= 45
8 7]
T
2 %ﬁ M Model
Z 51
a SBT30 46 31.75 | 56.14 | 38 12.5 16.1 8 70.4 | 48.4 34 24 21 1 M12*1.75P
SBT40 63 | 44.45|75.679| 53 17 16.1 10 92.4 65.4 43 30 26 1 M16*2.0P
SBT50 100 | 69.85(119.02| 83 25 25.7 15 [139.8 | 101.8 62 45 36.5 1.5 M24*3.0P
R

OHERE: <AT3

OEAME: JIS-SCM4A15 or IS SNCM220 or JIS SNCM439

OMEE: HRC56° ~58° BHFE >0.8mm

OERE: <0.8um

OXMEAAME: Ra<0.5um

OTIMAMKRTI BIMEE : BT V BUEZ IR H/K#ME (DIN-69871-AD+B)

© ER, EOC, FMA, FMB, MLC, MLD, MLT, SCK, SFC, SKS. SLN (DIN, FID, JIS) . SOM. TG BE&&: B JIHARMRD O H K
# (DIN-69871-AD)

O JIWMBEFIRIRERN T4 G6.3, TIBIMEEREZEITE G2.5

OA{AM5E: BIG-PLUS

Features:

© Taper tolerance<AT3

© Basic Material:JIS-SCM415

© Hardness>HRC 56° Carbon depth>0.8mm

© Roundness<0.8um

© Surface roughness:Ra<0.5um

© Ifitis suitable for center coolant standard(DIN-69871-AD or B),it can be ordered

© ER. EOC. FMA, FMB, MLC, MLD, MLT, SCK, SFC. SKS. SLN(DIN. FID. JIS). SOM. TG Are in compliance
with:Water through the chuck body center type(DIN-69871-AD)

© The shank has pre-balance at G6.3,and can provide percision balance at G2.5,made by request

© Shank body standard:BIG-PLUS



B TIR

48

BETHES e

-SBT-SLK # 45 E Gl 4% SBT-SLK SEMI-FINISHED SHRINK FIT CHUCK

Fic.1 SBT. NO 3°
pa
] - - - - Q -
J o
13 | L2
L1
L
F16.2
SBT. NO 3°
- - 1 - =) N | - - o
L4
13 L2
e
[ L1
L T
=
5 =
F16.3 'i‘r‘.:g
SBT.NO 3 g
)Jr—
I
M W i
o
i o T [ I B —— | - - A3
‘ T 5] &
=
o
L4
13 L5
L2
- L1
Bt #F Accessories 3

» P.J19

#M #& Model

SBT30-SLK12- 45 93.4 45 24 22 = = 40 = 38 1

SBT40-SLK12- 45 110.4 45 19 27 = = 40 = 38 1 115
- 75 140.4 75 49 27 = = 42.4 = 38 1 1.45
-135 200.4 | 135 109 27 89 = 47 = 38 2 2.2
-165 230.4 | 165 139 27 89 = 47 = 38 2 2.65
=200 265.4 | 200 174 27 89 145 47 52 38 3 3.25
=225 290.4 | 225 199 27 89 145 47 52 38 3

IS RA:

$Ll K E Length (L1)
JI#FE 1R Diameter
Ih&EfXS Holder type

HFRAZ I Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

-SBT50-SLK # 45 B it ik SBT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

FIG. 2

4
7]
Uiz]
#
5l

wv
I
=
=
~
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

B2 1§ Accessories

» P.J19

M #% Model L L1 L2 L3 L4 D D1 d FIG EE KGS
SBT50-SLK12- 75 176.8 75 38.5 38 = 41 = 38 1
-105 206.8 105 68.5 38 12 43 65 38 2
-135 236.8 135 98.5 38 12 46.5 65 38 2
-165 266.8 165 128.5 38 12 50 65 38 2
=225 326.8 225 188.5 38 12 56 65 38 2
=265 366.8 265 228.5 38 12 60 65 38 2
-315 416.8 315 278.5 38 12 65.5 65.5 38 2
R 5 ER:
?Ll K Length (L1)
JIFFE 1 Diameter
IEEfL S Holder type
T Taper size



B TIR

48

BETHES e

-BT-SLK #A 48 B it i% BT-SLK SEMI-FINISHED SHRINK FIT CHUCK

D
FIS T grio < 3
7 7 7 7 7 rﬁlv
13 [ L2
L1
L
FIG.2 D

P

7

"
I
=
=4
E
T

Fl6.3 %3
) D TR
BT. NO 3° W z
5
Az
_ T 1 51 8
1 - - - - " g”—|*’5 - - - - F o m
T \zkm L4
L3 L5
B2 # Accessories L2
L1
L

»P.J19

#M #& Model

BT30-SLK12- 45 93.4 45 23 22 = = 46 40 = 38 1

BT40-SLK12- 45 110.4 45 18 27 = = 63 40 = 38 1 115
- 75 140.4 75 48 27 = = 63 42.4 = 38 1 1.45
-135 200.4 | 135 108 27 89 = 63 47 = 38 2 2.2
-165 230.4 | 165 138 27 89 - 63 47 - 38 2 2.65
-200 265.4 | 200 173 27 89 145 63 47 52 38 3 3.25
=225 290.4 | 225 198 27 89 145 63 47 52 38 3 3.7

IS RA:

$Ll EE Length (L1)
JIFFE 1 Diameter
IHEEfLS Holder type

ARSI, Taper size




HIZTIN

ciﬁc%ﬁs BT 5 FE 5

-BT50-SLK # 45 E Gili 4% BT50-SLK SEMI-FINISHED SHRINK FIT CHUCK

D
2

FlG.1

L3 L2
L1

L

FIG. 2 BT50

L4
L3 [ L2

L1

§ |
o

4
7]
Uiz]
#
5l

”E'S

wv
=
=
=
~
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

1

L2

L1

Bt % Accessories

»P.J19

# #% Model
BT50-SLK12- 75 176.8 75 37 38 = 100 41 = 38 1
-105 206.8 105 67 38 12 100 43 65 38 2
-135 236.8 135 97 38 12 100 46.5 65 38 2
-165 266.8 165 127 38 12 100 50 65 38 2
-200 301.8 200 162 38 12 100 53.5 65 38 2
-225 326.8 225 187 38 12 100 56 65 38 2
-265 366.8 265 227 38 12 100 60 65 38 2
-315 416.8 315 277 38 12 100 65.5 65.5 38 2
FA& 5 ER:

? ?Ll KE Length (L1)
[0 A/)\ Connection size

THEELE Holder type
EFRAZ I Taper size



B TIR

48

BETHES e

‘CR #AYEIEI<HF (#REER)  CRHEAT SHRINKABLE EXTENSION ROD (STANDARD)

FIG. 1 ) 3

M1o*1.5"7u'/ -

¢ 26!

L4

L3

3°
FIG. 2 §—/ £

M10%1.5 | NI R
eL Y
=
2
L3] Az
L7 48 3
TR
L2 W% '5
L1 o
L Hl g
R 2id ESafety sign #50
| Thickness
L Do}
7 BRERBKE
L5 Minimum clamping length
TIERXBAKE
L6 Maximum insertion depth

# 1& Model d FIG

CR12- 3- 35 80 35 22 3.5 9.5 12 = = 7.5 9.9 3 2.25 1 0.2
- 55 100 55 42 3.5 9.5 12 = = 7.5 12 3 2.25 1 0.2

- 80 125 80 67 3.5 9.5 12 = = 7.5 14.6 3 2.25 1 0.2

- 4- 35 80 35 22 3.5 9.5 16 = = 10 12.4 4 3 1 0.2
- 55 100 55 42 3.5 9.5 16 - - 10 14.5 4 3 1 0.2

- 80 125 80 67 3.5 9.5 16 = = 10 171 4 3 1 0.2
=110 155 110 97 3.5 9.5 16 - - 10 20.2 4 3 1 0.25

- 5- 35 80 35 22 3.5 9.5 18 = = 11 13.3 5 3 1 0.2
- 55 100 55 42 3.5 9.5 18 = = 11 15.4 5 3 1 0.2

- 80 125 80 67 3.5 9.5 18 = = 11 18.1 5 3 1 0.2
=110 155 110 97 3.5 9.5 18 = = 11 21.2 5 3 1 0.25

- 6- 35 80 35 22 3.5 9.5 23 = = 12 14.4 6 3 1 0.2
- 55 100 55 42 3.5 9.5 23 = = 12 16.5 6 3 1 0.2

- 80 125 80 67 3.5 9.5 23 - - 12 19.1 6 3 1 0.2
-110 155 110 97 3.5 9.5 23 = = 12 22.2 6 3 1 0.25

- 8- 35 80 35 22 3.5 9.5 27 = = 14 16.4 8 3 1 0.2
- 55 100 55 42 3.5 9.5 27 = = 14 18.5 8 3 1 0.2

- 80 125 80 67 3.5 9.5 27 = = 14 21.1 8 3 1 0.3
=110 155 110 97 3.5 9.5 27 - - 14 24.2 8 3 1 0.35
-10- 35 80 35 22 3.5 9.5 32 42 = 16 18.4 10 3 1 0.2
- 55 100 55 42 3.5 9.5 32 42 - 16 20.5 10 3 1 0.2

- 80 125 80 67 3.5 9.5 32 42 = 16 23.1 10 3 1 0.3
=110 155 110 97 3.5 9.5 32 42 86 16 251 10 3 2 0.35
-12- 35 80 35 22 3.5 9.5 37 48 = 20 22.4 12 4 1 0.2
- 55 100 55 42 3.5 9.5 37 48 = 20 24.5 12 4 1 0.2

- 80 125 80 67 3.5 9.5 37 48 48 20 25.5 12 4 2 0.3
-110 155 110 97 3.5 9.5 37 48 48 20 25.1 12 4 2 0.35




HIZTIN

c?%(%%s BT 5 FE 5

-CS AYETEIHF (FEEEER)  CS HEAT SHRINKABLE EXTENSION ROD (THIN WALL STYLE)

FIG.1 ) 3°
M10%1.5 711/“ 9|2 le
=
L5
L4 L2
L3 " L1
L
N _ 5
" e
B || zzems pay s ne I D N
M10%1. 5 Q/“ 3| s 40
-e-r. Y
Z£idSSafety sign L5
220
Thickness L3 ‘ﬂ’ L6
| f 4 = : L7
5 W_M L2
= #" RERFKE L1
z ff% L5 Minimum clamping length
3 j] TIEBRKBAKE t
E m L6 Maximum insertion depth
o
5 5 # 1% Model L L1 L2 L3 L4 L5 L6 L7 ) D1 d t FIG =& KGS
& CS12- 3- 35 80 35 22 3.5 9.5 12 - - 6 8.4 3 1.5 1 0.2
- 55 100 55 42 3.5 9.5 12 - - 6 10.5 3 1.5 1 0.2
- 80 125 80 67 3.5 9.5 12 - - 6 13.1 3 1.5 1 0.2
-110 155 110 97 3.5 9.5 12 - - 6 16.2 3 1.5 1 0.25
- 4- 35 80 35 22 3.5 9.5 16 - - 7 9.4 4 1.5 1 0.2
- 55 100 55 42 3.5 9.5 16 - - 7 11.5 4 1.5 1 0.2
- 80 125 80 67 3.5 9.5 16 - - 7 141 4 1.5 1 0.2
-110 155 110 97 3.5 9.5 16 - - 7 17.2 4 1.5 1 0.25
- 5- 35 80 35 22 3.5 9.5 18 - - 8 10.4 5 1.5 1 0.2
- 55 100 55 42 3.5 9.5 18 - - 8 12.5 5 1.5 1 0.2
- 80 125 80 67 3.5 9.5 18 - - 8 15.1 5 1.5 1 0.2
-110 155 110 97 3.5 9.5 18 - - 8 18.2 5 1.5 1 0.25
- 6- 35 80 35 22 3.5 9.5 23 - - 9 11.4 6 1.5 1 0.2
- 55 100 55 42 3.5 9.5 23 - - 9 13.5 6 1.5 1 0.2
- 80 125 80 67 3.5 9.5 23 - - 9 16.1 6 1.5 1 0.2
-110 155 110 97 3.5 9.5 23 - - 9 19.2 6 1.5 1 0.25
- 7- 35 80 35 22 3.5 9.5 25 = = 10 12.4 7 1.5 1 0.2
- 55 100 55 42 3.5 9.5 25 - - 10 14.5 7 1.5 1 0.2
- 80 125 80 67 3.5 9.5 25 - - 10 171 7 1.5 1 0.2
=110 155 110 97 3.5 9.5 25 - - 10 20.2 7 1.5 1 0.25
- 8- 35 80 35 22 3.5 9.5 27 = = 11 13.4 8 1.5 1 0.2
- 55 100 55 42 3.5 9.5 27 - - 11 15.5 8 1.5 1 0.2
- 80 125 80 67 3.5 9.5 27 - - 11 18.1 8 1.5 1 0.2
=110 155 110 97 3.5 9.5 27 - - 11 21.2 8 1.5 1 0.25
- 9- 35 80 35 22 3.5 9.5 29 42 = 12 14.4 9 1.5 1 0.2
- 55 100 55 42 3.5 9.5 29 42 - 12 16.5 9 1.5 1 0.2
- 80 125 80 67 3.5 9.5 29 42 - 12 19.1 9 1.5 1 0.2
=110 155 110 97 3.5 9.5 29 42 - 12 22.2 9 1.5 1 0.25
-10- 35 80 35 22 3.5 9.5 32 42 - 13 15.4 10 1.5 1 0.2
- 55 100 55 42 3.5 9.5 32 42 - 13 17.5 10 1.5 1 0.2
- 80 125 80 67 3.5 9.5 32 42 - 13 20.1 10 1.5 1 0.2
-110 155 110 97 3.5 9.5 32 42 - 13 23.2 10 1.5 1 0.25
-11- 35 80 35 22 3.5 9.5 34 44 - 14 16.4 11 1.5 1 0.2
- 55 100 55 42 3.5 9.5 34 44 - 14 18.5 11 1.5 1 0.2
- 80 125 80 67 3.5 9.5 34 44 - 14 211 11 1.5 1 0.2
-110 155 110 97 3.5 9.5 34 44 - 14 24.2 11 1.5 1 0.25
-12- 35 80 35 22 3.5 9.5 37 48 - 15 17.4 12 1.5 1 0.2
- 55 100 55 42 3.5 9.5 37 48 - 15 19.5 12 1.5 1 0.2
- 80 125 80 67 3.5 9.5 37 48 - 15 2211 12 1.5 1 0.2
-110 155 110 97 3.5 9.5 37 48 95 15 25 12 1.5 2 0.25




B TIR

48

BETTHEI e

-BT30-SF 45 J14R (4.5 EARERY)  Br30-5F SHRINKFITTOOL HOLDER (4.5° STANDARD VERSION)

FIG.1
BT. NO

ofal a

FIG. 2

2

s 2

Be

%= 2

5

L o

# ¥ Model L L1 L2 L3 L4 D D1 D2 o] R FIG = KGS
BT30-SF03- 80 128.4 80 58 22 12 46 12 17 3 5 1 0.6
-SF04- 80 128.4 80 58 22 16 46 12 17 4 5 1 0.6
-120 168.4 120 98 22 16 46 12 20 4 5 2 0.7
-SFO5- 80 128.4 80 58 22 18 46 12 17 5 5 1 0.6
-120 168.4 120 98 22 18 46 12 20 5 5 2 0.7
FA& 5 ER:

@ L1 4 Length (L1)
JIHFE1Z Diameter
I58

BE{X S Holder type
HARTAZ I, Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT30-SF 451 (4.5 EtRER)

1%
I
=
2
o
S 45
87
8
T
3
5%
el
§§|J
a

BT30-SF SHRINK FIT TOOL HOLDER (4.5 ° STANDARD VERSION)

FIG. 1

BT. NO

FIG. 2

# # Model d R FIG ZEZKGS
BT30-SF06- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 3 1 0.7
-120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 6 M5*0.8P M6*1.0P 5 2 0.9
-SF08- 80 128.4 | 80 | 58 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 3 1 0.7
-120 168.4 |120| 98 | 22 | 26 | 36 | 46 | 21 | 27 | 8 M6*1.0P M6*1.0P 5 2 0.9
-SF10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 | 24 | 32| 10 M8*1.0P M6*1.0P 1 1 0.8
-120 168.4 |120| 98 | 22 | 32 | 42 | 46 | 24 | 32 | 10 M8*1.0P M6*1.0P 4 2 1.1
-SF12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 1 1 0.8
-120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 24 | 32 | 12 | M10*1.0P M6*1.0P 4 2 1.1
-SF14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 1 1 0.8
=120 168.4 [120| 98 | 22 | 37 | 47 | 46 | 27 | 34 | 14 | M10*1.0P M6*1.0P 3 2 1.1
=-SF16- 90 138.4 | 90 | 68 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 1 1 0.8
=120 168.4 [120| 98 | 22 | 40 | 50 | 46 | 27 | 34 | 16 | M12*1.0P M6*1.0P 3 2 1.1
-SF18- 90 138.4 | 90 | 68 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 1 1
=120 168.4 [120| 98 | 22 | 40 | 50 | 46 | 33 | 42 | 18 | M12*1.0P M6*1.0P 1 2 1.5
-SF20- 90 138.4 | 90 | 68 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 1 1
=120 168.4 |120| 98 | 22 | 42 | 52 | 46 | 33 | 42 | 20 | M16*1.0P M6*1.0P 1 2 1.5
A% RE:
$Ll KE Length (L1)
JIFFE 1R Diameter
IhgEfXS Holder type
$HEFRTZ T Taper size



B TIR

48

BETHES e

-BT40-SF 45 J14R (4.5 EHRERY)  8140-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FI1G. 1
BT. NO iy

L4

) /7 e
p— - | 5 [oala
—
L2
L
FI1G. 2
L4
= g
]
el A A
e
L2 g 2
L1 Hl g
L o
# ¥ Model L L1 L2 L3 L4 D D1 D2 o] R FIG = KGS
BT40-SF03- 90 155.4 90 63 27 12 63 12 17 3 5 1 1.1
-120 185.4 120 93 27 12 63 12 20 3 5 2 1.2
-160 225.4 160 133 27 12 63 12 20 3 5 2 1.3
-SF04- 90 155.4 90 63 27 16 63 12 17 4 5 1 1.1
-120 185.4 120 93 27 16 63 12 22 4 5 2 1.2
-160 225.4 160 133 27 16 63 12 22 4 5 2 1.3
=-SF05- 90 155.4 90 63 27 18 63 12 17 5 5 1 1.1
=120 185.4 120 93 27 18 63 12 22 5 5 2 1.2
=160 225.4 160 133 27 18 63 12 22 5 5 2 1.3
M H:
BT40SFE03E @
L1 4E Length (L1)
JIFFE 1 Diameter
IngERS Holder type

HHHRAZ T Taper size




HIZTIN

ﬁ%ﬁ BT 5 FE 5

-BT40-SF 45 J14R (4.5 EARERY)  8140-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

F1G.1

FIG. 3

#
4
7]
Uiz]
#
5l

L5
L4

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

L4

= —| N
= oi5|a
~

M % Model L L1 L2 L3 14 L5 L6 D DI D2 D3 d T T1 R FIG =& KGS

BT40-SF06- 90 | 1554 |90 | 63 | 27 | 26 | 36 | - |63 |21 |27 | - | 6 | M5*0.8P | M6*1.0P | 5 | 1 1.2
=120 | 1854 |120| 93 | 27 [ 26 | 36 | - |63 (21|27 | - | 6 | M5*0.8P | M6*1.0P | 10 | 2 1.5

-160 | 225.4 |160|133| 27 | 26 | 36 | 78 |63 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 1.8

-200 | 265.4 |200|173| 27 | 26 | 36 (11863 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.2

-250 | 315.4 |250|223| 27 | 26 | 36 |168| 63 | 21 | 27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.6
-SF08- 90 | 1554 |90 | 63 | 27 | 26 |36 | - |63 |21 |27 | - | 8 | M6*1.0P | M6*1.0P | 5 | 1 1.2
-120 | 185.4 |120| 93 | 27 | 26 |36 | - |63 |21 |27 | - | 8 | M6*1.0OP | M6*1.0P | 10 | 2 1.5

-160 | 225.4 |160|133| 27 | 26 | 36 | 78 | 63 |21 |27 |41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 1.8

-200 | 265.4 |200|173| 27 | 26 | 36 (11863 | 21 |27 |41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.2

-250 | 315.4 |250|223| 27 | 26 | 36 [168]| 63 |21 |27 |41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.6
=SF10- 90 | 1554 |90 | 63 |27 |32 |42 | - |63 |24|32| - |10 | M8*1.0P | M6*1.0P | 2 | 1 1.3
=120 | 1854 |120| 93 | 27 (32 |42 | - |63 (24|32 | - | 10| M8*1.0P | M6*1.0P | 10 | 2 1.6

-160 | 225.4 |160|133| 27 | 32 | 42 | 78 |63 |24 |32 |40 | 10| M8*1.0P | M6*1.0P | 5 | 3 1.9

-200 | 265.4 |200|173| 27 | 32 | 42 [118| 63 |24 |32 |40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 2.3

-250 | 315.4 |1250|223| 27 | 32 | 42 |168]| 63 |24 |32 |40 | 10| M8*1.0P | M6*1.0P | 5 | 3 2.7
-SF12- 90 | 1554 |90 | 63 |27 |37 |47 | - |63 |24 32| - |12 | M10*1.OP | M6*1.0P | 2 | 1 1.3
-120 | 185.4|120| 93 | 27 |37 |47 | - |63 |24 |32 | - | 12| M10*1.0P | M6*1.0P |10 | 2 1.6

-160 | 225.4 |160|133| 27 | 37 | 47 | 78 |63 |24 |32 |40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 1.9

-200 | 265.4 | 200|173 | 27 | 37 | 47 (118 63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.3

-250 | 315.4 |250|223| 27 | 37 | 47 |168| 63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.7
-SF14- 90 | 1554 |90 | 63 |27 |37 |48 | - |63 |27 34| - |14 | M10*1.0P | M6*1.0P | 4 | 1 1.3
=120 | 185.4 |120| 93 | 27 (37 |47 | - |63 |27 |34 | - | 14| M10*1.0P | M6*1.0P | 10 | 2 1.6

-160 | 225.4 |160|133| 27 | 37 | 47 | 78 | 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 1.9

-200 | 265.4 200|173 | 27 | 37 | 47 |118| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 2.3

-250 | 315.4 | 250223 | 27 | 37 | 47 |168| 63 | 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 2.7

M EER:

BT40BNSFEN06 B @
L1 4 Length(L1)
JI#FE 1] Diameter
I

BEfLS Holder type
HARAZ I Taper size



B TIR

48

BETHES e

-BT40-SF 45 J14R (4.5 EHRERY)  8140-5F SHRINK FITTOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1

ol &8

FIG. 2

FIG.3

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

#M # Model FIG == KGS

BT40-SF16- 90 155.4 | 90 | 63 | 27 | 40 | 50 | - | 63|27 |34 | - | 16 | M12*1.0P | M6*1.0P 3 1 1.3
=120 185.4 {120| 93 | 27 | 40 | 50 - | 63|27 |34 | - 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6

=160 225.4 1160|133 | 27 | 40 | 50 | 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 3 1.9

=200 265.4 1200|173 | 27 | 40 | 50 [118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 3 2.3

=250 315.4 | 250(223| 27 | 40 | 50 |168| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P 3 2.7

-SF18- 90 1554 (90 | 63 | 27 | 40 | 50 | - | 63 | 33| 41 - | 18 | M12*1.0P | M6*1.0P 2 1 1.4
=120 185.4 [120| 93 | 27 | 40 | 50 | - | 63|33 |42 | - | 18 | M12*1.0P | M6*1.0P 5 2 1.8

=160 225.41160(133| 27 | 40 | 50 | - [ 63|33 |42 | - | 18 | M12*1.0P | M6*1.0P 5 2 2.1

=200 265.4 |1200(173| 27 | 40 | 50 | - |63 |33 |42 | - | 18 | M12*1.0P | M6*1.0P 5 2 2.4

=250 315.4 |250(223| 27 | 40 | 50 | - |63 |33 |42 | - | 18 | M12*1.0P | M6*1.0P 2 2.8

-SF20- 90 155.4 | 90 | 63 | 27 | 42 | 50 | - | 63 | 33 | 41 - | 20 | M16*1.0P | M6*1.0P 2 1 1.4
=120 185.4 [120| 93 | 27 | 42 | 50 | - | 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 1.8

=160 225.41160(133| 27 | 42 | 50 | - [ 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 2.1

=200 265.4 |1200(173| 27 | 42 | 50 | - [ 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P 5 2 2.4

-250 315.4 |250(223| 27 | 42 | 52 | - |63 |33 |42| - | 20 | M16*1.0P | M6*1.0P 2 2.8
-SF25-100 155.4 | 90 | 63 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 1 2.1
-120 185.4 [120| 93 | 27 | 48 | 58 | - | 63|44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 2 2.3

=160 225.41160(133| 27 | 48 | 58 | - | 63 |44 |53 | - | 25| M16*1.0P | M6*1.0P 2 2 2.6

=200 265.4 | 200|173 | 27 | 48 | 58 - | 63|44 |53| - | 25| M16*1.0P | M6*1.0P 2 2 3.1

=250 315.4 | 250(223| 27 | 48 | 58 | - | 63 |44 |53 | - | 25 | M16*1.0P | M6*1.0P 2 3.6
=-SF32-100 155.4 |90 | 63 | 27 | 52 | 62| - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 1 2.1
=120 185.4 ({120 93 | 27 | 52 | 62| - | 63|44 |53 | - | 32| M16*1.0P | M6*1.0P 2 2 2.3

=160 2254 1160|133 27 | 52 | 62 | - | 63|44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 2 2.6

=200 265.4 1200|173 27 | 52 | 62 | - [ 63|44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 2 3.1

=250 315.4 |250(223| 27 | 52 | 62 | - |63 |44 |53 | - | 32 | M16*1.0P | M6*1.0P 2 3.6

A& ER:
BT40BISFEN16 B @
L1 ¥ Length(L1)
JIHFE1Z Diameter
INEEHS Holder type

HIRZ I Taper size




HIZTIN

ciﬁc%ﬁs BT 5 FE 5

-BT50-SF #4571 (4.5 EfRER)

BT50-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FI1G. 1

D

2 -
)
L2
L3 X
FlG.2 D
BT.NO
= % WA T Nz e
3 éfﬁ ] ]uz ool
7 &
1 —
% 2l
7 L3 o L2
L
# ¥ Model L L1 L2 L3 L4 D D1 D2 d R FIG E= KGS
BT50-SF03-100 201.8 | 100 62 38 12 100 12 17 3 10 1 3.7
=120 221.8 | 120 82 38 12 100 12 20 3 10 2 3.9
=160 261.8 | 160 122 38 12 100 12 20 3 10 2 4.2
=-SF04-100 201.8 | 100 62 38 16 100 12 17 4 10 1 3.7
=120 221.8 | 120 82 38 16 100 15 22 4 10 2 3.9
=160 261.8 | 160 122 38 16 100 15 22 4 10 2 4.2
-SF05-100 201.8 | 100 62 38 18 100 12 17 5 10 1 3.7
=120 221.8 | 120 82 38 18 100 15 22 5 10 2 3.9
-160 261.8 | 160 122 38 18 100 15 22 5 10 2 4.2
A& ER:
le K E Length (L1)
JIFE & Diameter
IhEERXS Holder type
AT, Taper size



B TIR

48

BETHES e

-BT50-SF 45 JJ4R (4.5 EHRMERL)  5750-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FIG. 1 D

NS s
S31¥43S YIATOH 1001 LI INRIHS

# #& Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG E= KGS
BT50-SF06-100 201.8 [100| 62 | 38 | 26 | 36 | - |100| 21 | 27 | - 6 M5*0.8P M6*1.0P 1 3.7
-120 221.8 [120| 82 | 38 | 26 | 36 | - [100| 21 | 27 | - 6 M5*0.8P M6*1.0P 2 3.9
-160 2618 [ 160|122 38 | 26 | 36 | 78 [100| 21 | 27 | 41 | 6 M5*0.8P M6*1.0P 3 4.2
-200 301.8 | 200|162 | 38 | 26 | 36 |118|100| 21 | 27 | 41| 6 | M5*0.8P | M6*1.0P | 3 5.8
-250 351.8 | 250|212 | 38 | 26 | 36 |168|100| 21 | 27 | 41| 6 | M5*0.8P | M6*1.0P | 3 7.4
-SF08-100 201.8 |100| 62 | 38 | 26 | 36 | - |100| 21|27 | - | 8 | M6*1.0P | M6*1.0P | 1 3.8
-120 221.8 (120 82 | 38 | 26 | 36 | - |100| 21 | 27 | - 8 M6*1.0P M6*1.0P 2 3.9
-160 2618 [160(122| 38 | 26 | 36 | 78 |100| 21 | 27 | 41 | 8 M6*1.0P M6*1.0P 3 4.2
-200 301.8 (200|162 | 38 | 26 | 36 |118|100| 21 | 27 | 41 | 8 M6*1.0P M6*1.0P 3 5.8
-250 351.8 (250|212 | 38 | 26 | 36 |168|100| 21 | 27 | 41 | 8 M6*1.0P M6*1.0P 3 7.4
-SF10-100 201.8 |100| 62 | 38 | 32 | 42 | - |100| 24 | 32| - | 10 | M8*1.0P M6*1.0P 1 3.9
-120 221.8 |120| 82 | 38 | 32 | 42 | - |100{ 24 | 32| - | 10 | M8*1.0P M6*1.0P 2 4.1
-160 2618 | 160|122 | 38 | 32 | 42 | 78 |100| 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P 3 4.3
-200 301.8 {200 162| 38 | 32 | 42 [118|100| 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P 3 5.9
-250 351.8 {250 (212 | 38 | 32 | 42 |168|100| 24 | 32 | 40 | 10 | M8*1.0P M6*1.0P 3 7.5
-SF12-100 201.8 |100| 62 | 38 | 37 | 47 | - |100| 24 | 32| - | 12 | M10*1.0P | M6*1.0P 1 3.9
=120 221.8 |120| 82 | 38 | 37 | 47 | - |100{ 24 | 32| - | 12 | M10*1.0P | M6*1.0P 2 4.1
=160 2618 |160|122| 38 | 37 | 47 | 78 |100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P 3 4.3
=200 301.8 {200 (162 | 38 | 37 | 47 |118|100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P 3 5.9
-250 351.8 | 250|212 | 38 | 37 | 47 |168(100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P 3 7.5
-SF14-100 201.8 |100| 62 | 38 | 37 | 47 | - [(100| 27 | 34 | - | 14 | M10*1.0P | M6*1.0P 1 3.9
=120 221.8 [120| 82 | 38 | 37 | 47 | - |100| 27 | 34| - | 14 | M10*1.0P | M6*1.0P 2 41
-160 2618 | 160|122 38 | 37 | 47 | 78 |100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 3 4.3
-200 301.8 | 200|162 | 38 | 37 | 47 |118|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 5.9
-250 351.8 | 250|212 | 38 | 37 | 47 |168|100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P 3 7.5
A% RA:
le K[ Length(L1)
JI#FE4Z Diameter
InkEfXS Holder type
SARAZ I Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT50-SF #4571 (4.5 EfRER)

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

BT50-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

FI1G.1

D

|

L5

L4

45°

73

T

#M & Model L L1 L2 L3 L4 L5 L6 D DI D2 D3 d T T1 FIG ZF& KGS

BT50-SF16-100 201.8 |100| 62 | 38 | 40 | 50 | - |100| 27 | 34| - | 16 | M12*1.0P | M6*1.0P | 1 3.9
=120 221.8 (120 82 | 38 | 40 | 50 - |100( 27 | 34| - |16 | M12*1.0P | M6*1.0P 2 41

-160 2618 | 160|122 | 38 | 40 | 50 | 78 |100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 4.3

-200 301.8 | 200|162 | 38 | 40 | 50 [118|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 5.9

=250 351.8 | 250 (212| 38 | 40 | 50 [168|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 7.5
-SF18-100 201.8 |100| 62 | 38 | 40 | 50 | - |100| 33 | 42| - | 18 | M12*1.0P | M6*1.0P | 1 4.1
=120 221.8 |120| 82 | 38 | 40 | 50 | - |100| 33 |42 | - | 18 | M12*1.0P | M6*1.0P | 2 4.2

-160 2618 | 160|122 | 38 | 40 | 50 | 78 |100| 33 | 42 18 | M12*1.0P | M6*1.0P | 3 4.4

-200 301.8 {200 (162 | 38 | 40 | 50 [118|100| 33 | 42 18 | M12*1.0P | M6*1.0P | 3 6.1

-250 351.8 [ 250|212 | 38 | 40 | 50 [168|100| 33 | 42 18 | M12*1.0P | M6*1.0P | 3 7.8
-SF20-100 201.8 |100| 62 | 38 | 42 | 52 | - |100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P | 1 4.1
-120 221.8 |120| 82 | 38 | 42 | 52 | - |100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P | 2 4.2

-160 2618 | 160|122 | 38 | 42 | 52 | 78 |100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 4.4

-200 301.8 {200 |162| 38 | 42 | 52 [118|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 6.1

=250 351.8 |250(212| 38 | 42 | 52 [168|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 3 7.8
=-SF25-110 211.8 [110| 72 | 38 | 48 | 58 - |100| 44 | 53| - | 25| M16*1.0P | M6*1.0P 1 4.5
=120 221.8 [120| 82 | 38 | 48 | 58 - |100| 44 | 53| - [ 25| M16*1.0P | M6*1.0P 2 4.7

-160 2618 | 160|122 | 38 | 48 | 58 | 78 |100| 44 | 53 25 | M16*1.0P | M6*1.0P | 3 5.1

-200 301.8 |200 (162 | 38 | 48 | 58 [118|100| 44 | 53 25 | M16*1.0P | M6*1.0P | 3 6.1

=250 351.8 | 250 (212 | 38 | 48 | 58 |168|100| 44 | 53 25 | M16*1.0P | M6*1.0P | 3 7.8
-SF32-110 211.8 |110| 72 | 38 | 52 | 62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P | 1 4.5
-120 221.8 |120| 82 | 38 | 52 | 62 | - |100| 44 | 53| - | 32 | M16*1.0P | M6*1.0P | 2 4.7

-160 2618 | 160|122 | 38 | 52 | 62 | 78 |100| 44 | 53 32 | M16*1.0P | M6*1.0P | 3 5.1

-200 301.8 [200 (162 | 38 | 52 | 62 [118|100| 44 | 53 32 | M16*1.0P | M6*1.0P | 3 6.1

=250 351.8 |250|212| 38 | 52 | 62 |168|100| 44 | 53 32 | M16*1.0P | M6*1.0P | 3 7.8

FAS 5L RE:
? L1 ¥ Length(L1)
JIFFE 1 Diameter
BE1LS Holder type
%&*ﬁﬁ,iﬁ Taper size




-BT30-SFS A4 (3 EHEKE)

RETT RS

BT30-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG.1
BT.NO

]

FI1G.2
BT. NO

B TIR

48

CNCTOOLS

L2

d
D1

L1

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

# 4% Model d RKEIR FIG E= KGS

BT30-SFS03- 80 128.4 | 80 | 58 | 22 | 12 - 46 | 7 13 3 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 12 = 46 7 17 3 = 5 2 0.9
-SFS04- 80 128.4 | 80 | 58 | 22 | 16 - 46 | 8 14 | 4 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 16 - 46 8 18 4 - 5 2 0.9
-SFS05- 80 128.4 | 80 | 58 | 22 | 18 - 46 | 9 15 5 - 5 1 0.6
=120 168.4 | 120 | 98 | 22 18 - 46 9 19 5 - 5 2 0.9
-SFS06- 80 128.4 | 80 | 58 | 22 | 26 36 | 46 10 16 6 M5*0.8P 5 1 0.7

=120 168.4 | 120 | 98 | 22 | 26 36 | 46 10 | 20 6 M5*0.8P 5 2 1
-SFS08- 80 128.4 | 80 | 58 | 22 | 26 36 | 46 12 16 8 M6*1.0P 5 1 0.7

=120 168.4 | 120 | 98 | 22 | 26 36 | 46 12 | 20 8 M6*1.0P 5 2 1
-SFS10- 80 128.4 | 80 | 58 | 22 | 32 | 42 | 46 14 16 10 M8*1.0P 5 1 0.8
=120 168.4 | 120 | 98 | 22 | 32 | 42 | 46 14 | 20 10 M8*1.0P 5 2 1.1
-SFS12- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 16 | 22 12 | M10*1.0P 5 1 0.8
-120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 16 | 26 12 | M10*1.0P 5 2 1.1

- SFS14- 80 128.4 | 80 | 58 | 22 | 37 | 47 | 46 18 | 24 14 | M10*1.0P 5 1 1
-120 168.4 | 120 | 98 | 22 | 37 | 47 | 46 18 | 28 14 | M10*1.0P 5 2 1.2
-SFS16- 80 128.4 | 80 | 58 | 22 | 40 | 50 | 46 | 22 | 28 16 | M12*1.0P 5 1 1
=120 168.4 | 120 | 98 | 22 | 40 | 50 | 46 | 22 | 31 16 | M12*1.0P 5 2 1.2

AL e
@ L1 & E Length(L1)
JIFFE1Z Diameter
INEEX S Holder type

S$HARAZ T\, Taper size




HIZTIN

ci%c%f‘s BT 5 FE 5

-BT40-SFS #A4EJIH (3 EHIKE!)  B740-SFS SHRINK CHUCK (3° C SLENDER TYPE)

= 45
27
]
g % # % Model d RAEI FIG =8 KGS
g BT40-SFS03- 90 1554 | 90 | 63 | 27 | 12 | 63 9 15 3 10 1 1
“ -120 185.4 | 120 | 93 | 27 | 12 | 63 9 16 3 10 2 17
-160 2254 | 160 | 133 | 27 | 12 | 63 9 19 3 10 2 12
-200 2654 | 200 | 173 | 27 | 12 | 63 9 22 3 10 2 12
-SFS04- 90 1554 | 90 | 63 | 27 | 16 | 63 | 10 | 16 4 10 1 1
-120 1854 | 120 | 93 | 27 | 16 | 63 | 10 | 17 4 10 2 11
-160 2254 | 160 | 133 | 27 | 16 | 63 | 10 | 20 4 10 2 12
-200 2654 | 200 | 173 | 27 | 16 | 63 | 10 | 23 4 10 2 13
-SFS05- 90 1554 | 90 | 63 | 27 | 18 | 63 | 11 17 5 10 1 11
=120 1854 | 120 | 93 | 27 | 18 | 63 | 11 18 5 10 2 11
-160 2254 | 160 | 133 | 27 | 18 | 63 | 11 | 21 5 10 2 1.2
-200 2654 | 200 | 173 | 27 | 18 | 63 | 11 | 24 5 10 2 13
g EE:

g - - [ - @
L1 & Length(L1)
JIFFE 1R Diameter
b5}

BE{X S Holder type
HFRAZ T Taper size



B TIR

48

BETHES e

-BT40-SFS #A4EJIH (3 EHIKE!)  B740-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG.1

FI1G.2
BT.NO
LS
L4

L2

L1

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

#M 4% Model d RAEI FIG == KGS

BT40-SFS06- 90 1554 | 90 | 63 | 27 | 26 | 36 | 63 | 12 | 18 | 6 M5*0.8P 10 1 1.1
-120 185.4 | 120| 93 | 27 | 26 | 36 | 63 | 12 | 21 6 M5*0.8P 10 2 1.1

-160 2254 | 160133 | 27 | 26 | 36 | 63 | 12 | 24 | 6 M5*0.8P 10 2 1.2

-200 2654 | 200173 | 27 | 26 | 36 | 63 | 12 | 27 | 6 M5*0.8P 10 2 13

-250 3154 | 250|223 | 27 | 26 | 36 | 63 | 12 6 M5*0.8P 10 2 1.4

-SFS08- 90 1554 | 90 | 63 | 27 | 26 | 36 | 63 | 14 | 20 | 8 M6*1.0P 10 1 1.1
-120 1854 [ 120 93 | 27 | 26 | 36 | 63 | 14 | 23 | 8 M6*1.0P 10 2 1.2

-160 2254 160133 | 27 | 26 | 36 | 63 | 14 | 26 | 8 M6*1.0P 10 2 1.3

-200 2654 |200(173| 27 | 26 | 36 | 63 | 14 | 29 | 8 M6*1.0P 10 2 1.4

-250 315.4 | 250|223 | 27 | 26 | 36 | 63 | 14 8 M6*1.0P 10 2 1.5

-SFS10- 90 1554 | 90 | 63 | 27 | 32 | 42 | 63 | 16 | 22 | 10 M8*1.0P 10 1 1.1
-120 185.4 | 120| 93 | 27 | 32 | 42 | 63 | 16 | 25 | 10 M8*1.0P 10 2 1.2

-160 2254 | 160|133 | 27 | 32 | 42 | 63 | 16 | 28 | 10 M8*1.0P 10 2 1.3

-200 2654 | 200173 | 27 | 32 | 42 | 63 | 16 | 31 | 10 M8*1.0P 10 2 1.5

-250 315.4 | 250|223 | 27 | 32 | 42 | 63 | 16 10 M8*1.0P 10 2 1.7

-SFS12- 90 155.4 | 90 | 63 | 27 | 37 | 47 | 63 | 18 | 24 | 12 | M10*1.0P 10 1 1.1
-120 185.4 | 120 | 93 | 27 | 37 | 47 | 63 | 18 | 27 | 12 | M10*1.0P 10 2 1.2

-160 2254 160|133 | 27 | 37 | 47 | 63 | 18 | 30 | 12 | M10*1.0P 10 2 1.4

-200 265.4 (200|173 | 27 | 37 | 47 | 63 | 18 | 33 | 12 | M10*1.0P 10 2 1.6

-250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 18 12 | M10*1.0P 10 2 1.8

MR EER:

BT40)F -8 - %ﬂ
L1 4€EE Length (L1)
JIFFE 1R Diameter
b))

BEXS Holder type
SEARAZ X Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT40-SFS #A4EJIHR (3 EMISE!)  BT40-SFS SHRINK CHUCK (3° C SLENDER TYPE)

FIG. 1

FI1G.2
BT.NO
L5
L4

- - = < — 9= = :v, - P = PR m—— ;TE
7% # § '
i ] TS
S
a5 # & Model RAEI FIG & KGS
ﬁ -SFS14- 90 155.4 90 | 63 | 27 | 37 | 47 | 63 | 20 | 26 14 M10*1.0P 10 1 1.1
-120 185.4 120 93 | 27 | 37 | 47 | 63 | 20 | 29 14 M10*1.0P 10 2 1.3
=160 225.4 160|133 | 27 | 37 | 47 | 63 | 20 | 32 14 M10*1.0P 10 2 1.5
=200 265.4 | 200|173| 27 | 37 | 47 | 63 | 20 | 35 14 M10*1.0P 10 2 1.7
=250 315.4 | 250|223 | 27 | 37 | 47 | 63 | 20 14 M10*1.0P 10 2 1.9
=-SFS16- 90 155.4 90 | 63 | 27 | 40 | 50 | 63 | 22 | 28 | 16 M12*1.0P 10 1 1.2
=120 185.4 120 93 | 27 | 40 | 50 | 63 | 22 | 31 16 M12*1.0P 10 2 1.3
-160 225.4 160133 | 27 | 40 | 50 | 63 | 22 | 34 | 16 M12*1.0P 10 2 1.5
=200 265.4 | 200|173| 27 | 40 | 50 | 63 | 22 | 37 16 M12*1.0P 10 2 1.8
=250 315.4 | 250(223| 27 | 40 | 50 | 63 | 22 16 M12*1.0P 10 2 2
=-SFS18- 90 155.4 90 | 63 | 27 | 40 | 50 | 63 | 24 | 30 18 M12*1.0P 10 1 1.2
=120 185.4 120 93 | 27 | 40 | 50 | 63 | 24 | 33 18 M12*1.0P 10 2 1.3
=160 225.4 160|133 | 27 | 40 | 50 | 63 | 24 | 36 18 M12*1.0P 10 2 1.6
=200 265.4 |200|173| 27 | 40 | 50 | 63 | 24 | 39 18 M12*1.0P 10 2 1.9
=250 315.4 | 250(223| 27 | 40 | 50 | 63 | 24 18 M12*1.0P 10 2 2.1
=SFS20- 90 155.4 90 | 63 | 27 | 42 52 | 63 | 26 | 32 | 20 M16*1.0P 10 1 1.2
=120 185.4 120 | 93 | 27 | 42 52 | 63 | 26 | 35 | 20 M16*1.0P 10 2 1.3
=160 225.4 160 | 133 | 27 | 42 52 | 63 | 26 | 38 | 20 M16*1.0P 10 2 1.7
-200 265.4 | 200|173 | 27 | 42 52 | 63 | 26 | 41 20 M16*1.0P 10 2 2
=250 315.4 | 250|223 | 27 | 42 52 | 63 | 26 20 M16*1.0P 10 2 2.2
A& ER:

N - -- qd
L1 ¥ Length(L1)
JIFFE 1 Diameter
h

I8EFLS Holder type
AR Taper size



-BT50-SFS A4 (3 EHEKE)

RETT RS

B TIR

48

CNCTOOLS

BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

L5

L4

ol o

FIG. 2

L5

L4

tof 5

=
- o
¢ % g
L2 %3
U Hl g
# & Model L 11 L2 L3 14 L5 D D1 D2 d T RAKEIR FIG =& KGS
BT50-SFS06-100 201.8 |100| 62 | 38 | 26 | 36 |100| 12 | 18 | 6 | M5*0.8P 10 1 3.8
-120 221.8 |120| 82 | 38 | 26 | 36 |100| 12 | 20 | 6 | M5*0.8P 10 1 3.9
-160 162.8 | 160 (122| 38 | 26 | 36 [100| 12 | 24 | 6 | M5*0.8P 10 2 4.2
-200 301.8 |200|162| 38 | 26 | 36 |100| 12 | 28 | 6 | M5*0.8P 10 2 5.8
-250 351.8 |250|212| 38 | 26 | 36 [100| 12 6 | M5*0.8P 10 2 7.2
-SFS08-100 201.8 |100| 62 | 38 | 26 | 36 |100| 14 | 20 | 8 M6*1.0P 10 1 3.8
-120 221.8 [ 120 82 | 38 | 26 | 36 [100| 14 | 22 | 8 M6*1.0P 10 1 3.9
-160 162.8 |160|122| 38 | 26 | 36 |100| 14 | 26 | 8 M6*1.0P 10 2 4.2
-200 301.8 |200|162| 38 | 26 | 36 |100| 14 | 30 | 8 M6*1.0P 10 2 5.8
-250 351.8 |250(212| 38 | 26 | 36 |100| 14 8 M6*1.0P 10 2 7.2
-SFS10-100 201.8 | 100| 62 | 38 | 32 | 42 [100| 16 | 22 | 10 | M8*1.0P 10 1 3.9
-120 221.8 |120| 82 | 38 | 32 | 42 [100| 16 | 24 | 10 | M8*1.0P 10 1 41
-160 162.8 | 160 [122| 38 | 32 | 42 [100| 16 | 28 | 10 | M8*1.0P 10 2 4.3
-200 301.8 |200|162| 38 | 32 | 42 [100| 16 | 32 | 10 | M8*1.0P 10 2 5.9
-250 351.8 | 250|212 38 | 32 | 42 [100| 16 10 | M8*1.0P 10 2 7.6
-SFS12-100 201.8 |100| 62 | 38 | 37 | 47 [100| 18 | 24 | 12 | M10*1.0P 10 1 3.9
-120 221.8 [ 120 82 | 38 | 37 | 47 |100| 18 | 26 | 12 | M10*1.0P 10 1 41
-160 162.8 | 160|122 | 38 | 37 | 47 [100| 18 | 30 | 12 | M10*1.0P 10 2 4.3
-200 301.8 | 200(162| 38 | 37 | 47 |100| 18 | 34 | 12 | M10*1.0P 10 2 5.9
-250 351.8 |250(212| 38 | 37 | 47 |100| 18 12 | M10*1.0P 10 2 7.6
R ER:

T IHEEX S Holder type

E L1 4 Length (L1)

TJI#FE 1] Diameter

AT I, Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT50-SFS #A4E7IH (3 EHEKE)

S31Y3S ¥IATOH T00L L4 XNRIHS
N B

BT50-SFS SHRINK CHUCK (3° C SLENDER TYPE)

L5

L4

Fiala

FIG.2

L5

L4

M ¥ Model RAESR FIG == KGS

BT50 -SFS14-100 201.8 | 100| 62 | 38 | 37 | 47 |100| 20 | 26 | 14 | M10*1.0P 10 1 3.9
-120 221.8 |120| 82 | 38 | 37 | 47 |100| 20 | 28 | 14 | M10*1.0P 10 1 4.1

-160 162.8 | 160|122 | 38 | 37 | 47 |100| 20 | 32 | 14 | M10*1.0P 10 2 4.3

-200 301.8 | 200|162 | 38 | 37 | 47 |100| 20 | 36 | 14 | M10*1.0P 10 2 5.9

-250 351.8 |250|212| 38 | 37 | 47 |100| 20 14 | M10*1.0P 10 2 7.6
-SFS16-100 201.8 | 100 | 62 | 38 | 40 | 50 |100| 22 | 28 | 16 | M12*1.0P 10 1 4
=120 221.8 [ 120 82 | 38 | 40 | 50 | 100| 22 | 30 | 16 | M12*1.0P 10 1 4.2

-160 162.8 | 160|122 38 | 40 | 50 | 100 | 22 | 34 | 16 | M12*1.0P 10 2 4.4

-200 301.8 | 200|162 | 38 | 40 | 50 | 100 | 22 | 38 | 16 | M12*1.0P 10 2 6

=250 351.8 | 250|212| 38 | 40 | 50 | 100 | 22 16 | M12*1.0P 10 2 7.7
-SFS18-100 201.8 | 100| 62 | 38 | 40 | 50 | 100 | 24 | 30 | 18 | M12*1.0P 10 1 4
=120 221.8 |120| 82 | 38 | 40 | 50 [ 100 | 24 | 32 | 18 | M12*1.0P 10 1 4.2

-160 162.8 | 160|122 | 38 | 40 | 50 | 100 | 24 | 36 | 18 | M12*1.0P 10 2 4.4

-200 301.8 | 200|162 | 38 | 40 | 50 | 100 | 24 | 40 | 18 | M12*1.0P 10 2 6

-250 351.8 | 250(212| 38 | 40 | 50 [ 100 | 24 18 | M12*1.0P 10 2 7.7
-SFS20-100 201.8 | 100| 62 | 38 | 42 | 52 |100| 26 | 32 | 20 | M16*1.0P 10 1 4.1
-120 221.8 |120| 82 | 38 | 42 | 52 |100| 26 | 34 | 20 | M16*1.0P 10 1 4.3

-160 162.8 | 160|122 | 38 | 42 | 52 |100| 26 | 38 | 20 | M16*1.0P 10 2 4.4

-200 301.8 | 200|162 | 38 | 42 | 52 |100| 26 | 42 | 20 | M16*1.0P 10 2 6.1

-250 351.8 | 250[212| 38 | 42 | 52 | 100 | 26 20 | M16*1.0P 10 2 7.8

AR ER:

i L1 4 Length(L1)

JI#FE 1R Diameter
IHEEX S Holder type

$HEFRFAZ TN Taper size




B TIR

48

BETTHEI e

-BT30-SFK #A45J1 1A (4.5°187KEY ) Br30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

2-M3*0. 5P

P

JMNFS =
S31¥43S YIATOH 1001 LI INRIHS

# % Model L L1 L2 L3 L4 D D1 D2 o] R FIG BEE KGS

BT30-SF03- 80K 128.4 80 58 22 12 48 14 20 3 5 1 0.6
=120K 168.4 120 98 22 12 48 14 20 3 5 2 0.9

-SF04- 80K 128.4 80 58 22 16 48 14 20 4 5 1 0.6
-120K 168.4 120 98 22 16 48 14 20 4 5 2 0.9

-SF05- 80K 128.4 80 58 22 18 48 14 20 5 5 1 0.6
=120K 168.4 120 98 22 18 48 14 20 5 5 2 0.9

KA 15 ER:
@Ll K Length(L1)
JIFFE 1R Diameter
IhEEfL S Holder type

AL Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT30-SFK #A45J1 1A (4.5°187KEY ) Br30-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

F1G. 1 b
BT. NO — L5
T1 4
2-M3*0. 5P
=
= . x i —- o 5|8
E\r
L3 L2
L1
L

2-M3*0. 5P

I=ts8

&
7]
iZ]
S
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

# % Model L L1 L2 L3 L4 L5 D D1 D2 d T T1 R FIG E= KGS
BT30-SF06- 80K 128.4 | 80 | 58 | 22 | 26 | 36 | 48 | 21 | 27 6 M5*0.8P | M6*1.0P 3 1 0.7
=120K 168.4 [ 120| 98 | 22 | 26 | 36 | 48 | 21 | 27 6 M5*0.8P | M6*1.0P 5 2 1
-SF08- 80K 128.4 | 80 | 58 | 22 | 26 | 36 | 48 | 21 | 27 8 M6*1.0P M6*1.0P 3 1 0.7
-120K 168.4 [ 120| 98 | 22 | 26 | 36 | 48 | 21 | 27 8 M6*1.0P M6*1.0P 5 2 1
-SF10- 80K 128.4 | 80 | 58 | 22 | 32 | 42 | 48 | 24 | 32 | 10 | M8*1.0P M6*1.0P 1 1 0.8
=120K 168.4 | 120 98 | 22 | 32 | 42 | 48 | 24 | 32 | 10 | M8*1.0P M6*1.0P 4 2 1.1
=SF12- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 48 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 1 1 0.8
=120K 168.4 |120| 98 | 22 | 37 | 47 | 48 | 24 | 32 | 12 | M10*1.0P | M6*1.0P 4 2 1.1
=-SF14- 80K 128.4 | 80 | 58 | 22 | 37 | 47 | 48 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 1 1 0.8
=120K 168.4 |120| 98 | 22 | 37 | 47 | 48 | 27 | 34 | 14 | M10*1.0P | M6*1.0P 3 2 1.1
=-SF16- 80K 128.4 | 80 | 58 | 22 | 40 | 50 | 48 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 1 1 0.8
=120K 168.4 [ 120 98 | 22 | 40 | 50 | 48 | 27 | 34 | 16 | M12*1.0P | M6*1.0P 3 2 1.1
=SF18- 90K 138.4 | 90 | 68 | 22 | 40 | 50 | 48 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 1 0.9
=120K 168.4 | 120 98 | 22 | 40 | 50 | 48 | 33 | 42 | 18 | M12*1.0P | M6*1.0P 1 2 1.2
=-SF20- 90K 138.4 | 90 | 68 | 22 | 42 | 52 | 48 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 1 0.9
=-120K 168.4 | 120| 98 | 22 | 42 | 52 | 48 | 33 | 42 | 20 | M16*1.0P | M6*1.0P 1 2 1.2
FA& I BA:
@Ll [ Length (L1)
JIFFE 1R Diameter
IhBERNS Holder type
S$ARAZ T, Taper size



B TIR

48

BETTHEI e

-BT40-SFK #A45 7148 (4.5°87KEY ) B140-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

F1G. 1
BT. NO L5

2-M3%0. 5P

|-t ol B0 o A = ‘I"C?Eg
I i)

,,,,,,,,,,,,,,,

2-M3*0. 5P

=tz 8

P

45
7
iz]
£

N
=

S31¥43S YIATOH 1001 LI INRIHS

# & Model L L1 L2 L3 L4 D D1 D2 d R FIG B2 KGS
BT40-SF03- 90K 155.4 90 63 27 12 63 14 20 3 5 1 1.1
=-120K 185.4 120 93 27 12 63 14 20 3 5 2 1.4
-SF04- 90K 155.4 90 63 27 16 63 14 20 4 5 1 1.1
=120K 185.4 120 93 27 16 63 14 20 4 5 2 1.4
=-SF05- 90K 155.4 90 63 27 18 63 14 20 5 5 1 1.1
=-120K 185.4 120 93 27 18 63 14 20 5 5 2 1.4
KM 15 BR:
N - Bd - [§] - m
L1 ¥ E Length(L1)
JIFFE & Diameter
IHAE{X S Holder type
$HEHRAZ T Taper size




wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

#
4
7]
Uiz]
#
5l

HIZTIN

R

CNCTOOLS

HETIHFE S

-BT40-SFK #A4E T4 (4.5°@7KH )

F1G.1

BT.NO

m

2-M3*0. 5P

Tt 5|a
(

2-M3*0. 5P

D3

BT40-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

2-M3*0. 5P

T<tg| 8

” o\
13 L2
DI L1
L
M % Model L L1 L2 L3 L4 L5 L6 D DI D2 D3 d T Tl R FIG ZE|= KGS

BT40-SF06- 75K 140.4 | 75|48 | 27 |26 |36 | - |63 |21 |27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 1.1
- 90K 155.4 | 90 | 63 | 27 | 26 | 36 | - | 63|21 |27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 1.2

-120K 185.4 [120| 93 | 27 | 26 | 36 | - | 63|21 |27 | - 6 | M5*0.8P | M6*1.0P | 10 | 2 1.5

-160K 225.4 |160[133| 27 | 26 | 36 | 78 |63 | 21 | 27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 1.8

-200K 265.4 200|173 27 | 26 | 36 |118|63| 21 | 27 |41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.2

-SF08- 75K 140.4 | 75| 48 | 27 | 26 | 36 | - | 63| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 5 | 1 1.1

- 90K 155.4 | 90 | 63 | 27 | 26 | 36 | - | 63| 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 5 | 1 1.2

-120K 185.4 [120| 93 | 27 | 26 | 36 | - |63 | 21 | 27 | - 8 | M6*1.0P | M6*1.0P | 10| 2 1.5

-160K 225.4 (160(133| 27 | 26 | 36 | 78 |63 | 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 1.8

-200K 265.4 [200(173| 27 | 26 | 36 |118|63 | 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.2

-SF10- 75K 1404 | 75 |48 | 27 |32 |42 | - |63|24 |32 | - | 10 | M8*1.0P | M6*1.0P | 2 | 1 1.2

- 90K 1554 |90 | 63 | 27 [ 32 |42 | - |63|24 |32 | - | 10 | M8*1.0P | M6*1.0P | 2 | 1 1.3

-120K 185.4 {120 93 | 27 [ 32 |42 | - |63|24 |32 | - | 10 | M8*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 |160|133| 27 | 32 |42 |78 |63 |24 | 32 |40 | 10 | M8*1.0P | M6*1.0P| 5 | 3 1.9

-200K 265.4 (200|173 27 | 32 | 42 |118|63| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P| 5 | 3 2.3

-SF12- 75K 140.4 | 75 |48 | 27 |37 |47 | - |63]|24 |32 | - | 12 | M10*1.0P | M6*1.0P | 2 | 1 1.2

- 90K 155.4 | 90 | 63 |27 |37 |47 | - |63]|24 |32 | - | 12 | M10*1.0P | M6*1.0P | 2 | 1 1.3

=-120K 185.4 |120 93 | 27 |37 |47 | - |63 24 |32 | - | 12 | M10*1.0P | M6*1.0P | 10 | 2 1.6

=-160K 225.4 |160[133| 27 | 37 |47 | 78 |63 | 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 1.9

-200K 265.4 (200|173 27 | 37 | 47 |118| 63| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.3
BT40-SF14- 75K 140.4 | 75 |48 | 27 |37 |47 | - |63 27 |34 | - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.2
- 90K 155.4 | 90 | 63 |27 |37 |47 | - |63 27 |34 | - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.3

-120K 185.4 |120| 93 | 27 |37 |47 | - |63|27 |34 | - | 14 | M10*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 |160(133| 27 | 37 |47 | 78 | 63| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 1.9

-200K 265.4 [200[173| 27 | 37 | 47 |118| 63| 27 | 34 | 42 | 14 | MT10*1.0P | M6*1.0P | 3 | 3 2.3

AR RA:

? L1 4 Length (L1)

BT40SF B
JI#FE 1] Diameter
IHEEfLS Holder type

$EFRAZ T Taper size



B TIR

48

BETHES e

-BT40-SFK #A45 7148 (4.5°87KEY ) B140-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

F1G. 1 b
BT. NO Iy 5
m L4
2-M3¥0. 5
n = sy - o358
edgtrrzzzzzie o ) 1
e\1
13 L2
L1
| L
FIG. 2
D
BT. NO L5
m
‘l L4 ) o
AL
- " T<t5|8
77777777777777 g
I
=
SO o
L2 I
L3 45 3
L1 )] S
L T
‘ %2
o
FIG. 3 b % 2
BT. NO L5 Bl ]
T =
—l L4 ) ) wero.sp &
AT
S Il-1—- _Td58
Mhrrzzzzzazeade- a
al
\T
»
13 L2
L1
L

M # Model T1 R FIG ZE=E KGS

BT40-SF16- 75K 140.4 | 75 | 48 |27 40 |50 | - [ 63 |27 |34 | - 16 | M12*1.0P | M6*1.0P | 3 | 1 1.2
= 90K 155.4 | 90 | 63 |27|40 |50 | - [ 63 |27 |34 | - 16 | M12*1.0P | M6*1.0P | 3 | 1 1.3

=120K 185.4 |120| 93 |27[40 |50| - [ 63 |27 |34 | - 16 | M12*1.0P | M6*1.0P | 10 | 2 1.6

-160K 225.4 [160|133|27 |40 |50| 78 | 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 1.9

-200K 265.4 [200|173|27 |40 |50|118| 63 | 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 2.3

=-SF18- 75K 140.4 | 75 | 48 |27 |40 |50 | - [ 63 |33 (42| - 18 | M12*1.0P | M6*1.0P | 2 | 1 1.3

= 90K 155.4 | 90 | 63 |27 |40 |50| - [ 63 |33 (42| - 18 | M12*1.0P | M6*1.0P | 2 | 1 1.4

=120K 185.4 (120 93 |27|40 |50| - |63 |33 |42 | - 18 | M12*1.0P | M6*1.0P | 5 | 2 1.7

=160K 225.4 [160|133|27|40|50| - |63 |33 |42 | - 18 | M12*1.0P | M6*1.0P | 5 | 2 2
=200K 265.4 [200|173|27|40|50| - | 63|33 |42 | - 18 | M12*1.0P | M6*1.0P | 5 | 2 2.4

=SF20- 75K 1404 | 75 | 48 |27 | 42 | 52| - 63 | 33 | 42 - 20 | M16*1.0P | M6*1.0P | 2 1 1.3
=90K 155.4 | 90 | 63 |27 42 |52| - | 63|33 (42| - | 20 | M16*1.0P | M6*1.0P | 2 | 1 1.4

=120K 185.4 |120| 93 (27|42 |52 | - 63 | 33 | 42 - 20 | M16*1.0P | M6*1.0P | 5 2 1.7

=-160K 2254 [160|133|27 |42 |52| - |63 |33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2
=-200K 265.4 [200|173|27 |42 |52| - [ 63|33 |42 | - | 20 | M16*1.0P | M6*1.0P | 5 | 2 2.4

-SF25- 75K 140.4 | 75 | 48 |27 |48 |58 | - | 63 | 44 | 53 - | 25 | M16*1.0P | M6*1.0P | 2 | 1 1.6

= 90K 155.4 | 90 | 63 |27 |48 |58 | - | 63 | 44 | 53 - | 25 | M16*1.0P | M6*1.0P | 2 | 1 2

=120K 185.4 |120| 93 (27|48 |58 | - | 63 | 44 | 53 - | 25 | M16*1.0P | M6*1.0P | 2 | 2 2.3

=-160K 225.4 [160(133(27|48 |58 | - | 63 | 44 | 53 - | 25 | M16*1.0P | M6*1.0P | 2 | 2 2.6

=-200K 265.4 [200(173(27|48 |58 | - | 63 | 44 | 53 - | 25 | M16*1.0P | M6*1.0P | 2 | 2 3

-SF32- 75K 140.4 | 75 | 48 |27 |52 |62| - | 63 | 44 | 53 - | 32 | M16*1.0P | M6*1.0P | 2 | 1 1.6

- 90K 155.4 | 90 | 63 |27 |52 |62| - | 63|44 | 53 - | 32 | M16*1.0P | M6*1.0P | 2 | 1 2

=120K 185.4 |120| 93 |27 |52 |62| - | 63 |44 | 53 - | 32 | M16*1.0P | M6*1.0P | 2 | 2 2.3

=160K 225.4 [160(133(27| 52 |62| - | 63| 44 | 53 - | 32 | M16*1.0P | M6*1.0P | 2 | 2 2.6

=200K 265.4 |200|173|27|52|62| - | 63 | 44 | 53 - | 32 | M16*1.0P | M6*1.0P | 2 | 2 3

FA& 5 BA:
BT40SF BN16 B @
L1 ¥ E Length(L1)
JI#FE 1R Diameter
IHEEfL S Holder type
HEFRAZ I Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SFK #45JI4% (4.5°187KEY ) Br50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1 D

L5 2-M3%0. 5P
L4
[ Jo
T - _Tof5|o
:’p \1
L2
L3
L1
L
FIG.2 D
T
Tw '-5L4 2-M3%0. 5P
) | —
z “ ‘ N
: e . . o Tas
= 0 NS PO | it
£ —_[Tre %
s J] .
.:‘:’—:}fﬁ L2
g R L3
a5l L1
[
2 L
)
FIG. 3 D
ﬂ L5|.4 2-M3%0. 5P
T
! . s _ -UTEE
— b
& T

L2

L3

# # Model d R FIG EZ& KGS

BT50- SF06-100K 201.8 |100| 62 |38 26|36 | - |[100]| 21 | 27 | - 6 M5*0.8P | M6*1.0P | 5 | 1 3.7
=120K 221.8 ({120 82 |38 (26|36 | - [100]| 21 | 27 | - 6 M5*0.8P | M6*1.0P | 10 | 2 3.9

=-160K 2618 |160(122| 38 |26 | 36| 78 |100| 21 | 27 | 41 6 M5*0.8P | M6*1.0P | 5 | 3 4.2

=-200K 301.8 |200|162| 38 |26 | 36 |118|100| 21 | 27 | 41 6 M5*0.8P | M6*1.0P | 5 | 3 5.8

- SF08-100K 201.8 |100| 62 |38 26|36 | - [100]| 21 | 27 | - 8 M6*1.0P | M6*1.0P | 5 | 1 3.8
=120K 221.8 ({120 82 |38 (26|36 | - [100]| 21 | 27 | - 8 M6*1.0P | M6*1.0P | 10 | 2 3.9

-160K 2618 |160(122| 38 |26 | 36| 78 |100| 21 | 27 | 41 8 M6*1.0P | M6*1.0P | 5 | 3 4.2

-200K 301.8 |200|162| 38 | 26 | 36 |118|100| 21 | 27 | 41 8 M6*1.0P | M6*1.0P | 5 | 3 5.8

= SF10-100K 201.8 |100| 62 |38 (32|42 | - |100| 24 | 32 | - 10 | M8*1.0P | M6*1.0P | 5 | 1 3.9
=120K 221.8 ({120 82 |38 (32|42 | - |100| 24 | 32 | - 10 | M8*1.0P | M6*1.0P | 10 | 2 41

=160K 2618 [160(122|38 32|42 |78 |100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 4.3

=200K 301.8 (200|162 |38 | 32|42 |118|100| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 5.9

= SF12-100K 201.8 |100| 62 [ 38|37 (47| - |100| 24 | 32 | - 12 | M10*1.0P | M6*1.0P | 5 | 1 3.9
=120K 221.8 |120| 82 {38 |37 (47| - |100| 24 | 32 | - 12 | M10*1.0P | M6*1.0P | 10 | 2 41

=160K 2618 |160|122|38 |37 |47 | 78 [100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 4.3

=-200K 301.8 | 200|162 |38 |37 |47 |118(100| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 5.9

- SF14-100K 201.8 |100| 62 |38 |37 |47 | - |100| 27 | 34 | - 14 | M10*1.0P | M6*1.0P | 5 | 1 3.9
=120K 221.8 |120| 82 |38 37|47 | - |100| 27 | 34 | - 14 | M10*1.0P | M6*1.0P | 10 | 2 41

=-160K 2618 (160|122 |38 |37 |47 | 78 [100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 4.3

=-200K 301.8 |200|162| 38|37 |47 |118(100| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 5 | 3 5.9

FA& W ER:
E L1 4 Length(L1)
JIFFE 1 Diameter
IHAE{X S Holder type
HARAZ I Taper size



B TIR

48

BETHES e

-BT50-SFK A48 J14R (4.5°E7KEY ) Br50-SFK SHRINK CHUCK (4.5° SHRINK-FIT COOLANT TYPE)

FIG. 1 D
T1
L5 2-M3*0. 5P
L4
[ |
N ,,:_A‘vfn [=)
:’P \T
L2
L3
L1
L
FIG.2 D
T1
Tﬂ '-5L4 2-M3*0. 5P
v £
‘ E
—| o =z
PR s o] |
- A 3
3 x éﬁg
e
2
o
L3 L2 B
5l g
L1 p
=
L 1%
FIG.3 D
T1
LS 2-M3+0. 5P
Tﬂ La
1T
[ .
! . - _1ofga
- )
¢ T

L2

L3

M # Model R FIG Z& KGS

BT50- SF16-100K 201.8 |100| 62 | 38 | 40 | 50 | - |100| 27 | 34 | - 16 | M12*1.0P | M6*1.0P | 5 | 1 3.9
-120K 221.8 1120|182 |38 |40 | 50 | - |100| 27 | 34 | - 16 | M12*1.0P | M6*1.0P | 10 | 2 41

-160K 2618 [160|122| 38 | 40 | 50 | 78 |100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 4.3

-200K 301.8 [200|162| 38 | 40 | 50 [118|100| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 5 | 3 5.9

- SF18-100K 201.8 |100| 62 | 38 | 40 | 50 | - |100| 33 | 42 | - 18 | M12*1.0P | M6*1.0P | 5 | 1 41
=120K 221.8 1120|182 |38 |40 | 50 | - |100| 33 | 42 | - 18 | M12*1.0P | M6*1.0P | 10 | 2 4.2

=160K 2618 |160(|122| 38 | 40 | 50 | 78 |100| 33 | 42 18 | M12*1.0P | M6*1.0P | 5 | 3 4.4

=200K 301.8 |200|162| 38 | 40 | 50 |{118|100| 33 | 42 18 | M12*1.0P | M6*1.0P | 5 | 3 6.1

= SF20-100K 201.8 [100| 62 | 38 | 42 | 52 | - |100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P | 5 | 1 41
=120K 221.8 (120|182 | 38 |42 |52 | - |100| 33 | 42| - | 20 | M16*1.0P | M6*1.0P | 10 | 2 4.2

=160K 2618 |160(|122| 38 | 42 | 52 | 78 |100| 33 | 42 20 | M16*1.0P | M6*1.0P | 5 | 3 4.4

-200K 301.8 [200|162| 38 | 42 | 52 |118|100| 33 | 42 20 | M16*1.0P | M6*1.0P | 5 | 3 6.1

= SF25-110K 211.8 (11072 | 38 | 48 | 58 | - [100| 44 | 53| - | 25 | M16*1.0P | M6*1.0P | 5 | 1 4.5
-120K 221.8 ({12082 | 38 | 48 | 58 | - |100| 44 | 53 | - | 25 | M16*1.0P | M6*1.0P | 10 | 2 4.7

-160K 2618 |160|122| 38 | 48 | 58 | 78 |100| 44 | 53 25 | M16*1.0P | M6*1.0P | 5 | 3 5.1

-200K 301.8 |200|162| 38 | 48 | 58 |118|100| 44 | 53 25 | M16*1.0P | M6*1.0P | 5 | 3 6.1

- SF32-110K 211.8 (11072 | 38 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 5 | 1 4.5
-120K 221.8 (120|182 | 38 | 52 | 62 | - |100| 44 | 53 | - | 32 | M16*1.0P | M6*1.0P | 10 | 2 4.7

-160K 2618 |160(|122| 38 | 52 | 62 | 78 |100| 44 | 53 32 | M16*1.0P | M6*1.0P | 5 | 3 5.1

-200K 301.8 |200|162| 38 | 52 | 62 |118|100| 44 | 53 32 | M16*1.0P | M6*1.0P | 5 | 3 6.1

FA& 5 ER:
; L1 KE Length(L1)
JI#FE 1R Diameter
IHEEfLS Holder type
FRAZ T Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT30-SL #4871 (3°—@4H) BT30-SL SHRINK FIT HOLDER(3° MONO)

BT. NO

Y —

LE

\zt mIAsIE

M Working length

ZELS

( Safety mark )

B £ Accessories

2B maREER
© o nuEEnARRT, wER

=

. DR EBHAILT .
: » 19 o [ BERBER L e mRARE mANAN, EsL
gjfrjﬁ i DEBKEAKE — gEBALRSIESERNME,
z 1
S
% 7]
G £S5 Model
BT30-SLSA3- 75-M 22 3 6 1.5 75 22 31 8.3 25 9 99 0.4 4.6
- 95-M 42 3 6 1.5 95 42 31 10.4 25 9 119 0.4 9.2
-120-M 67 3 6 1.5 120 67 31 13 25 9 144 0.5 14.9
-SLRA3- 75-M 22 3 7.5 2.25 75 22 31 9.8 25 9 99 0.5 2.8
-SLSA3.175- 75-M 22 3175 6.175 1.5 75 22 31 8.5 25 9 99 0.4 4.4
-95-M 42 3175 6.175 1.5 95 42 31 10.6 25 9 119 0.4 8.8
-SLSA4- 75-M 22 4 7 1.5 75 22 31 9.3 25 | 12 99 0.4 3.6
- 95-M 42 4 7 1.5 95 42 31 11.4 25 12 119 0.4 7.3
-120-M 67 4 7 1.5 120 67 31 14 25 12 144 0.5 11.9
-SLRA 4- 75-M 22 4 10 3 75 22 31 12.3 25 | 12 99 0.5 1.8
-SLSA6- 75-M 22 6 9 1.5 75 22 31 11.3 25 | 18 99 0.4 2.4
- 95-M 42 6 9 1.5 95 42 31 13.4 25 | 18 | 119 0.4 4.9
-120-M 67 6 9 1.5 120 67 31 16 25 18 144 0.5 8.3
-SLRA6- 75-M 22 6 12 3 75 22 31 14.3 25 18 99 0.4 1.4
-SLRA8- 75-M 22 8 14 3 75 22 31 16.3 25 24 99 0.4 1.2
-SLRA10- 75-M 22 10 16 3 75 22 31 18.3 25 | 30 99 0.4 1.1
-SLRA12- 75-M 22 12 20 4 75 22 31 22.3 25 | 30 99 0.5 1
-SLRA16- 60-M 22 16 26 5 60 22 16 28.3 34 | 32 60 0.5 0.5
-SLRA20- 65-M 22 20 32 6 65 22 21 34.3 40 | 38 60 0.5 0.4
A& A
T T T %Iﬁs‘&ﬁfg Working length
K E Length (L)
JIFFE1Z Diameter
IhBEfL S Holder type
SEFRFZ T Taper size



B TIR

48

BETHES e

-BT30-SL #4871 (CV EI&E) BT30-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1
Tk
% 2D curve
S - I Tfalols
M MIBYKE
Working length
L
FIG.2
BT.NO —H
_ _ _ i _ _ o I — .QT ol s g
¥
S d¢ o
M mIERLE ,f% :
L E4
5l g
E2is ot W ERER
B2 % Accessories [ o o HET BEMMBRNERT, =HEH
ﬁ‘ ool 7 BILHIET .
» P19 J[/HJ%L%*‘E o AZE FANAN, BSY
h TABKEAKE g E@mAlLLis BRME.

S Model

BT30-SLSA4- 75CV 1 4 7 1.5 75 53 34 12 99 0.5 1.8
- 90CV 1 4 7 1.5 90 68 34 12 114 0.5 2.8

-120CV 1 4 7 1.5 120 98 34 12 144 0.5 6.6

-SLRA4- 90CV 2 4 10 3 90 68 34 12 114 0.5 2
-120CV 2 4 10 3 120 98 34 12 144 0.5 29

-SLSA6- 75CV 1 6 9 1.5 75 53 34 18 99 0.5 1.5
- 90Cv 1 6 9 1.5 90 68 34 18 114 0.5 2.4

-120CV 1 6 9 1.5 120 98 34 18 144 0.5 5.6

-SLRA6- 90CV 2 6 13 3.5 90 68 34 18 114 0.5 1.6
-120CV 2 6 13 3.5 120 98 34 18 144 0.5 2.5

-SLSA8- 75CV 1 8 11 1.5 75 53 34 24 99 0.5 1.3

- 90CvV 1 8 11 1.5 90 68 34 24 114 0.6 2.2

-SLRA8- 90CV 2 8 16 4 90 68 34 24 114 0.5 1.1
-SLSA10- 75CV 1 10 13 1.5 75 53 34 30 99 0.5 1.2

- 90CVv 1 10 13 1.5 90 68 34 30 114 0.5 2

-SLRA10- 90CV 1 10 19 4.5 90 68 34 30 114 0.6 1.1

A& ER:
T T T $Ei£§= Curve
L £E Length (
TJI#FE 1% Diameter
IHEEfL S Holder type
HEFRFZ T, Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT40-SL #4518 (3°—@H)

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

afo| 5|S

MITHEYRKE

Working length

_ = 5
9 " MIERKE
= 45
87 e EE
gg E2ics ZE masEn
Z 51 T L | o T EEMANRT, 36
z % O Dol BILHILT,
A—fTﬁmeﬁﬁﬁﬁﬁ%m o NA%E EATIALN, BHL
2RI h TABKENKE gl BmALRSICSERNMNE,
BS Model FIG D C t L | L1 L2 C1 c2 Cc3 H h B KGS S
BT40-SLSA3- 95-M 42 1 3 6 1.5 95 42 26 * 10.4 25 * 9 130 1 9.1
=-120-M 67 1 3 6 1.5 120 67 26 * 13 25 * 9 155 1 14.6
=125-M 42 1 3 6 1.5 125 42 56 * 10.4 25 * 9 160 1.1 9.7
-150-M 67 1 3 6 1.5 150 67 56 * 13 25 * 9 185 1.1 15.7
-M 97 1 3 6 1.5 150 97 26 * 16.2 25 * 9 185 1.1 20.4
=155-M 42 2 3 6 1.5 155 42 33 53 10.4 26 40 9 190 1.4 9.9
-180-M 67 2 3 6 1.5 180 67 33 53 13 25 39 9 215 1.4 15.7
=M 97 1 3 6 1.5 180 97 56 * 16.2 25 * 9 215 1.2 221
=-210-M 97 2 3 6 1.5 210 97 33 53 16.2 25 39 9 245 1.4 221
=SLRA3- 75-M 22 1 3 | 75| 2.25 75 22 26 * 9.8 25 * 9 110 1 2.7
= 95-M 42 1 3 | 75| 2.25 95 42 26 * 11.9 25 * 9 130 1 5.3
=-105-M 22 1 3 | 75| 2.25 105 22 56 * 9.8 25 * 9 140 1.1 3.2
=-120-M 67 1 3 | 75| 2.25 120 67 26 * 14.5 25 * 9 155 1.1 8.8
-125-M 42 1 3 | 75| 2.25 125 42 56 * 11.9 25 * 9 160 1.1 6
=-135-M 22 2 3 | 75| 2.25 135 22 33 53 9.8 25 39 9 170 1.4 3.2
=150-M 67 1 3 75 | 2.25 150 67 56 * 14.5 25 * 9 185 1.2 14.5
=M 97 1 3 | 75| 2.25 150 97 26 * 17.7 25 * 9 185 1.1 12.8
=155-M 42 2 3 | 75| 225 155 42 33 53 11.9 25 39 9 190 1.4 6
-180-M 67 2 3 | 75| 2.25 180 67 33 53 14.5 26 40 9 215 1.4 9.8
=M 97 1 3 | 75| 2.25 180 97 56 * 17.7 25 * 9 215 1.2 14.3
=-M127 1 3 | 75| 2.25 180 127 | 26 * 20.8 36 * 9 215 1.1 15.7
=-210-M 97 2 3 | 75225 210 97 33 53 17.7 25 39 9 245 1.5 14.4
-M127 1 3 | 75225 210 127 | 56 * 20.8 32 * 9 245 1.4 16.5
-240-M127 2 3 | 75| 2.25 | 240 127 | 28 58 20.8 36 50 9 275 1.8 16.3
A& ER:

BT40g -K - _ W
I EAE Working length
L 4€Z Length (L)
JI#FE1R Diameter
IfREFL S Holder type

$HEFRTZ T, Taper size



-BT40-SL #4518 (3°—@H)

B # Accessories

»P.J19

RETT RS

B TIR

48

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

CNCTOOLS

MLEYKE

Working length

FIG.2

MITEYKE
Working length

RELS g

( Safety mark ) ( Thickness )

;N

[ [+
44IT-~J ST

H (Minimum insert length of the tool )

W EEER
o HET IBEHEMMAWERT, HER

‘AT,
® JIRRE mATIAR, BFLY

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

h NABABNKE BINEBALZRSESERNME,

BS Model FIG D C t L M L1 L2 A 2 @3 H h ZEE8KGS S
BT40-SLFB3- 75-M 22 | 1 | 3 |95[325] 75 | 22 |26 | * | 11.8 [ 25| * | 9 [ 110 1 1.9
A -95-Mm42 | 1| 3[95[325] 95 | 42 [26| * | 139 [25] * | 9 |130 1 3.2
@ -105-Mm 22 | 1 | 3 [95[325] 105 | 22 [56| * [ 118 [25] * [ 9 [ 140 11 |23
-120-m 67 | 1 | 3 [95[325] 120 | 67 [ 26| * [ 165 [25] * [ 9 [155] 11 |53
-125-M 42 | 1 [ 3 ]95/325]| 125 [ 42 [ 56| * | 139 [25] * [ 9 [160| 11 |39
-135-M 22 | 2 [ 3 ]95]325]| 135 [ 22 [33[53]| 118 [25[39 [ 9 [170 | 14 |23
-150-M 67 | 1 [ 3 [95]325| 150 [ 67 [ 56 [ * | 165 [25| * [ 9 [185] 12 |64
-155-M 42 | 2 [ 3 [95[325] 155 [ 42 [33[53] 139 [25[39 [ 9 [190] 14 [39
-180-M 67 | 2 [ 3 [9.5]3.25]| 180 | 67 [ 33 [53]| 165 [26 | 40 [ 9 [215]| 14 |63
-SLSA4- 95-M42 | 1 [ 4 [ 7 [15] 95 |42 [26] * | 114 [25] * [ 12 [ 130 1 71
120-0M67 | 1 [ 4] 7 1512067 [26] * | 14 [25] * [12]155 1 117
-125-M42 | 1 [ 4 |7 |15 | 125 [ 42 [56] * | 114 [25] * [12[160] 11 |79
-150-M67 [ 1 [ 4] 7 |15]|150 67 [56] * | 14 [25] * [12[185] 11 [128
-Mm97 | 1 |47 [15]150 |97 [26]| * | 172 [25] * [12 18| 11 [165

-155-M 42 | 2 [ 4 | 7 |15 | 155 [ 42 [33[53]| 114 [25]39 [ 12 [190]| 14 |79
-180-M67 | 2 [ 4|7 | 15|18 [ 67 [33[53] 14 [25]39[12[215] 14 [128
-Mm97 | 1 | 4|7 15180 | 97 56| * | 1722 [25] * |12 [215] 12 [183
-210-M97 [ 2 [ 4 | 7 |15 ]| 210 [ 97 [33[53] 172 [ 25|39 [ 12 [245]| 15 [18.2
-SLRA4- 75-M 22 | 1 [ 4 [10] 3 [ 75 [ 22 [26 | * [ 123 [25] * [ 12 [ 110 1 17
-95-M42 | 1 [ 410 3 [ 95 | 42 |26 | * [ 144 [25] * | 12 [ 130 1 31
-105-M 22 | 1 [ 4 [10] 3 | 105 [ 22 [56] * | 123 [25] * [12[140| 11 |22
-120-0M67 [ 1 [4]10] 3 [ 12067 [26] * | 17 [25] * [ 12155 11 |53
-125-M 42 | 1 [ 4 10| 3 [ 125 [ 42 [56] * | 144 [25] * [12[160] 11 |38
-135-M 22 | 2 [ 4 [10] 3 | 135 [ 22 [33[53] 123 [25[39 [ 12170 14 |22
-150-M 67 | 1 [ 4 [10] 3 | 150 [ 67 [56] * | 17 [25] * [12[185]| 12 |63

-m97 | 1 | 4af[10] 3 [ 150 | 97 [26] * | 202 [25] * |12 |18 | 11 |77

MRS RR:

BT40 -¥E - - W
MBI E working length
JJ#FEH 12 Diameter
I

L 4€Z Length (L)

BE1X S Holder type

S$FRAZ T Taper size




HIZTIN

R

CNCTOOLS

-BT40-SL #4518 (3°—@H)

B2 # Accessories

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

afo| 5|S

MITHEYRKE

Working length

c1

MTEYKE
Working length

ZELS

{ Safety mark )

=
( Thickness )

W EEER
o HET IBAEMMBNERT, HER

~

e
o119 ﬁ o BT,

h g&ﬂs‘sﬁﬂﬁl{]\ﬁg” BINABARREIESERNUE, )

S Model FIG D C t L M L1 L2 C1 c2 3 H h ZE=KGS S
BT40-SLRA4-155-M 42 2 | 4|10 3 155 | 42 | 33 | 53| 144 | 25| 39 | 12 | 190 1.4 3.8
-180-M 67 | 2 | 4 | 10| 3 180 | 67 | 33 | 53 17 25| 39 | 12 | 215 1.4 6.2

-Mm97 | 1 |4 |10 3 180 | 97 | 56 | * 202 | 25| * 12 | 215 1.2 9.5

-m127 | 1 | 4 |10]| 3 180 | 127 | 26 | * 233 | 32| * 12 | 215 1.2 9.4

-210-Mm 97 | 2 | 4 | 10| 3 210 | 97 |33 | 53| 202 | 25| 39 | 12 | 245 1.5 9.4

-M127 | 1 | 4 | 10| 3 210 | 127 | 56 | * 233 | 32| * 12 | 245 1.4 [10.3

-240-M127 | 2 | 4 | 10| 3 240 | 127 | 30 | 56 | 23.3 |32 | 46 | 12 | 275 1.8 |10.4

-SLFB4- 75-M 22 | 1 | 4 | 12| 4 75 22 | 26 | * 143 | 25| * 12 | 110 1 1.3

y.A -95-M42 | 1 | 4 12| 4 95 42 | 26 | * 16.4 | 25 | * 12 | 130 11 2.2
-105-M 22 | 1 | 4 | 12| 4 105 | 22 |56 | * 143 | 25| * 12 | 140 11 1.8

-120-Mm 67 | 1 | 4 | 12| 4 120 | 67 | 26 | * 19 25 | * 12 | 155 11 3.5

-125-M 42 | 1 | 4 | 12| 4 125 | 42 | 56 | * 16.4 | 25 | * 12 | 160 1.2 2.9

-135-M 22 | 2 | 4 | 12| 4 135 | 22 | 33 |53 | 143 | 25| 39 | 12 | 170 1.4 1.8

-150-Mm 67 | 1 | 4 | 12| 4 150 | 67 | 56 | * 19 25 | * 12 | 185 1.2 4.7

-155-M 42 | 2 | 4 | 12| 4 155 | 42 | 33 | 53| 16.4 | 25| 39 | 12 | 190 1.4 2.9

-180-M 67 | 2 | 4 | 12| 4 180 | 67 | 33 | 53 19 25| 39 | 12 | 215 1.5 4.7

-SLSA6- 95-M 42 | 1 | 6 | 9 | 1.5 | 95 42 | 26 | * 134 | 25| * 18 | 130 1 4.8

-120-M 67 | 1 | 6 | 9 | 1.5 | 120 | 67 | 26 | * 16 25 | * 18 | 155 11 8

-125-M 42 | 1 | 6 | 9 | 1.5 | 125 | 42 | 56 | * 134 | 25| * 18 | 160 11 5.6

-150-Mm 67 | 1 | 6 | 9 | 1.5 | 150 | 67 | 56 | * 16 25 | * 18 | 185 1.2 9.2

-Mm97 | 1 |6 | 9| 15| 150 | 97 | 26 | * 19.2 | 32| * 18 | 185 11 11

-155-M 42 | 2 | 6 | 9 | 1.5 | 155 | 42 | 33 | 53| 13.4 | 25| 39 | 18 | 190 1.4 5.6

-180-M 67 | 2 | 6 | 9 | 1.5 | 180 | 67 | 33 | 53 16 25 | 39 | 18 | 215 1.4 9.2

-Mm97 | 1 |6 | 9| 15| 180 | 97 | 56 | * 19.2 | 32| * 18 | 215 1.3 11.7

-=210-M 97 | 2 | 6 | 9 | 1.5 | 210 | 97 | 30 | 56 | 19.2 | 32| 46 | 18 | 245 1.7 11.7

A% BR:

L £Z Length (L)

BT40& - - - W
NI HERMLE working length
JI#FE 12 Diameter
Ihe

&S Holder type

S$EFRFZ T, Taper size



-BT40-SL #4518 (3°—@H)

RETT RS

B TIR

48

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

afo| 5|S

CNCTOOLS

MLEYKE

Working length

MITEYKE
Working length

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

ZLES = W EEER
2 £ Accessories ( Safety mark) (Thickpess )
o FIET BEMMANET, HER
ﬁ St BILET,

h ﬂ%%k?ﬁ)gxtﬁ?l” BIEBALLZSIESERNNUE.

RS Model FIG D C t L M L1 L2 C1 c2 3 H h ZE=KGS S
BT40-SLSB6- 95-M 42 116 [10] 2 95 | 42 | 26| * | 144 | 25| * | 18 | 130 1 3.6
-120-Mm67 | 1 | 6 |10 2 | 120 | 67 | 26 | * 17 | 25| * | 18 | 155 1.1 6.1
-125-M 42 | 1 | 6 |10 2 | 125 | 42 | 56| * | 144 | 25| * | 18 | 160 1.1 4.5
-150-Mm 67 | 1 | 6 10| 2 | 150 | 67 | 56 | * 17 [ 25| * | 18 | 185 1.2 7.4
-Mm97 | 1|6 |10 2 | 150 | 97 | 26| * | 202 [32| * | 18 | 185 1.2 8.5

-155-M 42 | 2 | 6 | 10| 2 | 155 | 42 | 33 |53 | 144 | 25| 39 | 18 | 190 1.4 4.4
-180-M 67 | 2 | 6 [10| 2 | 180 | 67 |33 |53 | 17 |25| 39 | 18 | 215 1.4 7.4
-Mm97 | 1|6 |10 2 |18 | 97 |56 | * | 202 [32| * | 18 | 215 1.3 9.2

-M127 | 1 | 6 10| 2 | 180 | 127 |26 | * | 233 | 32| * | 18 | 215 1.2 11

-210-M 97 | 2 | 6 [10| 2 | 210 | 97 | 30 | 56 | 20.2 | 32| 46 | 18 | 245 1.7 9.2
-M127 | 1 | 6 10| 2 | 210 | 127 |56 | * | 233 | 32| * | 18 | 245 1.4 12
-M157 | 1 | 6 [10| 2 | 210 | 157 |26 | * | 2655 | 32| * | 18 | 245 13 [13.2
-240--M127 | 2 | 6 | 10| 2 | 240 | 127 | 30 | 56 | 23.3 | 32| 46 | 18 | 275 1.8 12
-M157 | 1 | 6 10| 2 | 240 | 157 |56 | * | 26,5 |36 | * | 18 | 275 17 145
-270-M157 | 2 | 6 | 10| 2 | 270 | 157 | 30 | 56 | 26.5 | 32| 46 | 18 | 305 1.9 |14.6
-SLRB6- 75-M 22 | 1 | 6 |14 | 4 75 | 22 | 26| * | 163 [ 32| * | 18 | 110 1.1 1
-95-M42 | 1 |6 |14 4 95 | 42 | 26| * | 184 | 32| * | 18 | 130 1.1 1.6
-105-M 22 | 1 | 6 | 14| 4 | 105 | 22 | 56| * | 163 [ 32| * | 18 | 140 1.2 1.2
-120-Mm 67 | 1 | 6 | 14| 4 | 120 | 67 | 26 | * 21 32| * | 18 | 155 1.2 2.6
-125-M 42 | 1 | 6 | 14| 4 | 125 | 42 | 56| * | 184 [32| * | 18 | 160 1.3 1.9
-135-M 22 | 2 | 6 | 14| 4 | 135 | 22 | 30|56 | 163 | 32| 46 | 18 | 170 1.6 1.2
-150-M 67 | 1 | 6 |14| 4 | 150 | 67 | 56 | * 21 32| * |18 | 185 1.3 3
-155-M 42 | 2 | 6 | 14| 4 | 155 | 42 | 30 | 56 | 18.4 | 32| 46 | 18 | 190 1.6 1.9
-180-M 67 | 2 | 6 | 14| 4 | 180 | 67 | 30 | 56 | 21 32| 46 | 18 | 215 1.7 3.1

MRS RR:

L 4<Z Length (L)

BT40K -1y - - m
I HERMLE working length
JIFFE1Z Diameter
Ih

BEfL S Holder type

AT, Taper size




HIZTIN

R

CNCTOOLS

-BT40-SL #4518 (3°—@H)

B2 # Accessories

#
4
7]
Uiz]
#
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

afo| 5|S

MITHEYRKE

Working length

c1

MTEYKE
Working length

ZELS

{ Safety mark )

=
( Thickness )

W EEER

~

o HET IBAEMMBNERT, HER

»P.J19 oo}t BRI,
W | BN @ RERBATIRL, 5L
h g&ﬂs‘sﬁk#ﬁl{]\ﬁg{” BIEBALZLIESERNNUE., )
S Model FIG D C t L M L1 L2 C1 c2 3 H h ZE=KGS S
BT40-SLFB6- 75-M 22 1 6 | 14| 4 75 22 | 26 | * 163 | 32| * 18 | 110 11 1
/ - 95-M 42 1 6 | 14| 4 95 42 | 26 | * 184 | 32| * 18 | 130 11 1.6
JE -105-M 22 1 6 | 14| 4 105 | 22 | 56 | * 163 | 32| * 18 | 140 1.2 1.2
-120-M 67 1 6 | 14| 4 120 | 67 | 26 | * 21 32| * 18 | 155 1.2 2.6
-125-M 42 1 6 | 14| 4 125 | 42 | 56 | * 184 | 32| * 18 | 160 1.3 1.9
-135-M 22 2 | 6 | 14| 4 135 | 22 | 30 | 56| 163 | 32| 46 | 18 | 170 1.6 1.2
-150-M 67 1 6 | 14| 4 150 | 67 | 56 | * 21 32| * 18 | 185 1.3 3
-155-M 42 2 | 6|14 4 155 | 42 | 30 | 56 | 184 | 32| 46 | 18 | 190 1.6 1.9
-180-M 67 2 | 6 | 14| 4 180 | 67 | 30 | 56 21 32| 46 | 18 | 215 1.7 3.1
-SLSA8- 95-M 42 1 8 |11 | 15 95 42 | 26 | * 154 | 25| * 24 | 130 1 3.4
-120-M 67 1 8 |11 | 15| 120 | 67 | 26 | * 18 32| * 24 | 155 11 5.4
-125-M 42 1 8 |11 | 15| 125 | 42 | 56 | * 154 | 25| * 24 | 160 11 4.3
-150-M 67 1 8 |11 | 15| 150 | 67 | 56 | * 18 32| * 24 | 185 1.3 5.9
-M 97 1 8 [11| 15 | 150 | 97 | 26 | * 212 | 32| * 24 | 185 1.2 7.9
-155-M 42 2 | 8|11 | 15| 155 | 42 | 33|53 | 154 | 25| 39 | 24 | 190 1.4 4.3
-180-M 67 2 | 8|11 | 15| 180 | 67 | 30 | 56 18 32 | 46 | 24 | 215 1.6 5.9
-M 97 1 8 (11| 15 | 180 | 97 | 56 | * 212 | 32| * 24 | 215 1.3 8.7
-210-M 97 2 | 8|11 | 15| 210 | 97 | 28|58 | 21.2 |36 | 50 | 24 | 245 1.9 8.4
-SLSB8- 95-M 42 1 8 [ 13| 25 95 42 | 26 | * 174 | 32| * 24 | 130 11 2.1
-120-M 67 1 8 [13| 25| 120 | 67 | 26 | * 20 32| * 24 | 155 11 3.5
-125-M 42 1 8 [13| 25 | 125 | 42 | 56 | * 174 | 36| * 24 | 160 1.3 2.3
-150-M 67 1 8 | 13| 25| 150 | 67 | 56 | * 20 32| * 24 | 185 1.3 4
-M 97 1 8 [13| 25 | 150 | 97 | 26 | * 232 | 32| * 24 | 185 1.2 5.2
-155-M 42 2 | 8|13 25| 155 | 42 | 30| 56| 174 | 32| 46 | 24 | 190 1.6 2.5

MRS RR:

BT40|E ETE
poi

SEFRFZ T, Taper size

E I HEMLE working length

L £Z Length (L)
JIFFE 1R Diameter
£1{ S Holder type



B TIR

48

BETHES e

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

MLEYKE

Working length

FIG.2

LAY
Working length

o HET IBEHEMMAWERT, HER

[+
ﬁ 5ol BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

:

3

e

1% 8

2EinS 2= W SRR =3

B2 % Accessories { Safety mark )  Thickness ) z I\ 3
Hl g

1%

;N

S Model FIG D C t L M LT L2 c1 2 a3 H h ZEEKGS S
BT40-SLSB8-180-M 67 2 8 | 13| 2.5 180 67 30 | 56 20 32 | 46 24 215 1.7 4
-M 97 1 8 | 13| 2.5 180 97 56 * 23.2 32 * 24 215 1.4 6

=-M127 1 8 | 13| 2.5 180 127 | 26 * 26.3 32 * 24 215 1.3 7

-210-M 97 2 8 | 13| 2.5 210 97 30 | 56 23.2 32 | 46 24 245 1.7 6
-M127 1 8 | 13| 2.5 210 127 | 56 * 26.3 36 * 24 245 1.5 7.7
-M157 1 8 | 13| 2.5 210 157 | 26 * 29.5 36 * 24 245 1.4 8.5

=240-M127 2 8 | 13| 2.5 240 127 | 30 | 56 26.3 32 | 46 24 275 1.8 8.1
-M157 1 8 | 13| 2.5 240 157 | 56 * 29.5 42 * 24 275 1.7 8.6
-270-M157 2 8 | 13| 2.5 270 157 | 28 | 58 29.5 42 53 24 305 2.2 8.7
-SLRB8- 75-M 22 1 8 | 18 5 75 22 26 * 20.3 32 * 24 110 1.1 0.7

- 95-M 42 1 8 | 18 5 95 42 26 * 22.4 32 * 24 130 1.1 1.1
-105-M 22 1 8 | 18 5 105 22 | 56 * 20.3 | 32 * 24 | 140 1.2 0.9
-120-M 67 1 8 | 18 5 120 67 26 * 25 32 * 24 155 1.2 1.7
-125-M 42 1 8 | 18 5 125 42 56 * 22.4 32 * 24 160 1.3 1.4

-135-M 22 2 8 | 18 5 135 22 30 | 56 20.3 32 | 46 24 170 1.6 1
=150-M 67 1 8 | 18 5 150 67 56 * 25 32 * 24 185 1.4 2.2
=-155-M 42 2 8 18 5 155 42 30 56 22.4 32 46 24 190 1.7 1.5
-180-M 67 2 8 | 18 5 180 67 30 | 56 25 32 | 46 24 215 1.8 2.2
-SLFB8- 75-M 22 1 8 | 18 5 75 22 26 * 20.3 32 * 24 110 1.1 0.7

/ - 95-M 42 1 8 | 18 5 95 42 26 * 22.4 32 * 24 130 1.1 1.1
-105-M 22 1 8 | 18 5 105 22 | 56 * 20.3 | 32 * 24 | 140 1.2 0.9
-120-M 67 1 8 | 18 5 120 67 26 * 25 32 * 24 155 1.2 1.7
-125-M 42 1 8 | 18 5 125 42 56 * 22.4 32 * 24 160 1.3 1.4

=135-M 22 2 8 | 18 5 135 22 30 | 56 20.3 32 | 46 24 170 1.6 1
=150-M 67 1 8 | 18 5 150 67 56 * 25 32 * 24 185 1.4 2.2
-155-M 42 2 8 | 18 5 155 42 30 | 56 22.4 32 | 46 24 190 1.7 1.5

-180-M 67 2 8 | 18 5 180 67 28 | 58 25 36 50 24 215 1.9 2

A& ER:
BT40[8 -B- - IIF
T B E Working length
L € Length (L)
JIFFE {2 Diameter
IhEERXS Holder type
AR I, Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬁ%ﬂ

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

MITHEYRKE

Working length

FIG.2

c1

:

MTEYKE
Working length

~

B2 # Accessories %?E% (T%E ) W EEER
afety marl ickness )
o HfT BEMMBNET, HEH

S ﬁ oo BALHET.
JT’J BRI KE o NNARE BWATIAN, EEY

H (Minimum insert length of the tool )

TIEBRAIBNKE BNEBALZSESERNME,

h (Maximum insert length of the tool ) Y,

#
4
7]
Uiz]
#
5l

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

A5 Model h ZE= KGS

BT40-SLSA10- 95-M 42 1 10| 13| 1.5 95 42 | 26 * 174 | 25 * 30 | 130 1 2.6
-120-M 67 1 10| 13| 1.5 120 67 | 26 * 20 32 * 30 | 155 1.1 4
-125-M 42 1 10| 13| 1.5 125 42 | 56 * 174 | 25 * 30 | 160 1.1 3.6
-150-M 67 1 10| 13| 1.5 150 67 | 56 * 20 32 * 30 | 185 1.3 4.6

-M 97 1 10| 13| 1.5 150 97 | 26 * 23.2 | 32 * 30 | 185 1.2 6
-155-M 42 2 |10} 13| 15 155 42 | 30 | 53 174 | 25| 39 | 30 | 190 1.4 3.6
-180-M 67 2 |10 13| 15 180 67 | 28 | 58 20 36 | 50 | 30 | 215 1.8 4.4

-M 97 1 10| 13| 1.5 180 97 | 56 * 23.2 | 32 * 30 | 215 1.3 6.9
-210-M 97 2 |10 ] 13| 15 210 97 | 30 | 56 | 23.2 | 32 | 46 | 30 | 245 1.7 6.9

-SLSB10- 95-M 42 1 10 | 16 3 95 42 | 26 * 204 | 32 * 30 | 130 1.1 1.4
-120-M 67 1 10 | 16 3 120 67 | 26 * 23 32 * 30 | 155 1.2 2.4
-125-M 42 1 10 | 16 3 125 42 | 56 * 204 | 32 * 30 | 160 1.3 1.8
-150-M 67 1 10 | 16 3 150 67 | 56 * 23 32 * 30 | 185 1.3 3

-M 97 1 10 | 16 3 150 97 | 26 * 26.2 | 32 * 30 | 185 1.3 3.6
-155-M 42 2 | 10| 16 3 155 42 | 30 | 56 | 204 | 32| 46 | 30 | 190 1.6 1.9
-180-M 67 2 | 10| 16 3 180 67 | 30 | 56 23 32 | 46 | 30 | 215 1.7 3

-M 97 1 10 | 16 3 180 97 | 56 * 26.2 | 32 * 30 | 215 1.4 4.5

-M127 1 10 | 16 3 180 | 127 | 26 * 29.3 | 42 * 30 | 215 1.4 4.5
-210-M 97 2 |10 16 3 210 97 | 30 | 56 | 26.2 | 32 | 46 | 30 | 245 1.8 4.5

-M127 1 10 | 16 3 210 | 127 | 56 * 29.3 | 42 * 30 | 245 1.6 4.9

-M157 1 10 | 16 3 210 | 157 | 26 * 325 | 42 * 30 | 245 1.5 5.6
-240-M127 1 10 | 16 3 240 | 127 | 86 * 29.3 | 50 * 30 | 275 2.1 5

-M157 1 10 | 16 3 240 | 157 | 56 * 32,5 | 50 * 30 | 275 1.8 5.8
-270-M157 2 |10 ] 16 3 270 | 157 | 28 | 58 | 32,5 | 42 | 53 30 | 305 2.3 6.3

MRS RR:

BT40 & - - - @
IIT BRI E working length
L 4<E Length (L)
1:
Ihd

FFE 1R Diameter
£1X S Holder type
S$EFRFZ T, Taper size



B TIR

48

BETHES e

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

MLEYKE

Working length

FIG.2

MITEYKE
Working length

o HET IBEHEMMAWERT, HER

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

:

e

s

%2

RS e W EEEH =E

B2 % Accessories { Safety mark )  Thickness ) z I\ 3
Hl g

1%

5 Model t h ZE=ZKGS S
BT40-SLRB10- 75-M 22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 11 0.6
- 95-M 42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8

-105-M 22 1 10 | 22 6 105 22 56 * 24.3 32 * 30 140 1.3 0.8

-120-M 67 1 10 | 22 6 120 67 26 * 29 42 * 30 155 1.3 1.1

=125-M 42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2

=135-M 22 2 10 | 22 6 135 22 30 | 56 24.3 32 46 30 170 1.7 0.9

-150-M 67 1 10 | 22 6 150 67 56 * 29 42 * 30 185 1.5 1.3

-155-M 42 2 10 | 22 6 155 42 30 | 56 26.4 32 46 30 190 1.7 1.3

-180-M 67 2 10 | 22 6 180 67 28 | 58 29 42 53 30 215 2.1 1.4
=SLFB10- 75-M 22 1 10 | 22 6 75 22 26 * 24.3 32 * 30 110 1.1 0.6
/ - 95-M 42 1 10 | 22 6 95 42 26 * 26.4 32 * 30 130 1.2 0.8
@ =-105-M 22 1 10 | 22 6 105 22 56 * 24.3 32 * 30 140 1.3 0.8
=120-M 67 1 10 | 22 6 120 67 26 * 29 42 * 30 155 1.3 1.1

=125-M 42 1 10 | 22 6 125 42 56 * 26.4 32 * 30 160 1.3 1.2

=-135-M 22 2 10 | 22 6 135 22 30 | 56 24.3 32 46 30 170 1.7 0.9

-150-M 67 1 10 | 22 6 150 67 56 * 29 42 * 30 185 1.5 1.3

=155-M 42 2 10 | 22 6 155 42 28 | 58 26.4 36 50 30 190 1.9 1.1

-180-M 67 2 10 | 22 6 180 67 28 | 58 29 42 53 30 215 2.1 1.4
-SLSA12- 95-M 42 1 12 | 15 1.5 95 42 26 * 19.4 32 * 30 130 1.1 1.8
-120-M 67 1 12 | 15 1.5 120 67 26 * 22 32 * 30 155 1.1 3.3

-125-M 42 1 12 | 15 1.5 125 42 56 * 19.4 32 * 30 160 1.2 2.3

=150-M 67 1 12 | 15 1.5 150 67 56 * 22 36 * 30 185 1.4 3.6

-M 97 1 12 | 15 1.5 150 97 26 * 25.2 32 * 30 185 1.2 49

=-155-M 42 2 12 | 15 1.5 155 42 30 | 56 19.4 32 46 30 190 1.6 2.3

-180-M 67 2 12 | 15 1.5 180 67 30 | 56 22 32 46 30 215 1.7 3.9

=M 97 1 12 | 15 1.5 180 97 56 * 25.2 32 * 30 215 1.4 5.8

=210-M 97 2 12 | 15 1.5 210 97 30 | 56 25.2 32 46 30 245 1.7 5.8

MR-

BT408 - - - @
0T HE I E Working length
L £ Length (L)

FFE R Diameter
IHEEFL S Holder type
S$EFRFZ T, Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬁ%ﬂ

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

T
FIG.2
i} Z =105
9 " MIERKE
S
27 |
é g B2 # Accessories ?gﬁ%ﬁ% (T%Eﬂ HEEER
5 5l o HST EREMMEERT, HEM
; »P.J19 %iﬁj_‘—_j o_ol_? BAHATET
h ?&%ﬁk?ﬁi\tﬁ{%” BIEBALZLIESERNNUE., )
S Model h E=KGS S
BT40-SLSB12- 95-M 42 1 12 1 19 | 3.5 95 42 26 * 23.4 32 * 30 130 1.1 1.1
-120-M 67 1 12 1 19 | 3.5 120 67 26 * 26 32 * 30 155 1.2 1.8
-125-M 42 1 12 1 19 | 3.5 125 42 56 * 23.4 32 * 30 160 1.3 1.5
-150-M 67 1 12 1 19 | 3.5 150 67 56 * 26 32 * 30 185 1.3 2.5
-M 97 1 12 1 19 | 3.5 150 97 26 * 29.2 42 * 30 185 1.3 2.4
=-155-M 42 2 12 1 19 | 3.5 155 42 30 | 56 23.4 32 | 46 30 190 1.7 1.6
-180-M 67 2 12 1 19 | 3.5 180 67 28 | 58 26 36 50 30 215 1.9 2.2
-M 97 1 12 1 19 | 3.5 180 97 56 * 29.2 50 * 30 215 1.7 2.6
-M127 1 12 1 19 | 3.5 180 127 | 26 * 32.3 42 * 30 215 1.5 3.3
-210-M 97 2 12 1 19 | 3.5 210 97 28 | 58 29.2 42 53 30 245 2.1 2.9
-M127 1 12 1 19 | 3.5 210 127 | 56 * 32.3 50 * 30 245 1.9 3.5
-M157 1 12 1 19 | 3.5 210 157 | 26 * 35.5 42 * 30 245 1.7 4.1
-240-M127 1 12 1 19 | 3.5 240 127 | 86 * 32.3 50 * 30 275 2.2 3.8
-M157 1 12 | 19 | 3.5 240 157 | 56 * 35.5 42 * 30 275 1.9 4.7
-270-M157 2 12 | 19 | 3.5 270 157 | 28 | 58 35.5 42 53 30 305 2.4 4.8
=-SLRB12- 75-M 22 1 12 | 26 7 75 22 26 * 28.3 42 * 30 110 1.2 0.4
- 95-M 42 1 12 | 26 7 95 42 26 * 30.4 42 * 30 130 1.2 0.6
-105-M 22 1 12 | 26 7 105 22 56 * 28.3 50 * 30 140 1.4 0.5
=-120-M 67 1 12 | 26 7 120 67 26 * 33 42 * 30 155 1.4 0.8
=125-M 42 1 12 | 26 7 125 42 56 * 30.4 42 * 30 160 1.5 0.7
=135-M 22 1 12 | 26 7 135 22 86 * 28.3 50 * 30 | 170 1.8 0.6
=-150-M 67 1 12 | 26 7 150 67 56 * 33 42 * 30 185 1.6 1.1
=155-M 42 2 12 | 26 7 155 42 28 | 58 30.4 42 | 53 30 | 190 2 0.8
-180-M 67 2 12 | 26 7 180 67 28 | 58 33 42 53 30 215 2.1 1.1

MRS RR:

BT40E - - - W
IIT BRI E working length
L &£ Length (L)
=1
58

JIFFE 1R Diameter
82X S Holder type
SARAZ I Taper size



B TIR

48

BETHES e

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

MLEYKE

Working length

FIG.2

MITEYKE
Working length

o HET IBEHEMMAWERT, HER

:

3

e

1% 8

2EinS 2= W SRR =3

B2 % Accessories { Safety mark )  Thickness ) z I\ 3
Hl g

1%

;N

‘AT,

L D_bf
»P.J19 @ BAERIFKE o JIARE BATAN, BHSY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

-5 Model h HE=KGS S

BT40-SLFB12- 75-M 22 1 12 | 26 7 75 22 | 26 * 28.3 | 42 * 30 | 110 1.2 0.4
/ - 95-M 42 1 12 | 26 7 95 42 | 26 * 304 | 42 * 30 | 130 1.2 0.6
g -105-M 22 1 12 | 26 7 105 22 | 56 * 28.3 | 42 * 30 | 140 1.4 0.5
-120-M 67 1 12 | 26 7 120 67 | 26 * 33 42 * 30 | 155 1.4 0.8
-125-M 42 1 12 | 26 7 125 42 | 56 * 304 | 42 * 30 | 160 1.5 0.7
-135-M 22 2 12126 7 135 22 | 28 | 58 | 28.3 | 42 | 53 30 | 170 1.9 0.6
-150-M 67 1 12 | 26 7 150 67 | 56 * 33 42 * 30 | 185 1.6 1.1
-155-M 42 1 12 | 26 7 155 42 | 86 * 304 | 50 * 30 | 190 2 0.8
-180-M 67 2 |12 ] 26 7 180 67 | 28 | 58 33 42 | 53 30 | 215 2.1 1.1
-SLSB16- 95-M 42 1 16 | 24 4 95 42 | 26 * 28.4 | 42 * 32 | 105 1.2 0.7
-120-M 67 1 16 | 24 4 120 67 | 26 * 31 42 * 32 | 130 1.3 1.1
-125-M 42 1 16 | 24 4 125 42 | 56 * 28.4 | 42 * 32 | 135 1.4 0.9
-150-M 67 1 16 | 24 4 150 67 | 56 * 31 42 * 32 | 160 1.5 1.4
-M 97 1 16 | 24 4 150 97 | 26 * 342 | 42 * 32 | 160 1.4 1.7
-155-M 42 2 |16 | 24 4 155 42 | 28 | 58 | 28.4 | 42 | 53 32 | 165 1.9 1
-180-M 67 2 |16 |24 4 180 67 | 28 | 58 31 42 | 53 32 | 190 2 1.5
-M 97 1 16 | 24 4 180 97 | 56 * 342 | 42 * 32 | 190 1.7 2.1
-M127 1 16 | 24 4 180 | 127 | 26 * 37.3 53 * 32 | 190 1.7 2.1
-210-M 97 1 16 | 24 4 210 97 | 86 * 34.2 | 50 * 32 | 220 2.1 2.1
-M127 1 16 | 24 4 210 | 127 | 56 * 37.3 50 * 32 | 220 2 2.5
-M157 1 16 | 24 4 210 | 157 | 26 * 40.5 | 53 * 32 | 220 1.9 2.7
-240-M127 1 16 | 24 4 240 | 127 | 86 * 37.3 53 * 32 | 250 2.5 2.6
-M157 1 16 | 24 4 240 | 157 | 56 * 40.5 | 50 * 32 | 250 2.2 3.1
-270-M157 1 16 | 24 4 270 | 157 | 86 * 40.5 | 53 * 32 | 280 2.7 3.5
MR-

M E1R Diameter
BE{X S Holder type
S$EFRFZ T Taper size

BT408 - - - @
NI B REE working length
L 4<E Length (L)
IhA




HIZTIN

c?%c%%s BT 5 FE 5

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

afo| 5|S

s
FIG.2
_ = S
9 " MIERKE
348
i3 |
XL - %4172 B ;
2 = 2 #f Accessories [ﬁga%lgz = B EEER
?; 5l o HifT BEMMB/NET, HEM
a »P.J19 ﬁ o ol f BFLAIET .
h ?&ﬁﬁﬁﬁé\nﬁgmn BIEBALZLIESERNNUE., )
S Model t
BT40-SLRB16- 75-M 22 1 16 | 32 8 75 22 26 * 34.3 42 * 32 85 1.2 0.3
- 95-M 42 1 16 | 32 8 95 42 26 * 36.4 42 * 32 105 1.3 0.5
-105-M 22 1 16 | 32 8 105 22 56 * 34.3 42 * 32 115 1.4 0.5
-120-M 67 1 16 | 32 8 120 67 26 * 39 42 * 32 130 1.5 0.7
-125-M 42 1 16 | 32 8 125 42 56 * 36.4 42 * 32 135 1.6 0.7
-135-M 22 2 16 | 32 8 135 22 28 | 58 34.3 42 | 53 32 145 2 0.5
-150-M 67 1 16 | 32 8 150 67 56 * 39 42 * 32 160 1.7 0.9
-155-M 42 2 16 | 32 8 155 42 28 | 58 36.4 42 | 53 32 165 2.1 0.7
-180-M 67 2 16 | 32 8 180 67 28 | 58 39 42 | 53 32 190 2.3 1
-SLFB16- 75-M 22 1 16 | 32 8 75 22 26 * 34.3 42 * 32 85 1.2 0.3
- 95-M 42 1 16 | 32 8 95 42 26 * 36.4 42 * 32 105 1.3 0.5
-105-M 22 1 16 | 32 8 105 22 56 * 34.3 42 * 32 115 1.4 0.5
-120-M 67 1 16 | 32 8 120 67 26 * 39 42 * 32 130 1.5 0.7
-125-M 42 1 16 | 32 8 125 42 56 * 36.4 42 * 32 135 1.6 0.7
-135-M 22 1 16 | 32 8 135 22 86 * 34.3 50 * 32 145 1.9 0.5
-150-M 67 1 16 | 32 8 150 67 56 * 39 42 * 32 160 1.7 0.9
-155-M 42 1 16 | 32 8 155 42 86 * 36.4 50 * 32 165 2 0.7
-180-M 67 2 16 | 32 8 180 67 28 | 58 39 42 | 53 32 190 2.3 1
-SLSB20- 95-M 42 1 20 | 29 | 4.5 95 42 26 * 33.4 42 * 40 105 1.2 0.6
-120-M 67 1 20 | 29 | 4.5 120 67 26 * 36 42 * 40 130 1.3 0.9
=125-M 42 1 20 | 29 | 4.5 125 42 56 * 33.4 42 * 40 135 1.5 0.8
-150-M 67 1 20 | 29 | 4.5 150 67 56 * 36 42 * 40 160 1.6 1.2
-M 97 1 20 | 29 | 4.5 150 97 26 * 39.2 53 * 40 160 1.6 1.2
-155-M 42 2 20 | 29 | 4.5 155 42 28 | 58 33.4 42 | 53 40 165 2 0.9
RIS RA:

#FE12 Diameter
BEAX S Holder type
$HIRAZ T Taper size

BT40 & - - - @
I THEMIEE working length
L < E Length (L)
1:
Ih



B TIR

48

BETHES e

-BT40-SL #4871 (3°—@4H) BT40-SL SHRINK FIT HOLDER(3° MONO)

EEE

MITEYKE

Working length

: Z&pE 2= W EEEHR
B2 f§ Accessories ( Safety mark ) (Trggess)
©® RIfT ISTEMMBRNET, HER
L ool f BRI,
2P T, |k o NRRE BEATRN, BHY

H (Minimum insert length of the tool )

TJABRKBNKE BNABALZSESERNME,

h (Maximum insert length of the tool )

#-E Model h &E=E2KGS S
BT40-SLSB20-180-M 67 20 | 29 | 4.5 180 67 86 * 36 50 * 40 190 2 1.2

*
45
7
]
£
5

-Mm97 | 2029 45 | 180 | 97 [56| * | 392 [50| * [ 40 [190| 19 |14

-m127 |20 [ 29| 45 | 180 [ 127 26| * | 423 [53| * [ 40 [ 190 18 |16

-210-M 97 (20| 29| 45| 210 | 97 |86 | * | 392 | 53| * |40 | 220 | 24 |16

-m127 |20 | 29| 45 | 210 [ 12756 | * | 423 |50 | * [ 40 [ 220 21 |19

-m157 |20 | 29| 45 | 210 [ 157 [ 26 | * | 455 [ 50| * | 40 | 220 2 21

-240-M127 [ 20 [ 29| 45| 240 [ 127 [ 86| * | 423 [50] * [ 40 [ 250 | 24 |23

-m157 |20 [ 29| 45 | 240 | 157 |56 | * | 455 [ 50| * [ 40 | 250 | 24 |24

-270-M157 |20 [ 29| 45 | 270 | 157 [ 86 | * | 455 [ 50| * |40 [ 280 | 27 |29

-SLRB20- 95-M 42 | 20 | 38 95 | 42 | 26| * | 424 [53] * |40 | 105] 15 |o04
-120-M 67 | 20 | 38 120 | 67 | 26| * | 45 |53 | * |40 [130| 17 |05

-125-M 42 | 20 | 38 125 | 42 [ 56| * | 424 [ 53| * [ 40 [135| 19 o5

-150-M 67 | 20 | 38 150 | 67 | 56| * | 45 [50| * | 40 | 160 2 0.7

-155-M 42 | 20 | 38 155 | 42 | 86 | * | 424 | 53| * | 40 | 165 | 22 |06

-180-M 67 | 20 | 38 180 | 67 |86 | * | 45 [s0| * [ 40 [190| 23 o9

-SLFB20- 95-M 42 | 20 | 38 95 | 42 | 26| * | 424 [ 53] * |40 [105] 15 |o04
X -120-m 67 |20 38 120 | 67 | 26| * | a5 [53| * [ 40 [130] 17 o5
3= -125-m 42 | 20| 38 125 | 42 |56 | * | 424 | 53| * | 40 [ 135 | 19 |05
—  -150-M 67 | 20 | 38 150 | 67 | 56| * | a5 [s0| * | 40 | 160 2 0.7
-155-M 42 | 20 | 38 155 | 42 [ 86| * | 424 [ 50| * |40 [ 15| 21 |07

-180-M 67 | 20 | 38 180 | 67 |86 | * | 45 [s0| * [ 40 [190| 23 o009

-SLRB25- 95-M 42 | 25 | 45 95 | 42 | 26| * | 49.4 [ 53] * |45 [ 105 | 15 |03
-125-M 42 | 25 | 45 125 | 42 [ 56| * | 494 | 53| * [ a5 [135| 19 |[o0a4

-155-M 42 | 25 | 45 155 | 42 [ 86| * | 494 [ 53| * |45 [ 165 | 23 o6

-SLFB25- 95-M 42 | 25 | 45 95 | 42 | 26 | * | 49.4 [ 53] * |45 [ 105 | 15 |03
XA -125-ma2 |25 a5 125 | 42 [ 56| * | 494 | 53| * [ a5 [135| 19 |[o0a4

[ =] -155-Mm42 |25]4s5 155 | 42 |86 | * | 494 [ 53| * |45 [ 165 | 23 o6
-SLRB32- 95-M 42 | 32 | 54 95 | 42 | 26| * | 584 | 63| * | 50 | 87 1.8 |03

M EER:

BT408 - - - W
TN B E Working length

L € Length (L)
FFE 1R Diameter
IhBEfL S Holder type
HARAZ I Taper size

S31¥43S YIATOH 1001 LI INRIHS

aAlmma]m ==
Slolololo|lo|o|©|©|[O|©O OO0 |0V OO ©|©




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT40-SL R 4ETI4H (CV BH&R)

FIG.1

BT40-SL SHRINK FIT HOLDER(CV CURVE)

ZifEdhsx

20 curve

—

al O &

MITEYAKE
Working length
FIG.2 BT. NO S
EY Fof o 5
S
e JJ " MITARKE
Working length
5 1 1
CE
27
@ N
B2 ¥ Accessories %fﬁiﬂ? ,T%E W EEER
( Safety mark | { Thickness )
o HET BEMMANEKT, HEH
— i
»PJ19 @ DEDY) BT,
T w |LEREKE L e IARREATNAN, BS54
h TIEEKIEAKE BIEBALZEIESERIMGE.,
( Maximum insert length of the tool ) /
25 Model FIG D C t L M (@] H h BH= KGS )
BT40-SLSA4- 90CV 1 4 7 1.5 90 63 53 12 125 1.2 1.8
=120CV 1 4 7 1.5 120 93 53 12 155 1.3 2.7
=-150CV 1 4 7 1.5 150 123 53 12 185 1.5 4
-180CV 1 4 7 1.5 180 153 53 12 215 1.5 6.6
=210CV 1 4 7 1.5 210 183 53 12 245 1.6 11.6
=-240CV 1 4 7 1.5 240 213 53 12 275 1.8 14
=-SLRA4-120CV 2 4 10 3 120 93 53 12 155 1.3 1.9
=150CV 2 4 10 3 150 123 53 12 185 1.4 2.9
=-180CV 2 4 10 3 180 153 53 12 215 1.5 4.2
=-210CV 2 4 10 3 210 183 53 12 245 1.7 5.7
-SLSA6- 90CV 1 6 9 1.5 90 63 53 18 125 1.2 1.6
=120CV 1 6 9 1.5 120 93 53 18 155 1.3 2.3
=-150CV 1 6 9 1.5 150 123 53 18 185 1.5 3.6
-180CV 1 6 9 1.5 180 153 53 18 215 1.5 5.7
-210CV 1 6 9 1.5 210 183 53 18 245 1.7 7.3
=-240CV 1 6 9 1.5 240 213 53 18 275 1.8 12
=SLRA6- 90CV 2 6 13 3.5 90 63 53 18 125 1.2 1.2
=120CV 2 6 13 3.5 120 93 53 18 155 1.3 1.7
=150CV 2 6 13 3.5 150 123 53 18 185 1.5 2.1
-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8
=-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8
AL A
BT40[8 -B-EN- W
FRZE! Curve
L 4<E Length (L)
TI¥FE 13 Diameter
IhEEfL S Holder type
HFRFZ T Taper size



-BT40-SL #4571 (CV HIZ& R )

FIG.1

RETT RS

BT40-SL SHRINK FIT HOLDER(CV CURVE)

Z4hix

2D curve

B TIR

48

CNCTOOLS

MTEHKE

Working length

Z4ehk

2D curve

z
o
. ALAmKS 7z
L %3
5%
- N\
B2 f§ Accessories %ﬁ%ﬁ (T%(Es} N EESR
/L © o I HEEMANRT, REA
P19 ﬂj ol BAHET.
T | LEERRKE e NRREEANAN, HHL
) NABAINKE — BIABAHZSRSEROIE. )
S Model FIG D C t L M C1 H h E= KGS S
BT40-SLFA6- 90CV 2 6 13 3.5 90 63 53 18 125 1.2 1.2
/ =120CV 2 6 13 3.5 120 93 53 18 155 1.3 1.7
g -150CV 2 6 13 3.5 150 123 53 18 185 1.5 2.1
=-180CV 2 6 13 3.5 180 153 53 18 215 1.7 2.8
=-210CV 2 6 13 3.5 210 183 53 18 245 1.7 4.8
-SLSA8- 90CV 1 8 11 1.5 90 63 53 24 125 1.2 1.4
=120CV 1 8 11 1.5 120 93 53 24 155 1.3 2
=150CV 1 8 11 1.5 150 123 53 24 185 1.5 2.7
-180CV 1 8 11 1.5 180 153 53 24 215 1.6 5
-210CV 1 8 11 1.5 210 183 53 24 245 1.7 6.6
=240CV 1 8 11 1.5 240 213 53 24 275 1.9 8.3
-SLRAS8- 90CV 2 8 16 4 90 63 53 24 125 1.2 0.7
=120CV 2 8 16 4 120 93 53 24 155 1.4 1.2
=150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
=180CV 2 8 16 4 180 153 53 24 215 1.7 2.6
=210CV 2 8 16 4 210 183 53 24 245 1.8 3.5
-SLFA8- 90CV 2 8 16 4 90 63 53 24 125 1.2 0.7
/ =120CV 2 8 16 4 120 93 53 24 155 1.4 1.2
4@ -150CV 2 8 16 4 150 123 53 24 185 1.6 1.8
=-180CV 2 8 16 4 180 153 53 24 215 1.7 2.6
=-210CV 2 8 16 4 210 183 53 24 245 1.8 3.5

MBI EA:

BT40 - ?
L

*ﬁéﬁ’_ﬂ Curve
)

E Length (L

JI#FE1& Diameter
IhEEHLS Holder type

HEFRAZ I Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT40-SL#A4ETIM (CV HIZE!)  BT40-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1 sk

2D curve

mIEMKE

Working length

153

2D curve

e

1%
I
=
2
o N
e/l M mLasiE
e ]
5 L
CE
el
: 5l
b
N

B2 # Accessories %%iﬂﬁ {T%E“ B EEER
o FET BEMMBBNET, HEH

10 % — BT,
JT/ BRI o NARE BATIRN, EHY

H ( Minimum insert length of the tool )

TIERABNKE BNEBALZSIESERNMUE,

h (Maximum insert length of the tool ) )

S Model FIG D C t L M C1 H h HE KGS S
BT40-SLSA10- 90CV 1 10 13 1.5 90 63 53 30 125 1.2 1.8
=120CV 1 10 13 1.5 120 93 53 30 155 1.5 1.3
=-150CV 1 10 13 1.5 150 123 53 30 185 1.6 2.2
-180CV 1 10 13 1.5 180 153 53 30 215 1.7 3.4
-210CV 1 10 13 1.5 210 183 53 30 245 1.7 6
=-240CV 1 10 13 1.5 240 213 53 30 275 2 5.8
-SLRA10- 90CV 2 10 19 4.5 90 63 53 30 125 1.3 0.7
=-120CV 2 10 19 4.5 120 93 53 30 155 1.4 0.9
=-150CV 2 10 19 4.5 150 123 53 30 185 1.6 1.4
-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
=210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
-SLFA10- 90CV 2 10 19 4.5 90 63 53 30 125 1.3 0.7
/ =-120CV 2 10 19 4.5 120 93 53 30 155 1.4 0.9
@ =150CV 2 10 19 4.5 150 123 53 30 185 1.6 1.4
-180CV 2 10 19 4.5 180 153 53 30 215 1.8 2
-210CV 2 10 19 4.5 210 183 53 30 245 1.8 3.1
-SLSA12- 90CV 1 12 15 1.5 90 63 53 30 125 1.3 1.5
-120CV 1 12 15 1.5 120 93 53 30 155 1.5 1.2
=150CV 1 12 15 1.5 150 123 53 30 185 1.5 2.4
-180CV 1 12 15 1.5 180 153 53 30 215 1.7 3.3
=-210CV 1 12 15 1.5 210 183 53 30 245 19 4.6
-240CV 1 12 15 1.5 240 213 53 30 275 2 5.5
FA& 5 BA:
BT40 - - BN - ?
Eh£LE! Curve
L < Length (L)
JIFFE 1R Diameter
IHEEfL S Holder type
S$EFRFZ T, Taper size



B TIR

48

BETHES e

-BT40-SL#A4ETIH (CV BIZE!)  BT40-SL SHRINK FIT HOLDER(CV CURVE)

I
BT. NO St

—

] . ofols

mIBRKE

M Working length

fi2 ¥ Accessories %%ﬁ% (T%ES) B EEER
o HIET EEMANERT, HERH

%CI .0
C T BFHIET,

D_l

»P.J19 kS
[JTT BERKE e JARE BATAN, HHY "
. TARAEAKE  BNEBALRSESERNGE, CF
5%
S Model D c t L M c1 H h EEKG S &
BT40-SLRAT2- 90CV 12 22 5 90 63 53 30 125 1.3 0.6
-120Cv 12 22 5 120 93 53 30 155 16 07
-150CV 12 22 5 150 123 53 30 185 17 11
-180CV 12 22 5 180 153 53 30 215 17 1.9
-210cV 12 22 5 210 183 53 30 245 1.8 2.8
-SLFA12- 90CV 12 22 5 90 63 53 30 125 1.3 0.6
X 1200 12 22 5 120 93 53 30 155 1.6 07
= -150cv 12 22 5 150 123 53 30 185 17 11
— -180cv 12 22 5 180 153 53 30 215 17 1.9
-210CV 12 22 5 210 183 53 30 245 1.8 2.8
-SLSB16- 90CV 16 21 25 90 63 53 32 100 1.3 0.6
-120Cv 16 21 25 120 93 53 32 130 15 0.8
-150CV 16 21 25 150 123 53 32 160 1.6 15
-180CV 16 21 25 180 153 53 32 190 19 1.9
-210CV 16 21 25 210 183 53 32 220 2 3
-240CV 16 21 25 240 213 53 32 250 2.2 37
-SLSB20- 90CV 20 26 3 90 63 50.5 40 100 1.3 0.5
-120Cv 20 26 3 120 93 53 40 130 15 0.8
-150CV 20 26 3 150 123 53 40 160 1.6 13
-180CV 20 26 3 180 153 53 40 190 19 1.8
-210CV 20 26 3 210 183 53 40 220 21 2.3
-240CV 20 26 3 240 213 53 40 250 2.4 3
AL RE:
BT40[8 ET -4 - T - ?
FRZEE! Curve
L 4<E Length (L)
JIFFE 1R Diameter
IhEE S Holder type
S$EFRTZ T Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-BT50-SL #4571 (3°—@H)

BT50-SL SHRINK FIT HOLDER(3° MONO)

B # Accessories

#
4
7]
Uiz]
#
5l

wv
I
=
=
=
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

»P.J19

FIG.1
BT.NO
— = —| N [ o] 5|
2/
L1 M MITHAKE
L
G2 s
_ _ i i _ _ o) > _S I B ol
4] &
P u | |mame
L
(ﬁsa%}rgéﬁ (T%ES ) . Eﬁgm
o o 15T BAMBNET, HEM
ﬁ ol BT,
Ty LEEREEE e NARRMATAN, EHL
. NABAIAKE | HIEEALZSESERNIE,

S Model FIG D C t L M LT L2 1 2 G H h ZEEKGS S
BT50-SLSA3-110-M 42 1 3 6 1.5 110 42 | 30 * 104 | 25 * 9 165 3.6 9.1
-135-M 67 1 3 6 1.5 135 67 | 30 * 13 25 * 9 190 3.6 14.7

-140-M 42 1 3 6 1.5 140 42 | 60 * 104 | 25 * 9 195 3.7 9.8
-165-M 67 1 3 6 1.5 165 67 | 60 * 13 25 * 9 220 3.7 15.9
-M 97 1 3 6 1.5 165 97 | 30 * 16.2 | 26 * 9 220 3.7 20.8

-170-M 42 2 3 6 1.5 170 42 | 33 | 57 104 | 26 | 40 9 225 4.1 9.9
-195-M 67 2 3 6 1.5 195 67 | 33 | 57 13 26 | 40 9 250 4.1 15.8
-M 97 1 3 6 1.5 195 97 | 60 * 16.2 | 26 * 9 250 3.8 22.3

-225-M 97 2 3 6 1.5 225 97 | 33 | 57 16.2 | 26 | 40 9 280 4.1 22.1

-SLRA3 - 90-M 22 1 3 |75]225| 90 22 | 30 * 9.8 25 * 9 145 3.6 2.8
=-110-M 42 1 3 | 75]225] 110 42 | 30 * 11.9 | 26 * 9 165 3.7 5.4

-120-M 22 1 3 |75]225| 120 22 | 60 * 9.8 25 * 9 175 3.7 3.2

-135-M 67 1 3 |75]225] 135 67 | 30 * 145 | 26 * 9 190 3.7 9

-140-M 42 1 3 | 7Z5]2.25| 140 42 | 60 * 11.9 | 26 * 9 195 3.8 6

-150-M 22 2 3 | 7Z5]2.25| 150 22 | 33 | 57 9.8 25 | 39 9 205 4 3.2

-165-M 67 1 3 | 75]2.25] 165 67 | 60 * 145 | 25 * 9 220 3.8 10

-M 97 1 3 | 75]2.25] 165 97 | 30 * 17.7 26 * 9 220 3.7 13

=170-M 42 2 3 | 75]225| 170 42 | 33 | 57 11.9 | 26 | 40 9 225 4.1 6

-195-M 67 2 3 | 75]225] 195 67 | 33 | 57 145 | 26 | 40 9 250 4.1 9.8
-M 97 1 3 | 75]225] 195 97 | 60 * 17.7 26 * 9 250 3.8 14.5
-M127 1 3 | 75]225| 195 | 127 | 30 * 20.8 | 32 * 9 250 3.8 15.7
-225-M 97 2 3 | 75]2.25| 225 97 | 33 | 57 17.7 25 | 39 9 280 4.1 14.4
-M127 1 3 | 7Z5]225| 225 | 127 | 60 * 20.8 | 36 * 9 280 4.1 16.3
-255-M127 2 3 | 75]225| 255 | 127 | 30 | 60 | 20.8 | 32 | 46 9 310 4.4 16.5

MR EER:

E INTBEMEE Working length
L & E Length (L)
JJ#FE & Diameter
IHAE{X S Holder type
#

FRFZ I Taper size



B TIR

48

BETHES e

-BT50-SL #4571 (3°—48) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

MITAEYKE

Working length

o HIET BEEMMBRMNEKT, HEA

% B — BRI
» P19 ﬁ SRR o IERE EATIAN, EEY

H (Minimum insert length of the tool )

TIERKBANKE BIRBALRSESERNMUE,

h ( Maximum insert length of the tool )

FIG.2 BT. NO
- - T B o BN [ EEks
o =} O
(&)
o
I
=
o 2
L2 L1 w |PEERKE m =
L oz é-
TR
I
o — , e
RZLiES B W EEER -
BC % Accessories [ Safety mark ) (Thickness ) z I\ 3
Hl g
o

75 Model D H h =E=KGS S
BT50-SLFB3- 90-M 22 1| 3]95|325] 9 22 | 30| * 1.8 | 26 | * 9 | 145 3.6 1.9
/ -110-M 42 | 1 | 3 |95(3.25| 110 | 42 | 30 | * 139 | 26 | * 9 | 165 3.7 3.3
JE -120-M 22 1 3 195|325 120 | 22 | 60| * 1.8 | 25 | * 9 | 175 3.7 2.4
-135-M 67 | 1 | 3 |95(|3.25| 135 | 67 | 30| * | 165 | 26 | * 9 | 190 3.7 5.4
-140-M 42 | 1 | 3 |95[3.25| 140 | 42 | 60 | * 139 | 25 | * 9 | 195 3.7 4
-150-M 22 | 2 | 3 |95(3.25| 150 | 22 [ 33 |57 | 11.8 | 25| 39 | 9 | 205 4 2.3
-165-M 67 | 1 | 3 |9.5[3.25| 165 | 67 | 60 | * | 16.5 | 26 | * 9 | 220 3.8 6.4
-170-M 42 | 2 | 3 |95(3.25| 170 | 42 [ 33 |57 | 139 | 25| 39 | 9 | 225 4 3.9
-195-M 67 | 2 | 3 |9.5(3.25| 195 | 67 |33 |57 | 16,5 | 25| 39 | 9 | 250 41 6.4
-SLSA4-110-M 42 | 1 | 4 | 7 | 1.5 | 110 | 42 | 30 | * 1.4 |25 * | 12 | 165 3.6 7.2
-135-M 67 | 1 | 4| 7 | 15| 135 | 67 | 30 | * 14 |25 * |12 ] 190 3.6 |11.8
-140-M 42 | 1 | 4| 7| 15| 140 | 42 | 60 | * 1.4 |25 * | 12 | 195 3.7 8
-165-M 67 | 1 | 4 | 7 | 1.5 | 165 | 67 | 60 | * 14 | 25| * | 12 | 220 3.7 13
-Mm97 [ 1| 4| 7|15 ] 165 | 97 | 30| * 172 | 25| * | 12 | 220 3.7 |16.7
-170-M 42 | 2 | 4 | 7 | 1.5 | 170 | 42 | 33 |57 | 114 | 25| 39 | 12 | 225 4 7.9
-195-M 67 | 2 | 4 | 7 | 1.5 | 195 | 67 | 33 | 57 14 | 25| 39 | 12 | 250 4 12.8
-Mm97 [ 1 | 4|7 ] 15|19 | 97 | 60 | * 172 |26 | * | 12 | 250 3.8 |18.4
-225-M 97 | 2 | 4 | 7 | 1.5 | 225 | 97 |33 |57 | 172 | 25| 39 | 12 | 280 41 18.2
-SLRA4-90-M 22 [ 1 | 4 [ 10| 3 90 22 30| * | 123 | 25| * | 12| 145 3.6 1.7
-110-M 42 [ 1 | 4 |10 3 110 | 42 | 30| * | 144 | 25| * | 12 | 165 3.6 3.1
-120-M 22 [ 1 | 4 |10 3 120 | 22 | 60| * | 123 | 25| * | 12 | 175 3.7 2.2
-135-M 67 | 1 | 4 | 10| 3 135 | 67 | 30 | * 17 25| * | 12 | 190 3.7 5.2
-140-Mm 42 | 1 | 4 |10]| 3 140 | 42 | 60| * | 144 | 25| * | 12 | 195 3.7 3.9
-150-Mm 22 [ 2 | 4 | 10| 3 150 | 22 | 33|57 | 123 | 25| 39 | 12 | 205 4 2.2
FA& 15 BR:
%HIEWKE working length
L £E Length (L)
JIFFE 1R Diameter
Ih&EfXS Holder type
RAZ T Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| — I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT. NO
_ _ E— . T e ol
3 3
@ Al
z L2 L1 I
=4
: A L
S
s 7]
I N i=]
518 ' £2iaS EF  WERER
CE B # Accessories ( safety mark) (Thickness )
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

BS Model FIG D @ t L M L1 L2 Cc1 c2 c3 H h B=KGS S
BT50-SLRA4-165-M 67 1 4 10 3 165 67 60 * 17 25 * 12 220 3.8 6.4
-M 97 1 4 10 3 165 97 30 * 20.2 25 * 12 220 3.7 79

=170-M 42 2 4 10 3 170 42 33 | 57 14.4 25 39 12 225 4 3.8
-195-M 67 2 4 10 3 195 67 33 | 57 17 25 39 12 250 41 6.2

-M 97 1 4 |10 3 195 97 | 60 * 20.2 | 25 * 12 | 250 3.8 9.7

-M127 1 4 10 3 195 127 | 30 * 23.3 32 * 12 250 3.8 9.4

-225-M 97 2 4 10 3 225 97 30 | 60 20.2 25 39 12 280 41 9.4
-M127 1 4 10 3 225 127 | 60 * 23.3 32 * 12 280 4 10.4
=-255-M127 2 4 10 3 255 127 | 30 | 60 23.3 32 46 12 310 4.4 10.3
-SLFB4- 90-M 22 1 4 12 4 90 22 30 * 14.3 25 * 12 145 3.6 1.4
/ =-110-M 42 1 4 12 4 110 42 30 * 16.4 25 * 12 165 3.7 2.2
-120-M 22 1 4 12 4 120 22 60 * 14.3 25 * 12 175 3.7 19
=135-M 67 1 4 12 4 135 67 30 * 19 26 * 12 190 3.7 3.6
=140-M 42 1 4 12 4 140 42 60 * 16.4 26 * 12 195 3.8 2.9
-150-M 22 2 4 12 4 150 22 33 | 57 14.3 25 39 12 205 4 1.8
-165-M 67 1 4 12 4 165 67 60 * 19 25 * 12 220 3.8 4.8
=170-M 42 2 4 12 4 170 42 33 57 16.4 26 40 12 225 41 2.8
=-195-M 67 2 4 12 4 195 67 33 | 57 19 26 40 12 250 4.2 4.5
=SLSA6-110-M 42 1 6 9 1.5 110 42 30 * 13.4 25 * 18 165 3.6 4.8
-135-M 67 1 6 9 1.5 135 67 30 * 16 25 * 18 190 3.7 8.1
-140-M 42 1 6 9 1.5 140 42 60 * 13.4 25 * 18 195 3.7 5.7
-165-M 67 1 6 9 1.5 165 67 | 60 * 16 25 * 18 | 220 3.8 9.4

-M 97 1 6 9 1.5 165 97 30 * 19.2 32 * 18 220 3.7 11

=-170-M 42 2 6 9 1.5 170 42 33 | 57 13.4 26 40 18 225 41 5.5
=-195-M 67 2 6 9 1.5 195 67 33 | 57 16 25 39 18 250 4 9.2
-M 97 1 6 9 1.5 195 97 | 60 * 19.2 | 32 * 18 | 250 3.9 11.7
-225-M 97 2 6 9 1.5 225 97 30 | 60 19.2 32 46 18 280 4.3 11.7

A& ER:
? @;ﬂlﬁ?&ﬁfi working length
¥E Length (L)
JI#FE 1R Diameter
IHEEX S Holder type
TRFZ X, Taper size

b3
160



B TIR

48

BETHES e

-BT50-SL #4571 (3°—48) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

MITAEYKE

Working length

FIG.2 BT. NO
- - - - - - S p mCh lalol s
| = |
(&)
@
I
S
. 2
L2 L1 w | BEEREE e
L o= é
e
— 2
#4205 B2 5 g
B # Accessories {%afety S;E (Thickness ) N ERER Igﬁ 5
o ST BEMME T, B g
1%

% B — BRI
» P19 K SRR o IERE EATIAN, EEY

H (Minimum insert length of the tool )

TIERKBANKE BIRBALRSESERNMUE,

h ( Maximum insert length of the tool )

#E Model D t h ZEEKG S
BT50-SLSB6-110-M 42 1 6 | 10 2 110 42 30 * 14.4 25 * 18 165 3.6 3.7
-135-M 67 1 6 | 10 2 135 67 30 * 17 25 * 18 190 3.7 6.2
=-140-M 42 1 6 10 2 140 42 60 * 14.4 25 * 18 195 3.7 4.6
-165-M 67 1 6 10 2 165 67 60 * 17 25 * 18 220 3.8 7.6

-M 97 1 6 | 10 2 165 97 30 * 20.2 32 * 18 | 220 3.8 8.5

-170-M 42 2 6 | 10 2 170 42 33 | 57 14.4 25 | 39 18 | 225 4 4.4
-195-M 67 2 6 | 10 2 195 67 33 | 57 17 25 | 39 18 | 250 4.1 7.3

-M 97 1 6 | 10 2 195 97 60 * 20.2 32 * 18 | 250 3.9 9.2

-M127 1 6 | 10 2 195 127 | 30 * 23.3 32 * 18 | 250 3.8 111

-225-M 97 2 6 | 10 2 225 97 30 | 60 20.2 32 | 46 18 | 280 4.3 9.2
-M127 1 6 | 10 2 225 127 | 60 * 23.3 32 * 18 | 280 4 121
-M157 1 6 | 10 2 225 | 157 | 30 * 26.5 32 * 18 | 280 3.9 13.3
-255-M127 2 6 | 10 2 255 127 | 30 | 60 23.3 32 | 46 18 | 310 4.4 12
-M157 1 6 | 10 2 255 157 | 60 * 26.5 32 * 18 | 310 41 14.7
-285-M157 2 6 | 10 2 285 157 | 30 | 60 26.5 32 | 46 18 | 340 4.5 14.5

=-SLRB6- 90-M 22 1 6 | 14 4 90 22 30 * 16.3 32 * 18 145 3.7 1
-110-M 42 1 6 | 14 4 110 42 30 * 18.4 32 * 18 165 3.7 1.6
-120-M 22 1 6 | 14 4 120 22 60 * 16.3 32 * 18 175 3.8 1.2
-135-M 67 1 6 | 14 4 135 67 30 * 21 32 * 18 190 3.8 2.6
-140-M 42 1 6 | 14 4 140 42 60 * 18.4 32 * 18 195 3.9 1.9
-150-M 22 2 6 | 14 4 150 22 30 | 60 16.3 32 | 46 18 | 205 4.2 1.2
-165-M 67 1 6 | 14 4 165 67 60 * 21 32 * 18 | 220 3.9 3.1
=170-M 42 2 6 | 14 4 170 42 30 | 60 18.4 32 | 46 18 | 225 4.3 1.9

-195-M 67 2 6 | 14 4 195 67 30 | 60 21 32 | 46 18 | 250 4.3 3

FA& 5 ER:
%IEWKE Working length
L € Length (L)
JIFFE & Diameter
IngEXS Holder type
A2 Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| — I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT. NO
_ _ E— . T e ol
3 3
@ Al
z L2 L1 I
=4
: A L
S
s 7]
I N i=]
518 ' £2iaS EF  WERER
CE B # Accessories ( safety mark) (Thickness )
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

S Model D h EEKG S
BT50-SLFB6- 90-M 22 1 6 | 14 4 90 22 30 * 16.3 32 * 18 145 3.7 1
/ -110-M 42 1 6 | 14 4 110 42 30 * 18.4 32 * 18 165 3.7 1.6
g =-120-M 22 1 6 | 14 4 120 22 60 * 16.3 32 * 18 175 3.8 1.2
-135-M 67 1 6 | 14 4 135 67 30 * 21 32 * 18 190 3.8 2.6

-140-M 42 1 6 | 14 4 140 42 60 * 18.4 32 * 18 195 3.9 1.9

=-150-M 22 2 6 14 4 150 22 30 | 60 16.3 32 46 18 205 4.2 1.2

-165-M 67 1 6 | 14 4 165 67 60 * 21 32 * 18 220 3.9 3.1

=170-M 42 2 6 | 14 4 170 42 30 | 60 18.4 32 | 46 18 225 4.3 1.9

-195-M 67 2 6 | 14 4 195 67 30 | 60 21 32 | 46 18 250 4.3 3
-SLSA8-110-M 42 1 8 | 11 1.5 110 42 30 * 15.4 25 * 24 165 3.6 3.5
-135-M 67 1 8 | 11 1.5 135 67 30 * 18 32 * 24 190 3.7 5.4
=140-M 42 1 8 11 1.5 140 42 60 * 15.4 25 * 24 195 3.7 4.4
-165-M 67 1 8 | 11 1.5 165 67 60 * 18 32 * 24 220 3.9 5.9

=M 97 1 8 | 11 1.5 165 97 30 * 21.2 32 * 24 220 3.8 7.9
-170-M 42 2 8 | 11 1.5 170 42 33 | 57 15.4 25 39 24 225 4 4.3
=-195-M 67 2 8 | 11 1.5 195 67 30 | 60 18 32 | 46 24 250 4.3 5.9
-M 97 1 8 | 11 1.5 195 97 60 * 21.2 32 * 24 250 3.9 8.7
-225-M 97 2 8 | 11 1.5 225 97 28 | 62 21.2 36 50 24 280 4.5 8.3
-SLSB8-110-M 42 1 8 | 13| 2.5 110 42 30 * 17.4 32 * 24 165 3.7 2.1
-135-M 67 1 8 | 13| 2.5 135 67 30 * 20 32 * 24 190 3.7 3.5
=140-M 42 1 8 | 13| 2.5 140 42 60 * 17.4 32 * 24 195 3.8 2.4
-165-M 67 1 8 | 13| 2.5 165 67 60 * 20 32 * 24 220 3.9 4
=M 97 1 8 | 13| 2.5 165 97 30 * 23.2 32 * 24 | 220 3.8 5.3
-170-M 42 2 8 | 13| 2.5 170 42 30 | 60 17.4 32 | 46 24 225 4.3 2.4
FAZ 5 B

JI#FE 1] Diameter
IhAEfX S Holder type
W2 K Shank size

? f I THE ML E working length
L < E Length (L)
H#



-BT50-SL #R45JIH#R (3°—@H)

B 4 Accessories

BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

FIG.2

BT.NO

RETT RS

B TIR

48

CNCTOOLS

MITAEYKE

Working length

c3
.01

L2

G2

L1

lalol s

LAY E

Working length

ZEIES

( Safety mark )

B[S
( Thickness )

Y —————T

W EEER
o HET IFAEMMBEERT, HEM

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

% i S0t BT,
»PJ19 T, | LJEEREKE e AR BANAN, BHL
h ﬂ%uf'z?; ’?En)g\“ff{%m ) KBIEBALZESIESERNNE,
#E Model FIG D (@ t L M L1 L2 C1 (] c3 H h &8 KGS S
BT50-SLSB8-195-M 67 2 8 13 2.5 195 67 30 60 20 32 46 24 250 4.3 4
-M 97 1 8 13 2.5 195 97 60 * 23.2 32 * 24 250 4 6.1
-M127 1 8 13 2.5 195 127 30 * 26.3 32 * 24 250 39 71
=225-M 97 2 8 13 2.5 225 97 30 60 23.2 32 46 24 280 4.4 6
-M127 1 8 13 2.5 225 127 60 * 26.3 32 * 24 280 4 8.2
-M157 1 8 13 2.5 225 157 30 * 29.5 42 * 24 280 4 8
-255-M127 2 8 13 2.5 255 127 30 60 26.3 32 46 24 310 4.5 8.1
-M157 1 8 13 2.5 255 157 60 * 29.5 42 * 24 310 4.3 8.5
-285-M157 2 8 13 2.5 285 157 28 60 29.5 42 56 24 340 4.9 8.5
=-SLRB8- 90-M 22 1 8 18 5 90 22 30 * 20.3 32 * 24 145 3.7 0.7
-110-M 42 1 8 18 5 110 42 30 * 22.4 32 * 24 165 3.7 1.1
=120-M 22 1 8 18 5 120 22 60 * 20.3 32 * 24 175 3.8 0.9
-135-M 67 1 8 18 5 135 67 30 * 25 32 * 24 190 3.8 1.7
=140-M 42 1 8 18 5 140 42 60 * 22.4 32 * 24 195 39 1.4
=150-M 22 2 8 18 5 150 22 30 60 20.3 32 46 24 205 4.3 0.9
=-165-M 67 1 8 18 5 165 67 60 * 25 32 * 24 220 4 2.2
=170-M 42 2 8 18 5 170 42 28 62 22.4 36 50 24 225 4.5 1.3
=195-M 67 2 8 18 5 195 67 30 60 25 32 46 24 250 4.4 2.2
=-SLFB8- 90-M 22 1 8 18 5 90 22 30 * 20.3 32 * 24 145 3.7 0.7
=110-M 42 1 8 18 5 110 42 30 * 22.4 32 * 24 165 3.7 1.1
=120-M 22 1 8 18 5 120 22 60 * 20.3 32 * 24 175 3.8 0.9
=135-M 67 1 8 18 5 135 67 30 * 25 32 * 24 190 3.8 1.7
=140-M 42 1 8 18 5 140 42 60 * 22.4 32 * 24 195 39 1.4
-150-M 22 2 8 18 5 150 22 30 60 20.3 32 46 24 205 4.3 0.9
-165-M 67 1 8 18 5 165 67 60 * 25 32 * 24 220 4 2.2
=170-M 42 2 8 18 5 170 42 30 60 22.4 32 46 24 225 4.3 1.4
=195-M 67 2 8 18 5 195 67 30 60 25 32 46 24 250 4.4 2.2
A& 5 RA:

L € Length (L)

T I THE I E Working length
JI#FE 1 Diameter
IEEX S Holder type
H#

TRFZ T, Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| — I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT. NO
_ _ E— . T e ol
3 3
@ Al
z L2 L1 I
=4
: A L
S
s 7]
I N i=]
518 ' £2iaS EF  WERER
CE B # Accessories ( safety mark) (Thickness )
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

-5 Model h HE=KGS S

BT50-SLSA10-110-M 42 1 10| 13| 1.5 110 42 | 30 * 174 | 25 * 30 | 165 3.6 2.6
=135-M 67 | 1 10| 13| 1.5 135 67 | 30 * 20 32 * 30 | 190 3.7 4
-140-M 42 | 1 10| 13| 1.5 140 42 | 60 * 174 | 25 * 30 | 195 3.7 3.7
-165-M 67 | 1 10| 13| 1.5 165 67 | 60 * 20 32 * 30 | 220 3.9 4.6

-Mm 97 | 1 10| 13| 1.5 165 97 | 30 * 23.2 | 32 * 30 | 220 3.8 6
-170-M 42 | 2 | 10| 13 | 15 170 42 | 33 | 57 174 | 25 | 39 | 30 | 225 4 3.5
-195-M 67 | 2 | 10| 13 | 15 195 67 | 30 | 60 20 32 | 46 | 30 | 250 4.3 4.6

-M 97 | 1 10| 13| 1.5 195 97 | 60 * 23.2 | 32 * 30 | 250 3.9 6.9
=225-M 97 | 2 | 10| 13 | 15 225 97 | 30 | 60 | 23.2 | 32 | 46 | 30 | 280 4.4 6.8

-SLSB10-110-M 42 | 1 10 | 16 3 110 42 | 30 * 204 | 32 * 30 | 165 3.7 1.4
-135-M 67 | 1 10 | 16 3 135 67 | 30 * 23 32 * 30 | 190 3.8 2.4
-140-M 42 | 1 10 | 16 3 140 42 | 60 * 204 | 32 * 30 | 195 3.9 1.8
-165-M 67 | 1 10 | 16 3 165 67 | 60 * 23 32 * 30 | 220 3.9 3

-M 97 | 1 10 | 16 3 165 97 | 30 * 26.2 | 32 * 30 | 220 3.9 3.7
=170-M 42 | 2 | 10| 16 3 170 42 | 30 | 60 | 20.4 | 32 | 46 | 30 | 225 4.3 1.8
-195-M 67 | 2 | 10| 16 3 195 67 | 30 | 60 23 32 | 46 | 30 | 250 4.3 3

-M 97| 1 10 | 16 3 195 97 | 60 * 26.2 | 32 * 30 | 250 4 4.5

-M127 | 1 10 | 16 3 195 | 127 | 30 * 29.3 | 42 * 30 | 250 4 4.5
=225-M 97 | 2 | 10| 16 3 225 97 | 30 | 60 | 26.2 | 32 | 46 | 30 | 280 4.4 4.4

-M127 | 1 10 | 16 3 225 | 127 | 60 * 29.3 | 42 * 30 | 280 4.2 4.9

-M157 | 1 10 | 16 3 225 | 157 | 30 * 325 | 42 * 30 | 280 4.1 5.6
=255-M127 | 2 | 10 | 16 3 255 | 127 | 28 | 62 | 293 | 42 | 56 | 30 | 310 4.8 4.9

-M157 | 1 10 | 16 3 255 | 157 | 60 * 325 | 42 * 30 | 310 4.4 6.1
-285-M157 | 2 | 10 | 16 3 285 | 157 | 28 | 62 | 325 | 42 | 56 | 30 | 340 5 6.1

MRS BR:

? W;IE?&KE working length
L 4<Z Length (L)
JI#FE & Diameter
HBE

£1X S Holder type
HEFRAZ I Taper size



B TIR

48

BETHES e

-BT50-SL #4571 (3°—48) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

MITAEYKE

Working length

FIG.2 BT. NO
- - - - - - S p mCh lalol s
| = |
(&)
@
I
S
e 2
L2 L1 w | BEEREE e
L o= é
e
— 2
#4205 B2 5 g
B # Accessories {%afety S;E (Thickness ) N ERER Igﬁ 5
o ST BEMME T, B g
1%

% B — BRI
» P19 ﬁ SRR o IERE EATIAN, EEY

H (Minimum insert length of the tool )

TIERKBANKE BIRBALRSESERNMUE,

h ( Maximum insert length of the tool )

75 Model t h =E=KGS S
BT50-SLRB10- 90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6
-110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8
=120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
-135-Mé67 1 10 | 22 6 135 67 30 * 29 42 * 30 190 3.9 1.1
-140-M42 1 10 | 22 6 140 42 60 * 26.4 32 * 30 195 3.9 1.2
=-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8
-165-Mé67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 41 1.3
=170-M42 2 10 | 22 6 170 42 28 | 62 26.4 36 50 30 225 4.5 1
=-195-M67 2 10 | 22 6 195 67 28 | 62 29 42 56 30 250 4.7 1.3
=SLFB10-90-M22 1 10 | 22 6 90 22 30 * 24.3 32 * 30 145 3.7 0.6
/ -110-M42 1 10 | 22 6 110 42 30 * 26.4 32 * 30 165 3.8 0.8
@ =120-M22 1 10 | 22 6 120 22 60 * 24.3 32 * 30 175 3.9 0.8
-135-Mé67 1 10 | 22 6 135 67 30 * 29 42 * 30 190 3.9 1.1
-140-M42 1 10 | 22 6 140 42 60 * 26.4 36 * 30 195 4 1
=-150-M22 2 10 | 22 6 150 22 30 | 60 24.3 32 46 30 205 4.3 0.8
-165-M67 1 10 | 22 6 165 67 60 * 29 42 * 30 220 4] 1.3
=170-M42 2 10 | 22 6 170 42 30 | 60 26.4 32 46 30 225 4.3 1.2
-195-Mé67 2 10 | 22 6 195 67 28 | 62 29 42 56 30 250 4.7 1.3
-SLSA12-110-M42 1 12 | 15 1.5 110 42 30 * 19.4 32 * 30 165 3.7 19
-135-Mé67 1 12 | 15 1.5 135 67 30 * 22 32 * 30 190 3.7 3.3
=-140-M42 1 12 | 15 1.5 140 42 60 * 19.4 32 * 30 195 3.8 2.3
-165-M67 1 12 | 15 1.5 165 67 60 * 22 32 * 30 220 3.9 3.9
-M97 1 12 | 15 1.5 165 97 30 * 25.2 32 * 30 220 3.8 49
=170-M42 2 12 | 15 1.5 170 42 30 | 60 19.4 32 46 30 225 4.3 2.3
-195-M67 2 12 | 15| 1.5 195 67 30 | 60 22 32 | 46 30 | 250 4.3 3.9
-M97 1 12 | 15 1.5 195 97 60 * 25.2 32 * 30 250 4 5.9
-225-M97 2 12 | 15 1.5 225 97 30 | 60 25.2 32 46 30 280 4.4 5.8

MBI EA:

? T I THERMLE Working length
L 4 Length (L)
7]

FFE & Diameter
IHAE{X S Holder type
ARz = Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| — I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT. NO
_ _ E— . T e ol
3 3
@ Al
z L2 L1 I
=4
: A L
S
s 7]
I N i=]
518 ' £2iaS EF  WERER
CE B # Accessories ( safety mark) (Thickness )
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

-5 Model h HE=KGS S

BT50-SLSB12-110-M42 1 12 | 19 | 3.5 110 42 30 * 23.4 32 * 30 165 3.7 1.1
-135-M67 1 12 | 19 | 3.5 135 67 30 * 26 32 * 30 190 3.8 1.9
-140-M42 1 12 | 19 | 3.5 140 42 60 * 23.4 32 * 30 195 3.9 1.6
-165-M67 1 12 | 19 | 3.5 165 67 60 * 26 32 * 30 | 220 3.9 2.5
-M97 1 12 | 19 | 3.5 165 97 30 * 29.2 42 * 30 | 220 3.9 2.4
=-170-M42 2 12 | 19 | 3.5 170 42 28 | 62 23.4 36 | 50 30 | 225 4.5 1.3
-195-M67 2 12 119 | 3.5 195 67 30 | 60 26 32 | 46 30 | 250 4.4 2.4
-M97 1 12 | 19 | 3.5 195 97 60 * 29.2 42 * 30 | 250 4.2 2.7
-M127 1 12 | 19 | 3.5 195 127 | 30 * 32.3 42 * 30 | 250 41 3.3
-225-M97 2 12 |19 | 3.5 225 97 28 | 62 29.2 42 | 56 30 | 280 4.8 2.8
-M127 1 12 | 19 | 3.5 225 127 | 60 * 32.3 42 * 30 | 280 4.3 3.7
-M157 1 12 | 19 | 3.5 225 157 | 30 * 35.5 42 * 30 | 280 4.3 4.1
=-255-M127 2 12 | 19 | 3.5 255 127 | 28 | 62 32.3 42 | 56 30 | 310 4.9 3.7
-M157 1 12 | 19 | 3.5 255 157 | 60 * 35.5 42 * 30 | 310 4.5 4.7
-285-M157 2 12 | 19 | 3.5 285 157 | 28 | 62 35.5 42 | 56 30 | 340 5.1 4.7
=-SLRB12- 90-M22 1 12 | 26 7 90 22 30 * 28.3 42 * 30 145 3.7 0.4
-110-M42 1 12 | 26 7 110 42 30 * 30.4 42 * 30 165 3.8 0.6
-120-M22 1 12 | 26 7 120 22 60 * 28.3 42 * 30 175 4 0.5
=135-M67 1 12 | 26 7 135 67 30 * 33 42 * 30 190 4 0.8
-140-M42 1 12 | 26 7 140 42 60 * 30.4 42 * 30 195 4.1 0.7
-150-M22 2 12 | 26 7 150 22 28 | 62 28.3 42 | 56 30 | 205 4.6 0.5
-165-M67 1 12 | 26 7 165 67 60 * 33 42 * 30 | 220 4.2 1
=170-M42 2 12 | 26 7 170 42 28 | 62 30.4 42 | 56 30 | 225 4.7 0.7
-195-M67 2 12 | 26 7 195 67 28 | 62 33 42 | 56 30 | 250 4.8 1.1
FAZ 5 B
T ﬁlﬁ?ﬁlﬁﬁ Working length
L 4<Z Length (L)
JIFFE 1R Diameter
BEfXS Holder type
HFRAZ I Taper size



B TIR

48

BETHES e

-BT50-SL #4571 (3°—48) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

MITAEYKE

Working length

FIG.2 BT. NO
- - - - - - S p mCh lalol s
| = |
(&)
@
I
S
. 2
L2 L1 w | BEEREE e
L o= é
e
— 2
#4205 B2 5 g
B # Accessories {%afety S;E (Thickness ) N ERER Igﬁ 5
o ST BEMME T, B g
1%

% B — BRI
» P19 ﬁ SRR o IERE EATIAN, EEY

H (Minimum insert length of the tool )

TIERKBANKE BIRBALRSESERNMUE,

h ( Maximum insert length of the tool )

t h =E=KGS S
BT50-SLFB12- 90-M22 1 (12|26 7 90 | 22 | 30| * | 283 [ 42| * | 30 | 145 3.7 0.4
A -1o-ma2 | 1 [12]26] 7 [ 110 | 42 [30] * [ 304 |42 * [30 ] 165 3.8 0.6
—E -120-M22 | 1 | 12| 26| 7 120 | 22 | 60| * | 383 | 42| * | 30 | 175 4 0.5
-135-m67 | 1 [12|26| 7 | 135 | 67 | 30 | * 33 [ 42| * | 30 | 190 4 0.8
-140-M42 | 1 | 12| 26| 7 | 140 | 42 | 60 | * | 30.4 | 42| * | 30 | 195 47 0.7
-150-M22 | 2 [ 12| 26| 7 | 150 | 22 | 28 | 62 | 283 | 42| 56 | 30 | 205 4.6 0.5

-165-M67 | 1 [ 12| 26| 7 | 165 | 67 | 60 | * 33 [ 42| * | 30 | 220 4.2 1
-170-M42 | 2 |12 26| 7 | 170 | 42 | 28 | 62 | 30.4 | 42 | 56 | 30 | 225 47 0.7
-195-M67 | 2 |12 26| 7 | 195 | 67 | 28 | 62 | 33 |42 | 56 | 30 | 250 4.8 1.1
-SLSB16-110-M42 | 1 |16 |24 | 4 | 110 | 42 | 30| * | 284 |42 | * | 32 | 165 3.8 0.7
-135-M67 | 1 |16 | 24| 4 | 135 | 67 | 30 | * 31 42 | * | 32 | 190 3.9 1.1
-140-M42 | 1 |16 |24 | 4 | 140 | 42 | 60 | * | 284 | 42| * | 32 | 195 4 0.9
-165-M67 | 1 |16 | 24| 4 | 165 | 67 | 60 | * 31 42 | * | 32 | 220 4] 1.4
-M97 | 1 |16 24| 4 | 165 | 97 | 30| * | 342 | 42| * | 32 | 220 4 17
-170-M42 | 2 |16 |24 | 4 | 170 | 42 | 28 | 62 | 28.4 | 42 | 56 | 32 | 225 4.6 0.9
-195-M67 | 2 |16 |24 | 4 | 195 | 67 | 28 | 62 | 31 42 | 56 | 32 | 250 47 1.4

-M97 | 1 |16 24| 4 | 195 | 97 | 60| * | 342 | 42| * | 32 | 250 4.3 2

-M127 | 1 |16 24| 4 | 195 | 127 [ 30| * | 373 | 53| * | 32 | 250 4.2 2.1

-225-M97 | 2 |16 |24 | 4 | 225 | 97 | 28 | 62 | 34.2 | 42| 56 | 32 | 280 49 2.1
-M127 | 1 |16 24| 4 | 225 | 127 | 60| * | 373 | 53| * | 32 | 280 4.6 2.3
-M157 | 1 |16 |24 | 4 | 225 | 157 | 30| * | 405 | 53| * | 32 | 280 4.4 2.6
-255-M127 | 2 |16 |24 | 4 | 255 | 127 | 28 | 62 | 373 | 53 | 67 | 32 | 310 5.5 2.3
-M157 | 1 |16 |24 | 4 | 255 | 157 | 60 | * | 405 | 53| * | 32 | 310 4.8 2.8
-285-M157 | 2 |16 |24 | 4 | 285 | 157 | 28 | 62 | 40.5 | 53 | 67 | 32 | 340 5.7 2.9

A5 RE:
T %lﬁ?&ﬁg Working length
L £ Length (L)
JIF¥FE 12 Diameter
IhBERNS Holder type
fRFZ X, Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| — I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT. NO
_ _ E— . T e ol
3 3
@ Al
z L2 L1 I
=4
: A L
S
s 7]
I N i=]
518 ' £2iaS EF  WERER
CE B # Accessories ( safety mark) (Thickness )
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT’J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

-5 Model h HE=KGS S

BT50-SLRB16- 90-M22 1 |16 |32| 8 90 | 22 | 30| * | 343 | 42| * | 32| 145 3.8 0.3
-110-M42 | 1 |16 32| 8 110 | 42 | 30| * | 364 | 42| * | 32 | 165 3.9 0.5
-120-M22 | 1 | 16| 32| 8 120 | 22 | 60 | * | 343 | 42| * | 32 | 175 4 0.5
-135-M67 | 1 |16 (32| 8 135 | 67 | 30 | * 39 [ 42| * | 32| 190 41 0.6
-140-M42 | 1 | 16| 32| 8 140 | 42 | 60 | * | 364 | 42| * | 32 | 195 4.2 0.6
-150-M22 | 2 |16 32| 8 150 | 22 | 28 | 62 | 343 | 42| 56 | 32 | 205 4.6 0.5
-165-M67 | 1 | 16| 32| 8 165 | 67 | 60 | * 39 [ 42| * | 32| 220 4.3 0.9
-170-M42 | 2 |16 (32| 8 170 | 42 | 28 | 62 | 36.4 | 42| 56 | 32 | 225 4.8 0.7
-195-M67 | 2 | 16| 32| 8 195 | 67 | 28 | 62 39 | 42| 56 | 32 | 250 49 0.9

-SLFB16-90-M22 | 1 |16 |32 | 8 90 | 22 |30 | * | 343 [ 42| * | 32 | 145 3.8 0.3
/ -110-M42 | 1 |16 (32| 8 110 | 42 | 30| * | 364 | 42| * | 32 | 165 3.9 0.5
4@ -120-M22 | 1 | 16| 32| 8 120 | 22 | 60 | * | 343 | 42| * | 32 | 175 4 0.5
-135-M67 | 1 |16 (32| 8 135 | 67 | 30 | * 39 [ 42| * | 32|19 41 0.6
-140-M42 | 1 |16 (32| 8 140 | 42 | 60 | * | 364 | 42| * | 32| 195 4.2 0.6
-150-mM22 | 2 |16 (32| 8 150 | 22 | 28 | 62| 343 | 42| 56 | 32 | 205 4.6 0.5
-165-M67 | 1 | 16| 32| 8 165 | 67 | 60 | * 39 [ 42| * | 32| 220 4.3 0.9
-170-M42 | 2 | 16| 32| 8 170 | 42 | 28 | 62 | 36.4 | 42 | 56 | 32 | 225 4.8 0.7
-195-M67 | 2 |16 (32| 8 195 | 67 | 28 | 62 39 | 42| 56 | 32 | 250 4.9 0.9
-SLSB20-110-M42 | 1 |20 (29| 45 | 110 | 42 | 30| * | 334 | 42| * | 40 | 165 3.8 0.5
-135-Mm67 | 1 | 20| 29| 45 | 135 | 67 | 30 | * 36 [ 42| * | 40 | 190 3.9 0.9
-140-M42 | 1 | 20| 29| 45 | 140 | 42 | 60 | * | 334 | 42| * | 40 | 195 41 0.8
-165-M67 | 1 | 20| 29| 45 | 165 | 67 | 60 | * 36 | 42| * | 40 | 220 4.2 1.2

-Mm97 | 1 | 20|29 | 45 | 165 | 97 | 30| * | 39.2 | 53| * | 40 | 220 41 1.1

-170-M42 | 2 | 20| 29| 45 | 170 | 42 | 28 | 62 | 33.4 | 42| 56 | 40 | 225 47 0.8

MRS BR:

T E NI HERMLE working length

L 4<Z Length (L)
#FE 1 Diameter
IngEXS Holder type
$HARAZ T, Taper size



B TIR

48

BETHES e

-BT50-SL #4571 (3°—48) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1

MITAEYKE

Working length

FIG.2 BT. NO
- - - - - - S p mCh lalol s
| = |
(&)
@
I
S
. 2
L2 L1 w | BEEREE e
L o= é
e
— 2
#4205 B2 5 g
B # Accessories {%afety S;E (Thickness ) N ERER Igﬁ 5
o ST BEMME T, B g
1%

% B — BRI
» P19 K SRR o IERE EATIAN, EEY

H (Minimum insert length of the tool )

TIERKBANKE BIRBALRSESERNMUE,

h ( Maximum insert length of the tool )

S Model

BT50-SLSB20-195-M67 2 12029 45 195 67 | 28 | 62 36 42 | 56 | 40 | 250 4.8 1.2
-M97 1 20| 29 | 4.5 195 97 | 60 * 39.2 | 53 * 40 | 250 4.5 1.3

-M127 1 20| 29 | 4.5 195 | 127 | 30 * 42.3 | 53 * 40 | 250 4.3 1.5

-225-M97 2 120129 | 45 | 225 97 | 28 | 62 | 39.2 | 53 | 67 | 40 | 280 5.4 1.3

-M127 1 20 | 29 | 45 | 225 | 127 | 60 * 42.3 | 53 * 40 | 280 4.7 1.8

-M157 1 20 | 29 | 45 | 225 | 157 | 30 * 45.5 | 53 * 40 | 280 4.6 1.7

-255-M127 2 1 20]29| 45 | 255 | 127 | 28 | 62 | 423 | 53 | 67 | 40 | 310 5.6 1.7

-M157 1 20| 29 | 45 | 255 | 157 | 60 * 45.5 | 53 * 40 | 310 5 2.2
-285-M157 2 12029 | 45 | 285 | 157 | 28 | 62 | 455 | 53 | 67 | 40 | 340 5.9 2.2
-SLRB20-110-M42 1 20 | 38 9 110 42 | 30 * 42.4 | 53 * 40 | 165 4 0.3
-135-M67 1 20 | 38 9 135 67 | 30 * 45 53 * 40 | 190 4.2 0.4
-140-M42 1 20 | 38 9 140 42 | 60 * 42.4 | 53 * 40 | 195 4.4 0.4
-165-M67 1 20 | 38 9 165 67 | 60 * 45 53 * 40 | 220 4.6 0.6
-170-M42 2 | 20 38 9 170 42 | 28 | 62 | 42.4 | 53 | 67 | 40 | 225 5.3 0.4
-195-M67 2 | 20| 38 9 195 67 | 28 | 62 45 53 | 67 | 40 | 250 5.5 0.6
-SLFB20-110-M42 1 20 | 38 9 110 42 | 30 * 42.4 | 53 * 40 | 165 4 0.3
/ -135-M67 1 20 | 38 9 135 67 | 30 * 45 53 * 40 | 190 4.2 0.4
Dq -140-M42 1 20 | 38 9 140 42 | 60 * 42.4 | 53 * 40 | 195 4.4 0.4
-165-M67 1 20 | 38 9 165 67 | 60 * 45 53 * 40 | 220 4.6 0.6
-170-M42 2 | 20| 38 9 170 42 | 28 | 62 | 42.4 | 53 | 67 | 40 | 225 5.3 0.4
-195-M67 2 |20 38 9 195 67 | 28 | 62 45 53 | 67 | 40 | 250 5.5 0.6

A& ER:

f INT BRI Working length
L €Z Length (L)
JI#FE & Diameter
Ih

BE1XS Holder type
SEFRFZ T Taper size




HIZTIN

ci%c%ﬁs BT 5 FE 5

-BT50-SL #4871 (3°—4H) BT50-SL SHRINK FIT HOLDER(3° MONO)

FIG.1
BT. NO
— -| - I 1= PR x|
A
L1 M MTHRSE
L
FIG.2 BT.NO
_ _ E— . — T ol
& R~
@ Al
z L2 L1 W | BEEMKE
2 ## L
i
B
5
=}
I N i=]
] . zeiRe EF  EIRER
=) E BC % Accessories ( Safety mark ) cknoss .
a5l o RIfT BEMMANRT, HER
=
=
w

ﬁ S BRI,
» P19 JT/J SR o NIARE EAJIAN, BEEY

H (Minimum insert length of the tool )

TNERKINKEE BINEBALZRSESERNME,

h ( Maximum insert length of the tool )

S Model h EEKGS S

BT50-SLRB25-110-M42 1 125|145 | 10 110 42 | 30 * 49.4 | 53 * 45 | 165 4.1 0.3
-140-M42 1 |25|45| 10 140 42 | 60 * 49.4 | 53 * 45 | 195 4.5 0.4

-170-M42 2 | 25]145] 10 170 42 | 28 | 62 | 49.4 | 53 | 67 | 45 | 195 5.3 0.4
SLFB25-110-M42 1 |25|45| 10 110 42 | 30 * 49.4 | 53 * 45 | 165 4.1 0.3

Z -140-M42 1 |25|45| 10 140 42 | 60 * 49.4 | 53 * 45 | 195 4.5 0.4
E -170-M42 2 | 25]145] 10 170 42 | 28 | 62 | 49.4 | 53 | 67 | 45 | 195 5.4 0.4
-SLRB32-110-M42 1 32|54 | N 110 42 | 30 * 58.4 | 63 * 50 | 160 4.0 0.2
-140-M42 1 32|54 | N 140 42 | 60 * 58.4 | 63 * 50 | 171 4.6 0.3

-170-M42 2 [ 3254 1 170 42 | 28 | 62 584 | 63| 77 | 50 | 171 5.8 0.3

AL BA:

T I B®E Working length
L & Length (L)
JI#FEH 12 Diameter

HEEX S Holder type
$ERZER Taper size



-BT50-SL #4578 (CV HIZ& R )

FIG.1

B TIR

48

BETHES e

BT50-SL SHRINK FIT HOLDER(CV CURVE)

LAY EE

Working length

FIG.2
=derinsg
BT. NO 2o
z
- = = = = = 3 = === = - lalo|s ;&5
=
Ao
MIBHKRE e
M Working length ,2
L # &
Hl g
- N\
B2 # Accessories %?iﬂﬁ (T%E } W EFEEER
afety marl ickness
E o Hi§T BFEMMBEERT, HEH
P19 ﬂj >0l BAHET.
T w |LEERAKE e IRZREATAN, WY
X (JJE%*?FF)Q\I}%'J%% ) BIIEBALNZ2IESERNME,
laximum insert length of the tool /
S Model FIG D @ t L M C1 H h BH= KGS S
BT50-SLSA4-165CV 1 4 7 1.5 165 127 85 12 220 5.2 1.8
=195CV 1 4 7 1.5 195 157 85 12 250 5.3 2.6
=225CV 1 4 7 1.5 225 187 85 12 280 5.5 3.8
=255CV 1 4 7 1.5 255 217 85 12 310 5.6 5.7
-285CV 1 4 7 1.5 285 247 85 12 340 6.4 5.9
=315CV 1 4 7 1.5 315 277 85 12 370 8.3 7.7
=SLSA6-165CV 1 6 9 1.5 165 127 85 18 220 51 1.5
=195CV 1 6 9 1.5 195 157 85 18 250 5.2 2.4
-225CV 1 6 9 1.5 225 187 85 18 280 5.7 2.9
=255CV 1 6 9 1.5 255 217 85 18 310 5.9 4
-285CV 1 6 9 1.5 285 247 85 18 340 6.2 5.2
=-315CV 1 6 9 1.5 315 277 85 18 370 8.4 6.9
-SLSA8-165CV 1 8 11 1.5 165 127 85 24 220 4.9 1.4
=195CV 1 8 11 1.5 195 157 85 24 250 5.3 19
=225CV 1 8 11 1.5 225 187 85 24 280 5.8 2.3
=-255CV 1 8 11 1.5 255 217 85 24 310 5.8 3.7
-285CV 1 8 11 1.5 285 247 85 24 340 6 49
=315CV 1 8 11 1.5 315 277 85 24 370 8.4 5
=SLRA8-195CV 2 8 16 4 195 157 85 24 250 5.4 1.1
-225CV 2 8 16 4 225 187 85 24 280 5.6 1.5
=-255CV 2 8 16 4 255 217 85 24 310 5.8 2.2
-285CV 2 8 16 4 285 247 85 24 340 5.9 3
AL RE:

JIFFE 1 Diameter
INEELS Holder type
AT I, Taper size

$Eé£§2 Curve

L € Length (L)




HIZTIN

R

CNCTOOLS

+BT50-SL #4514 (CV BH&E)

*
4
7]
Uiz]
#
5l

wv
=
=
=
~
i
=
=
o
[s]
=)
=
o
=
=]
m
el
w
m
=
m
wn

HETIHFE S

BT50-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1

5

MITHEYKE

Working length

MITEHBKE
Working length

B2 4+ Accessories i%ylﬁ%ﬁ %\ HIEER )
o W] BEMMBKNET, HEH
puts @% 5ol BT,
T (Mﬁqﬁ%ﬁﬂ%m o JIARRK BmAJIAN, BEEY
) JREXEAKE,, WORBALRSESERONE,
#E Model FIG D C t L M C1 H h =8 KGS S
BT50-SLFA8-195CV 2 8 16 4 195 157 85 24 250 5.4 1.1
A -2250v 2 8 16 4 225 187 85 24 280 5.6 1.5
@ -255CV 2 8 16 4 255 217 85 24 310 5.8 2.2
-285CV 2 8 16 4 285 247 85 24 340 5.9 3
-SLSA10-165CV 1 10 13 | 15 165 127 85 30 220 49 1.2
-195CV 1 10 13 | 15 195 157 85 30 250 5.5 1.5
-225CV 1 10 13 | 15 225 187 85 30 280 5.4 2.4
-255CV 1 10 13 | 15 255 217 85 30 310 6.1 2.6
-285CV 1 10 13 | 15 285 247 85 30 340 6.3 3.7
-315CV 1 10 13 | 15 315 277 85 30 370 8.4 4.6
-SLRA10-165CV 2 10 19 | 45 165 127 85 30 220 5.1 0.7
-195CV 2 10 19 | 45 195 157 85 30 250 5.2 1.1
-225CV 2 10 19 | 45 | 225 187 85 30 280 5.9 1.2
-255CV 2 10 19 | 45 | 255 217 85 30 310 6.1 1.7
-285CV 2 10 19 | 45 | 285 247 85 30 340 6.2 2.4
-SLFA10-165CV 2 10 19 | 45 165 127 85 30 220 5.1 0.7
/ -195CV 2 10 19 | 45 195 157 85 30 250 5.2 1.1
—E -225CV 2 10 | 19 | 45| 225 187 85 30 280 5.9 1.2
-255CV 2 10 19 | 45 | 255 217 85 30 310 6.1 1.7
-285CV 2 10 19 | 45 | 285 247 85 30 340 6.2 2.4

MRS RR:

FRFZ 3, Taper size

$Eé£§! Curve

/I
I IHEEA S Holder type

L 4&E Length (L)
TIFFE 1R Diameter




B TIR

48

BETHES e

-BT50-SL #4814 (CV HHZ&R) BT50-SL SHRINK FIT HOLDER(CV CURVE)

FIG.1

MIBHKE

A
Working length

FIG.2
4hk
BT No 2D curve
£
- —_— el o 5 n ;
A+
o
‘ as
M RERRSE ne
L 5l g
~
B # Accessories %Evl?f? \T%’ES} HEEER
o HWET BEMBNET, HEH
P19 D) Dbl ' BRI,
H ‘Mm%ﬁgiﬁiﬁﬁiwd) d iniifﬁﬁiﬁ)\JJEiﬂi, ﬁ%?%dﬁ
N ﬂi%kiaﬁé\ﬁg’{ ., BIEBAZSIESERNME.
laximum insert length of the tool /

ES Model FIG D C t L M C1 H h E2 KGS S

BT50-SLSA12-165CV 1 12 15 1.5 165 127 84 30 220 4.8 1.2

=-195CV 1 12 15 1.5 195 157 85 30 250 5.6 1.2

-225CV 1 12 15 1.5 225 187 85 30 280 5.8 1.8

=255CV 1 12 15 1.5 255 217 85 30 310 6 2.6

-285CV 1 12 15 1.5 285 247 85 30 340 6.2 3.5

=315CV 1 12 15 1.5 315 277 85 30 370 8.5 3.6

=-SLRA12-165CV 2 12 22 22 165 127 85 30 220 5.1 0.7

=195CV 2 12 22 22 195 157 85 30 250 5.6 0.8

=225CV 2 12 22 22 225 187 85 30 280 5.6 1.3

=255CV 2 12 22 22 255 217 85 30 310 5.8 1.6

-285CV 2 12 22 22 285 247 85 30 340 6.1 2.1

=SLFA12-165CV 2 12 22 22 165 127 85 30 220 5.1 0.7

X -19s5cy 2 |12 | 22 | 22 195 | 157 | 85 30 250 5.6 0.8

=] -225cv 2 |12 2] 2 225 | 187 | 85 30 280 5.6 13

=255CV 2 12 22 22 255 217 85 30 310 5.8 1.6

-285CV 2 12 22 22 285 247 85 30 340 6.1 2.1

A& ER:
?ﬁéﬁﬁg Curve
L € Length (L)
JIFFE 1R Diameter
IHEEXS Holder type
$ERAZ T Taper size




HIZTIN

cﬁtﬁﬁs BT 5 FE 5

-BERH REFERENCE DETAILS
L2
L3 ) Ft\y
oY%
3 |
3. ) J L6
L1 33k 35 L5

o

SN =2

el e2
+0.1 Max.

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

SK30 50 | 31.75 | 59.30 |44.30| 45 13 | 16.1 4 478 | 335 | 24 19 16.4 15 21 5

SK40 63.55|44.45 | 72.30 |56.25| 50 17 | 16.1 4 68.4 | 42.5 | 32 25 22.8 | 18.5 27 5

SK50 97.50 | 69.85 |107.25|91.25| 80 25 | 257 | 6 |101.75| 61.5 | 47 | 377 | 35.5 30 42 7

ST

OHERE: <AT3

OEARME: JIS-SCM415

OFE: HRC56°BHKRE >0.8mm

OEREE: <0.8um

OXmMAEME: Ra<0.5um

OJIHAAMLTI BIMERE : BT V BUAZiHHK#ME (DIN-69871-AD+B)

© ER., FMA, FMB., MLT, SCK, SLN. SOM Bff&: B TIRAEDOHKME (DIN-69871-AD)
O NIRETIRARERNTE G6.3, TRIMEERBHNTE G2.5

OZSFHISE : DIN 69871




B TIR

48

BETHES e

-SK30-SF#45 7148 (4.5°FREEEY ) 5k30-5F SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

FIG.1

D
SK/DAT [
L4
77 =
- - - @ | 777| = - - 'U? ol A
(&)
[~
]jL‘3 L2
L1
L
FIG.2 D

P

WIS =
S31¥43S YIATOH 1001 LI INRIHS

il
##& Model

SK30-SF03- 80 1278 | 80 | 609 [ 191 | 12 | 50 | 12 | 17 3 5 1 0.6

-120 167.8 | 120 | 1009 | 191 | 12 | 50 | 12 | 20 3 5 2 0.8

-SF04- 80 1278 | 80 | 609 | 191 | 16 | 50 | 12 | 17 4 5 1 0.6

=120 167.8 120 | 100.9 | 19.1 16 50 12 20 4 5) 2 0.8

-SF05- 80 127.8 80 60.9 19.1 18 50 12 17 5 5 1 0.6

=120 167.8 120 | 100.9 | 19.1 18 50 12 20 5 5 2 0.8

FA& 5 ER:

@Ll K Length (L1)
JIFFE 1R Diameter
T

HEEfL S Holder type
SEIRAZ T, Taper size




HIZTIN

R

CNCTOOLS

HETIHFE S

-SK30-SF#45 7148 (4.5°FREEEY ) 5k30-5F SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

*
4
7]
Uiz]
#
5l

wv
I
=
=
~
2
=
=
o
o
=
=
o
=
o
m
o
w
m
=
m
wn

FIG.1
SK/DAT
o e S
FIG.2
SK/DAT ° T1 LS
L4

#& Model R FIG E= KGS

SK30-SF06- 80 1278 | 80 609 | 191 | 26 |36 | 50 | 21 | 27 | 6 M5*0.8P | M6*1.0P | 3 | 1 0.6
-120 1678 | 120 [ 1009 | 191 | 26 | 36 | 50 | 21 | 27 | 6 M5*0.8P | M6*1.0P | 5 | 2 0.8
-SF08- 80 1278 | 80 609 | 190 | 26 |36 | 50 | 21 | 27 | 8 M6*1.0P | M6*1.0P | 3 | 1 0.65
-120 167.8 | 120 (1009 | 191 | 26 |36 | 50 | 21 | 27 | 8 | M6*1.0P | M6*1.0P | 5 | 2 0.85
-SF10- 80 1278 | 80 60.9 | 191 | 32 | 42| 50 | 24 | 32 | 10| M8*1.0P | M6*1.0P | 1 | 1 0.7
-120 167.8 | 120 | 1009 | 19.1 | 32 | 42| 50 | 24 | 32 | 10| M8*1.0P | M6*1.0P | 4 | 2 0.9
-SF12- 80 1278 | 80 60.9 | 19.1 | 37 | 47| 50 | 24 | 32 | 12 | M10*1.0P | M6*1.0P | 1 | 1 0.7
-120 167.8 | 120 | 100.9| 19.1 | 37 |47 | 50 | 24 | 32 |12 | M10*1.0P | M6*1.0P | 4 | 2 0.9
-SF14- 80 1278 | 80 60.9 | 19.1 | 37 | 47| 50 | 27 | 34 | 14 | M10*1.0P | M6*1.0P | 1 | 1 0.75
-120 1678 | 120 | 1009 | 19.1 | 37 |47 | 50 | 27 | 34 | 14| M10*1.0P | M6*1.0P | 3 | 2 0.95
-SF16- 80 1278 | 80 60.9 | 19.1 | 40 |50 | 50 | 27 | 34 |16 | M12*1.0P | M6*1.0P | 1 | 1 0.75
-120 1678 | 120 | 1009 | 191 | 40 |50 | 50 | 27 | 34 | 16 | M12*1.0P | M6*1.0P | 3 | 2 0.95
-SF18- 80 1278 | 80 | 609 | 191 | 40 |50 | 50 | 33 | 42 |18 | M12*1.0P | M6*1.0P | 1 | 1 0.8

-120 1678 | 120 | 1009 | 191 | 40 | 50| 50 | 33 | 42 | 18 | M12*1.0P | M6*1.0P | 1 | 2 1
-SF20- 80 127.8 | 80 609 | 19.1 | 42 | 52| 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 | 1 0.8

-120 1678 | 120 | 1009 | 19 | 42 | 52| 50 | 33 | 42 | 20 | M16*1.0P | M6*1.0P | 1 | 2 1

AR RR:
@Ll K Length (L1)
JIFFE 1R Diameter

IngERS Holder type
HEFRAZ T Taper size



B TIR

48

BETHES e

-SKA40-SF 45 714R (4.5°FREEEY ) 5Ka0-SF SHRINK FITTOOL HOLDER(4.5° STANDARD VERSION)

FIG.1

SK/DAT
L4
| Gz
\ o
L3 L2
L1
L
L4 "
E
W N z %
—= = == = =fgol © A
T - Z iE
o
Be
L2 £
L1 Hl g
L 1%
# ¥ Mode L L1 L2 L3 L4 D D1 D2 d R FIG H= KGS
SK40-SF03- 80 148.4 80 60.9 19.1 12 63.55 12 17 3 5 1 1
=120 188.4 120 100.9 19.1 12 63.55 12 20 3 5 2 11
=160 228.4 160 140.9 19.1 12 63.55 12 20 3 5 2 1.2
-SF04- 80 148.4 80 60.9 19.1 16 63.55 12 17 4 5 1 1
=120 188.4 120 100.9 19.1 16 63.55 15 22 4 5 2 11
=160 228.4 160 140.9 19.1 16 63.55 15 22 4 5 2 1.2
-SF05- 80 148.4 80 60.9 19.1 18 63.55 12 17 5 5 1 1
=120 188.4 120 100.9 19.1 18 63.55 15 22 5 5 2 1.1
=160 228.4 160 140.9 191 18 63.55 15 22 5 5 2 1.2

SN

? @Ll K[E Length (L1)
JIFFE 12 Diameter
Ihg

BE{X S Holder type
AL Taper size




HIZTIN

c?%(%%s BT 5 FE 5

-SKA40-SF 457148 (4.5°FREEEY)  5Ka0-SF SHRINK FITTOOL HOLDER(4.5° STANDARD VERSION)

FIG.1

D2

348
8 7]
EX ]
o &
29
<l 5 8
#t& Model d R FIG EE£ KGS
SK40-SF06- 80 | 148.4| 80 | 609 [19.1| 26 | 36 | - |63.55| 21 | 27 | - 6 | M5*0.8P | M6*1.0P | 5 | 1 1.2
=120 | 188.4| 120 |100.9|19.1| 26 | 36 | - [63.55( 21 |27 | - 6 | M5*0.8P | M6*1.0P | 10 | 2 1.5
-160 | 228.4 | 160 [ 140.9|19.1| 26 | 36 | 78 |63.55| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 1.8
-200 | 268.4| 200 |180.9|19.1| 26 | 36 | 118 [63.55| 21 | 27 | 41 | 6 | M5*0.8P | M6*1.0P | 5 | 3 2.2
-SF08- 80 | 148.4| 80 | 60.9 |19 | 26 | 36 | - [63.55| 21 (27| - 8 | M6*1.0P | M6*1.0P | 5 | 1 1.2
-120 |(188.4| 120 |{100.9|19.1| 26 | 36 | - [63.55( 21 |27 | - 8 | M6*1.0P | M6*1.0P | 10 | 2 1.5
=160 | 228.4| 160 |140.9|19.1| 26 | 36 | 78 [63.55| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 1.8
-200 | 268.4| 200 | 180.9|19.1| 26 | 36 | 118 [63.55| 21 | 27 | 41 | 8 | M6*1.0P | M6*1.0P | 5 | 3 2.2
-SF10- 80 | 148.4| 80 | 60.9 |191| 32 | 42| - |63.55/ 24 |32| - |10 | M8*1.0P | M6*1.0P | 2 | 1 1.3
-120 | 188.4 | 120 [ 100.9|19.1| 32 | 42 | - |63.55|24 32| - |10 | M8*1.0P | M6*1.0P | 10 | 2 1.6
-160 | 228.4| 160 | 140.9 |19.1| 32 | 42| 78 [63.55| 24 | 32| 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 1.9
-200 | 268.4| 200 |180.9|19.1| 32 | 42 | 118 [63.55| 24 | 32 | 40 | 10 | M8*1.0P | M6*1.0P | 5 | 3 2.3
-SF12- 80 | 148.4| 80 | 60.9 |191| 37 | 47| - |63.55|24 |32 | - |12 | M10*1.0P | M6*1.0P | 2 | 1 1.3
-120 | 188.4| 120 {1009 |19.1| 37 | 47 | - |[63.55[ 24 |32 | - | 12| M10*1.0P | M6*1.0P | 10 | 2 1.6
-160 | 228.4| 160 |140.9|19.1| 37 | 47 | 78 [63.55| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 1.9
-200 | 268.4| 200 | 180.9 |19.1| 37 | 47 | 118 [63.55| 24 | 32 | 40 | 12 | M10*1.0P | M6*1.0P | 5 | 3 2.3
-SF14- 80 | 148.4| 80 | 60.9 |19.1| 37 | 47 - |63.55( 27 (34| - | 14 | M10*1.0P | M6*1.0P | 4 | 1 1.3
-120 | 188.4| 120 {1009 |19.1| 37 | 47 | - |[63.55| 27 |34 | - | 14| M10*1.0P | M6*1.0P | 10 | 2 1.6
=160 | 228.4| 160 | 140.9|19.1| 37 | 47 | 78 [63.55| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 1.9
=200 | 268.4| 200 | 180.9|19.1| 37 | 47 | 118 [63.55| 27 | 34 | 42 | 14 | M10*1.0P | M6*1.0P | 3 | 3 2.3
R ER:
Ei-fp-]
L1 ¥KEE Length(L1)
JIFFE 1R Diameter
IhBEfXS Holder type
HFRAZ T Taper size



B TIR

48

BETHES e

-SKA40-SF R 457J4R (4.5°FREEEY ) 5K40-SF SHRINK FITTOOL HOLDER(4.5° STANDARD VERSION)

FIG.1

NS s
S31¥43S YIATOH 1001 LI INRIHS

##& Model R FIG E& KGS

SK40-SF16- 80 | 148.4| 80 | 609 [19.1| 40 | 50 | - |63.55| 27 |34 | - |16 | M12*1.0P | M6*1.0P | 3 | 1 1.3
-120 | 188.4(120|100.9 (19.1| 40 | 50 | - [63.55| 27 |34 | - |16 | M12*1.0P | M6*1.0P | 10 | 2 1.6

-160 | 228.4 (160|140.9 (19.1| 40 | 50 | 78 [63.55| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 1.9

-200 | 268.4(200|180.9(19.1| 40 | 50 | 118 [63.55| 27 | 34 | 42 | 16 | M12*1.0P | M6*1.0P | 3 | 3 2.3

-SF18- 80 |148.4| 80 | 609 |191| 40 |50 | - [63.55|33|42| - |18 | M12*1.0P | M6*1.0P | 2 | 1 1.4
-120 | 188.4(120|100.9(19.1| 40 | 50 | - [63.55|33 |42 | - |18 | M12*1.0P | M6*1.0P | 5 | 2 1.8

-160 | 228.4160|140.9(19.1| 40 |50 | - [63.55|33 |42 | - |18 | M12*1.0P | M6*1.0P | 5 | 2 21

-200 | 268.4|200|180.9|19.1| 40 | 50 | - [63.55| 33 (42| - |18 | M12*1.0P | M6*1.0P | 5 | 2 2.4

-SF20- 80 |148.4| 80 | 609 (191 |42 | 52| - [63.55|33|42| - |20 | M16*1.0P | M6*1.0P | 2 | 1 1.4
-120 | 188.4(120|100.9 (19.1| 42 | 52| - [63.55|33 |42 | - |20 | M16*1.0P | M6*1.0P | 5 | 2 1.8

-160 | 228.4(160|140.9 (19.1| 42 | 52| - [63.55|33|42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 21

-200 | 268.4(200|180.9(19.1| 42 | 52| - [63.55|33|42| - |20 | M16*1.0P | M6*1.0P | 5 | 2 2.4
-SF25-100 | 168.4|100| 80.9 |19.1| 48 | 58 | - |63.55| 44 (53| - | 25| M16*1.0P | M6*1.0P | 2 | 1 21
-120 | 188.4(120|100.9 (19.1| 48 | 58 | - [63.55| 44 | 53| - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.3

-160 | 228.4|160| 1409 |19.1| 48 | 58 | - [63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 2.6

-200 | 268.4(200(180.9(19.1| 48 | 58 | - [63.55| 44 |53 | - | 25| M16*1.0P | M6*1.0P | 2 | 2 3.1
-SF32-100 | 168.4|100| 80.9 |19.1| 52 | 62| - |63.55| 44 53| - |32 | M16*1.0P | M6*1.0P | 2 | 1 21
-120 | 188.4(120|100.9 (19| 52 | 62 | - [63.55| 44 |53 | - |32 | M16*1.0P | M6*1.0P | 2 | 2 2.3

-160 | 228.4(160|140.9 (19| 52 | 62| - [63.55| 44 |53 | - |32 | M16*1.0P | M6*1.0P | 2 | 2 2.6

-200 | 268.4(200(180.9(19.1| 52 | 62| - [63.55|44 |53 | - |32 |M16*1.0P | M6*1.0P | 2 | 2 3.1

MRS BR:

$Ll ¥ Length (L1)
JIFFE 4R Diameter
Ihg

BEfL S Holder type
HEFRFZ T Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬁ%ﬂ

-SK50-SF A48 71 (4.5°FRMERY ) sks0-SF SHRINK FITTOOL HOLDER(4.5° STANDARD VERSION)

FIG.1 D

N

S31Y3S ¥IATOH T00L L4 XNRIHS

# 1& Mode FIG

SK50-SF03- 80 181.75 80 60.9 19.1 12 97.5 12 17 3 5 1 2.8
-120 221.75 | 120 100.9 19.1 12 97.5 12 20 3 5 2 29

-160 261.75 | 160 140.9 19.1 12 97.5 12 20 3 5 2 3

-SF04-80 181.75 80 60.9 19.1 16 97.5 12 17 4 5 1 2.8

-120 221.75 | 120 100.9 19.1 16 97.5 15 22 4 5 2 29

-160 261.75 | 160 140.9 19.1 16 97.5 15 22 4 5 2 3
-SF05-80 181.75 80 60.9 19.1 18 97.5 12 17 5 5 1 2.8

-120 221.75 | 120 100.9 19.1 18 97.5 15 22 5 5 2 2.9

-160 261.75 | 160 140.9 19.1 18 97.5 15 22 5 5 2 3

RS BA:

T L1 ¥ Length(L1)
JIFFE1& Diameter
I

B2 Holder type
SEARAZEC Taper size



B TIR

48

BETHES e

-SK50-SF #2485 7J4% (4.5°FRMEEEY ) sks0-5F SHRINK FIT TOOL HOLDER(4.5° STANDARD VERSION)

NS s
S31¥43S YIATOH 1001 LI INRIHS

L
#HE Model d T1 FIG &= KGS

SK50-SF06- 80 (181.75| 80 | 60.9 |19.1| 26 | 36 975 [ 21|27| - | 6 | M5*0.8P | M6*1.0P | 1 2.8
-SF06-120 [221.75| 120 [ 100.9 | 19.1| 26 | 36 975 [ 21[27| - | 6 | M5*0.8P | M6*1.0P | 2 2.9
-160 |261.75| 160 [ 140.9|19.1| 26 [ 36 | 78 | 975 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 3 3
-200 [301.75| 200 | 180.9 |19.1| 26 | 36 | 118 | 975 |21 |27 |41 | 6 | M5*0.8P | M6*1.0P | 3 3.1
-SF08- 80 (181.75| 80 | 60.9 |19.1| 26 | 36 975 [ 21|27 | - | 8 | M6*1.OP | M6*1.0P | 1 2.8
-120 [221.75| 120 [ 100.9 | 19.1| 26 | 36 975 [ 21|27 | - | 8 | M6*1.OP | M6*1.0P | 2 2.9
-160 [261.75| 160 | 140.9 |19.1| 26 | 36 | 78 | 975 |21 |27 | 41| 8 | M6*1.0P | M6*1.0P | 3 3
-200 [301.75| 200 [ 180.9 |19.1| 26 | 36 | 118 | 975 |21 |27 | 41| 8 | M6*1.0P | M6*1.0P | 3 3.1
-SF10- 80 |[181.75| 80 | 60.9 |19.1| 32 | 42 975 |24 32| - | 10| M8*1.0P | M6*1.0P | 1 2.8
=120 |221.75| 120 [ 100.9 [19.1| 32 | 42 975 |24 |32| - | 10| M8*1.0P | M6*1.0P | 2 2.9
-160 [261.75| 160 | 140.9 |19.1| 32 |42 | 78 | 975 |24 | 32| 40 |10 | M8*1.0P | M6*1.0P | 3 3
-200 [301.75| 200 | 180.9 |19.1| 32 | 42 | 118 | 975 |24 | 32| 40 (10| M8*1.0P | M6*1.0P | 3 3.1
-SF12- 80 |(181.75| 80 | 60.9 |19.1| 37 | 47 975 |24 32| - | 12| M10*1.0P | M6*1.0P | 1 2.9
-120 [221.75| 120 [ 100.9 | 19.1| 37 | 47 975 [ 24 32| - | 12| M10*1.0P | M6*1.0P | 2 3
-160 [261.75| 160 | 140.9 |19.1| 37 | 47 | 78 | 975 | 24 | 32| 40 [ 12 | M10*1.0P | M6*1.0P | 3 3.1
-200 [301.75| 200 | 180.9 |19.1| 37 | 47 | 118 | 975 | 24 | 32| 40 | 12 | M10*1.0P | M6*1.0P | 3 3.2
-SF14- 80 [181.75| 80 | 60.9 |19.1| 37 | 47 975 | 27 | 34| - | 14| MI10*1.0P | M6*1.0P | 1 2.9
-120 |221.75| 120 [ 100.9 |19.1| 37 | 47 975 | 27 | 34| - | 14| M10*1.0P | M6*1.0P | 2 3
-160 [261.75| 160 | 140.9 |19.1| 37 | 47 | 78 | 975 | 27 | 34| 42 | 14 | M10*1.0P | M6*1.0P | 3 3.1
-200 [301.75| 200 [ 180.9 |19.1| 37 | 47 | 118 | 975 | 27 | 34| 42 | 14 | M10*1.0P | M6*1.0P | 3 3.2

M EER:

? @Ll K E Length (L1)
JIF¥FE 1R Diameter
Ih

BEfL S Holder type
SEFRFZ T Taper size




HIZTIN

R

CNCTOOLS

-SK50-SF #4871 (4.5°4REE)

1%
I
=
2
o
S 45
87
8
T
3
5%
el
§§|J
a

HETIHFE S

SK50-SF SHRINK FIT TOOL HOLDER (4.5° STANDARD VERSION)

#& Model FIG E= KGS

SK50-SF16- 80 [181.75| 80 | 60.9 |19.1| 40 | 50 975 | 27 [ 34| - |16 | M12*1.0P M6*1.0P | 1 3.1
=120 |221.75| 120 | 100.9 [19.1| 40 | 50 975 |27 [ 34| - |16 | M12*1.0P M6*1.0P | 2 3.3

-160 |261.75| 160 | 140.9|19.1| 40 | 50 | 78 975 | 27 | 34| 42 | 16 | M12*1.0P M6*1.0P | 3 3.5

=200 (301.75( 200 |180.9{19.1| 40 | 50 | 118 | 975 | 27 | 34|42 |16 | M12*1.0P M6*1.0P | 3 3.7

-SF18- 80 |181.75| 80 | 60.9 |19.1| 40 | 50 975 |33 (42| - |18 | M12*1.0P M6*1.0P | 1 3.1
=120 |221.75| 120 | 100.9 [19.1| 40 | 50 975 |33 (42| - | 18| M12*1.0P M6*1.0P | 2 3.3

-160 |261.75| 160 | 140.9 |19.1 | 40 | 50 975 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.5

-200 |301.75| 200 | 180.9 (19.1| 40 | 50 975 | 33 | 42 18 | M12*1.0P M6*1.0P | 3 3.7

-SF20- 80 |181.75| 80 | 60.9 |19.1| 42 | 52 975 |33 (42| - | 20| M16*1.0P M6*1.0P | 1 3.3
=120 |221.75| 120 | 100.9 [19.1| 42 | 52 975 | 33 |42| - |20 | M16*1.0P M6*1.0P | 2 3.5

-160 |261.75| 160 | 140.9 |19.1| 42 | 52 975 | 33|42 20 | M16*1.0P | M6*1.0P | 3 3.7

-200 |301.75| 200 | 180.9 |19.1| 42 | 52 975 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.9
-SF25-100 [201.75| 100 | 80.9 | 19.1| 48 | 58 975 | 44 |53 | - | 25| M16*1.0P M6*1.0P | 1 3.3
=120 |221.75| 120 | 100.9 |19.1| 48 | 58 975 | 44 |53 | - | 25| M16*1.0P M6*1.0P | 2 3.5

-160 |261.75| 160 | 140.9 |19.1| 48 | 58 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.7

-200 |301.75| 200 [ 180.9|19.1| 48 | 58 975 | 44 | 53 25 | M16*1.0P M6*1.0P | 3 3.9
-SF32-100 |201.75| 100 | 80.9 |19.1| 52 | 62 975 | 44 | 53| - |32 | M16*1.0P | M6*1.0P | 1 3.4
=120 |221.75| 120 |100.9 [19.1| 52 | 62 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 2 3.6

-160 |261.75| 160 | 140.9 |19.1| 52 | 62 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 3.8

-200 |301.75| 200 | 180.9 (191 | 52 | 62 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 4

RS 15t BE:
@_l K Length (L1)

T TIJ
IhAE{X S Holder type

FFE 1R Diameter

HEFRAZ I Taper size




B TIR

48

BETHES e

-SK30-SFS A48 7] (3°4HI<EY )  sk30-5FS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

FIG.1

SK/DAT

L4

L I TN i T =
\\wuw

FIG.2
SK/DAT

A
45
7
iz]
E
5

%)
o
=
=
=
o
=1
=
o
o
=
T
o
=
o
m
ol
wv
m
e
m
wn

M #% Mode FIG

SK30-SFS03- 80 1278 | 80 60.9 | 191 | 12 50 7 13 3 5 1 0.6
-120 167.8 | 120 | 100.9 | 191 | 12 50 7 17 3 5 2 0.9

-SFS04- 80 1278 | 80 60.9 | 191 | 16 50 8 14 4 5 1 0.6

-120 167.8 | 120 | 100.9 | 191 | 16 50 8 18 4 5 2 0.9

-SFS05- 80 1278 | 80 60.9 | 191 | 18 50 9 15 5 5 1 0.6

-120 167.8 | 120 | 100.9 | 191 | 18 50 9 19 5 5 2 0.9

FAE 5 ER:

$Ll K Length (L1)
JIFFE 4R Diameter
IhREfLS Holder type

SEFRFZ T Taper size




HIZTIN

i&%ﬂiﬁﬁi”ﬁ%ﬂ

-SK30-SFS 45718 (3°4HI<EY )  sk30-5FS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

FIG.1
SK/DAT

L5
L4
= u_o T —1 w_l__ - of &
\ P T
L3 L2
L1
L
D
FIG.2 SK/DAT
L5
/\_4 L4
g YA 7
A OrE e T 1F A
é%ﬁ \ ® 1
z 1 Wi
5 g L2
CES L3
> 5l L1
g L
#4& Model L L1 L2 L3 L4 L5 D D1 D2 d T R FIG E= KGS
SK30-SFS06- 80 1278 | 80 | 609 | 191 |26 | 36 | 50 | 10 | 16 | 6 M5*0.8P 511 0.7
-120 167.8 | 120 | 100.9 | 191 |26 | 36 | 50 | 10 | 20 | 6 M5*0.8P 51| 2 1
-SFS08- 80 1278 | 80 | 609 | 191 |26 | 36 | 50 | 12 | 16 | 8 M6*1.0P 511 0.7
-120 167.8 | 120 | 100.9 | 191 |26 | 36 | 50 | 12 | 20 | 8 M6*1.0P 51| 2 1
-SFS10- 80 1278 | 80 | 609 | 191 |32 | 42 | 50 | 14 | 16 | 10 M8*1.0P 511 0.8
-120 167.8 | 120 | 100.9 | 191 | 32| 42 | 50 | 14 | 20 | 10 M8*1.0P 51 2 1.1
-SFS12- 80 1278 | 80 | 609 | 191 |37 | 47 | 50 | 16 | 16 | 12| M10*1.0P | 5 | 1 0.8
-120 167.8 | 120 | 100.9 | 191 | 37 | 47 | 50 | 16 | 20 | 12| M10*1.0P |5 | 2 1.1
-SFS14- 80 1278 | 80 | 609 | 191 |37 | 47 | 50 | 20 | 26 | 14| M10*1.0P | 5 | 1 1
-120 167.8 | 120 | 100.9 | 191 | 37 | 47 | 50 | 20 | 29 | 14| M10*1.0Pp | 5 | 2 1.2
-SFS16- 80 1278 | 80 | 609 | 191 |40 | 50 | 50 | 22 [ 28|16 | M12¥1.0Pp | 5 | 1 1
-120 167.8 | 120 | 100.9 | 191 | 40 | 50 | 50 | 22 |31 |16| M12*1.0P |5 | 2 1.2

MR

@Ll B Length (L1)
JJ#FE 1% Diameter
IHEE S Holder type

HEFRAZ T Taper size



B TIR

48

BETHES e

-SK40-SFS A48 7] (3°HHI<EY )  ska0-SFS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

FIG.1

L4

="

Fof o

FIG.2
SK/DAT

L4

|

D1

of

2\ D2
€

WIS =

5

%)
o
=
=
=
o
=1
=
o
o
2
T
o
=
o
m
ol
wv
m
e
m
wn

# %% Mode

SK40-SFS03- 90 158.4 90 70.9 19.1 12 63.55 9 15 3 5 1 1
-120 188.4 | 120 100.9 19.1 12 63.55 9 16 3 5 2 1.1

-160 228.4 | 160 140.9 19.1 12 63.55 9 19 3 5 2 1.2

-200 268.4 | 200 180.9 19.1 12 63.55 9 22 3 5 2 1.3

-SFS04- 90 158.4 90 70.9 19.1 16 63.55 10 16 4 5 1 1
-120 188.4 | 120 100.9 19.1 16 63.55 10 17 4 5 2 1.1

-160 228.4 | 160 140.9 19.1 16 63.55 10 20 4 5 2 1.2

-200 268.4 | 200 180.9 19.1 16 63.55 10 23 4 5 2 1.3

-SFS05- 90 158.4 90 70.9 19.1 18 63.55 11 17 5 5 1 1
-120 188.4 | 120 100.9 19.1 18 63.55 11 18 5 5 2 1.1

-160 228.4 | 160 140.9 19.1 18 63.55 11 21 5 5 2 1.2

-200 268.4 | 200 180.9 19.1 18 63.55 11 24 5 5 2 1.3

LS LR

? ?%_1 K Length (L1)
TI#FE 12 Diameter
IhBERNS Holder type

$EFRAZ T Taper size




HIZTIN

c?%(%%s BT 5 FE 5

-SK40-SFS A 457]#8 (3°4HISEY )  ska0-SFS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

FIG.1
D
SK/DAT |

T — [ =f o

!
D
€
D

FIG.2 SK/DAT
L5
% B
YA
- R U S e === <f o
1 e '
S I
% oo ,
R/ L3 P
S L
% 2l
& A& Model d R FIG =2 KGS
SK40-SFS06- 90 158.4 90 70.9 191 | 26 | 36 [63.55| 12 | 18 | 6 M5*0.8P 10| 1 1.1
=120 188.4 120 | 1009 | 191 | 26 | 36 [63.55| 12 | 21 6 M5*0.8P 10| 2 1.2
-160 228.4 | 160 | 1409 | 19.1 | 26 | 36 [63.55| 12 | 24 | 6 M5*0.8P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 26 | 36 |63.55] 12 | 27 | 6 M5*0.8P 10| 2 1.4
-SFS08- 90 158.4 90 70.9 191 | 26 | 36 [63.55| 14 | 20 | 8 M6*1.0P 10| 1 1.1
=120 188.4 120 | 1009 | 19.1 | 26 | 36 |63.55| 14 | 23 | 8 M6*1.0P 10| 2 1.2
-160 228.4 | 160 | 1409 | 19.1 | 26 | 36 [63.55| 14 | 26 | 8 M6*1.0P 10| 2 1.3
=200 268.4 | 200 | 1809 | 191 | 26 | 36 |63.55| 14 | 29 | 8 M6*1.0P 10| 2 1.4
=-SFS10- 90 158.4 90 70.9 191 | 32 | 42 [63.55| 16 | 22 | 10 M8*1.0P 10| 1 1.1
=120 188.4 120 | 1009 | 19.1 | 32 | 42 |63.55| 16 | 25 | 10 M8*1.0P 10| 2 1.2
-160 228.4 | 160 | 1409 | 19.1 | 32 | 42 [63.55| 16 | 28 | 10 M8*1.0P 10| 2 1.3
=200 268.4 | 200 | 1809 | 19.1 | 32 | 42 [63.55| 16 | 31 | 10 M8*1.0P 10| 2 1.4
=-SFS12- 90 158.4 90 70.9 191 | 37 | 47 [63.55| 18 | 24 | 12 M10*1.0P 10| 1 1.1
-120 188.4 120 | 1009 | 19.1 | 37 | 47 |63.55| 18 | 27 | 12 M10*1.0P 10| 2 1.2
=160 228.4 160 | 1409 | 191 | 37 | 47 [63.55| 18 | 30 | 12 M10*1.0P 10| 2 1.3
=200 268.4 | 200 | 180.9 | 19.1 | 37 | 47 [63.55| 18 | 33 | 12 M10*1.0P 10| 2 1.4
-SFS14- 90 158.4 90 70.9 191 | 37 | 47 [|63.55| 20 | 26 | 14 M10*1.0P 10| 1 1.2
-120 188.4 120 | 1009 | 19.1 | 37 | 47 |63.55| 20 | 29 | 14 M10*1.0P 10| 2 1.3
=160 228.4 160 | 1409 | 191 | 37 | 47 [63.55| 20 | 32 | 14 M10*1.0P 10| 2 1.5
-200 268.4 | 200 | 1809 | 19.1 | 37 | 47 |63.55| 20 | 35 |14 | M10*1.0P |10]| 2 1.7
-SFS16- 90 158.4 90 70.9 191 | 40 | 50 [63.55| 22 | 28 | 16 M12*1.0P 10| 1 1.2
-120 188.4 120 | 1009 | 19.1 | 40 | 50 [63.55| 22 | 31 | 16 M12*1.0P 10| 2 1.3
=160 228.4 160 | 1409 | 191 | 40 50 (63.55| 22 | 34 | 16 M12*1.0P 10| 2 1.5
-200 268.4 | 200 | 180.9 | 19.1 | 40 | 50 [63.55| 22 | 37 |16 | M12*1.0P |10]| 2 1.7
-SFS18- 90 158.4 90 70.9 191 | 40 | 50 [63.55| 24 | 30 | 18 M12*1.0P 10| 1 1.2
=120 188.4 120 | 1009 | 19.1 | 40 | 50 [63.55| 24 | 33 | 18 M12*1.0P 10| 2 1.3
=160 228.4 160 | 1409 | 19.1 | 40 | 50 [63.55| 24 | 36 | 18 M12*1.0P 10| 2 1.6
-200 268.4 | 200 | 180.9 | 19.1 | 40 | 50 [63.55| 24 | 39 |18 | M12*1.0P |10]| 2 1.9
-SFS20- 90 158.4 90 70.9 191 | 42 | 52 [63.55| 26 | 32 | 20 M12*1.0P 10| 1 1.3
=120 188.4 120 | 1009 | 19.1 | 42 | 52 |63.55| 26 | 35 | 20 M12*1.0P 10| 2 1.4
=160 228.4 160 | 1409 | 19.1 | 42 | 52 [63.55| 26 | 38 | 20 M12*1.0P 10| 2 1.7
-200 268.4 | 200 | 1809 | 191 | 42 | 52 |63.55| 26 | 41 | 20 M12*1.0P 10| 2 2
FA& 5 ER:
$L1 KE Length (L1)
JI#FE 1% Diameter
IhAE{X S Holder type
$HEFRAZ T Taper size



RETT RS

-SK50-SFS #4571 (3°4HI<EY )  sk50-SFS SHRINK FITTOOL HOLDER (3° SLENDER TYPE)

D

FIG.1 SK/DAT

SK/DAT
FIG.2

L5

B TIR

48

CNCTOOLS

L4

L2

L1

L

*
45
7
]
£
5

S31¥43S YIATOH 1001 LI INRIHS

SK50-SFS06-100 201.75 | 100 | 80.9 191 | 26| 36 |975| 12 | 18 | 6 M5*0.8P 10| 1 3.8
=120 22175 | 120 | 1009 | 191 [ 26 | 36 | 975 | 12 | 20 | 6 M5*0.8P 10| 1 3.9

=160 261.75 | 160 | 1409 | 191 [ 26 | 36 | 975 | 12 | 24 | 6 M5*0.8P 10| 2 4.2

-200 301.75 | 200| 1809 | 191 | 26 | 36 [ 975 | 12 | 28 | 6 M5*0.8P 10| 2 5.8
-SFS08-100 201.75 | 100 | 80.9 191 | 26 | 36 |975| 14 | 20 | 8 M6*1.0P 10| 1 3.8
=120 221.75 | 120 | 1009 | 191 [ 26 | 36 | 975 | 14 | 22 | 8 M6*1.0P 10| 1 3.9

=160 261.75 | 160 | 1409 | 191 [ 26 | 36 | 975 | 14 | 26 | 8 M6*1.0P 10| 2 4.2

-200 301.75 | 200| 1809 | 191 | 26 | 36 [975| 14 | 30 | 8 M6*1.0P 10| 2 5.8
-SFS10-100 201.75 | 100 | 80.9 191 | 32| 42 |975| 16 | 22 | 10 M8*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 19.1 | 32 | 42 | 975 | 16 | 24 | 10 M8*1.0P 10| 1 4.1

=160 261.75 | 160 | 1409 | 191 | 32 | 42 | 975 | 16 | 28 | 10 M8*1.0P 10| 2 4.3

=200 301.75 | 200 | 1809 | 191 | 32 | 42 [ 975 | 16 | 32 | 10 M8*1.0P 10| 2 5.9
=-SFS12-100 201.75 | 100 | 80.9 191 | 37 | 47 |975| 18 | 24 | 12 M10*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 191 | 37 | 47 | 975 | 18 | 26 | 12 M10*1.0P 10| 1 4.1

=160 261.75 | 160 | 1409 | 191 | 37 | 47 | 975 | 18 | 30 | 12 M10*1.0P 10| 2 4.3
-SFS12-200 301.75 | 200 | 1809 | 191 | 37 | 47 | 975 | 18 | 34 | 12 M10*1.0P 10| 2 5.9
=-SFS14-100 201.75 | 100 | 80.9 191 | 37 | 47 |975| 20 | 26 | 14 M10*1.0P 10| 1 3.9
=120 221.75 | 120 | 100.9 | 19.1 | 37 | 47 | 975 | 20 | 28 | 14 M10*1.0P 10| 1 4.1

=160 261.75 | 160 | 1409 | 191 | 37 | 47 | 975 | 20 | 32 | 14 M10*1.0P 10| 2 4.3

=200 301.75 | 200 | 1809 | 191 | 37 | 47 [ 975 | 20 | 36 | 14 M10*1.0P 10| 2 5.9
-SFS16-100 201.75 | 100 | 80.9 191 | 40 | 50 | 975 | 22 | 28 | 16 M12*1.0P 10| 1 4
=120 221.75 | 120 | 100.9 | 19.1 | 40 | 50 | 975 | 22 | 30 | 16 M12*1.0P 10| 1 4.2

=160 261.75 | 160 | 1409 | 191 | 40 | 50 | 975 | 22 | 34 | 16 M12*1.0P 10| 2 4.4

=200 301.75 | 200 | 1809 | 191 | 40 | 50 [ 975 | 22 | 38 | 16 M12*1.0P 10| 2 6
-SFS18-100 201.75 | 100 | 80.9 191 | 40 | 50 | 975 | 24 | 30 | 18 M12*1.0P 10| 1 4
=120 221.75 | 120 | 100.9 | 19.1 | 40 | 50 | 975 | 24 | 32 | 18 M12*1.0P 10| 1 4.2

=160 261.75 | 160 | 1409 | 19.1 | 40 | 50 | 975 | 24 | 36 | 18 M12*1.0P 10| 2 4.4

=200 301.75 | 200 | 1809 | 191 | 40 | 50 [ 975 | 24 | 40 | 18 M12*1.0P 10| 2 6
-SFS20-100 201.75 | 100 | 80.9 191 | 42 | 52 |975| 26 | 32 | 20 M16*1.0P 10| 1 4.1
=120 221.75 | 120 | 100.9 | 191 | 42 | 52 | 975 | 26 | 34 | 20 M16*1.0P 10| 1 4.3

=160 261.75 | 160 | 140.9 | 19.1 | 42 | 52 | 975 | 26 | 38 | 20 M16*1.0P 10| 2 4.4

=200 301.75 | 200 | 1809 | 191 | 42 | 52 [ 975 | 26 | 42 | 20 M16*1.0P 10| 2 6.1

FA& W ER:

E L1 EE Length (L1)
JIFFE 1 Diameter
08

BE1L S Holder type
HFRAZ I Taper size




HIZTIN

ciﬁc%ﬁs BT 5 FE 5

-SK40-SFK A48 J14R (4.55B7KEBY)  cu0-SeK SHRINKFITTOOL HOLDER (45° SHRINK-FIT COOLANT TYPE)

FIG.1

oz -

D2

ﬁ 2-M3%0. 5P

&
7]
iZ]
S
5l

wv
=
=
=
=
i
=
=
o
[s]
=)
=
o
=
=]
m
o
w
m
=
m
wn

#M& Model FIG Z=& KGS
SK40-SF03- 80K 148.4 80 60.9 19.1 12 | 63.55 14 20 3 5 1 1
=-120K 188.4 120 100.9 19.1 12 | 63.55 14 20 3 5 2 1.1
-160K 228.4 160 140.9 19.1 12 | 63.55 14 20 3 5 2 1.2
-SF04- 80K 148.4 80 60.9 19.1 16 | 63.55 14 20 4 5 1 1
-120K 188.4 120 100.9 19.1 16 | 63.55 14 20 4 5 2 1.1
-160K 228.4 160 140.9 19.1 16 | 63.55 14 20 4 5 2 1.2
-SF05- 80K 148.4 80 60.9 19.1 18 | 63.55 14 20 5 5 1 1
-120K 188.4 120 100.9 19.1 18 | 63.55 14 20 5 5 2 1.1
-160K 228.4 160 140.9 19.1 18 | 63.55 14 20 5 5 2 1.2
FIA& I ER:
T Wil K E Length(L1)
JIMFE 1R Diameter
IHEEfCS Holder type
SRR Taper size



B TIR

48

BETHES e

-SK40-SFK 45 JJ4R (4.5587KEBY)  cku0-Sex SHRINK AT TOOL HOLDER (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1 b
SK/DAT N L5
X i L4 | 2-M3x0.5P
2 /77' .
g — e _ - of 5 a8
T
L2
L3
L1
L
FIG.2 b
SK/DAT 1 L5
X L4 | 2-M3*0.5P
RV
g = L= -_J-=fg 8 "
=== b
=
! L2 45 3
L1 TR
L ﬁ.é
o
3
FIG.3 §|J§
D 7
SK/DAT 1 LS
X L4 | 2-M3%0.5P
AV
LWLl — N
m L — | < o o
A==V 1=
» L6 L
L3 L2
L1
L

#t& Model d FIG E& KGS
SK40-SF06- 80K | 148.4| 80 | 60.9 |19.1| 26 | 36 - | 63.55 |21 (27| - 6 M5*0.8P M6*1.0P | 1 1.2
-120K | 188.4 | 120 | 100.9 | 19.1 | 26 | 36 - | 63.55 |21 27| - 6 M5*0.8P M6*1.0P | 2 1.5
-160K | 228.4 | 160 | 1409|191 | 26 | 36 | 78 | 63.55 | 21 |27 |41 | 6 M5*0.8P M6*1.0P | 3 1.8
=200K | 268.4 | 200 | 180.9 |19.1| 26 | 36 | 118 | 63.55 | 21 | 27 |41 | 6 M5*0.8P M6*1.0P | 3 2.2
-SF08- 80K | 148.4 | 80 | 60.9 |19.1| 26 | 36 - | 63.55| 21 |27 | - 8 M6*1.0P M6*1.0P | 1 1.2
-120K | 188.4| 120 | 1009|191 | 26 |36 | - |63.55|21 (27| - | 8 M6*1.0P M6*1.0P | 2 1.5
-160K | 228.4 | 160 | 140.9 |19.1| 26 | 36 | 78 | 63.55 | 21 | 27 | 41 | 8 M6*1.0P M6*1.0P | 3 1.8
-200K | 268.4 | 200 | 180.9 191 | 26 | 36 | 118 | 63.55 | 21 | 27 | 41 | 8 M6*1.0P M6*1.0P | 3 2.2
-SF10- 80K | 148.4| 80 | 60.9 |19.1| 32 | 42 - | 63.55[24 32| - | 10| M8*1.0P M6*1.0P | 1 1.3
-120K | 188.4 | 120 | 100.9 | 19.1 | 32 | 42 - | 63.55 |24 |32| - | 10| M8*1.0P M6*1.0P | 2 1.6
-160K | 228.4 | 160 | 1409 |19.1| 32 | 42 | 78 | 63.55 | 24 | 32|40 | 10 | M8*1.0P M6*1.0P | 3 1.9
-200K | 268.4 | 200 [ 180.9|19.1| 32 | 42 | 118 | 63.55 | 24 [ 32 | 40 | 10 | M8*1.0P M6*1.0P | 3 2.3
-SF12- 80K | 148.4 | 80 | 60.9 |19.1| 37 | 47 - | 63,5524 32| - |12 | M10*1.0pP M6*1.0P | 1 1.3
-120K | 188.4 | 120 | 100.9 | 19.1 | 37 | 47 - | 63.55 (24 |32| - | 12| M10*1.0P M6*1.0P | 2 1.6
-160K | 228.4 | 160 | 140.9 | 19.1| 37 | 47 | 78 | 63.55 | 24 | 32|40 | 12 | M10*1.0P M6*1.0P | 3 1.9
-200K | 268.4 | 200 | 180.9 | 19.1| 37 | 47 | 118 | 63.55 | 24 | 32| 40 | 12 | M10*1.0P M6*1.0P | 3 2.3
-SF14- 80K | 148.4| 80 | 60.9 |19.1| 37 | 47 - | 63.55 |27 |34 | - |14 | M10*1.0P M6*1.0P | 1 1.3
=120K | 188.4 | 120 | 100.9 | 19.1 | 37 | 47 - 63.55 | 27 |34 | - | 14 | M10*1.0P M6*1.0P | 2 1.6
-160K | 228.4 | 160 | 140.9 |19.1| 37 | 47 | 78 | 63.55 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P | 3 1.9
-200K | 268.4 | 200 | 180.9 | 19.1| 37 | 47 | 118 | 63.55 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P | 3 2.3
FA& 15 BA:
@_1 K Length (L1)
T TJI#FE 1 Diameter
IhEeX S Holder type
SEARTZ TN Taper size




HIZTIN

j&%ﬂiﬁﬁi”ﬁ%ﬂ

-SK40-SFK #4571 (4.5 K8 ) SK40-SFK SHRINK FIT TOOL HOLDER (4.5° SHRINK-FIT COOLANT TYPE)

FIG.1 b
SK/DAT NPT L5
\ i@ 2-M3%0. 5P
- i
ol = 8
% =
T
L2 L2
L1
L
FIG.2 b
SK/DAT 11 L5
X L4 | 2-M3%0.5P
1Y,
gin = _ - -_{- o3 8
z @ T
=4
=
2 3] T
S J] L
]
CE
25l FIG.3
o D
B SK/DAT - L5
\, L4 | 2-M3%0.5P
AV
Vs IV -
m B —_ | <t a| o
A=—===3+ 1=
P L6\I
L3 )
L1
L
#E Model L L1 L2 L3 L4 L5 L6 D D1 D2 D3 d T T1 FIG E£ KGS
SK40-SF16- 80K | 148.4 | 80 | 60.9 |19.1| 40 | 50 - 63.55 |27 |34 | - | 16 | M12*1.0P M6*1.0P 1 1.3
-120K | 188.4 | 120 | 100.9|19.1 | 40 | 50 - 63.55 |27 |34 | - |16 | M12*1.0P M6*1.0P | 2 1.6
-160K | 228.4 | 160 | 140.9 {191 | 40 | 50 | 78 | 63.55 | 27 | 34 | 42 | 16 | M12*1.0P M6*1.0P | 3 1.9
-200K | 268.4 | 200 | 180.9 {19.1| 40 | 50 | 118 | 63.55 | 27 | 34 | 42 | 16 | M12*1.0P M6*1.0P | 3 2.3
-SF18- 80K | 148.4| 80 | 60.9 [19.1| 40 | 50 = 63.55 | 33 42| - | 18 | M12*1.0P M6*1.0P 1 1.4
=120K | 188.4 | 120 | 100.9 | 19.1| 40 | 50 - 63.55 |33 (42| - | 18| M12*1.0P M6*1.0P | 2 1.7
=160K | 228.4 | 160 | 140.9|19.1| 40 | 50 - 63.55 |33 (42| - | 18| M12*1.0P M6*1.0P | 2 2
-200K | 268.4 | 200 | 180.9|19.1 | 40 | 50 - 63.55| 33|42 | - | 18| M12*1.0P M6*1.0P | 2 2.4
-SF20- 80K | 148.4 | 80 | 60.9 [19.1| 42 | 52 - 63.55 |33 |42 | - | 20 | M16*1.0P M6*1.0P 1 1.4
-120K | 188.4 | 120 | 100.9 |19.1 | 42 | 52 - 63.55 |33 |42 | - | 20 | M16*1.0P M6*1.0P | 2 1.7
=160K | 228.4 | 160 | 140.9|19.1 | 42 | 52 - 63.55 |33 (42| - | 20 | M16*1.0P M6*1.0P | 2 2
=-200K | 268.4 | 200 | 180.9 | 19.1| 42 | 52 = 63.55 | 33 (42| - | 20 | M16*1.0P M6*1.0P | 2 2.4
-SF25- 80K | 148.4| 80 | 60.9 [19.1| 48 | 58 - 63.55 |44 | 53| - | 25| M16*1.0P M6*1.0P 1 2
-120K | 188.4 | 120 | 100.9|19.1| 48 | 58 - 63.55 |44 | 53| - | 25| M16*1.0P M6*1.0P | 2 2.3
=160K | 228.4 | 160 | 140.9|19.1 | 48 | 58 - 63.55| 44 | 53| - | 25| M16*1.0P M6*1.0P | 2 2.6
-200K | 268.4 | 200 | 180.9|19.1 | 48 | 58 - 63.55 | 44 | 53| - | 25| M16*1.0P M6*1.0P | 2
-SF32- 80K | 148.4 | 80 | 60.9 |[19.1| 52 | 62 - 63.55 | 44 | 53| - | 32| M16*1.0P M6*1.0P 1
=120K | 188.4 | 120 | 100.9 |19.1 | 52 | 62 - 63.55 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 2 2.3
=160K | 228.4 | 160 | 140.9 | 19.1| 52 | 62 = 63.55 | 44 | 53 | - | 32| M16*1.0P M6*1.0P | 2 2.6
=-200K | 268.4 | 200 | 180.9 | 19.1| 52 | 62 - | 63.55|44 |53 | - | 32| M16*1.0P M6*1.0P | 2 3
FA& 5 BA:
E L1 ¥ Length (L1)
JI#FE 1R Diameter
IhBEfL S Holder type
HFRAZ T Taper size



B TIR

48

BETHES e

-SK50-SFK 45 JJ4R (4.55B7KBY) cs0-SeK SHRINKFIT TOOL HOLDER (45° SHRINK-FIT COOLANT TYPE)

FIG.1

SK/DAT

FIG.2 D
SK/DAT

/;Wi 2-M3*0. 5P

=

@
E
=4

% 3

7z

) e

o

Az

wv

0 il g

1%

FIG.3 SK/DAT, p
T LS
L4 | 2-M3*0. 5P
A LS == s o= =
" v =
L6 \I

L3

MH& Model d T1 FIG E= KGS
SK50-SF06- 80K |181.75| 80 | 60.9 |19 | 26 | 36 | - 975 |21 (27| - 6 M5*0.8P M6*1.0P | 1 2.8
-120K |221.75| 120 | 100.9 | 19.1 | 26 | 36 = 975 | 21 (27| - 6 M5*0.8P M6*1.0P | 2 2.9
-160K |261.75| 160 | 140.9 | 191 | 26 | 36 | 78 975 |21 (27|41 | 6 M5*0.8P M6*1.0P | 3 3
-200K |301.75| 200 | 180.9 |19 | 26 | 36 | 118 | 975 | 21 |27 |41 | 6 M5*0.8P M6*1.0P | 3 3.1
-SF08- 80K [181.75| 80 | 60.9 |19.1| 26 | 36 = 975 | 21 (27| - 8 M6*1.0P M6*1.0P | 1 2.8
=120K |221.75| 120 | 100.9 | 19.1 | 26 | 36 = 975 | 21 (27| - 8 M6*1.0P M6*1.0P | 2 2.9
=160K |261.75| 160 | 140.9 |19.1| 26 | 36 | 78 975 |21 (27|41 | 8 M6*1.0P M6*1.0P | 3 3
=200K |301.75| 200 | 180.9 |19.1| 26 | 36 | 118 | 975 | 21 |27 |41 | 8 M6*1.0P M6*1.0P | 3 3.1
-SF10- 80K [181.75| 80 | 60.9 |19.1| 32 | 42 = 975 |24 |32| - | 10| M8*1.0P M6*1.0P | 1 2.8
=120K [221.75| 120 | 100.9 | 19.1 | 32 | 42 = 975 |24 |32| - | 10| M8*1.0P M6*1.0P | 2 2.9
-160K |261.75| 160 | 140.9 | 191 | 32 [ 42 | 78 975 | 24 {3240 | 10| M8*1.0P M6*1.0P | 3 3
-200K |301.75( 200 | 180.9 |19.1| 32 | 42 | 118 | 975 | 24 | 32|40 | 10| M8*1.0P M6*1.0P | 3 3.1
-SF12- 80K (181.75| 80 | 60.9 [19.1 | 37 | 47 = 975 |24 |32| - | 12| M10*1.0P M6*1.0P 1 2.9
=120K |221.75| 120 | 100.9 | 19.1 | 37 | 47 - 975 | 24 32| - | 12| M10*1.0P M6*1.0P 2 3
=160K |261.75| 160 | 140.9 | 191 | 37 | 47 | 78 975 | 24 | 32|40 | 12| M10*1.0P M6*1.0P 3 3.1
-200K |301.75| 200 | 180.9 | 19.1| 37 | 47 | 118 | 975 | 24 | 32|40 | 12| M10*1.0P M6*1.0P | 3 3.2
-SF14- 80K [181.75| 80 | 60.9 | 19.1| 37 | 47 = 975 | 27 | 34| - | 14| M10*1.0P M6*1.0P | 1 2.9
=120K |221.75| 120 | 100.9 | 191 | 37 | 47 = 975 | 27 |34 | - | 14| M10*1.0P M6*1.0P | 2 3
-160K |261.75| 160 | 140.9 | 191 | 37 | 47 | 78 975 | 27 | 34| 42| 14 | M10*1.0P M6*1.0P | 3 3.1
-200K |301.75| 200 | 180.9 (191 | 37 | 47 | 118 | 975 | 27 | 34 | 42 | 14 | M10*1.0P M6*1.0P 3 3.2

A& SRR

E L1 ¥ Length (L1)

TI#FE 1R Diameter
IhaefLS Holder type
HEFRAZ N Taper size




HIZTIN

c?%c%%s BT 5 FE 5

-SK50-SFK 45 7J#8 (4.5 KE) SK50-SFK SHRINK FIT TOOL HOLDER (4.5° SHRINK-FIT COOLANT TYPE)

D

FIG.1
SK/DAT
T1
L5
4 2-M3%0. 5P
.
- —|oy
G ~ — e
<
L3 L2
L1
L
FIG.2 D
SK/DAT
| LS
(2| 2-ws¥o.5p
/
—| o
N = ——-4 T oo
1 1
| 1 of
@ \1
=
=
2R
3 gﬁ L3 L2
[s} L1
s J] n
ERZ]
S
o 5l D
o 4

Mg Model T1 FIG E£ KGS
SK50-SF16- 80K (181.75| 80 | 60.9 [19.1| 40 | 50 | - 975 | 27 [ 34| - |16 | M12*1.0P M6*1.0P | 1 3.1
=120K |221.75| 120 | 100.9(19.1| 40 | 50 | - 975 | 27 | 34| - |16 | M12*1.0P M6*1.0P | 2 3.3
=160K |261.75| 160 | 1409 | 19.1| 40 | 50 | 78 | 975 | 27 |34 | 42 | 16 | M12*1.0P M6*1.0P | 3 3.5
-200K |301.75| 200 | 180.9 | 19.1| 40 | 50 | 118 | 975 | 27 |34 | 42 | 16 | M12*1.0P M6*1.0P | 3 3.7
-SF18- 80K [181.75| 80 | 60.9 |19.1| 40 | 50 | - 975 | 33 |42| - | 18| M12*1.0P M6*1.0P | 1 3.1
-120K |221.75| 120 | 100.9 {191 | 40 | 50 | - 975 |33 |42| - | 18| M12*1.0P M6*1.0P | 2 3.3
=160K |261.75| 160 | 140.9 | 19.1 | 40 | 50 - 975 | 33 | 42 18 | M12*1.0P M6*1.0P 3 3.5
-200K (301.75| 200 | 180.9 |19.1| 40 | 50 | - 975 | 33 |42 18 | M12*1.0P | M6*1.0P | 3 3.7
-SF20- 80K [181.75| 80 | 60.9 [19.1| 42 | 52| - 975 |33 42| - |20 | M16*1.0P | M6*1.0P | 1 3.3
=120K |221.75| 120 | 100.9 | 19.1 | 42 | 52 = 975 | 33 |42| - | 20| M16*1.0P M6*1.0P | 2 3.5
-160K |261.75| 160 | 140.9 | 19.1 | 42 | 52 = 975 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.7
-200K |301.75| 200 | 180.9 [ 19.1 | 42 | 52 = 975 | 33 | 42 20 | M16*1.0P M6*1.0P | 3 3.9
-SF25-100K [201.75| 100 | 80.9 |19.1| 48 | 58 | - 975 | 44 | 53| - | 25| M16*1.0P M6*1.0P | 1 3.3
=120K |221.75| 120 | 100.9 | 19.1 | 48 | 58 - 975 | 44 | 53| - | 25| M16*1.0P M6*1.0P | 2 3.5
-160K |261.75| 160 | 140.9|19.1| 48 | 58 | - 97.5 | 44 | 53 25| M16*1.0P M6*1.0P | 3 3.7
-200K (301.75| 200 | 180.9 |19.1| 48 | 58 | - 97.5 | 44 | 53 25| M16*1.0P | M6*1.0P | 3 3.9
-SF32-100K [201.75| 100 | 80.9 |19.1| 52 | 62 = 975 | 44 |53 | - | 32| M16*1.0P M6*1.0P | 1 3.4
-120K |221.75| 120 | 100.9 | 19.1 | 52 | 62 = 975 | 44 | 53| - | 32| M16*1.0P M6*1.0P | 2 3.6
-160K |261.75| 160 | 140.9 {191 | 52 | 62 = 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 3.8
-200K |301.75| 200 | 180.9 {19.1 | 52 | 62 = 975 | 44 | 53 32 | M16*1.0P M6*1.0P | 3 4
RS BA:
Wﬁ_l K Length (L1)
T JI#FE 13 Diameter
IhBEfL S Holder type
$EARTZ TN Taper size



_________FCFENTETTY ey weeN



